SPECIAL ASSESSMENT DISTRICT #2 for WALLED LAKE IMPROVEMENTS

CONFIRMED BY RESOLUTION DATED:
BEGINNING:

IN THE CITY OF NOVI, IN THE COUNTY OF OAKLAND, IN THE STATE OF MICHIGAN

	ANNUAL INSTALLMENTS DUE:			_						
10050050 70	DECORPORTION		INTEREST RAT	¥	0.0000%			INICTALLMENTO		
ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000		INSTALLMENTS		2224
AND ADDDESO	OF PROPERTY	FDONITAGE	DED.	OLIABOE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	5.75 5.15	1ST	2ND	3RD	4TH	5TH
50-22-02-101-001		1.50	\$981.70	\$1,472.55	DATE PAID					
THEODORE S ANDRIS		UNIT			DALANOE	04 470 55	04.470.04	#000 F0	# 500.00	0004.54
ELANE ANDRIS	GROLL'S EDGEWATER SUB N 1/2 OF LOT 14,				BALANCE PRINCIPAL	\$1,472.55 \$294.51	\$1,178.04 \$294.51	\$883.53 \$294.51	\$589.02 \$294.51	\$294.51 \$294.51
	ALSO ALL OF LOTS 16 & 18				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5108 CORNERS DR					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.51
WEST BLOOMFIELD MI 48322-3933					IOIAL	Ψ234.31	Ψ294.51	Ψ234.31	Ψ234.31	Ψ234.31
50-22-02-126-005	+	1.00	\$981.70	\$981.70	DATE PAID					
DAVID CLARK II		UNIT	\$901.70	φ901.70	DATE PAID					
DAVID CLARK II		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1123 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 11 & 12, ALSO				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1438	S 1/2 OF LOTS 13 & 14				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI WII 40377-1430					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					TOTAL	Ψ130.34	ψ130.54	ψ130.04	ψ130.04	ψ130.04
50-22-02-126-006		1.00	\$981.70	\$981.70	DATE PAID					
DOUGLAS PASCOE		UNIT		4000	5,112.7115					
2002.017.0002		0			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1129 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 9 & 10				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
									-	
50-22-02-126-007		1.00	\$981.70	\$981.70	DATE PAID					
OLENNA GORDAN		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
2422 W ERIE	GROLL'S EDGEWATER SUB LOTS 7 & 8				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
CHICAGO, IL 60612					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-126-008		1.00	\$981.70	\$981.70	DATE PAID					
DANIEL P MURPHY		UNIT								
MARIA S MURPHY					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1141 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 5 & 6				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-126-009		1.00	\$981.70	\$981.70	DATE PAID		 			
CHESTER MARENDA		UNIT	\$981.70	\$981.70	DATE PAID					
CHESTER WARENDA		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1143 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 1 TO 4 INCL				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377	SKOLLO LOGEWATER SOB LOTS 1 TO 4 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
33625 YORKRIDGE ROAD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
FARMINGTON HILLS MI 48331-1548					TOTAL	ψ130.54	ψ130.54	ψ130.04	ψ130.04	ψ130.04
50-22-02-127-001		1.00	\$981.70	\$981.70	DATE PAID					
JOHN EROYAN		UNIT	ψοσισ	ψοστσ	3,1121,110					
PHYLLIS EROYAN		0.41.1			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1149 EAST LAKE RD	SHORE ACRES SUB LOTS 75 & 76				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FDONTAGE	DED	CHARGE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER PER	CHARGE	DATE DAID	1ST	2ND	3RD	4TH	5TH
50-22-02-151-001 HARVEY G MARKOWITZ		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
HARVET G WARROWITZ		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SHORE ACRES SUB LOT 77				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1153 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1438						-		·		
50-22-02-151-002		1.00	\$981.70	\$981.70	DATE PAID					
HARVEY G MARKOWITZ		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SHORE ACRES SUB LOT 78				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
4450 5 5407 LAVE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1153 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1438	_	4.00	¢004.70	C004 70	DATE DAID					
50-22-02-151-003 JOHN L KERN		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
KIMBERLY A KERN		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
TOMBERET A RETO	SHORE ACRES SUB LOT 79				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3099 RIDGEMONT ST					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
COMMERCE TOWNSHIP MI 48382-3875						,				
50-22-02-151-006		1.00	\$981.70	\$981.70	DATE PAID					
ANEMARIE M MCDONALD		UNIT								
CHRISTOPHER MCDONALD					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SHORE ACRES SUB LOT 82				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1171 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1438	_	4.00	¢004.70	C004 70	DATE DAID					
50-22-02-151-007 ANEMARIE M MCDONALD		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
ANEMARIE W WCDONALD		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	SHORE ACRES SUB LOT 83				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1171 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1438										
50-22-02-151-008		3.00	\$981.70	\$2,945.10	DATE PAID					
BCM NOVI LLC		UNIT								
	OURDE ARREST TO THE STATE OF THE				BALANCE	\$2,945.10	\$2,356.08	\$1,767.06	\$1,178.04	\$589
	SHORE ACRES SUB LOTS 84 & 85				PRINCIPAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589.
4922 DICHMOND DD CTC 202					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
4832 RICHMOND RD., STE 200 CLEVELAND, OH 44128					TOTAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589
50-22-02-151-009	+	1.00	\$981.70	\$981.70	DATE PAID		+			
MARY M LANGAN		UNIT	φ901.70	φ901.70	DATE FAID					
MONTH EAROAN		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	SHORE ACRES SUB LOT 86				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
30393 BALFOUR DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-3904										

Page 2 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-010		1.00	\$981.70	\$981.70	DATE PAID					
ELISHA ZUCCATO		UNIT								
MARC ZUCCATO	SHORE ACRES SUB LOT 87, ALSO NLY 6.82 FT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	OF LOT 88				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF LOT 66				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
40757 VILLAGE WOOD RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48375										
50-22-02-151-013		1.00	\$981.70	\$981.70	DATE PAID					
STANLEY SUKKIVAN	THAT DADT OF NIM FRO 4/4 LYING RET	UNIT								
LAURA MERAW	THAT PART OF NW FRC 1/4 LYING BET				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SIDELINES EXT WLY OF LOT 53 OF 'SHORE ACRES SUB' & BET WALLED LAKE & WALLED				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	LAKE-NOVI RD 0.04 AMN23B				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1229 EAST LAKE RD	LAKE-NOVI KD 0.04 AWW23B				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377								·		
50-22-02-151-016		1.50	\$981.70	\$1,472.55	DATE PAID					
BRIAN G GABEL		UNIT	,	' '						
					BALANCE	\$1.472.55	\$1,178.04	\$883.53	\$589.02	\$294
1250 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 1				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
						4=0	4 _0	4 -0	4-0	
50-22-02-151-017		1.00	\$981.70	\$981.70	DATE PAID					1
STEPHAN BEASLEY		UNIT	φοσσ	4000	5,11217115					
CASTHERINE BEASLEY		••••			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1254 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 2				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
						4.00.0 1	ψ.ισσ.σ.ι	\$100.01	\$100.01	Ţ.00
50-22-02-151-018		1.00	\$981.70	\$981.70	DATE PAID					+
JOYE THOMPSON HARRIS TRUST		UNIT	φοσσ	4000	5,11217115					1
SOIL MOM SON MANUE MOST		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1256 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 3				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3225 GRACE ST. NW #201					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WASHINGTON, DC 20007						***************************************	Ţ.00.0.	7 .00.0.	V	7.00
50-22-02-151-019		1.00	\$981.70	\$981.70	DATE PAID					
ROGER PALMER		UNIT								
C/O FRIED PORTER PLLC		""			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1258 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 4				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
29800 TELEGRAPH					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
SOTHFIELD, MI 48304								,	,	1
50-22-02-151-020		1.00	\$981.70	\$981.70	DATE PAID					Ť T
MICHAEL LANGAN		UNIT	********							
PATRICIA CORNISH		"			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1260 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 5				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1466					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1225 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377					IOIAL	ψ100.0 1	ψ100.0 1	Ψ100.04	Ψ100.04	ψ130
					II.		1		l	

Page 3 of 172 11/16/2020 6:31 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-021		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT & DEBORAH ANDREWS TR		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1262 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 6				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-022		1.00	\$981.70	\$981.70	DATE PAID			+		
JEFFERY P YANEZ		UNIT	ψ301.70	Ψ301.70	DATETAID					
MONA Z OBEIDY		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1270 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 7				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 1111 100 11 1100					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
						,	,	,		
50-22-02-151-023		1.00	\$981.70	\$981.70	DATE PAID					
BRADLEY ARMSTRONG		UNIT								
1280 EAST LAKE RD					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
NOVI MI 48377-1439	SUPERVISOR'S PLAT NO 1 LOT 8				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-024		1.00	\$981.70	\$981.70	DATE PAID					
ALAN H BRAUNSTEIN		UNIT	φ901.70	ψ901.70	DATETAID					
DEBORAH L BRAUNSTEIN		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1284 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 9				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
						,	,	,		
50-22-02-151-025		1.00	\$981.70	\$981.70	DATE PAID					
THOMAS D BORITZKI		UNIT								
STEFANIE A LORING BORITZKI					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1286 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 10				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-026		1.00	\$981.70	\$981.70	DATE PAID			_		
KYLE MURPHY		UNIT	Ψοσσ	\$335	3,2.,,,,,,					
LORI MURPHY					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1288 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 11				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
			4004 70	2004 70	DATE DATE					
50-22-02-151-027		1.00	\$981.70	\$981.70	DATE PAID				-	-
JEROME J NELL TRUST		UNIT			BALANCE	¢004.70	¢705 26	¢500.00	\$202.69	¢106.24
1292 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 NLY 45 FT OF LOT				PRINCIPAL	\$981.70 \$196.34	\$785.36 \$196.34	\$589.02 \$196.34	\$392.68 \$196.34	\$196.34 \$196.34
	12				INTEREST	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377 1430					INTEREST	30.00	φU.UU	φυ.υυ	φυ.υυ	JU.00
NOVI MI 48377-1439					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34

Page 4 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-028		1.00	\$981.70	\$981.70	DATE PAID					
ASA SMITH		UNIT								
CAROL SUE SMITH	SUPERVISOR'S PLAT NO 1 LOT 12 EXC NLY 45				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1294 EAST LAKE RD	FT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-029		1.00	\$981.70	\$981.70	DATE PAID					
JASON W SHAMOUN		UNIT		, , , ,						
WILSON SHAMOUN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
CHANEL SHMOUN	SUPERVISOR'S PLAT NO 1 LOT 13				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
1296 EAST LAKE RD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI MI 48377-1439					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50 00 00 454 000		1.00	#004.70	#004.70	DATE DAID					
50-22-02-151-030 HARRY & BELINDA KUBBE TRUST		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1300 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 14				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-031		0.00	\$981.70	\$0.00	DATE PAID					
RICHARD TITSWORTH		UNIT	\$981.70	\$0.00	DATE PAID					
MONARD MONORM		01411			BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	SHORE ACRES SUB LOT 1				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	0.10112.101120.000.201.1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1304 EAST LAKE RD					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI MI 48377-1441						70.00	70.00	70.00	70.00	70.00
50-22-02-151-032		1.00	\$981.70	\$981.70	DATE PAID					
RICHARD D TITSWORTH		UNIT								
1304 EAST LAKE RD					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
NOVI MI 48377-1441	SHORES ACRES SUB LOT 2 & N 1/2 OF LOT 3				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					INTEREST TOTAL	\$0.00	\$0.00 \$196.34	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-033		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT JOSPEH VARTO		UNIT								
CHEYLENE BECKER VARO	SHORE ACRES SUB S 1/2 OF LOT 3 & ALL OF				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1310 EAST LAKE RD	LOT 4				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-034		1.00	\$981.70	\$981.70	DATE PAID					
BRUCE BRYDA		UNIT		· ·						
CINDY C BRYDA					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1312 EAST LAKE RD	SHORE ACRES SUB LOT 5 & N 2 FT OF LOT 6				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34

Page 5 of 172 11/16/2020 6:31 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDD500	05 BB005BTV		555			2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	DATE DAID	1ST	2ND	3RD	4TH	5TH
50-22-02-151-035 50-22-02-151-035		1.00	\$981.70	\$981.70	DATE PAID					
ERIC D NESSEL		UNIT			54144105	*****	4705.00	4500.00	****	*****
PATRICIA E NESSEL	SHORE ACRES SUB LOT 6 EXC N 2 FT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1314 EAST LAKE RD	SHORE ACRES SUB LOT 6 EXC N 2 FT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1441					INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-02-151-036		1.00	\$981.70	\$981.70	DATE PAID					
MARK RUBENSTEIN TRUST		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1316 EAST LAKE RD	SHORE ACRES SUB LOT 7				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-02-151-037		1.00	\$981.70	\$981.70	DATE PAID					
DENNIS SMITH		UNIT	• • • • • • • • • • • • • • • • • • • •	,						
KIMBERLEY SMITH					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
1320 EAST LAKE RD	SHORE ACRES SUB LOT 8				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-02-151-038		1.00	\$981.70	\$981.70	DATE PAID					
JAY D MARTIN JR		UNIT	ψοσ1.70	Ψοστσ	BATTE TAILS					
1322 EAST LAKE RD					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
NOVI MI 48377-1441	SHORE ACRES SUB LOT 9				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-02-151-039		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT S SALAMON		UNIT	ф901.70	φ901.70	DATE PAID					
1326 EAST LAKE RD					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
NOVI MI 48377-1441	SHORE ACRES SUB LOT 10				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50.00.00.454.040		1.00	# 004.70	0004.70	DATE DAID					
50-22-02-151-040 JOHN CARPENTER		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
MARY ANN CARPENTER		GINIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
1328 EAST LAKE RD	SHORE ACRES SUB LOT 11				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1021 WILLOW LN					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
HOWELL MI 48843-8535										
50-22-02-151-041		1.00	\$981.70	\$981.70	DATE PAID					
MANKVITZ ENTERPRISES, LLC #6		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SHORE ACRES SUB LOT 12				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2990 STEEPLE HILL RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WHITE LAKE MI 48383-1863										

Page 6 of 172 11/16/2020 6-31 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
	05 BB0B5BTV		555	0		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-043		1.00	\$981.70	\$981.70	DATE PAID					
JOSEPH M DEBRINCAT TRUST		UNIT								
VICTOIA M DEBRINCAT TRUST	SHORE ACRES SUB S 25 FT OF LOT 14 & N 15				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	FT OF LOT 15				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
4000 F FAOT LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1339 E EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-02-151-044		1.00	\$981.70	\$981.70	DATE PAID					+
AUDREY WILSON		UNIT								
GORDON WILSON	SHORE ACRES SUB S 25 FT OF LOT 15 & ALL				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF LOT 16				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	01 201 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1345 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1442										
50-22-02-151-045		1.00	\$981.70	\$981.70	DATE PAID					
AUDREY WILSON		UNIT								
GORDON WILSON					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1345 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442										
50-22-02-151-046		1.00	\$981.70	\$981.70	DATE PAID					
BRENT WESTBROCK		UNIT								
INNA WESTBROCK					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1349 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442		4.00	4004.70	*****	DATE DAID					
50-22-02-151-047		1.00	\$981.70	\$981.70	DATE PAID					
BILLY SPENCER		UNIT			DALANOE	0004.70	#70F 00	# 500.00	0000 00	0400
	See Assessors Office for Legal Description				BALANCE PRINCIPAL	\$981.70 \$196.34	\$785.36 \$196.34	\$589.02 \$196.34	\$392.68	\$196 \$196
	See Assessors Office for Legal Description				INTEREST	\$196.34	\$196.34	\$196.34	\$196.34 \$0.00	\$196
1231 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1440					TOTAL	φ190.34	\$190.34	φ190.34	\$190.34	\$190
50-22-02-151-048		1.00	\$981.70	\$981.70	DATE PAID					
TRACY GALLOWAY	THAT PART OF NW FRC 1/4 LYING WLY OF	UNIT								
	NOVI RD, ELY OF WALLED LAKE & BET N & S				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	LOT LINES OF LOT 51 OF 'SHORE ACRES SUB'				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	AS EXT WLY TO SHORE OF WALLED LAKE 0.04				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1241 EAST LAKE RD	A				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1440										
50-22-02-151-049		1.00	\$981.70	\$981.70	DATE PAID					1
JAMIE GROVES	THAT PART OF NW FRC 1/4 LYING WLY OF	UNIT				****	4705.00	4500.00	****	
ERIKA GROVES	NOVI RD, ELY OF WALLED LAKE, NLY OF LOT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	89 OF 'SHORE ACRES SUB' & SLY OF NLY LINE OF LOT 50 OF 'SHORE ACRES SUB' AS EXT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
1245 EAST LAKE RD	WLY TO SHORE OF WALLED LAKE 0.03 A				INTEREST	\$0.00 \$196.34	\$0.00	\$0.00 \$196.34	\$0.00 \$196.34	\$0.0
1245 EAST LAKE RD NOVI MI 48377-1440	WET TO SHORE OF WALLED LAKE 0.03 A				TOTAL	\$190.34	\$196.34	\$190.34	\$190.34	\$196.
INOVI IVII 403/ /- 144U										

Page 7 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDECC	OF PROPERTY	FRONTAGE	PER	CHARGE		2020	2021 2ND	2022 3RD	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	1ST	ZND	3RD	4TH	5TH
50-22-02-151-051 IGOR SHPILBAND	THAT DART OF NIM ERO 4/4 LVINO M OF MIN	1.50 UNIT	\$981.70	\$1,472.55	DATE PAID					
	THAT PART OF NW FRC 1/4 LYING W OF WLY LINE OF EAST LAKE DR BETWEEN SLY LINE OF				DALANCE	£4.470.55	£4.470.04	#000 F0	Φ Γ ΩΩ ΩΩ	\$294.5
ADRIENNE LENDA 1209 E EAST LAKE RD	LOT 58 & NLY LINE OF LOT 59 OF 'SHORE				BALANCE PRINCIPAL	\$1,472.55 \$294.51	\$1,178.04 \$294.51	\$883.53 \$294.51	\$589.02 \$294.51	\$294.
NOVI MI 48377-1440	ACRES SUB', BOTH EXT WLY TO WATERS				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$294.
31132 LAGOON DR	EDGE OF WALLED LAKE 0.10 A				TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.
NOVI MI 48377-1440	2502 01 17/12225 25112 011071				IOIAL	Ψ294.51	Ψ294.51	Ψ294.51	Ψ294.31	ΨZ34.
50-22-02-151-052		1.00	\$981.70	\$981.70	DATE PAID					
ALAN DEZELL	THAT PART OF NW FRC 1/4 LYING W OF WLY	UNIT	φοσσ	4000	5,112.7115					
7.2 2.2.2.2	LINE OF EAST LAKE DR BETWEEN NLY & SLY	"""			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	LINES OF LOT 57 OF 'SHORE ACRES SUB',				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	BOTH EXT WLY TO WATERS EDGE OF WALLED				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1217 E EAST LAKE RD	LAKE 0.06 A				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1440										
50-22-02-151-053		1.50	\$981.70	\$1,472.55	DATE PAID					
MICHAEL LANGAN	THAT PART OF NW FRC 1/4 LYING W OF WLY	UNIT								
PATRICIA LANGAN	LINE OF EAST LAKE DR BETWEEN SLY LINE OF				BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294
	LOT 55 & NLY LINE OF LOT 56 OF 'SHORE				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
	ACRES SUB', BOTH EXT WLY TO WATERS				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1225 E EAST LAKE RD	EDGE OF WALLED LAKE 0.10 A				TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
NOVI MI 48377-1440										
50-22-02-151-054		1.00	\$981.70	\$981.70	DATE PAID					
JOHN WYATT SMITH	THAT PART OF NW FRC 1/4 LYING W OF WLY	UNIT			5444405	*****	*======	4500.00	****	
	LINE OF EAST LAKE DR BETWEEN NLY & SLY LINES OF LOT 54 OF 'SHORE ACRES SUB',				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	BOTH EXT WLY TO WATERS EDGE OF WALLED				PRINCIPAL INTEREST	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196 \$0.
1227 EAST LAKE RD	LAKE 0.04 A				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$0. \$196
NOVI MI 48377-1440	E W. 2 0.04 / V				TOTAL	\$190.34	\$190.34	\$190.34	\$190.34	\$190
50-22-02-151-055		1.00	\$981.70	\$981.70	DATE PAID					
MICHAEL CONDON		UNIT	ψ901.70	ψ901.70	DATETAID					
JODIE CONDON		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
000.2 00.1.20.1.	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1193 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1438										
50-22-02-151-056	SHORE ACRES SUB NLY 66 FT OF SLY 132 FT	1.00	\$981.70	\$981.70	DATE PAID					
DAVID GALLOWAY &	OF FOL DESC PCL LOT 88. ALSO PART OF NW	UNIT								
NANCY GALLOWAY TRUST	1/4 STRIP OF LAND LYING W OF WLY LINE OF E				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	LAKE RD BETW NLY LINE OF LOT 59 & SLY LINE				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	OF LOT 88 BOTH EXT WLY TO WATER'S EDGE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1197 E LAKE RD	OF WALLED LAKE 0.08 A 7-5-95 FR 050				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1438		100	4004.70	1004 70	DATE DATE	-				
50-22-02-151-057	SHORE ACRES SUB NLY 66 FT OF FOL DESC	1.00	\$981.70	\$981.70	DATE PAID					
GREGG ARMSTRONG	PCL LOT 88, ALSO PART OF NW 1/4 STRIP OF	UNIT			DALANCE	£001.70	€705.26	¢500.00	#202 G0	6100
1203 EAST LAKE RD NOVI MI 48377-1440	LAND LYING W OF WLY LINE OF E LAKE RD				BALANCE PRINCIPAL	\$981.70 \$196.34	\$785.36 \$196.34	\$589.02 \$196.34	\$392.68 \$196.34	\$196 \$196
P.O. BOX 6620	BETW NLY LINE OF LOT 59 & SLY LINE OF LOT				INTEREST	\$196.34	\$196.34	\$196.34	\$196.34	\$196
TRAVERSE CITY MI 49696	88 BOTH EXT WLY TO WATER'S EDGE OF				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$0. \$196
TIVAVEINGE CITT WII 43030	WALLED LAKE 0.07 A 7-5-95 FR 050	1			IOIAL	φ130.3 4	φ190.34	φ190.34	φ190.34	\$190

Page 8 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-058		1.50	\$981.70	\$1,472.55	DATE PAID					
CAROL KERNEN		UNIT								
					BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294.5
	SHORE ACRES SUB LOTS 80 & 81				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.5
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1167 E EAST LAKE RD					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.5
NOVI MI 48377-1438		0.00	4004.70	4100.01	DATE DAID					
50-22-02-176-008		0.20	\$981.70	\$196.34	DATE PAID					
JENNIFER BOYLAN		UNIT			BALANCE	\$196.34	\$157.07	£447.00	↑ 70.54	\$39.2
COLLEEN BOYLAN	SHORE ACRES SUB LOT 49				PRINCIPAL			\$117.80	\$78.54	
1247 EAST LAKE RD	SHORE ACRES SUB LOT 49				INTEREST	\$39.27	\$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.2
NOVI MI 48377 1391 EAST LAKE RD					TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00	\$0.00	\$0.0 \$39.2
NOVI MI 48377-1440					TOTAL	φ39.Z <i>I</i>	\$39.27	\$39.27	\$39.27	φ39.2
50-22-02-176-009		0.20	\$981.70	\$196.34	DATE PAID					
RALPH C MCINTYRE		UNIT	ф901.70	\$190.34	DATE PAID					
RALFH C WCINTTRE		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1253 EAST LAKE RD	SHORE ACRES SUB LOTS 47 & 48				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1440	CHOILE MORES COD ECTO 47 & 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 11 1011 40017 - 1440					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ00.21	ψ00.21	ψ00.21	ψ00.21	ψ00.2
50-22-02-176-011		0.20	\$981.70	\$196.34	DATE PAID					
DEBRA MEYERS		UNIT	40010	V.00.0 .	2711217112					
22.012.2.10		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1275 EAST LAKE RD	SHORE ACRES SUB LOTS 42 & 43				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-02-176-012		0.20	\$981.70	\$196.34	DATE PAID					
BRAD ARMSTRONG		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1283 EAST LAKE RD	SHORE ACRES SUB LOT 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 700287					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
PLYMOUTH MI 48170-0945		0.00	0004.70	0400.04	DATE DAID					
50-22-02-176-013		0.20	\$981.70	\$196.34	DATE PAID		-			
BRAD ARMSTRONG		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	SHORE ACRES SUB LOT 40				PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80	\$78.54 \$39.27	\$39.
	SHORE ACRES SUB LOT 40				INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39
PO BOX 700287					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
PLYMOUTH MI 48170-0945					IOIAL	ΨΟΟ.ΖΙ	ψ00.21	ΨΟΟ.Ζ1	ΨΟΟ.ΖΙ	Ψ09.
50-22-02-176-015		0.20	\$981.70	\$196.34	DATE PAID					
RICHARD D TITSWORTH		UNIT	ψοσ1.70	ψ100.04	3,1121,110					
		"			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1304 EAST LAKE RD	SHORE ACRES SUB LOT 38				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
		1 1		1		*				

Page 9 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
		0.20	\$981.70	\$196.34	DATE PAID					
EARL BROOKS		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1291 EAST LAKE RD	SHORE ACRES SUB LOT 37				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-02-176-017		0.20	\$981.70	\$196.34	DATE PAID					
VINCENT KOZA		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1295 EAST LAKE RD	SHORE ACRES SUB LOTS 35 & 36				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-02-176-019		0.20	\$981.70	\$196.34	DATE PAID					
CHRISTIAN BRANDEMIHL		UNIT	Ψοστ.το	Ψ100.04	BATTETALD					
ERIN O'LEARY BRANDEMIHL	CHORE ACRES CUR NI 40 FO ET OF LOT 45				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1255 EAST LAKE RD	SHORE ACRES SUB N 19.50 FT OF LOT 45, ALSO ALL OF LOT 46				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1440	ALSO ALL OF LOT 46				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-02-176-020		0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL LANGAN		UNIT	ψ501.70	ψ130.04	DATETAID					
PATRICIA A LANGAN		01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1259 EAST LAKE RD	SHORE ACRES SUB LOT 44, ALSO LOT 45 EXC				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1440	N 19.50 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1225 EAST LAKE RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377										
50-22-02-177-002		0.20	\$981.70	\$196.34	DATE PAID					
ADAM BELL		UNIT								
KRISTEN BELL					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1309 EAST LAKE RD	SHORE ACRES SUB LOTS 30 & 31				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-02-177-005		0.20	\$981.70	\$196.34	DATE PAID					
ISALY SZETELA		UNIT								
MARK SZETELA					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1317 EAST LAKE RD	SHORE ACRES SUB LOT 27				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-02-177-006		0.20	\$981.70	\$196.34	DATE PAID					
DENNIS J SHRADER		UNIT								
MARY M SHRADER	,				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1319 EAST LAKE RD	SHORE ACRES SUB LOT 26				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
30393 BALFOUR DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-3904										

Page 10 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-177-007		0.20	\$981.70	\$196.34	DATE PAID					
DENNIS SMITH		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	SHORE ACRES SUB LOT 25				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1320 EAST LAKE RD NOVI MI 48377-1441					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-02-177-008		0.20	\$981.70	\$196.34	DATE PAID					
TONY CICI		UNIT								
BRISILDA CICI					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1325 EAST LAKE RD	SHORE ACRES SUB LOT 24				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-02-177-009		0.20	\$981.70	\$196.34	DATE PAID					
MANKVITZ ENTERPRISES LLC #6		UNIT	φοσιιτο	\$100.04	BATE 17418					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	SHORE ACRES SUB LOT 23				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2990 STEEPLE HILL RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WHITE LAKE MI 48383-1863 50-22-02-177-012		0.20	\$981.70	\$196.34	DATE PAID					
JOSEPH VICTORIA DEBRINCAT TR		UNIT	********	ļ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1339 EAST LAKE RD	SHORE ACRES SUB LOT 20				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-02-177-013		0.20	\$981.70	\$196.34	DATE PAID					
AUDREY WILSON		UNIT	φοστσ	ψ100.04	D/((E17()					
GORDON WILSON		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1345 EAST LAKE RD	SHORE ACRES SUB LOTS 18 & 19				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
									·	
50-22-02-177-014 BRENT WESTBROCK		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
INNA WESTBROCK		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1349 EAST LAKE RD	SHORE ACRES SUB LOT 17				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1442	GHORE NORES SOS EST TI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 11 1011 10011 - 1442					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						700.2	722.2	722.2.	700.2	7.00
50-22-02-177-031	SHORE ACRES SUB LOT 29, ALSO PART OF NW	0.20	\$981.70	\$196.34	DATE PAID					
DAVID A ROTT	FRC 1/4 BEG AT PT DIST N 00-02-00 E 431.40 FT	UNIT			DALANCE	£40C 24	¢457.07	£447.00	↑ 70.54	000
NATALIYA O ROTT	& S 88-49-40 W 878.90 FT & N 86.35 FT FROM				BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07	\$117.80	\$78.54 \$39.27	\$39.
1313 EAST LAKE DR	CEN OF SEC, TH N 40 FT, TH S 83-32-50 W 69.04				INTEREST	\$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27	\$39. \$0.
NOVI MI 48377	FT, TH S 40 FT, TH N 83-32-50 E 69.04 FT TO				TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0. \$39.
140 VI WII 403//	BEG				IOIAL	φυθ.Δ1	φυθ.Δ1	φυθ.Δ1	φυθ.Δ1	φ39.
50-22-02-177-032	SHORE ACRES SUB LOT 28, ALSO PART OF NW	0.20	\$981.70	\$196.34	DATE PAID					
1315 EAST LAKE, LLC	FRC 1/4 BEG AT PT DIST N 00-02-00 E 431.40 FT	UNIT								
	& S 88-49-40 W 878.90 FT & N 46.35 FT FROM				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	CEN OF SEC TH N 40 FT. TH S 83-32-50 W 69.04				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	FT, TH S 40 FT, TH N 83-32-50 E 69.04 FT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
325 E JEFFERSON #5	BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
ANN ARBOR MI 48104		1		I						1

Page 11 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-177-039 PRADEEP KUMAR D NAIR		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
RAJEE NAIR	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
42750 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 1 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1400111111 40011	0 20 01111 021				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
			*****	2400.04	2475 2412					
50-22-02-177-040 STEVEN ARNOLD		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
OLIVIA D ARNOLD	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
42720 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 2 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
10011 1011 40377	0 20 01111 021				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50.00.00.477.044		0.00	0004.70	0400.04	DATE DAID					
50-22-02-177-041 FADI HAKIM TRUST		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
42690 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 3 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-02-177-042		0.20	\$981.70	\$196.34	DATE PAID			1		
DAVID LEPLEY		UNIT	ψ901.70	ψ190.54	DATETAID					
RAGHAD KHOURY	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
42660 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 4 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1778 GOLF RIDGE DR S					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
BLOOMFIELD HILLS MI 48302										
50-22-02-177-043 REUBEN LEVY		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
JILL LEVY	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
42630 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 5 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
10011 1011 40377	0 20 01111 021				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
			*****	2400.04	2475 2415					
50-22-02-177-044 PAUL MAKHOULIAN		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
SUZY MAKHOULIAN	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
42600 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 6 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
11011 1111 10017					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39

50-22-02-177-045 MEHRAN SALARI		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
FRANCES CORDTS	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
42605 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 7 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50 00 00 477 040			#001 TO	010001	DATE SAIS					
50-22-02-177-046 CORRINE GOUGH		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
HOLLY TUCKER	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
42635 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 8 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-02-177-047		0.20	¢004.70	¢106.24	DATE DAID					
50-22-02-177-047 ROBIN SPAULDING		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
ANN SPAULDING	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	"			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
42665 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 9 L 23526 P 465				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
		1			TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.

of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-177-048		0.20	\$981.70	\$196.34	DATE PAID					
THERESA C ZAWONDA		UNIT	****	' ' ' '						
	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
42695 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 10 L 23526 P				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-02-177-049		0.20	\$981.70	\$196.34	DATE PAID					
PERRY A MANN		UNIT	****	' ' ' '						
KIMBERLY A JENIO	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
42725 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 11 L 23526 P				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
						700	700	700.2	¥*****	7
50-22-02-177-050		0.20	\$981.70	\$196.34	DATE PAID					
RAY ISHIGURO		UNIT	***************************************							
	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
42755 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 12 L 23526 P				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						400.2 1	\$66.2 1	400.2	\$55.2 1	400.2
50-22-02-326-003		1.50	\$981.70	\$1,472,55	DATE PAID					
ANTHONY HOPECK	THAT PART OF SW FRC 1/4 LYING BET LOTS	UNIT	φοστσ	ψ1, 17 Z.00	D/((L1/(ib					
7	185 & 186 'CHAPMAN WALLED LAKE SUB' &	0			BALANCE	\$1,472,55	\$1,178.04	\$883.53	\$589.02	\$294.
1354 EAST LAKE DR	LYING E OF E SHORE OF WALLED LAKE & W OF				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.
NOVI MI 48377	W LINE OF WALLED LAKE-NOVI RD 0.04 A				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 101 1	MN26				TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.
					101712	Ψ201.01	Ψ204.01	Ψ201.01	Ψ204.01	Ψ201.
50-22-02-326-004		1.00	\$981.70	\$981.70	DATE PAID					
KELVIN K TAM		UNIT	ψοστσ	4000	5,11217115					
ADA M LEI		01111			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 185				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
P.O. BOX 723	0.0000000000000000000000000000000000000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI MI 48376					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					1017.2	ψ100.01	ψ.σσ.σ.	ψ.σσ.σ.	\$100.01	V .00.
50-22-02-326-005		1.00	\$981.70	\$981.70	DATE PAID					
TONI R METTE		UNIT	Ψοστσ	ψοσισ	3,1121,110					
BRUCE C METTE		0.411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 184				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	0.24.02.00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
40052 MILLPOND CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NORTHVILLE MI 48168-3419					IOIAL	ψ130.0 4	ψ130.04	ψ130.34	ψ130.04	ψ130.
TOTALLE IVII TO 100-04 10				I	JI.		1			

Page 13 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
	'					2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-326-008		1.00	\$981.70	\$981.70	DATE PAID					
LAWRENCE L LANG		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 180				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	OTAL WALLED LAKE GOD EOT 100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1369 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442					101712	ψ100.04	ψ100.04	Ψ100.01	V100.0 4	Ψίου
50-22-02-326-009		1.00	\$981.70	\$981.70	DATE PAID					
LAWRENCE L LANG		UNIT	φοσ1.7ο	φοστιτο	BATTE I 7 TIB				+	
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 179				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1369 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442										
50-22-02-326-010		1.00	\$981.70	\$981.70	DATE PAID			T	T	
JOSHUA C ROBINSON		UNIT								
ERIN E ROBINSON	CHARMANI WALLED LAKE CUR LOTO 470, 477, 8				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOTS 176, 177 &				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	178				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1375 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442										
50-22-02-326-011		1.00	\$981.70	\$981.70	DATE PAID					
ANITHA CHACKO TRUST		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1381 EAST LAKE RD	CHAPMAN WALLED LAKE SUB LOT 175				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	'				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-02-326-012 OLEN C TONEY TRUST		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
OLEN C TONET TROST					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB N 1/2 OF LOT 173				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	& ALL OF LOT 174				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1385 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442						\$100.01	ψ.ισσ.σ.	Ψ.σσ.σ.	V 100.01	V.00
50-22-02-326-013		1.00	\$981.70	\$981.70	DATE PAID					
CARL ENGLING		UNIT								
LISA ENGLING	CHAPMAN WALLED LAKE SUB LOT 172 EXC S 3				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	FT ALSO S 1/2 OF LOT 173				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1389 E EAST LAKE RD NOVI MI 48377-1442					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-02-326-014		1.00	\$981.70	\$981.70	DATE PAID				+	
DAVID M BOUREN		UNIT								
	CHAPMAN WALLED LAKE SUB LOT 171 & S 3 FT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1391 EAST LAKE RD	OF LOT 172				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442	3. 201 112				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-02-326-015		1.00	\$981.70	\$981.70	DATE PAID	 		+	+	1
EDDIE & LORRAINE PETERS TR		UNIT	ψ301.70	ψ901.70	DATE FAID	<u> </u>		+	+	1
	'	5			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB NLY 1/2 OF LOT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	169 & ALL OF LOT 170				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1393 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442										
50-22-02-326-019		1.00	\$981.70	\$981.70	DATE PAID					
		UNIT								
DAVID A HALL					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
DAVID A HALL CAROLYN F HALL										
CAROLYN F HALL	CHAPMAN WALLED LAKE SUB LOT 165				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	CHAPMAN WALLED LAKE SUB LOT 165				PRINCIPAL INTEREST TOTAL	\$196.34 \$0.00 \$196.34	\$196.34 \$0.00 \$196.34	\$196.34 \$0.00 \$196.34	\$196.34 \$0.00 \$196.34	\$196 \$0.0 \$196

of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-326-020		1.00	\$981.70	\$981.70	DATE PAID					
DAVID A HALL		UNIT								
CAROLYN F HALL					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	CHAPMAN WALLED LAKE SUB LOT 164				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1399 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1442						\$100.01	\$100.01	\$100.01	ψ.ισσ.σ.	ψ.σσ.
50-22-02-326-021		1.50	\$981.70	\$1,472.55	DATE PAID					
BRENT BESHEARS		UNIT	ψ901.70	ψ1,472.55	DATETAID					
ALPHA BESHEARS	CHAPMAN WALLED LAKE SUB LOTS 166, 167 &	01411			BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294
ALPHA BESHEARS	168, ALSO SLY 1/2 OF LOT 169 5-21-99 FR 016,						. ,			\$294
	017 & 018				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	
4005 5 5 4 0 T 1 4 1 / 5 D D	017 & 016				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1395 E EAST LAKE RD					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
NOVI MI 48377-1442										
50-22-02-326-022		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT MATTHEWS		UNIT								
CARMEN MATTHEWS	CHAPMAN WALLED LAKE SUB LOTS 181, 182 &				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
					PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	183				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1367 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1442										7.50
50-22-02-327-001		1.00	\$981.70	\$981.70	DATE PAID	Ì				
CHERYL PETERS		UNIT	φοσ 1.7 σ	ψοσ1.70	DATE I AID					
1393 EAST LAKE RD		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 163						· · · · · · · · · · · · · · · · · · ·	· ·		-
NOVI MI 48377-1442	CHAPINAN WALLED LAKE 30B LOT 103				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4165 STRATHCONA CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
HIGHLAND MI 48357										
50-22-02-327-002		1.00	\$981.70	\$981.70	DATE PAID					
CHERYL PETERS		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1393 EAST LAKE RD	CHAPMAN WALLED LAKE SUB LOT 162				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1422					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4165 STRATHCONA CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
HIGHLAND MI 48357						,	,	,	,	
50-22-02-327-003		1.00	\$981.70	\$981.70	DATE PAID					
LAUREN B POBER		UNIT	ψ301.70	ψ301.70	DATETAID					
LAUKEN B FOBER		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 161				PRINCIPAL		\$196.34	\$196.34	\$196.34	\$196
	CHAPINAN WALLED LAKE 30B LOT 101					\$196.34	· ·		-	-
4405 E407 L41/E DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1405 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-2050										
50-22-02-327-004		1.00	\$981.70	\$981.70	DATE PAID					
ANDREW R SOBOROWSKI		UNIT								
SUSAN SOBOROWSKI					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 160				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1407 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-2050										
50-22-02-327-007		1.00	\$981.70	\$981.70	DATE PAID					
MARTIN YOUNG		UNIT	•							
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 157				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
884 DEAN HILL ROAD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					IOIAL	φ190.34	φ130.34	φ190.34	φ130.34	\$ 190
KILLINGTON VT 05751		4.00	000170	0001 70	DATE SAVE		1	1		1
50-22-02-327-008		1.00	\$981.70	\$981.70	DATE PAID					-
ROBERT C ERB TRUST		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 156				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1415 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-2050	il .			1	II .					1

Page 15 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-327-009		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT C ERB TRUST		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	CHAPMAN WALLED LAKE SUB LOT 155				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1415 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2050										
50-22-02-327-010		1.00	\$981.70	\$981.70	DATE PAID					
MARK KOWALSKY		UNIT								
PAUL D KOWALSKY					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 154				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2081 HOPKINS DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WIXOM MI 48393-1103										
50-22-02-327-011		1.00	\$981.70	\$981.70	DATE PAID					
DONALD CULLEN		UNIT								
PATRICIA CULLEN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 153				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2120 N PONTIAC TRL					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3161										
50-22-02-327-012		1.00	\$981.70	\$981.70	DATE PAID					
		UNIT								
PATRICIA CULLEN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 152				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2120 N PONTIAC TRL					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3161										
50-22-02-327-013		1.00	\$981.70	\$981.70	DATE PAID					
WILLIAM TENNY		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 151				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1505 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-2051										
50-22-02-327-014		1.00	\$981.70	\$981.70	DATE PAID					
JILL LEVI TRUST		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 150				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
42630 MORGAN CREEK					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2051										
50-22-02-327-015		1.00	\$981.70	\$981.70	DATE PAID					
MARGARET M RAPNICKI		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOTS 148 & 149				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1513 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2051										
50-22-02-327-016		1.00	\$981.70	\$981.70	DATE PAID					
DELPHINE RZEPKA		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 147				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1515 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2051	II.			1	11				1	1

Page 16 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-327-018		1.00	\$981.70	\$981.70	DATE PAID					
KIMBERLEE E LEVY		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	CHAPMAN WALLED LAKE SUB LOT 142				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1559 PARAMOUNT ST					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-2084		4.00	¢004.70	C004 70	DATE PAID					
50-22-02-327-019 KIMBERLEE E LEVY		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
NIVIBERLEE E LEV Y		UNII			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 141				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	CHAINAN WALLED LAKE SOB LOT 141				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1559 PARAMOUNT ST					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2084					TOTAL	ψ130.04	ψ130.04	ψ130.04	ψ130.34	Ψ130.
50-22-02-327-020		1.00	\$981.70	\$981.70	DATE PAID					
PHILIP MATTHES		UNIT	φοσ1.7ο	Ψοστιτο	BATTE TABLE					
		5			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOTS 139 & 140				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1533 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2051							,			
50-22-02-327-021		1.00	\$981.70	\$981.70	DATE PAID					
SEO FAMILY TRUST		UNIT								
	CHAPMAN WALLED LAKE SUB NLY 1/2 OF LOT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	145 & ALL OF LOT 146				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	145 & ALL OF LOT 140				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1493 PARAMOUNT ST					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2051										
50-22-02-327-022		1.00	\$981.70	\$981.70	DATE PAID					
JILL LEVY TRUST		UNIT								
	CHAPMAN WALLED LAKE SUB LOTS 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	& SLY 1/2 OF LOT 145				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	W 321 1/2 31 231 143				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
42630 MORGAN CREEK CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1460										
50-22-02-327-023		1.00	\$981.70	\$981.70	DATE PAID					
KELLIE ROOKE		UNIT								
JEFFREY ROOKE	0114 D144 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOTS 158 & 159				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
4400 E EAOT LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1409 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2050		1.00	¢004.70	C004.70	DATE PAID					
50-22-02-354-002		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
MARK ADAMS ELIZABETH ADAMS		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
ELIZADE I II ADAMO	CHAPMAN WALLED LAKE SUB LOT 106				PRINCIPAL	\$196.34	\$196.34	\$589.02 \$196.34	\$392.68 \$196.34	\$196.
	OF IAN WIALLED LAKE OUD EOT 100				INTEREST	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
1721 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2054					IOIAL	ψ150.5 4	ψ150.04	ψ150.04	ψ100.04	ψ190.
50-22-02-354-006		1.00	\$981.70	\$981.70	DATE PAID			 		
SEAN RILEY LLC		UNIT	φ301.70	ψ301.70	PAILIAID					
OLAH MELI ELU					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 110				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	5				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
		1		1	TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
7310 LINDA LANE					IUIAI	1 5/19b.34	3 19b 34			

Page 17 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-355-001		1.00	\$981.70	\$981.70	DATE PAID					
KALEFORD HONG		UNIT			DALANOE	0004.70	#70F 00	AFOO OO	0000.00	0400
JANET HONG	CHAPMAN WALLED LAKE SUB LOT 113				BALANCE PRINCIPAL	\$981.70 \$196.34	\$785.36 \$196.34	\$589.02 \$196.34	\$392.68 \$196.34	\$196. \$196.
	CHAPIMAN WALLED LAKE 30B LOT 113				INTEREST	\$0.00	\$196.34	\$0.00	\$0.00	\$190.
2921 LACY LANE					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
SACRAMENTO CA 95821					TOTAL	ψ190.34	ψ190.04	ψ190.54	φ190.34	ψ190.
50-22-02-355-002		1.00	\$981.70	\$981.70	DATE PAID					
KALEFORD HONG		UNIT								
JANET HONG					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 114				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2921 LACY LANE					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
SACRAMENTO CA 95821 50-22-02-355-004		1.00	\$981.70	\$981.70	DATE PAID					1
50-22-02-355-004 KEVIN RILEY		UNIT	ф901.7U	\$901.70	DATE PAID					
		0			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 116				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1735 EAST LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377										
50-22-02-355-005		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT ALEXANDER SHARON A ALEXANDER		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
SHARON A ALEXANDER	CHAPMAN WALLED LAKE SUB LOT 117, ALSO S				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	1/2 OF LOT 118				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1733 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-2054					TOTAL	ψ130.54	Ψ130.04	Ψ130.04	ψ130.34	ψ130
50-22-02-355-006		1.00	\$981.70	\$981.70	DATE PAID					
KEVIN STEPHENS		UNIT								
	CHAPMAN WALLED LAKE SUB N 1/2 OF LOT 118				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	& ALL OF LOT 119				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	W. 122 01 201 110				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1729 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377 50-22-02-355-007		1.00	\$981.70	\$981.70	DATE PAID					
OLIVIA D ARNOLD		UNIT	ψ301.70	ψ301.70	DATETAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 120				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
42720 MORGAN CREEK CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1460		4.00	0004.70	0004.70	DATE DAID					1
50-22-02-355-008 MARK ADAMS		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
ELIZABETH ADAMS		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOTS 121 & 122				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	1 - 1 - 1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1721 E LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-2054										
50-22-02-355-010		1.00	\$981.70	\$981.70	DATE PAID					1
CARL E KRUTZ		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	CHAPMAN WALLED LAKE SUB LOT 125				PRINCIPAL	\$196.34	\$785.36 \$196.34	\$196.34	\$392.68	\$196
	OTTAL WALLED LAIL SOD LOT 123				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$190.
1711 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2054				I	.O./.L	₩ 100.0-Y	₩100.0-Y	₩ 100.0-7	ψ100.0-F	ψ100.

Page 18 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-355-011		1.00	\$981.70	\$981.70	DATE PAID					
CARL KRUTZ		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	CHAPMAN WALLED LAKE SUB LOT 126				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1711 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2054		4.00	0004.70	0004.70	DATE DAID					
50-22-02-355-012 MICHEL DECHAPE		1.00	\$981.70	\$981.70	DATE PAID					
MICHEL DECHAPE		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 127				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	CHAI MAN WALLED LANE SOD LOT 121				INTEREST	\$0.00	\$196.34	\$0.00	\$0.00	\$190.
1709 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2054					IOIAL	ψ130.3 4	ψ190.04	ψ190.54	φ190.54	ψ130.
50-22-02-355-013		1.00	\$981.70	\$981.70	DATE PAID					
GARY L EHLERS		UNIT	φοσισ	4000	2711217112					
CATHERINE EHLERS		0			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 128				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
61995 SADLECREEK DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
SOUTH LYON MI 48178										
50-22-02-355-014		1.00	\$981.70	\$981.70	DATE PAID					
RONALD A BOWMAN		UNIT								
LAURIE L BOWMAN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 129				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2456 PEARSON RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
MILFORD MI 48380-4322										
50-22-02-355-015		1.00	\$981.70	\$981.70	DATE PAID					
LINDA E LAPLATT TRUST		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	CHAPMAN WALLED LAKE SUB LOT 130				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
04400 0740 701					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
31160 STAR TRL MILFORD MI 48381-4388					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-02-355-016		1.00	\$981.70	\$981.70	DATE PAID					
BRYON TANANA		UNIT	φ901.70	\$901.70	DATE PAID					
ABIGAIL SOHACKI		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
ADIGAIL SONACKI	CHAPMAN WALLED LAKE SUB LOT 131				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	5. 3. 3. 3. 3. 3. 3. 4. C. 5. 5. 5. 101				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1611 E LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2053							\$.55.5 ?	\$.55.5 .	4.00.07	Ţ.00.
50-22-02-355-017		1.00	\$981.70	\$981.70	DATE PAID					
BRYON TANANA		UNIT	•							
ABIGAIL SOHACKI	CHAPMAN WALLED LAKE SUB LOT 132. ALSO				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SWLY 1/2 OF LOT 133				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	GVVLT 1/2 OF LOT 133				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1611 E LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2053										
50-22-02-355-018		1.00	\$981.70	\$981.70	DATE PAID					
ANTHONY VIRGA		UNIT								
	CHAPMAN WALLED LAKE SUB NELY 1/2 OF LOT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	133. ALSO ALL OF LOT 134				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	133,71237,12237,122				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1607 E LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-2053										

Page 19 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-355-020		1.00	\$981.70	\$981.70	DATE PAID					
JOHN C HEATHFIELD		UNIT								
NANCY A HEATHFIELD					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	CHAPMAN WALLED LAKE SUB LOT 137				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1603 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-2053										
50-22-02-355-021		1.00	\$981.70	\$981.70	DATE PAID					
TOBY L JACOBINI		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	CHAPMAN WALLED LAKE SUB LOT 138				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1601 E EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-2053										
50-22-02-355-022		1.00	\$981.70	\$981.70	DATE PAID					
JENNY KIMBERLY GRIFFITH		UNIT								
	OLIA DAMANI MALLI ED LA ME OUD LOT 400				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	CHAPMAN WALLED LAKE SUB LOT 123				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
40047 MUUTTI ED TDI					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
42317 WHITTLER TRL NOVI MI 48377-2054					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
		4.00	0004.70	0004.70	DATE DAID					
50-22-02-355-023		1.00	\$981.70	\$981.70	DATE PAID					
DANILO SALZANO GLEICIANE F MENDES		UNIT			DALANCE	C004 70	Ф 7 05 00	Φ Γ ΩΩ ΩΩ	#200 C0	\$196.34
GLEICIANE F WENDES	CHAPMAN WALLED LAKE SUB LOT 124				BALANCE PRINCIPAL	\$981.70 \$196.34	\$785.36 \$196.34	\$589.02 \$196.34	\$392.68	\$196.34
	CHAPIVIAN WALLED LAKE 30B LOT 124				INTEREST	\$0.00	\$0.00	\$0.00	\$196.34 \$0.00	\$196.34
109 PARKLOW STREET					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-2054					TOTAL	\$190.34	\$190.34	\$190.34	\$190.34	\$190.34
50-22-02-355-024		1.00	\$981.70	\$981.70	DATE PAID					
RAMZI SHAYA		UNIT	φ901.70	φ901.70	DATE FAID					
NAME SHATA		ONIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	CHAPMAN WALLED LAKE SUB LOT 135				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
	OTHER WATER BUILD BUILD GOD EST TOO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7158 BUENA VISTA CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
WEST BLOOMFIELD MI 48322					TOTAL	ψ130.04	ψ130.04	ψ130.04	ψ130.04	ψ130.04
50-22-02-355-025		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT DILLON		UNIT	φοσισ	4000	5,11217115					
NOBERT BILLON		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	CHAPMAN WALLED LAKE SUB LOT 136				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1605 EAST LAKE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-2053										
50-22-03-126-002		0.10	\$981.70	\$98.17	DATE PAID					
EQUITY TRUST COMPANY		UNIT								
					BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
	See Assessors Office for Legal Description				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
P.O. BOX 638					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
ORTONVILLE MI 48462										
50-22-03-126-008		0.20	\$981.70	\$196.34	DATE PAID					
CHRISTOPHER MARTIN		UNIT								
MEGAN MARTIN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
140 N HAVEN ST	LAKE WALL SUB LOTS 30 & 31				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
	II	1		I						

Page 20 of 172 11/16/2020 6:01 PM

	DESCRIPTION	UNIT OR	RATE	TOTAL		2000	2004	INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5T
	OF PROPERTY				DATE DAID	151	ZND	3KD	41H	51
50-22-03-126-009		0.20	\$981.70	\$196.34	DATE PAID					
MATTHEW ZELYEZ		UNIT			DALANOE	6400.04	£457.07	C447.00	P70 F4	\$39
MANDA ZELYEZ	LAKE WALL SUB LOTS 28 & 29				BALANCE PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	\$39
	LAKE WALL SUB LOTS 20 & 29				INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39
136 NORTH HAVEN DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39
50-22-03-126-010		0.20	\$981.70	\$196.34	DATE PAID					
HISOOK KANG		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
130 N HAVEN ST	LAKE WALL SUB LOTS 26 & 27				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-03-126-013		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL J BRANCHICK		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
45000 BAYVIEW DR # 1	CONDOMINIUM UNIT 1, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-126-014		0.10	\$981.70	\$98.17	DATE PAID					
TIMOTHY ROGERS		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
45000 BAYVIEW DR # 2	CONDOMINIUM UNIT 2, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-126-015		0.10	\$981.70	\$98.17	DATE PAID					
HAIDER Y BELBEISI TRUST		UNIT	φοσσ	400	2711217113					
NAWAL KHALIL AL-HALLAQ TRUST	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
45000 BAYVIEW DR # 3	CONDOMINIUM UNIT 3, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1384	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						ψ.σ.σσ	ψ.σ.σσ	\$10.00	ψ.σ.σσ	ψ.0
50-22-03-126-016 KAREN HONG		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
NANLATIONS	CONDOMINIUM PLAN NO 669 WINDWARD BAY	ONL			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
45000 BAYVIEW DR # 4	CONDOMINIUM UNIT 4, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
24540 BETHANY WAY	2 33 11 (33)				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48375					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19
50-22-03-126-017		0.10	\$981.70	\$98.17	DATE PAID					
ANNE DYER		UNIT				A05 :-		A = 5 - 5 -	005 ==	
	CONDOMINIUM PLAN NO 669 WINDWARD BAY]			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
45000 BAYVIEW DR # 5	CONDOMINIUM UNIT 5, BLDG 1 L 11356 P 870 5-]			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377	2-90 FR 001]			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-126-018		0.10	\$981.70	\$98.17	DATE PAID					
THOMAS MCCAMPBELL		UNIT								
DIANNE TROYE	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
	CONDOMINIUM UNIT 6. BLDG 1 L 11356 P 870 5-	1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
45000 BAYVIEW DR # 6		1								
45000 BAYVIEW DR # 6 NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00	\$0.

Page 21 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-019		0.10	\$981.70	\$98.17	DATE PAID					
BRUCE BANNISTER		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44700 BAYVIEW DR # 44	CONDOMINIUM UNIT 44, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
50-22-03-126-020		0.10	\$981.70	\$98.17	DATE PAID					
ROBERT HOWARD FARR JR.		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44700 BAYVIEW DR # 45	CONDOMINIUM UNIT 45, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
50-22-03-126-021		0.10	\$981.70	\$98.17	DATE PAID					
ZHENG CHEN PROPERTY LLC		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44700 BAYVIEW DR # 46	CONDOMINIUM UNIT 46, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
39676 SQUIRE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48375										
50-22-03-126-022		0.10	\$981.70	\$98.17	DATE PAID					
BENJAMIN THORSEN		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44700 BAYVIEW DR # 47	CONDOMINIUM UNIT 47, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
759 E WALLED LAKE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390										
50-22-03-126-023		0.10	\$981.70	\$98.17	DATE PAID					
ZORICA JOVANOSKA		UNIT								
ROBERTA JOVANOSKA	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
137 E BAY DR	CONDOMINIUM UNIT 48, BLDG 2 L 11356 P 870 5				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48309	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
50-22-03-126-024		0.10	\$981.70	\$98.17	DATE PAID					
DEBORAH ROSS		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44700 BAYVIEW DR # 49	CONDOMINIUM UNIT 49, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1911 WEST LAKE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377			4004.70	200.17	DATE DAID					
50-22-03-126-025		0.10	\$981.70	\$98.17	DATE PAID		-		-	
GINO MCCATHNEY	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			DALANCE	COD 47	↑ 70.54	\$50.00	#20.07	0101
44700 DANGUENA DD # 50	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44700 BAYVIEW DR # 50	2-90 FR 001				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	2-90 FK 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
50-22-03-126-026		0.10	\$981.70	\$98.17	DATE PAID					1
50-22-03-126-026 CLIFFORD TREVO		UNIT	φ901./0	ф96.17	DATE PAID		-		-	
CLIFFORD IREVO	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44700 BAYVIEW DR # 51	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 51, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$19.63	\$78.5 4 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19.6
NOVI MI 48377	2-90 FR 001				INTEREST	\$19.63	\$0.00	\$19.63	\$19.63	\$19.0
INO VI IVII 403//	2-30 1 1 00 1						\$19.63	\$19.63	\$19.63	\$19.6
					TOTAL	\$19.63				

Page 22 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-126-029		0.10	\$981.70	\$98.17	DATE PAID					
DIANE GREEN		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44750 BAYVIEW DR # 37	CONDOMINIUM UNIT 37, BLDG 3 L 11356 P 870 4-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-030		0.10	\$981.70	\$98.17	DATE PAID					
BETH HOLDEN		UNIT		'''						
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44750 BAYVIEW DR # 38	CONDOMINIUM UNIT 38, BLDG 3 L 11356 P 870 4-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
650 CHESTNUT DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WIXOM MI 48393-1103										
50-22-03-126-031		0.10	\$981.70	\$98.17	DATE PAID					
44750 BAYVIEW #39 LLC	CONDOMINIUM DI ANINO COO MINDIMA DE DAY	UNIT			DALANOE	000.47	#70.54	#50.00	#00.07	040
44750 DANGUEIA DD # 00	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44750 BAYVIEW DR # 39	CONDOMINIUM UNIT 39, BLDG 3 L 11356 P 870 4- 23-91 FR 027				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	23-91 FK 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2274 N DUCK LAKE RD HIGHLAND MI 48356					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-032		0.10	\$981.70	\$98.17	DATE PAID					
BETH CROWLEY		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44750 BAYVIEW DR # 40	CONDOMINIUM UNIT 40, BLDG 3 L 11356 P 870 4-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
512 W 13 MILE RD					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
ROYAL OAK MI 48073										
50-22-03-126-033		0.10	\$981.70	\$98.17	DATE PAID					
SIDNEY STAYLER		UNIT			5444405	000.47	470.54	450.00	***	0.10
JANET STAYLER	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 41, BLDG 3 L 11356 P 870 4				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44750 BAYVIEW DR # 41	23-91 FR 027				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	23-91 FK 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-034		0.10	\$981.70	\$98.17	DATE PAID					
SAGAR SHETH		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1101 S LAKE SHORE	CONDOMINIUM UNIT 42, BLDG 3 L 11356 P 870 4- 23-91 FR 027				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	23-91 FK 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-035		0.10	\$981.70	\$98.17	DATE PAID					
MATTHEW THOMAS		UNIT	*							
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44750 BAYVIEW DR # 43	CONDOMINIUM UNIT 43, BLDG 3 L 11356 P 870 4-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1379	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-036		0.20	\$981.70	\$196.34	DATE PAID					
DANIELLE DONALDSON		UNIT								
	LAKE WALL SUB LOT 33 EXC E 20 FT, ALSO ALL				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
146 N HAVEN ST	OF LOT 34 2-1-94 FR 007				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	OI LOT 07 2-1-07 11(00)				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.

Page 23 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-037		0.20	\$981.70	\$196.34	DATE PAID					
NICODEMUS BOLIN		UNIT								
MARITES BOLIN	LAKE WALL SUB LOT 32, ALSO E 20 FT OF LOT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
144 N HAVEN ST	33 2-1-94 FR 007				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	33 2-1-94 FR 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-126-038		0.10	\$981.70	\$98.17	DATE PAID					
JAMES J DICE		UNIT	φ901.70	φ90.17	DATE FAID					
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 7	CONDOMINIUM UNIT 7, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3133 LINDA MARIE CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
COMMERCE TOWNSHIP MI 48390						ψ10.00	V.0.00	V.0.00	ψ.σ.σσ	V .0.
50-22-03-126-039		0.10	\$981.70	\$98.17	DATE PAID					
BRUCE WEINER		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 8	CONDOMINIUM UNIT 8, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1383	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
36310 W 14 MILE RD WEST BLOOMFIELD MI 48322					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-040		0.10	\$981.70	\$98.17	DATE PAID					
MARLA SHLOSS		UNIT	φοσσ	400	5711217115					
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 9	CONDOMINIUM UNIT 9, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-041		0.10	\$981.70	\$98.17	DATE PAID					
ANDREW PICKARD		UNIT	\$981.70	\$98.17	DATE PAID					
ANDREW FIGURA	CONDOMINIUM PLAN NO 669 WINDWARD BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 10	CONDOMINIUM UNIT 10, BLDG 7 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						,				
50-22-03-126-042		0.10	\$981.70	\$98.17	DATE PAID					
PATRICK PATTERSON LORI PATTERSON	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			BALANCE	000.47	670.54	050.00	000.07	040
	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 11, BLDG 7 L 11356 P 870 1-					\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 11	3-95 FR 028				PRINCIPAL INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19. \$0.0
NOVI MI 48377 305 ORLANDO RD	3-93 FK 020				TOTAL	\$0.00 \$19.63	\$19.63		\$19.63	\$0.0 \$19.
CLEARWATER FL 33756					TOTAL	\$19.03	\$19.03	\$19.63	\$19.63	\$19.
50-22-03-126-043		0.10	\$981.70	\$98.17	DATE PAID					
BHUPENDER BHATI		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 12	CONDOMINIUM UNIT 12, BLDG 7 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-044		0.10	\$981.70	\$98.17	DATE PAID		1			
EVA NIELSEN		UNIT	ψυυ 1.10	\$33.17	27.1.217119					
VOJO GJANCI	CONDOMINIUM PLAN NO 669 WINDWARD BAY	' '			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 13	CONDOMINIUM UNIT 13, BLDG 7 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1		1		¥ · • · • ·	T	+ +	T	Ţ.0.

Page 24 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-045		0.10	\$981.70	\$98.17	DATE PAID					
44900 BAYVIEW UNIT 14 LLC		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44950 BAYVIEW DR # 14	CONDOMINIUM UNIT 14, BLDG 6 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-046		0.10	\$981.70	\$98.17	DATE PAID					
HENRY JAY STEFFEN		UNIT								
JACKEY M STEFFEN	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44900 BAYVIEW DR # 15	CONDOMINIUM UNIT 15, BLDG 6 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-047		0.10	\$981.70	\$98.17	DATE PAID					
JUDITH GRANT		UNIT	ф901.70	φ90.17	DATE PAID					
ODDITI GIVANI	CONDOMINIUM PLAN NO 669 WINDWARD BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44900 BAYVIEW DR # 16	CONDOMINIUM UNIT 16, BLDG 6 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						,	,		,	
50-22-03-126-048		0.10	\$981.70	\$98.17	DATE PAID					
JAMES MICHAEL SPALL		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44900 BAYVIEW DR # 17	CONDOMINIUM UNIT 17, BLDG 6 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5125 ELKIN ST					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
COMMERCE TOWNSHIP MI 48382										
50-22-03-126-049		0.10	\$981.70	\$98.17	DATE PAID					
CHRISTINA J ROY		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44900 BAYVIEW DR # 18	CONDOMINIUM UNIT 18, BLDG 6 L 11356 P 870 1:				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
759 E WALLED LAKE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48309										
50-22-03-126-050		0.10	\$981.70	\$98.17	DATE PAID					
GARY TRACY		UNIT			5	****	470.54	450.00	***	210
HELEN TRACY	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44900 BAYVIEW DR # 19	CONDOMINIUM UNIT 19, BLDG 6 L 11356 P 870 1	i			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-051		0.10	\$981.70	\$98.17	DATE PAID					
KHIM CUSHNIER		UNIT	ψ501.70	ψ50.17	DATETAID					
	CONDOMINIUM PLAN NO 669 WINDWARD BAY	"			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44900 BAYVIEW DR # 20	CONDOMINIUM UNIT 20, BLDG 6 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
16393 TRAILWAY DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
MACOMB MI 48042-5776						T	Ţ	7.2.22	Ţ	Ţ.O.
50-22-03-126-052		0.10	\$981.70	\$98.17	DATE PAID					
BARBARA KOVACH		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44900 BAYVIEW DR # 21	CONDOMINIUM UNIT 21, BLDG 6 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1069 RAVENSVIEW TRL					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
MILFORD MI 48381		1		1						1

Page 25 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-053		0.10	\$981.70	\$98.17	DATE PAID					
SABAH HERMIZ	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
44850 BAYVIEW DR # 22	CONDOMINIUM UNIT 22, BLDG 5 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NOVI MI 48377	3-95 FR 028]			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2699 SEVILLE BLVD #703	0 00 1 11 020				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
CLEARWATER FL 33764					IOTAL	ψ13.00	ψ13.03	ψ13.00	ψ13.03	ψ15.00
50-22-03-126-054		0.10	\$981.70	\$98.17	DATE PAID					
ANTHONY HOPECK		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44900 BAYVIEW DR # 23	CONDOMINIUM UNIT 23, BLDG 5 L 11356 P 870 1	1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1354 EAST LAKE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377 50-22-03-126-055		0.10	\$981.70	\$98.17	DATE PAID					
FRED A CAMPBELL		UNIT	ф901.7U	\$90.17	DATE PAID					
JOYCE S CAMPBELL	CONDOMINIUM PLAN NO 669 WINDWARD BAY	0			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44850 BAYVIEW DR # 24	CONDOMINIUM UNIT 24, BLDG 5 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
50-22-03-126-056		0.10	\$981.70	\$98.17	DATE PAID					
KEVIN DITTMER	CONDOMINIUM DI ANI NO CCC MUNDIMADDI DAV	UNIT			DALANOE	000.47	#70.54	#50.00	#00.07	040.6
JENNIFER DITTMER	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44850 BAYVIEW DR # 25 NOVI MI 48377	CONDOMINIUM UNIT 25, BLDG 5 L 11356 P 870 1 3-95 FR 028	1			PRINCIPAL INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.6
915 LEMAY ST	3-93 FK 020				TOTAL	\$0.00	\$0.00 \$19.63	\$19.63	\$19.63	\$0.0 \$19.6
NOVI MI 48377					IOTAL	φ19.03	\$19.03	\$19.03	\$19.03	\$19.0
50-22-03-126-057		0.10	\$981.70	\$98.17	DATE PAID					
BRUCE JEROME WEINER		UNIT								
STUART M SCHRAM	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44850 BAYVIEW DR # 26	CONDOMINIUM UNIT 26, BLDG 5 L 11356 P 870 1	-			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
31876 NORTHWWESTERN HWY					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
FARMINGTON HILLS MI 48334		0.40	0004.70	000.47	DATE DAID					
50-22-03-126-058 HONG CHEN		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
HONG CHEN	CONDOMINIUM PLAN NO 669 WINDWARD BAY	ONT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44850 BAYVIEW DR # 27	CONDOMINIUM UNIT 27, BLDG 5 L 11356 P 870 1	ļ l			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
25831 TIMBERLINE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WARREN MI 48091										
50-22-03-126-059		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL SMITH	CONDOMINIUM DI ANI NO CCC MUNDIMATE DAVI	UNIT			DALANCE	#00.17	#70 F4	# F0.00	#2C 27	010
JANINE KEHL	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 28. BLDG 5 L 11356 P 870 1				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44850 BAYVIEW DR # 28 NOVI MI 48377	3-95 FR 028	1			PRINCIPAL INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.6
29317 WHISTLER DR	3-33 1 10 020				TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.0 \$19.6
NOVI MI 48377					IOIAL	\$19.03	\$19.03	\$19.03	\$19.03	φ19.0
50-22-03-126-060	İ	0.10	\$981.70	\$98.17	DATE PAID					1
CRISTIAN POL		UNIT								
AMALIA BATORI	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
44850 BAYVIEW DR # 29	CONDOMINIUM UNIT 29, BLDG 4 L 11356 P 870 1	- I			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
36395 NORTHMONT DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
FARMINGTON HILLS MI 48331		1		1						1

Page 26 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-061		0.10	\$981.70	\$98.17	DATE PAID					
CHERIE GABOURY	CONDOMINIUM DI ANI NO COO MUNDIMADDI DAV	UNIT			5	400.47	470.54	450.00	400.07	010
44000 BANGUEIN BB # 00	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44800 BAYVIEW DR # 30	CONDOMINIUM UNIT 30, BLDG 4 L 11356 P 870 1- 3-95 FR 028	1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-062		0.10	\$981.70	\$98.17	DATE PAID					
MIRCEA M LUPSAN		UNIT								
ADRIANA LUPSAN	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44850 BAYVIEW DR # 31	CONDOMINIUM UNIT 31, BLDG 4 L 11356 P 870 1	+			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
16157 WHITE HAVEN DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
50-22-03-126-063 BRIAN RICHARDS		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
BRIAN RIGHARDS	CONDOMINIUM PLAN NO 669 WINDWARD BAY	Olviii			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44800 BAYVIEW DR # 32	CONDOMINIUM UNIT 32. BLDG 4 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 1111 11011					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						•				
50-22-03-126-064 ANDREA L KAPLAN		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
ANDREA L KAPLAN	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44800 BAYVIEW DR # 33	CONDOMINIUM UNIT 33. BLDG 4 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 46377	0-33 FTC 025				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
						ψ10.00	\$10.00	V10.00	\$10.00	V. 0.
50-22-03-126-065		0.10	\$981.70	\$98.17	DATE PAID					
GALINA GILFMAN	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44800 BAYVIEW DR # 34	CONDOMINIUM UNIT 34, BLDG 4 L 11356 P 870 1				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19. \$19.
	3-95 FR 028	1			INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-93 FK 026				TOTAL		\$0.00 \$19.63			
					TOTAL	\$19.63	\$19.03	\$19.63	\$19.63	\$19.
50-22-03-126-066		0.10	\$981.70	\$98.17	DATE PAID					
GERALD BASSETT		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44800 BAYVIEW DR # 35	CONDOMINIUM UNIT 35, BLDG 4 L 11356 P 870 1	1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-126-067		0.10	\$981.70	\$98.17	DATE PAID					
BEN THORSEN		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
44800 BAYVIEW DR # 36	CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1	1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
759 E WALLED LAKE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390										
50-22-03-126-069 LOU LUCAJ		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
200 200/0		OIVII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	37 4-28-04 FR 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3123 CANYON OAKS TRAIL					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
				1	101/1	ΨΟΟ.Δ1	ΨΟΟ.Δ1	ΨΟΟ.Δ1	ΨΟΟ.Δ1	ψυυ.

Page 27 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-070		0.20	\$981.70	\$196.34	DATE PAID					
LOU LUCAJ		UNIT								
	LAKE WALL SUB LOT 35 & E 1/2 OF LOT 36 4-28-				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	04 FR 006				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
0.400 0.410,014 0.440 TD.44					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3123 CANYON OAKS TRAIL MILFORD MI 483880					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-127-001		0.20	\$981.70	\$196.34	DATE PAID					
JODY DREWRY		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
149 N HAVEN ST	LAKE WALL SUB LOTS 38 & 39				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-127-002		0.20	\$981.70	\$196.34	DATE PAID					
KAREN TERNES		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
147 N HAVEN ST	LAKE WALL SUB LOTS 40 & 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-127-003		0.20	\$981.70	\$196.34	DATE PAID					
GORDON SCHUETZLER		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
145 N HAVEN ST	LAKE WALL SUB LOTS 42 & 43				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-127-005		0.20	\$981.70	\$196.34	DATE PAID					
YOUSEF ABU AYYASH		UNIT								
KELLY ANNE HOSANG					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
156 REXTON	LAKE WALL SUB LOTS 68 & 69				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-127-006		0.20	\$981.70	\$196.34	DATE PAID					
LARRY PEARCE		UNIT								
SHIN-RU PEARCE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
144 REXTON ST	LAKE WALL SUB LOTS 66 & 67				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-127-007		0.20	\$981.70	\$196.34	DATE PAID					
WILLIAM A BERTERA III		UNIT								
STACY R BERTERA	LAKE WALL OUR LOTS OF SE				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
130 REXTON ST	LAKE WALL SUB LOTS 64 & 65				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-127-012		0.20	\$981.70	\$196.34	DATE PAID					
PIERRE ENGLING		UNIT								
MERRIE ENGLING	LAVE WALL OUR LOTS SS SS SS SS SS SS SS				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
124 REXTON ST	LAKE WALL SUB LOTS 62 & 63 10-25-94 FR 011				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
				I	TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.3

Page 28 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDECC	OF PROPERTY	FDONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
AND ADDRESS	UF PROPERTY	FRONTAGE			DATE DAID	151	ZND	380	41H	DIH
50-22-03-127-013		0.20	\$981.70	\$196.34	DATE PAID					
GEORGE WALLEY		UNIT			DALANOE	0400.04	0457.07	0447.00	A70.54	000.0
KIMBERLY WALLEY	LAKE MALL OUR LOTO OO 0 04 40 05 04 5D 044				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
120 REXTON ST	LAKE WALL SUB LOTS 60 & 61 10-25-94 FR 011				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-128-004		0.20	\$981.70	\$196.34	DATE PAID					
FRANK J SIMPSON IV		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
143 REXTON ST	LAKE WALL SUB LOTS 72 & 73				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-128-005		0.20	\$981.70	\$196.34	DATE PAID					
STEPHEN MULLER		UNIT								
DANIEL EISELE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
139 REXTON ST	LAKE WALL SUB LOT 74				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
46713 N VALLEY DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NORTHVILLE MI 48167						,	, , ,	, , ,		
50-22-03-128-006		0.20	\$981.70	\$196.34	DATE PAID					
RYAN COOPER		UNIT			DALANOE	0400.04	0457.07	0447.00	A70.54	000
JENNIFER COOPER	LAKE WALL CURLOTO ZE 9 ZC				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
ANA DEVITOR OF	LAKE WALL SUB LOTS 75 & 76				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
131 REXTON ST					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI MI 48377-1360					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.3
50-22-03-128-007		0.20	\$981.70	\$196.34	DATE PAID					
LEE WILLER		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
121 REXTON ST	LAKE WALL SUB LOTS 77 & 78				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-128-019		0.20	\$981.70	\$196.34	DATE PAID					
CURTIS FAMILY LIVING TRUST		UNIT	ψ501.70	ψ150.54	DATETAID					
	LAKE WALL SUB LOTS 79 & 80 08/11/86 FR 008 &				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
119 REXTON ST	009				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1192 WEST LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1331										
50-22-03-128-032 THOMAS J MILLER	LAKE WALL SUB LOTS 70 & 71 ALSO PART OF NW FRC 1/4 BEG AT NW COR OF LOT 70	0.20 UNIT	\$981.70	\$196.34	DATE PAID					
v meet	OF 'LAKE WALL SUB', TH W 160 FT, TH S TO	"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
207 REXTON ST	'JOHN HAWTHORN'S SUB NO 2',				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1362	TH E ALG SUB LINE TO SW COR OF LOT 70, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	N 119.50 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
E0 22 02 420 040		1.00	¢004.70	£094.70	DATE DAID					
50-22-03-129-019 HONG M DOAN		1.00 UNIT	\$981.70	\$981.70	DATE PAID			-		
XUAN Q TRAN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1623 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 11				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2008 HAZEL ST					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
BIRMINGHAM MI 48009				1	I		+	T		7.50.

Page 29 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDECC	OF PROPERTY	FDONTAGE	PER	CHARGE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	1ST	2ND	3RD	4TH	5TI
50-22-03-131-001 TIMOTHY C RICHARDSON		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
TIMOTHY C RICHARDSON		UNII			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1511 W LAKE DR	J.W. HAWTHORN'S SUB N 1/2 OF LOT 2 & S 1/2				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1341	OF LOT 3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
						,	,	,		
50-22-03-131-002		1.00	\$981.70	\$981.70	DATE PAID					
BRUCE O BARNARD		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1517 W LAKE DR	J.W. HAWTHORN'S SUB LOT 1 & S 1/2 OF LOT 2				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-003		1.00	\$981.70	\$981.70	DATE PAID					
JUSTIN WEINGER		UNIT			DALANOE	0004.70	#70F 00	# 500.00	0000.00	0400
4500 W LAKE DD	SUPERVISOR'S PLAT NO 2 LOT 1				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1523 W LAKE DR NOVI MI 48377-1341	SUPERVISORS PLATING 2 LOT 1				PRINCIPAL INTEREST	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196 \$0
NOVI WII 46377-1341					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					TOTAL	φ190.34	\$190.34	\$190.34	\$190.34	\$190
50-22-03-131-004		1.00	\$981.70	\$981.70	DATE PAID					
NED J & JOAN ANN ALOE TR		UNIT	φοσ1.70	φοστιτο	BATTE TAUB					
NED O G OOAN ANN ALOE IN		"""			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1529 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 2				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7009 E ARCOM DR UNIT #1059					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
SCOTTSDALE AZ 85254						,	,			
50-22-03-131-005		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT GARDNER		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1533 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 3				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-006		1.00	\$981.70	\$981.70	DATE PAID					
JEFFERY MCLELLAN		UNIT								
DEANNE CRISCUOLO					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1537 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 4				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1341					INTEREST TOTAL	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0. \$196
					TOTAL	\$190.34	\$190.34	\$190.34	\$190.34	\$190
50-22-03-131-007		1.00	\$981.70	\$981.70	DATE PAID					
PATRICK ZIARNIK		UNIT	ψ301.70	ψ901.70	DATE FAID					
PAMELA ZIARNIK		0,4,,			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1601 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 5				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1342	13. 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1011 1011 1012					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
						,	,	,		1.50
50-22-03-131-008		1.00	\$981.70	\$981.70	DATE PAID					
THOMAS P HARVEY		UNIT	•	· ·						
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1603 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 6				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
		1		1						

Page 30 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-009		1.00	\$981.70	\$981.70	DATE PAID					
HAITHAM SEMMA		UNIT								
MICHLINE SEMMA					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
1611 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 7				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-03-131-010		1.00	\$981.70	\$981.70	DATE PAID					
JAMES TESORERO		UNIT								
DIANA TESORERO					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1627 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 12				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-131-011		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT S MARSHICK		UNIT								
LORI J MARSHICK					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1631 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 14				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-131-012		1.00	\$981.70	\$981.70	DATE PAID					
HENRY KOZLOWSKI		UNIT								
STEPHANIE KOZLOWSKI					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1635 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 15				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-131-013		1.00	\$981.70	\$981.70	DATE PAID					
PAUL WEINDORF		UNIT	400							
CHRISTIE LEE	CLIDEDVICODIC DI AT NO 0 LOT 40 EVO CIVILV				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1641 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 16 EXC SWLY 10 FT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1342	10 F1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-131-015		1.00	\$981.70	\$981.70	DATE PAID					
MAJDY FARES		UNIT	ψ301.70	ψ301.70	BATETAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1651 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 17				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-131-016		1.00	\$981.70	\$981.70	DATE PAID					
CLIVE SPACKMAN		UNIT								
STEPHANIE SPACKMAN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1653 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 18				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-131-017		1.00	\$981.70	\$981.70	DATE PAID					
DAVID LOVE		UNIT			BALANCE	4001 70	# 7 05.00	4500.00	000000	***
ACEZ IN LAKE DD	CUDEDVICODIO DI AT MO OLOT 40				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1657 W LAKE DR NOVI MI 48377-1342	SUPERVISOR'S PLAT NO 2 LOT 19				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
		1		1	INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI WII 46377-1342					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.

Page 31 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-022		1.00	\$981.70	\$981.70	DATE PAID					
GARY C PHILLIPS		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1905 W LAKE DR	BENTLEY SUB LOTS 30 & 31				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-131-023		1.00	\$981.70	\$981.70	DATE PAID					
GERALD B ROSS		UNIT	ψ301.70	ψ301.70	BATETAID					
DEBORAH ROSS					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1911 W LAKE DR	BENTLEY SUB LOTS 28 & 29				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-024 JAMES STREET		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
MARY STREET		ONIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1915 W LAKE DR	BENTLEY SUB LOT 27				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 71 101 40077 1040					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-025		1.00	\$981.70	\$981.70	DATE PAID					
KURT M HOUGHTON JENNA M HOUGHTON		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	BENTLEY SUB LOT 26				PRINCIPAL			\$589.02 \$196.34		
1921 WEST LAKE	BENTLET SUB LOT 20					\$196.34	\$196.34		\$196.34	\$196
NOVI MI 48377					INTEREST	\$0.00	\$0.00 \$196.34	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$190.34	\$196.34	\$196.34	\$196.
50-22-03-131-026		1.00	\$981.70	\$981.70	DATE PAID					
CAREN NEDERLANDER		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1927 WEST LAKE DR	BENTLEY SUB LOT 25				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-027		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT M HULL		UNIT	φοσ1.70	ψοστσ	BATETALD					
BRENDA G TOPP					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1929 W LAKE DR	BENTLEY SUB LOTS 23 & 24				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-028		1.00	\$981.70	\$981.70	DATE PAID			<u> </u>		1
JAMES R FARRINGTON		UNIT	φ ο υ 1.70	ψ301.70	DATE FAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1931 W LAKE DR	BENTLEY SUB LOT 22				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-029		1.00	\$981.70	\$981.70	DATE PAID					1
HUSAM KHOURY		UNIT	φθ01.70	φουι./Ο	DATETAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1935 W LAKE DR	BENTLEY SUB N 1/2 OF LOT 20 & ALL OF LOT 21				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
		1								

Page 32 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-030		1.00	\$981.70	\$981.70	DATE PAID					
ROBERTA WENDT		UNIT			5	2001 70	4=0= 00	4500.00	4000.00	2100
1000 W LAWE DD	DENT! 5'/ OUD OT 40 0 0 4/0 OF OT 00				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1939 W LAKE DR	BENTLEY SUB LOT 19 & S 1/2 OF LOT 20				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-031		1.00	\$981.70	\$981.70	DATE PAID					
JUREK BACZEWSKI		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1945 W LAKE DR	BENTLEY SUB LOT 18				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-032		1.00	\$981.70	\$981.70	DATE PAID					
TONY OCKELFORD		UNIT	φοσσ		571.2171.5					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1947 W LAKE DR	BENTLEY SUB LOTS 16 & 17				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-131-035		0.75	\$981.70	\$736.28	DATE PAID					
PATRICIA J EISLEY		UNIT	ψοσ σ	V. 55.25	571.2171.5					
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
1671 HARBOR CV	CONDOMINIUM UNIT 1, BLDG 1 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
NOVI MI 48377-1310	19-87 TRAN FR 102-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
50-22-03-131-036		0.75	\$981.70	\$736.28	DATE PAID			1		
TIMOTHY ZEWATSKY		UNIT	φ901.70	\$730.20	DATE FAID					
MELISSA ZEWATSKY	CONDOMINIUM PLAN NO 439 HARBOR COVE	0			BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
1669 HARBOR CV	CONDOMINIUM UNIT 2, BLDG 1 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
NOVI MI 48377-1310	19-87 TRAN FR 102-007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 1111 1010					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
						\$117.25	VIII.20	V111.20	V111.20	Ų
50-22-03-131-037		0.75	\$981.70	\$736.28	DATE PAID					
CASJ 2 LLC	CONDOMINIUM PLAN NO 439 HARBOR COVE	UNIT			BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
1667 HARBOR CV	CONDOMINIUM UNIT 3, BLDG 1 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
NOVI MI 48377-1310	19-87 TRAN FR 102-008				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$147
NOVI WII 46377-1310	15-07 110-1011 102-000				TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
					TOTAL	\$147.20	\$147.20	\$147.20	\$147.20	\$147
50-22-03-131-038		0.75	\$981.70	\$736.28	DATE PAID					
JOHN DOUGLAS DOWNEY	CONDOMINIUM DI ANI NO 400 HA DE CE COLIFE	UNIT			DAI ANO-	#700 OS	AF00.00	0444.77	0004.54	04:-
4CCE LIADROR CV	CONDOMINIUM PLAN NO 439 HARBOR COVE CONDOMINIUM UNIT 4. BLDG 1 L 9263 P 177 8-				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
1665 HARBOR CV	19-87 TRAN FR 102-009				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
NOVI MI 48377-1310	13-07 TRAINER 102-009				INTEREST TOTAL	\$0.00 \$147.26	\$0.00 \$147.26	\$0.00 \$147.26	\$0.00 \$147.26	\$0.0 \$147
						Ţ 	Ţ .	720	720	Ų. <i>11</i>
50-22-03-131-039		0.75	\$981.70	\$736.28	DATE PAID					
SANDRA CAROLAN	CONDOMINIUM PLAN NO 439 HARBOR COVE	UNIT			BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
1661 HARBOR CV	CONDOMINIUM UNIT 5, BLDG 2 L 9263 P 177 8-				PRINCIPAL	\$130.28	\$589.02 \$147.26	\$147.26	\$147.26	\$147
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$147.26	\$147.26	\$147.26	\$147.26	\$147
INO VI IVII 403//-1310	13-07 113 010,020,000 & 102-000				TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
		1		I	IUIAL	Φ141.∠U	φ141.20	φ141.20	φ141.ZU	φ147

Page 33 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-040		0.75	\$981.70	\$736.28	DATE PAID					
JOHN C HAAS		UNIT								
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.26
1655 HARBOR CV	CONDOMINIUM UNIT 6, BLDG 2 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.26
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.26
50-22-03-131-041		0.75	\$981.70	\$736.28	DATE PAID					
JOYCE G WOLF		UNIT								
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.26
1685 HARBOR CV	CONDOMINIUM UNIT 7, BLDG 3 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.26
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1530 BEACON ST APT 1504					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
BROOKLINE MA 02446						***************************************	******	***************************************	***************************************	*****
50-22-03-131-042		0.75	\$981.70	\$736.28	DATE PAID					
MICHAEL WEIR		UNIT	ψουσ	V. 00.20	5,11217115					
JEANMARIE WEIR	CONDOMINIUM PLAN NO 439 HARBOR COVE	"			BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.2
1687 HARBOR CV	CONDOMINIUM UNIT 8, BLDG 3 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
65 PAMELA CT	10 01 110 10,020,000 0 102 000				TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
WATERFORD MI 48327					TOTAL	Ψ1+7.20	ψ147.20	ψ147.20	ψ147.20	Ψ1+7.2
50-22-03-131-043		0.75	\$981.70	\$736.28	DATE PAID					
MICHAEL WEIR		UNIT	ψ901.70	ψ130.20	DATETAID					
JEANMARIE WEIR	CONDOMINIUM PLAN NO 439 HARBOR COVE	UNIT			BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.2
	CONDOMINIUM UNIT 9. BLDG 3 L 9263 P 177 8-				PRINCIPAL					\$147.2
1687 HARBOR CV	19-87 FR 018,020,033 & 102-005					\$147.26	\$147.26	\$147.26	\$147.26	
NOVI MI 48377-1310	19-67 FR 010,020,033 & 102-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
65 PAMELA CT					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
WATERFORD MI 48327			****	A=00.00	DATE DAID					
50-22-03-131-044		0.75	\$981.70	\$736.28	DATE PAID					
ALLEN M BENNETT		UNIT			DALANOE	#700.00	# 500.00	0444.77	0004.54	0447.0
DARLENE BENNETT	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.2
1691 HARBOR CV	CONDOMINIUM UNIT 10, BLDG 3 L 9263 P 177 8- 19-87 FR 018,020,033 & 102-005				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
			000470	A=00.00	DATE DAID					
50-22-03-131-045		0.75	\$981.70	\$736.28	DATE PAID					
EARL ELLIOT	001/001/11/11/11/11/11/11/11/11/11/11/11	UNIT			54144165	4700.00	4500.00	A	2004.54	0117
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.2
1695 HARBOR CV	CONDOMINIUM UNIT 11, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
50-22-03-131-046		0.75	\$981.70	\$736.28	DATE PAID					
JOHN H MONTVILLE		UNIT				4=0	4=0		****	A
MARY LOU MONTVILLE	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.2
1697 HARBOR CV	CONDOMINIUM UNIT 12, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 764					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
NOVI MI 48376										1
50-22-03-131-047		0.75	\$981.70	\$736.28	DATE PAID					
KARTIK SHAH		UNIT								
RANJAN SHAH	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.2
1699 HARBOR CV	CONDOMINIUM UNIT 13, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
	II	1		I			1	1		

Page 34 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-048		0.75	\$981.70	\$736.28	DATE PAID					
LONNIE ROSS		UNIT								
JOHNATHAN & DILLON ROSS	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.
1701 HARBOR CV	CONDOMINIUM UNIT 14, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
NOVI MI 48377-1311	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
50-22-03-131-049		0.75	\$981.70	\$736.28	DATE PAID					
		UNIT	φοσσ	Q. 00.20						
LEONARD BERGER	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.
1681 HARBOR CV	CONDOMINIUM UNIT 15, BLDG 5 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
50-22-03-131-050		0.75	\$981.70	\$736.28	DATE PAID					
MATTHEW S MATTEON		UNIT	φοσιιτο	ψ100.20	DATE TAILS					
KASEY A MATTESON	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.
1679 HARBOR CV	CONDOMINIUM UNIT 16, BLDG 5 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
50-22-03-131-051		0.75	\$981.70	\$736.28	DATE PAID					
RANDAL HOLLEY		UNIT	***************************************	ļ ,,,,,,,,						
DONNA HOLLEY	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
1677 HARBOR CV	CONDOMINIUM UNIT 17, BLDG 5 L 9263 P 177 8-				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
6 VIBURNUM CT					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
HOMOSASSA FL 34446										
50-22-03-131-052		1.00	\$981.70	\$981.70	DATE PAID					
JOHNATHAN R JACOB		UNIT			DALANOE	0004.70	0705.00	# 500.00	0000.00	0400
JENNIFER A CYR	SUPERVISOR'S PLAT NO 2 LOT 8 10-28-96 FR				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1619 W LAKE DR	129-012				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-151-007		0.20	\$981.70	\$196.34	DATE PAID					
NICK RAEON		UNIT				*****	0.457.07	A	* =0.54	***
440 BENUM L OT	DI 01/5/5/ D 01/5 / 070 / 00 / 00 / 00				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
116 PENHILL ST	BLOMFIELD SUB LOTS 102, 103 & 104				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-151-008		0.20	\$981.70	\$196.34	DATE PAID					
ERIK KLAPHAKE		UNIT								
JENNIFER BAGNASCO					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
100 PENHILL ST	BLOMFIELD SUB LOTS 100 & 101				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-151-009		0.20	\$981.70	\$196.34	DATE PAID					
MARC R CORRIVEAU		UNIT								
WENDY CORRIVEAU					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
140 PENHILL ST	BLOMFIELD SUB LOTS 111 & 112				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
343 S ROGERS ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NORTHVILLE MI 48167-1532		1		I						

Page 35 of 172 11/16/2020 6:01 PM

SSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
ND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
0-22-03-151-010		0.20	\$981.70	\$196.34	DATE PAID					
OAN C FRANTZ		UNIT								
	DI CAMPIEI DI CAMPI CETO ACCIONALA				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
34 PENHILL ST	BLOMFIELD SUB LOTS 109 & 110				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
IOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
0-22-03-151-011		0.20	\$981.70	\$196.34	DATE PAID					
TEVE TALLMAN		UNIT	,	,						
DINA TALLMAN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
56 PENHILL ST	BLOMFIELD SUB LOTS 115 & 116				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
IOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
0-22-03-151-012		0.20	\$981.70	\$196.34	DATE PAID		1	1		
VAYNE DEAN		UNIT	φ961.70	\$190.34	DATE FAID					
ENNIFER L DEAN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
48 PENHILL ST	BLOMFIELD SUB LOTS 113 & 114				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
IOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
0.00.00.454.044		0.00	2004 70		5475 5415					
0-22-03-151-014 COLLEEN ROBBINS		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
OLLLEN KOBBINS		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
26 PENHILL ST	BLOMFIELD SUB LOTS 107 & 108				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
IOVI MI 48377-1355	520 1215 005 2010 101 Q 100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
0-22-03-151-015		0.20	\$981.70	\$196.34	DATE PAID					
OOUGLAS D SIMS		UNIT			BALANCE	£400.04	£457.07	£447.00	Ф70 F4	\$39.
20 PENHILL ST	BLOMFIELD SUB LOTS 105 & 106				PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	
20 PENHILL ST IOVI MI 48377-1355	BLOWIFIELD 30B LOTS 103 & 100				INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39. \$0.0
IOVI WII 46377-1333					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	\$39.27	\$39.27	\$39.27	φ39.2 <i>1</i>	Ф 39.
0-22-03-151-018		0.20	\$981.70	\$196.34	DATE PAID					
EVIN JORDAN		UNIT								
IACHELLA JORDAN	BLOMFIELD SUB PART OF LOT 118, ALSO ALL				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
78 PENHILL ST	OF LOTS 119 & 120 ALL DESC AS BEG AT SW				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
IOVI MI 48377-1355	COR OF LOT 120, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
0-22-03-151-019		0.20	\$981.70	\$196.34	DATE PAID					
EAN HEATH		UNIT								
RHONDA HEATH	BLOMFIELD SUB LOT 117, ALSO PART OF LOT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
68 PENHILL ST	118 ALL DESC AS BEG AT PT DIST S 54-03-00 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
IOVI MI 48377-1355	80.85 FT FROM				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
0-22-03-151-020		0.20	\$981.70	\$196.34	DATE PAID					
ESSICA KERNEN		UNIT	ψοσ1.70	ψ.100.0 1	D. C. E. I. AID					
IARIA SABLO	RI OMEIEI D SUB I OTS 121 & 122 0 7 02 ED 001				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
90 PENHILL ST					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
IOVI MI 48377-1355	αυισ				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
ESSICA KERNEN 1ARIA SABLO 90 PENHILL ST	BLOMFIELD SUB LOTS 121 & 122 9-7-93 FR 001 & 016	0.20 UNIT	\$981.70	\$196.34	PRINCIPAL INTEREST	\$39.27 \$0.00	\$39.27 \$0.00		\$39.27 \$0.00	\$39.27 \$39.27 \$0.00 \$0.00

Page 36 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-152-001		0.20	\$981.70	\$196.34	DATE PAID					
MARK RICHARD SEQUINE		UNIT								
WANDA MORAN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
45361 W PARK DR	BLOMFIELD SUB LOTS 77, 78 & 79				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-4901					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-152-002 CULEBRA ISLAND LIVING DESIGNS LLC		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
COLLDIA IOLAND LIVING DEGIGNO LEG		ONT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
179 PENHILL ST	BLOMFIELD SUB LOTS 80 & 81				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1356	DECIMI IEED GOD EG 10 00 & 01				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2011 WEST LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377					TOTAL	ψ00.21	ψ00.21	ψ00.21	ψ03.21	ψ05.21
50-22-03-152-003		0.20	\$981.70	\$196.34	DATE PAID					
KESTAS LLC		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
159 PENHILL ST	BLOMFIELD SUB LOTS 82 & 83				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19471 SCENIC HARBOR DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NORTHVILLE MI 48167-1978			****	210001	DATE DAID					
50-22-03-152-004 ALEKSANDR MARKIN		0.20	\$981.70	\$196.34	DATE PAID					
GALINA DZHELALI		UNIT			DALANCE	£400.04	¢457.07	£447.00	₾70. Г.4	¢20.07
45383 WEST PARK DR	BLOMFIELD SUB LOTS 73 TO 76 INCL				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
	BLOMFIELD SUB LOTS /3 TO /6 INCL				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-152-007		0.20	\$981.70	\$196.34	DATE PAID					
JOSUE NUNES HERNANDEZ		UNIT	40010	\$100.01	5711217115					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
143 PENHILL ST	BLOMFIELD SUB LOTS 65, 66 & 87				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
					101712	Ψ00.21	Ψ00.21	ψου.Στ	Ψ00.27	Ψ00.21
50-22-03-152-008		0.20	\$981.70	\$196.34	DATE PAID					
JAMES M EUBANKS		UNIT								
JAMES E EUBANKS					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
139 PENHILL ST	BLOMFIELD SUB LOTS 88 & 89				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-152-010		0.20	\$981.70	\$196.34	DATE PAID					
AL EVERS		UNIT	ψ901.70	ψ150.34	DATE FAID					
DORIS EVERS					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
109 PENHILL ST	BLOMFIELD SUB LOTS 95, 96 & 97				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
				ļ	1					
50-22-03-152-011		0.20	\$981.70	\$196.34	DATE PAID					
LAWRENCE D HEIN 105 PENHILL ST		UNIT			DAI ANOS	£400.04	£457.07	£447.00	¢70.54	#20 07
	BLOMFIELD SUB LOT 98				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
NOVI MI 48377-1356	BLOMLIETD 20B FOT 38				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
	II.	1		1	INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27

Page 37 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-152-012		0.20	\$981.70	\$196.34	DATE PAID					
WILLIAM R CURTIS		UNIT			5	212221	A457.07	0447.00	470.54	***
101 PENHILL ST	BLOMFIELD SUB LOT 99				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
NOVI MI 48377-1356	PLOMIFIELD SOB LOT 99				PRINCIPAL INTEREST	\$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39. \$0.0
NOVI WII 46377-1330					TOTAL	\$0.00 \$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39
50-22-03-152-013		0.20	\$981.70	\$196.34	DATE PAID					
JAMES SKINNER		UNIT	,	,						
NANCY SKINNER					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
144 PICKFORD ST	BLOMFIELD SUB LOT 64				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-152-014		0.00	0004.70	0400.04	DATE DAID					
ANN E LAFLECHE		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
AIM E LAI LEVIIL		01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
140 PICKFORD ST	BLOMFIELD SUB LOTS 62 & 63				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3540 CHILDS LAKE RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
MILFORD MI 48381-3620										
50-22-03-152-015		0.20	\$981.70	\$196.34	DATE PAID					
MARK HATCHIGIAN		UNIT								
KATHY L HATCHIGIAN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
132 PICKFORD ST	BLOMFIELD SUB LOTS 59 TO 61 INCL				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-152-016		0.20	\$981.70	\$196.34	DATE PAID			1		
BRIAN L MCDERMOTT		UNIT	ψ501.70	ψ100.04	BATETAID					
		"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
120 PICKFORD ST	BLOMFIELD SUB LOTS 56 TO 58 INCL				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-152-017		0.20	\$981.70	\$196.34	DATE PAID					
JASON M MALACK		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
2020 WEST LAKE DR	BLOMFIELD SUB LOTS 53 TO 55 INCL				PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
NOVI MI 48377-1357	BEOMI IEED 30B E013 33 10 33 INCE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110111111111111111111111111111111111111					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						400.2 7	ψου. <u>Σ</u> .	\$60.27	QUUIL	+ 400 .
50-22-03-152-018		0.20	\$981.70	\$196.34	DATE PAID					
MICHEAL NIESYTO		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
135 PENHILL ST	BLOMFIELD SUB LOTS 90 & 91 9-15-89 FR 009				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-152-019		0.20	\$981.70	\$196.34	DATE PAID					
ATHIR YOUSIF BATTAH		UNIT	ψοσ1.70	Ψ.50.04	D. C.E.I AID					
NADIA BATTAH	DI OMEIEI D CUID I OTO CO CO CO CO CO CO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	BLOMFIELD SUB LOTS 92, 93 & 94 9-15-89 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
123 PENHILL ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1355										

Page 38 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-152-020		0.20	\$981.70	\$196.34	DATE PAID					
NATHAN WILMONT		UNIT								
	DI OMEJELD OLID I OTO 07 0 00 EVO NILV 7 ET				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
156 PICKFORD ST	BLOMFIELD SUB LOTS 67 & 68, EXC NLY 7 FT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1357	OF BOTH SD LOTS 1-31-91 FR 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-152-021		0.20	\$981.70	\$196.34	DATE PAID					
ZHIWEI SUN		UNIT								
ASA BIOMSOBB OF	BLOMFIELD SUB LOTS 84, 85 & 86, ALSO NLY 7				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
151 PICKFORD ST	FT OF LOTS 67 & 68 1-31-91 FR 006				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
24742 JAMESTOWNE NOVI MI 48375					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-152-022		0.20	\$981.70	\$196.34	DATE PAID					
YERKO SEPULVEDA	BLOMFIELD SUB PART OF LOT 71 & ALL OF LOT	UNIT	\$901.70	\$190.34	DATE PAID					
NANCY SEPULVEDA	72 ALL DESC AS BEG AT PT DIST N 53-30-00 W	ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
168 PICKFORD ST	76.50 FT FROM MOST SLY COR OF LOT 69, TH				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377-1357	N 53-30-00 W 67.50 FT, TH N 36-01-46 E 107 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI WII 40077-1007	TH S 53-30-00 E 67.50 FT, TH S 36-01-46 W 107				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	FT TO BEG				101712	Ψ00.27	φου.21	Ψ00.27	Ψ00.27	Ψ00.
50-22-03-152-023		0.20	\$981.70	\$196.34	DATE PAID					
DANIEL KUSK	BLOMFIELD SUB LOTS 69 & 70, ALSO PART OF	UNIT								
	LOT 71 ALL DESC AS BEG AT MOST SLY COR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
162 PICKFORD ST	OF LOT 69, TH N 53-30-00 W 76.50 FT, TH N 36-				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358	01-46 E 107FT, TH S 53-30-00 E 76.50 FT, TH S				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	36-01-46 W 107 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50.00.00.450.000										
50-22-03-153-003 ROSETTA SIN		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
JAMES SONSYNATH		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
173 PICKFORD ST	BLOMFIELD SUB LOTS 31 & 32				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358	BEOWN IEED SOB ECTS 51 & 32				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI WII 40077-1000					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
					TOTAL	ψ39.21	ψ33.21	ψ39.21	ψ39.21	ψ05.
50-22-03-153-004		0.20	\$981.70	\$196.34	DATE PAID					
GARY A GAUTHIER		UNIT	,	1						
KAY GAUTHIER					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
163 PICKFORD ST	BLOMFIELD SUB LOTS 33 & 34				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
6135 CARROLL LAKE RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
COMMERCE TOWNSHIP MI 48382-3614										

Page 39 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDECC	OF PROPERTY	FDONITAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202- 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		<u> </u>	DATE DAID	151	ZND	3KD	41H	51
50-22-03-153-019 MARION D VANOVER		0.20	\$981.70	\$196.34	DATE PAID					
		UNIT			DALANOE	0400.04	0457.07	0447.00	070.54	000
PEGGY SUE VANOVER	DI OMEJEL DI CUID LOT CO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
109 PICKFORD ST	BLOMFIELD SUB LOT 50				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-153-020		0.20	\$981.70	\$196.34	DATE PAID					
MARION VANOVER		UNIT								
PEGGY VANOVER					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	BLOMFIELD SUB LOT 51				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
109 PICKFORD ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358										
50-22-03-153-021		0.20	\$981.70	\$196.34	DATE PAID					
DEAN SIMON		UNIT								
DEBRA SIMON	DI 01/5/5/ D 01/D / 07				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
101 PICKFORD ST	BLOMFIELD SUB LOT 52				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-153-028		0.20	\$981.70	\$196.34	DATE PAID					
DONNA THORPE		UNIT	400	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
115 PICKFORD ST	BLOMFIELD SUB LOTS 6 & 49				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-153-030		0.20	\$981.70	\$196.34	DATE PAID					
JOHN THOMOPOULOS		UNIT	ψ901.70	ψ190.54	DATETAID					
JOHN HIOMOFOOLOS		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
119 PICKFORD ST	BLOMFIELD SUB LOT 47 & 48				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358	BEOWN IEED OOD EOT 47 & 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 91					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-0091					TOTAL	\$39.27	φ39.2 <i>1</i>	\$39.27	φ39.2 <i>1</i>	
50-22-03-153-038		0.20	\$981.70	\$196.34	DATE PAID					
CARL GRETZIGER		UNIT			5	*****	A457.07	0117.00	* =0.54	***
120 DICKEODD ST	BLOMFIELD SUB LOT 44, ALSO LOT 45 EXC ELY				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
129 PICKFORD ST	3 FT 12-8-99 FR 036				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-153-040		0.20	\$981.70	\$196.34	DATE PAID					
THOMAS ZULCH		UNIT	•	'						
JULIE ZULCH	BLOMEIELD CUB LOTS 25 26 8 27 7 20 20 ED				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
159 PICKFORD ST	BLOMFIELD SUB LOTS 35, 36 & 37 7-28-00 FR 005 & 006				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358	005 & 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-153-043		0.20	\$981.70	\$196.34	DATE PAID					
MARK SAINCOME		UNIT	φ901./U	\$190.34	DATE PAID					1
	BLOMFIELD SUB LOT 9, ALSO ELY 3FT OF LOTS				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
123 PICKFORD ST	10 & 45,ALSO ALL OF LOT 46 11-27-02 FR 035 &				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358	041				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
		1					,	7	,	+ 50.

Page 40 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	·	
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-153-044		0.20	\$981.70	\$196.34	DATE PAID					
SHELLY HEADLEE		UNIT		,						
	BLOMFIELD SUB LOTS 28, 29 & 30 4-14-08 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
175 PICKFORD ST					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358	001 & 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						, , , ,	,			
50-22-03-153-045		0.20	\$981.70	\$196.34	DATE PAID					
JOHN T HARVEY		UNIT	ψοσ σ	V.00.0 .	571.2.7115					
••••••		"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
151 PICKFORD ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1358	Coo / lococool o cinco for Logal Decomption				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1321 W WEST LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 43877					TOTAL	ψ00.21	Ψ03.21	ψ03.21	ψ00.21	Ψ00.
50-22-03-153-046		0.20	\$981.70	\$196.34	DATE PAID					
GREG EBERLEIN		UNIT	φ901.70	\$190.34	DATE PAID					
TEHVA EBERLEIN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
137 PICKFORD ST	Con Assessara Office for Logal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	· ·	\$39.
	See Assessors Office for Legal Description								\$39.27	
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50.00.00.454.004		0.00	0001.70	040001	DATE SAIR		1			_
50-22-03-154-004		0.20	\$981.70	\$196.34	DATE PAID	<u> </u>				
YOUSEF ANTOO		UNIT								
NADA ANTOO	BRISTOL CORNERS NORTH LOT 14 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
44474 BRISTOL CIR	22-04-426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-154-005		0.20	\$981.70	\$196.34	DATE PAID					
DONALD LUSCHAS		UNIT								
	BRISTOL CORNERS NORTH LOT 15 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
44462 BRISTOL CIR	003&22-04-426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	003822-04-420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-154-006		0.20	\$981.70	\$196.34	DATE PAID					
FALLON KAPATAIS		UNIT								
	BRISTOL CORNERS NORTH LOT 16 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
44450 BRISTOL CIR	003&22-04-426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	003822-04-420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-03-154-007		0.20	\$981.70	\$196.34	DATE PAID					
ANIL NAGOJI		UNIT				L				
SANDEEPA VELGAPUDI	BRISTOL CORNERS NORTH LOT 17 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
30467 PENNINGTON LN					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	003&22-04-426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-03-154-008		0.20	\$981.70	\$196.34	DATE PAID					
RONALD WHITE		UNIT								
ALLYSON WHITE	PRICTOL CORNERS NORTH LOT 40 C CC CC CC				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
30479 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 18 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-03-154-009		0.20	\$981.70	\$196.34	DATE PAID	ĺ				
NARASIMHA RAO SANTHAPUR		UNIT								
GOWRI L SANTHAPUR	BRISTOL CORNERS NORTH LOT 19 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
30487 PENNINGTON LN					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
							Ψ	, QUU	Ψ00. .	Ψ30.

of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-154-010		0.20	\$981.70	\$196.34	DATE PAID					
VALENCIA KHAMI		UNIT								
PETROUS KAMAL	PRIOTOL CORNERO MORTILLOT CO C. C. C. C.				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30495 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 20 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 1111 10077					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ00.21	ψ03.21	Ψ00.21	ψ00.21	Ψ00.
50-22-03-154-011		0.20	\$981.70	\$196.34	DATE PAID					
DEEPAK VITTALDEVARA		UNIT	ψ901.70	ψ130.54	DATETAID					
SWATHI ISUKAPALLI		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	BRISTOL CORNERS NORTH LOT 21 6-25-03 FR									
30503 PENNINGTON LN	002 & 003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
			2004.70	2100.01	DATE DAID					
50-22-03-154-012		0.20	\$981.70	\$196.34	DATE PAID					
JOHN HASKINS		UNIT								
JENNIFER HASKINS	BRISTOL CORNERS NORTH LOT 22 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30515 PENNINGTON LN	002				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-03-154-013		0.20	\$981.70	\$196.34	DATE PAID					
DARBY O'REILLY		UNIT								
NANCY C O'REILLY	PRICTOL CORNERS MORTHLOT 22 C 25 02 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30514 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 23 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						400.2 1	400.2.	\$60.2 1	400.2 1	Ψ00
50-22-03-154-014		0.20	\$981.70	\$196.34	DATE PAID					
ZHENGXIAN BRANDON BAI		UNIT	φοσι.το	Ψ100.04	D/((L17()D					
ZIIENGXIAN BRANDON BAI		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30502 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 24 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	003						· · · · · · · · · · · · · · · · · · ·			
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4847 BARLOWS LANDING COVE					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
SAN DIEGO CA 92130										
50-22-03-154-015		0.20	\$981.70	\$196.34	DATE PAID					
ALAN MILLER		UNIT								
ROSANNE MILLER	BRISTOL CORNERS NORTH LOT 25 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30490 PENNINGTON LN	003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-03-154-016		0.20	\$981.70	\$196.34	DATE PAID					
THOMAS SUTHERLAND		UNIT								
SYLVIA SUTHERLAND	BRISTOL CORNERS NORTH LOT 26 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
30478 PENNINGTON LN					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
						,	7-2	, , , , , , , , , , , , , , , , , , ,	+	+30
50-22-03-154-017		0.20	\$981.70	\$196.34	DATE PAID					
LOLA L FALEIX		UNIT	ψ501.70	ψ150.54	DATETAID					
ALAIN P FALEIX		UNIT			BALANCE	\$106.24	\$157.07	\$117 PO	¢70 51	\$39
	BRISTOL CORNERS NORTH LOT 27 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	
30466 PENNINGTON LN	003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
			400:		D. T.					
50-22-03-154-018		0.20	\$981.70	\$196.34	DATE PAID					
		UNIT						A	A=0 - ·	
DENISE ZARRA	BRISTOL CORNERS NORTH LOT 28 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30454 PENNINGTON LN	003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	II.			1	11					1

of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-154-019		0.20	\$981.70	\$196.34	DATE PAID					
FIRAS SHAIA		UNIT								
LYDIA ANN SHAIA	BRISTOL CORNERS NORTH LOT 29 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
30442 PENNINGTON LN	003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-155-001		1.00	\$981.70	\$981.70	DATE PAID					
DANNY R HENSON		UNIT								
JULIE A HENSON					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1951 W LAKE DR	BENTLEY SUB LOT 15				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-155-002		1.00	\$981.70	\$981.70	DATE PAID					
DARRELL ROBERTSON		UNIT	φοσσ		571.2171.5					
JULIE ROBERTSON					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1953 W LAKE DR	BENTLEY SUB LOT 14				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-155-003		1.00	\$981.70	\$981.70	DATE PAID					
MARK J MILLER		UNIT	ψοσ σ		571.2171.5					
TINA M MILLER					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1957 W LAKE DR	BENTLEY SUB LOT 13				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-155-006		1.00	\$981.70	\$981.70	DATE PAID					
FRANCES E BURKETT		UNIT	φ901.70	φ901.70	DATE FAID					
		0			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
2005 W LAKE DR	BENTLEY SUB LOT 10				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-155-007 SHERYL WAJDA		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
AUGUST WAJDA		ONT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
2009 W LAKE DR	BENTLEY SUB LOT 9				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
10077 1044					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
			****	0004.70	DATE DAID				1	
50-22-03-155-008 CAROL E AMES TRUST		1.00 UNIT	\$981.70	\$981.70	DATE PAID		-	-		
		5			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
2011 W LAKE DR	BENTLEY SUB LOT 8				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-155-009		1.00	\$981.70	\$981.70	DATE PAID					1
GARY SZYMANSKI		UNIT	ψ301.70	ψουι./υ	DATETAID					
SARAH SZYMANSKI		'			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
2012 WEST LAKE DR	BENTLEY SUB LOT 7				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1347					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
		1				<u> </u>	1			1

Page 43 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-155-012 KATHERINE KENNEDY		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
2023 W LAKE DR	BENTLEY SUB LOT 4				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-03-155-013		1.00	\$981.70	\$981.70	DATE PAID					
BLOMFIELD SUBDIVISION LAKE ACCESS		UNIT			5444405	4004 70	4705.00	4500.00	****	21000
105 PENHILL ST	DENTI EVICUELOT 2				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
NOVI MI 48377-1356	BENTLEY SUB LOT 3				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
D O DOV 507					INTEREST TOTAL	\$0.00 \$196.34	\$0.00	\$0.00 \$196.34	\$0.00	\$0.00
P.O. BOX 507					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WALLED LAKE MI 48390		4.00	¢004.70	C004 70	DATE DAID					
50-22-03-155-014 KEVIN BYRD		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
VALERIE-ZELKO BYRD					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
2105 W LAKE DR	BENTLEY SUB LOT 2				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-03-155-015		1.00	\$981.70	\$981.70	DATE PAID					
PATRICK O'LEARY		UNIT								
JENNIFER O'LEARY					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
2109 W LAKE DR	BENTLEY SUB LOT 1				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-03-155-016	PART OF NW FRC 1/4 BEG AT SE COR OF LOT 1	1.00	\$981.70	\$981.70	DATE PAID					
NICHOLAS MALLES	'BENTLEY SUB', TH N 54-13-00 W ALG SLY LINE	UNIT								
LORI MALLES	OF SAID LOT 125 FT TO BENTLEY AVE, TH S 18-				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
2111 W LAKE DR	45-00 W ALG ELY LINE OF BENTLEY AVE 35 FT,				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1345	TH S 54-13-00 E TO SHORE OF WALLED LAKE,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	TH NLY ALG SHORE TO BEG 0.10 A MN36				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
50-22-03-155-017 MATTHEW GUDAITIS		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
MATTHEW GUDAITIS		UNII			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
2115 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1345	See Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23233 TUCK RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
FARMINGTON MI 48336-3464					101712	Ψ100.01	Ψ100.01	Ψ100.04	Ψ100.01	ψ100.0
50-22-03-155-018		1.50	\$981.70	\$1,472.55	DATE PAID					
JAN DAVID ROSENTHAL TRUST		UNIT								
C/O PATRICIA DWYER	0, 4, 0, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1,				BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294.5
2117 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.5
NOVI MI 48377-1345					INTEREST TOTAL	\$0.00 \$294.51	\$0.00 \$294.51	\$0.00 \$294.51	\$0.00 \$294.51	\$0.0 \$294.5
					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.0
50-22-03-155-020 RONALD COON		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
KONALD COON		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
2115 W LAKE DR	BENTLEY SUB LOTS 5 & 6 1-14-93 FR 010 & 011				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2018 W LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1344										7.23.0

Page 44 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-201-001		0.20	\$981.70	\$196.34	DATE PAID					
JOHN M PRIOR		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
124 N HAVEN ST	LAKE WALL SUB LOTS 24 & 25				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.3
50-22-03-201-002		0.20	\$981.70	\$196.34	DATE PAID					
CULEBRA ISLAND LIVING DESIGNS LLC		UNIT	********	******						
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
120 NORTH HAVEN DR	LAKE WALL SUB LOTS 22 & 23				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2011 WEST LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377										
50-22-03-201-004 LAURA NAPOLI		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
LAURA NAPOLI		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
116 N HAVEN ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	Coo / lococool o cilico for Eagui Decomption				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 VI WII 40077					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ00.21	ψ03.21	ψ03.21	ψ00.21	Ψ00.
50-22-03-201-005		0.20	\$981.70	\$196.34	DATE PAID					
BRUCE A SIMON		UNIT								
JULIE K SIMON					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
112 N HAVEN ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1906 CARSONS CV					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-1869 50-22-03-202-001		0.20	\$981.70	\$196.34	DATE PAID					
EMANUEL MALLES		UNIT	\$981.70	\$196.34	DATE PAID					
STACEY L NEWMAN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
135 N HAVEN ST	LAKE WALL SUB LOTS 48 & 49				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	E WE WILL GOD LOTO 40 Q 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 VI WII 40077					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					101712	Ψ00.27	Ψ00.27	Ψ00.27	Ψ00.27	Ψ00.
50-22-03-202-002		0.20	\$981.70	\$196.34	DATE PAID					
THOMAS E MARQUARDI		UNIT								
404 NODTH	LAKE WALL CUB LOTO TO A T				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
121 NORTH HAVEN DR	LAKE WALL SUB LOTS 50 & 51				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00	\$0.00 \$39.27	\$0. \$39.
					IOIAL	\$39.27	\$39.27	\$39.27	\$39.21	\$39.
50-22-03-202-003		0.20	\$981.70	\$196.34	DATE PAID					
ALLEN JEFFERY SCOTT		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
115 N HAVEN ST	LAKE WALL SUB LOTS 52, 53 & 54				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-202-004	I.	0.20	\$981.70	\$196.34	DATE PAID		1	<u> </u>		1
50-22-03-202-004 JOSEPH WITEK		UNIT	φ 9 ο1./U	φ 190.34	DATE PAID					
OOOL II WIILK		GIVIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
118 REXTON ST	LAKE WALL SUB LOTS 58 & 59				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
								1		1

Page 45 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-202-005		0.20	\$981.70	\$196.34	DATE PAID					
STEPHAN ZANOTTI &		UNIT								
ROXANNE ZANOTTI TRUST	LAKE MALL OUR LOTO SO 0 ST				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
112 REXTON ST	LAKE WALL SUB LOTS 56 & 57				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-202-006		0.20	\$981.70	\$196.34	DATE PAID					
RICHARD CURTIS		UNIT								
GLAZEL CURTIS					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1320 W LAKE DR	LAKE WALL SUB LOT 55				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1333					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-203-001		0.20	\$981.70	\$196.34	DATE PAID					
ANDREW SOBOROWSKI		UNIT		,						
SUSAN SOBOROSKI					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
117 REXTON ST	LAKE WALL SUB LOTS 81, 82 & 83				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1407 E LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377										
50-22-03-204-002	PART OF NE FRC 1/4 BEG AT PT DIST N 89-19-	1.50	\$981.70	\$1,472.55	DATE PAID					
ROBERT A GO	00 E 17.50 FT & N 166.67 FT FROM NW COR LOT	UNIT			DALANOE	04 470 55	04.470.04	#000 F0	# 500.00	0004.54
LORITA HOWLETT	17 'LAKE WALL SUB', TH N 90.53 FT, TH N 89-19-				BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294.51
1175 W LAKE DR	00 E 319.20 FT, TH S 29-20-00 W 232.12 FT, TH N				PRINCIPAL INTEREST	\$294.51 \$0.00	\$294.51 \$0.00	\$294.51 \$0.00	\$294.51 \$0.00	\$294.51 \$0.00
NOVI MI 48377-1337	62-16-00 W 232.15 FT TO BEG 1 A				TOTAL	\$0.00	\$0.00	\$294.51	\$0.00	\$294.51
	MN33E				TOTAL	\$294.51	φ294.51	φ294.51	\$294.51	\$294.51
50-22-03-204-004		1.00	\$981.70	\$981.70	DATE PAID					
CURTIS FAMILY LIVING TRUST	PART OF NE FRC 1/4 BEG AT PT DIST N 89-19-	UNIT								
	00 E 17.50 FT FROM NW COR LOT 17 'LAKE				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1192 W LAKE DR	WALL SUB', TH N 89-19-00 E 40 FT, TH N 64-44-				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1331	00 E 27.64 FT, TH N 70.54 FT, TH N 62-16-00 W				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	73.43 FT, TH S 116.98 FT TO BEG 0.13 A MN33A				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-03-204-010		1.00	\$981.70	\$981.70	DATE PAID					
THOMAS H HARVEY	LAKE WALL SUB PARTS OF LOTS 16 & 17 BEG AT NW COR LOT 16. TH S 26-38-20 W 23.60 FT	UNIT								
MARY HARVEY	TO SW LOT COR. TH S 60-04-10 E 150 FT TO SE				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1195 W LAKE DR	LOT COR. TH N 38-30-30 E ALG SHORE 45.46				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1337	FT. TH N 60-04-10 W 121.65 FT. TH S 89-32-20 W				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	42.30 FT TO BEG				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-03-204-011		1.00	\$981.70	\$981.70	DATE PAID					
BRIAN A KOSAIAN		UNIT	ψοσ1σ	ψοστσ	3,1121,110					
REBECCA E KOSAIAN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1251 W LAKE DR	LAKE WALL SUB LOTS 14 & 15				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34

Page 46 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-204-012		1.00	\$981.70	\$981.70	DATE PAID					
MICHAEL SULLA		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1259 W LAKE DR	LAKE WALL SUB NE 1/2 OF LOT 12 & ALL OF				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1338	LOT 13				INTEREST		\$0.00	\$0.00	\$0.00	\$190
NOVI WII 46377-1336					TOTAL	\$0.00 \$196.34	\$196.34	\$196.34	\$196.34	\$196
					TOTAL	ψ130.54	ψ130.54	ψ130.54	ψ130.5 -	ψ130
50-22-03-204-013		1.50	\$981.70	\$1,472.55	DATE PAID					
LORI MCLEAN		UNIT			54144105	A. 170 FF	A. 170.01	4000 50	4500.00	2001
40071W AVE DD	LAKE WALL SUB LOTS 10, 11 & SW 1/2 OF LOT				BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294
1307 W LAKE DR	12				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
50-22-03-204-015		1.00	\$981.70	\$981.70	DATE PAID					
JOHN T HARVEY		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1321 W LAKE DR	LAKE WALL SUB LOTS 7 & 8				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-204-016		1.00	\$981.70	\$981.70	DATE PAID					
ARTHUR YOUNG MOY		UNIT	********	*********						
BARBARA MOY					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1327 W LAKE DR	LAKE WALL SUB LOT 6				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-204-017		1.00	\$981.70	\$981.70	DATE PAID					
RONALD E JOHNSTON SR		UNIT	φ901.70	φ901.70	DATE FAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1331 W LAKE DR	LAKE WALL SUB LOT 4 EXC S 18 FT & ALL OF				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1339	LOT 5				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-204-021 DANIEL WILLIAMS		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
WENDI WILLIAMS		ONT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1419 W LAKE DR	J.W. HAWTHORN'S SUB LOT 8				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1340	5.W. TBW THOMAS GGB 201 G				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
100711011 40377-1340					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
								·		
50-22-03-204-022 RAYMOND C OTT TRUST		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
NATINOND COTT INUST		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1425 W LAKE DR	J.W. HAWTHORN'S SUB LOT 7				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 41 1411 4007 7 - 1040					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50.00.00.004.000		1.00	0004.70	0004.70	DATE DATE					
50-22-03-204-023 JAMES HOARE		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
MADELANINE LYDA		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1431 W LAKE DR	J.W. HAWTHORN'S SUB LOT 6				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
		1			IOIAL	Ψ100.07	ψ100.07	Ψ100.07	ψ100.07	Ψ130

Page 47 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-204-024		1.00	\$981.70	\$981.70	DATE PAID					
LAWRENCE L LUCHI		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
1501 W LAKE DR	J. W. HAWTHORN'S SUB LOT 5				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1923 DEER PATH TRL					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-1875										
50-22-03-204-025		1.00	\$981.70	\$981.70	DATE PAID					
STEVEN G LOE		UNIT								
PAULETTE H LOE	J.W. HAWTHORN'S SUB N 1/2 OF LOT 3 & ALL				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1507 W LAKE DR	OF LOT 4				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50-22-03-204-027		1.00	\$981.70	\$981.70	DATE PAID					
CURTIS FAMILY LIVING TRUST		UNIT			B	****	4705.00	4500.00	*****	
	0 4 0# f 5				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
4400 WEOT LAVE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1192 WEST LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1331		4.00	4004 70	2004 70	DATE DAID					
50-22-03-204-031		1.00	\$981.70	\$981.70	DATE PAID					
DAVID BOYER		UNIT			5.1.1.1.05	2004 70	4705.00	****	****	2100
	0 4 05 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1191 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1337					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
50.00.00.004.000		4.00	0004.70	0004.70	DATE DAID		1			
50-22-03-204-032		1.00	\$981.70	\$981.70	DATE PAID					
JAMES BOLZ ANNE BOLZ		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	See Assessors Office for Legal Description									
1405 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1340					INTEREST TOTAL	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0. \$196
					TOTAL	\$196.34	\$196.34	\$196.34	\$190.34	\$190
50-22-03-204-033		1.00	\$981.70	\$981.70	DATE PAID					
MICHAEL CONDON		UNIT	φ901.70	φ901.70	DATE FAID					
WICHAEL CONDON		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1411 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1340	Coc / locococi o Onioc for Logar Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$190
110 11 1111 1001 1-1010					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					IOIAL	ψ100.04	ψ150.54	ψ130.04	ψ130.04	ψ190
50-22-03-204-034		1.00	\$981.70	\$981.70	DATE PAID					
DAVID DISMONDY		UNIT	ψοσ1.70	ψοσ1.70	DATE I AID					
MARIA DISMONDY		"""			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
1185 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1337	200 / 10000001 Office Logar Bookinption				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1181 WEST LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377					101712	ψ100.0-r	Ψ100.0-7	Ψ100.01	ψ100.0-r	ψ130
50-22-03-326-002		1.00	\$981.70	\$981.70	DATE PAID					
ARTHURE GIESSLER		UNIT	ψοσ1.10	ψοσισ	3,(121,110					
RUBY J GIESSLER	l	"""			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
v oleooleit	LAKEWOODS THAT PART OF LOT 61 LYING BET				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	SIDE LINES OF LOT 59 AS EXT ACROSS SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1311 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
IOTI OOOTII LAKE DIX	II			1	IOIAL	ψ100.04	ψ100.04	ψ100.04	ψ100.04	ψισυ

Page 48 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-326-003		1.00	\$981.70	\$981.70	DATE PAID					
ARTHURE GEISSLER		UNIT								
RUBY GEISSLER	LAKEWOODS THAT PART OF LOT 61 LYING BET				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	THE EXT OF E & W LINES OF LOT 58 ACROSS				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
	SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1311 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1827										
50-22-03-326-004		1.00	\$981.70	\$981.70	DATE PAID					
CHRISTOPHER CRAMER		UNIT	,	'''						
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	LAKEWOODS THAT PART OF LOT 61 LYING ELY				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF E LINE OF LOT 58 EXT ACROSS SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1301 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1827					1017.2	\$100.01	ψ.ισσ.σ.	ψ.ισσ.σ.	ψ.σσ.σ.	\$100.0
50-22-03-327-002		1.00	\$981.70	\$981.70	DATE PAID					
PATRICIA MANIEWSKI		UNIT	ψ301.70	ψ301.70	DATETAID					
TATRIOIA MARIEWORK		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	LAKEWOODS W 75 FT OF E 112.50 FT OF LOT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	63				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1207 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1826					IOIAL	ψ130.3 4	ψ190.54	ψ190.04	ψ190.04	φ190.5
50-22-03-327-003		1.00	\$981.70	\$981.70	DATE PAID					
		UNIT	φ901.70	\$901.70	DATE PAID					
KATHERINE KENNEDY		UNII			DALANCE	C004 70	Ф 7 05 00	ΦΕΩΩ ΩΩ	#200 C0	£400.0
MARC KENNEDY	LAKEWOODS E 37.50 FT OF LOT 63				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	LAKEWOODS E 37.50 FT OF LOT 63				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
1001 COLITILIANE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1201 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1826										
50-22-03-327-004		1.00	\$981.70	\$981.70	DATE PAID					
DANOVI, LLC		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	LAKEWOODS LOT 64				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28535 ORCHARD LAKE RD STE 100					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
FARMINGTON HILLS MI 48334-2918										
50-22-03-327-005		1.00	\$981.70	\$981.70	DATE PAID					
BARTH E PLOWMAN		UNIT								
SUSAN M PLOWMAN	LAKEWOODS W 72.85 FT OF LOT 63 11-27-91 FR				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	001				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1255 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1826										
50-22-03-327-006		1.00	\$981.70	\$981.70	DATE PAID					
THOMAS BELLER		UNIT								
MARGARET BELLER	LAKEWOODS E 72.85 FT OF W 145.70 FT OF				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	LOT 63 11-27-91 FR 001 5-22-92 CORR				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	LOT 63 11-27-91 FR 001 5-22-92 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1235 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1826						Ţ	7.10.0.	Ţ.13.0.	7.20.01	Ş.00.0
50-22-03-328-001		1.00	\$981.70	\$981.70	DATE PAID					
HILDEGARD BORGER		UNIT	ψοσ1.70	\$551.76	DATE I AID					
DOROTHY & MICHEL DUCHESNEAU					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
DONOTHING WHOTEL DOGILISHEAU	LAKEWOODS W 1/3 OF LOT 65				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	LANEWOODS W 1/3 OF LOT 03				INTEREST	\$0.00	\$0.00	\$0.00	\$196.34	\$0.00
125 HENNING ST					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					IOIAL	ֆ । ৬৩.১4	\$190.34	φ190.34	\$190.34	φ 190.34
NOVI MI 48377-1813		1		I			1		1	1

Page 49 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-328-002		1.00	\$981.70	\$981.70	DATE PAID					
MICHEL DUCHESNEAU		UNIT								
DOROTHY DUCHESNEAU					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	LAKEWOODS E 1/3 OF W 2/3 OF LOT 65				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1191 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1852										
50-22-03-328-004		1.00	\$981.70	\$981.70	DATE PAID					
BRANDON R DAVIS		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1185 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1825										
50-22-03-329-001		1.00	\$981.70	\$981.70	DATE PAID					
WILLIAM BARRINGER		UNIT								
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	OF IDLEMERE PARK LOT 1				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF IDLEWERE PARK LOT I				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1109 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1825										
50-22-03-329-002		1.00	\$981.70	\$981.70	DATE PAID					
DAIVD B MURPHY		UNIT								
TAMARA K MURPHY	OLIDED (100DIO DEDI AT OF LOTO 440, 440, 0, 444				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF IDLEMERE PARK LOT 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1107 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1825								· ·		
50-22-03-329-003		1.00	\$981.70	\$981.70	DATE PAID					
SUSAN SHENKOSKY		UNIT	,	,						
	0110501100010 0501 47 05 1 070 440 440 0 444				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF IDLEMERE PARK LOT 3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1105 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377						Ţ	Ţ.00.0.	7 .00.0.	Ţ.00.0.	7.00
50-22-03-329-004		1.00	\$981.70	\$981.70	DATE PAID					
REBECA M DELGADO GOMEZ		UNIT	********	*************************************						
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF IDLEMERE PARK LOT 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1101 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1825							,	,		
50-22-03-330-001		1.00	\$981.70	\$981.70	DATE PAID					
EVAN MATHIS		UNIT	···· o							
	augenvaage pening and a second				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF IDLEMERE PARK LOT 5				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3162 BLOOMFIELD SHORE					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1824					10171	ψ100.0-r	ψ100.0-Y	Ψ100.0-7	Ψ100.0-7	ψ150.
50-22-03-330-002		1.00	\$981.70	\$981.70	DATE PAID					
MICHAEL & KELLY NOONAN TRUST		UNIT	φοσ1.70	ψοσ1.70	DATE I AID					
MONALE GINELET HOUNAN INUST		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF IDLEMERE PARK LOT 6				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1019 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
										υ 10U.0

Page 50 of 172 11/16/2020 6:01 PM

### SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144 OF IDLEMERE PARK LOTS 7 & 8 8-3-95 FR 003 & 004 #### 1015 SOUTH LAKE DR NOVI MI 48377-1824 ### 50-22-03-331-013 ### DENNIS M SCHROTH ### 124 BUFFINGTON ST NOVI MI 48377-1800 ### 126 BUFFINGTON ST NOVI MI 48377-1800 ### 127 SOUTH LAKE DR LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 54, ALSO SELY 135 FT OF LOT 55 ### 128 BUFFINGTON ST NOVI MI 48377-1800 ### 128 BUFFINGTON ST NOVI MI 48377-1800 ### 129 BUFFINGTON ST DESC AS BEG AT NW COR OF SD LOT 60, TH S 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, TH N 23-30-17 E 160 FT TO BEG, ALSO THAT PART OF LOT 61 OF SD '9UB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF ### 50-22-03-332-012		PER \$981.70 \$981.70	\$981.70 \$196.34 \$196.34	DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE BALANCE	\$981.70 \$196.34 \$0.00 \$196.34 \$39.27 \$0.00 \$39.27	\$785.36 \$196.34 \$0.00 \$196.34 \$0.00 \$396.34	\$589.02 \$196.34 \$0.00 \$196.34 \$196.34 \$196.34	2023 4TH \$392.68 \$196.34 \$0.00 \$196.34 \$78.54 \$39.27 \$0.00 \$39.27	\$196.3 \$196.3 \$196.3 \$0.00 \$196.3 \$39.27 \$39.27
50-22-03-330-006 CLAUDINE ANTOUNPOUR THOMAS & HELEN ANTOUN 1015 SOUTH LAKE DR NOVI MI 48377-1824 50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 54, ALSO SELY 135 FT OF LOT 55 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	1.00 UNIT	\$981.70 \$981.70	\$981.70 \$196.34	BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$981.70 \$196.34 \$0.00 \$196.34 \$196.34 \$39.27 \$0.00 \$39.27	\$785.36 \$196.34 \$0.00 \$196.34 \$157.07 \$39.27 \$0.00	\$589.02 \$196.34 \$0.00 \$196.34 \$117.80 \$39.27 \$0.00	\$392.68 \$196.34 \$0.00 \$196.34 \$78.54 \$39.27 \$0.00	\$196.3 \$196.3 \$0.00 \$196.3 \$39.27 \$39.27 \$0.00
CLAUDINE ANTOUNPOUR THOMAS & HELEN ANTOUN SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144 OF IDLEMERE PARK LOTS 7 & 8 8 8-3-95 FR 003 & 004 1015 SOUTH LAKE DR NOVI MI 48377-1824 50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 54, ALSO SELY 135 FT OF LOT 55 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 MICHEAL K DAVIS DARLENE L DAVIS 125 CAS BEG AT NW COR OF SD LOT 60, TH S 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	0.20 UNIT	\$981.70 \$981.70	\$196.34	BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$196.34 \$0.00 \$196.34 \$196.34 \$39.27 \$0.00 \$39.27	\$196.34 \$0.00 \$196.34 \$157.07 \$39.27 \$0.00	\$196.34 \$0.00 \$196.34 \$117.80 \$39.27 \$0.00	\$196.34 \$0.00 \$196.34 \$78.54 \$39.27 \$0.00	\$196.3 \$0.00 \$196.3 \$39.2 \$39.2 \$0.00
### SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144 OF IDLEMERE PARK LOTS 7 & 8 8-3-95 FR 003 & 004 1015 SOUTH LAKE DR NOVI MI 48377-1824 50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 54, ALSO SELY 135 FT OF LOT 55 126 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 BESC AS BEG AT NW COR OF SD SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	0.20 UNIT	\$981.70		PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$196.34 \$0.00 \$196.34 \$196.34 \$39.27 \$0.00 \$39.27	\$196.34 \$0.00 \$196.34 \$157.07 \$39.27 \$0.00	\$196.34 \$0.00 \$196.34 \$117.80 \$39.27 \$0.00	\$196.34 \$0.00 \$196.34 \$78.54 \$39.27 \$0.00	\$196.3 \$0.00 \$196.3 \$39.2 \$39.2 \$0.00
OF IDLEMERE PARK LOTS 7 & 8 8-3-95 FR 003 & 004 1015 SOUTH LAKE DR NOVI MI 48377-1824 50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 50-22-03-331-015 MICHEAL K DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 610 FT 10 BEG, ALSO THAT PART OF LOT 610 SUBU WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	0.20 UNIT 0.20 UNIT	\$981.70		PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$196.34 \$0.00 \$196.34 \$196.34 \$39.27 \$0.00 \$39.27	\$196.34 \$0.00 \$196.34 \$157.07 \$39.27 \$0.00	\$196.34 \$0.00 \$196.34 \$117.80 \$39.27 \$0.00	\$196.34 \$0.00 \$196.34 \$78.54 \$39.27 \$0.00	\$196.3 \$0.00 \$196.3 \$39.2 \$39.2 \$0.00
1015 SOUTH LAKE DR NOVI MI 48377-1824 50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 54, ALSO SELY 135 FT OF LOT 55 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 DESC AS BEG AT NW COR OF SD LOT 60, TH S 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF SUSUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	0.20 UNIT 0.20 UNIT	\$981.70		DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$0.00 \$196.34 \$196.34 \$39.27 \$0.00 \$39.27	\$0.00 \$196.34 \$157.07 \$39.27 \$0.00	\$0.00 \$196.34 \$117.80 \$39.27 \$0.00	\$0.00 \$196.34 \$78.54 \$39.27 \$0.00	\$0.0 \$196.3 \$39.2 \$39.2 \$0.0
1015 SOUTH LAKE DR NOVI MI 48377-1824 50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 54, ALSO SELY 135 FT OF LOT 55 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	0.20 UNIT	\$981.70		DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$196.34 \$196.34 \$39.27 \$0.00 \$39.27	\$196.34 \$157.07 \$39.27 \$0.00	\$196.34 \$117.80 \$39.27 \$0.00	\$196.34 \$78.54 \$39.27 \$0.00	\$196.3 \$39.2 \$39.2 \$0.0
NOVI MI 48377-1824 50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 54, ALSO SELY 135 FT OF LOT 55 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	0.20 UNIT	\$981.70		DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$196.34 \$39.27 \$0.00 \$39.27	\$157.07 \$39.27 \$0.00	\$117.80 \$39.27 \$0.00	\$78.54 \$39.27 \$0.00	\$39.2 \$39.2 \$0.0
50-22-03-331-013 DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF TO BEG, ALSO THAT PART OF LOT 61 OF SUSUB' WHICH LIES BETW EXTENSIONS OF ELY 8, WLY PROPERTY LINES THEREOF	0.20 UNIT	\$981.70		BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$39.27 \$0.00 \$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.2 \$0.0
DENNIS M SCHROTH 124 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT 55 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 MICHEAL K DAVIS DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, TH N 23-30-17 E 160 FT TO BEG, ALSO THAT PART OF LOT 61 OF SUBUP WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF 50-22-03-332-012 LINES THEREOF	0.20 UNIT	\$981.70		BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$39.27 \$0.00 \$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.2 \$0.0
124 BUFFINGTON ST NOVI MI 48377-1800 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 MICHEAL K DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF TO BEG, ALSO THAT PART OF LOT 61 OF SU SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	0.20 UNIT	·	\$196.34	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$39.27 \$0.00 \$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.2 \$0.0
124 BUFFINGTON ST NOVI MI 48377-1800 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 MICHEAL K DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF TO BEG, ALSO THAT PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	UNIT	·	\$196.34	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$39.27 \$0.00 \$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.2 \$0.0
124 BUFFINGTON ST NOVI MI 48377-1800 50-22-03-331-014 GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 MICHEAL K DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF TO BEG, ALSO THAT PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	UNIT	·	\$196.34	INTEREST TOTAL DATE PAID BALANCE	\$0.00 \$39.27	\$0.00	\$0.00	\$0.00	\$0.0
S0-22-03-331-014 GERALD F MONTES LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 NOVI MI 48377-1800 LAKEWOODS LOT 60, ALSO PART OF SW 1/4 MICHEAL K DAVIS DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS DESC AS BEG AT NW COR OF SD LOT 60, TH S O2-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, TH N 23-30-17 E 160 FT TO BEG, ALSO THAT PART OF LOT 61 OF SUBI' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF S0-22-03-332-012	UNIT	·	\$196.34	DATE PAID BALANCE	\$39.27				
### GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 LAKEWOODS LOT 60, ALSO PART OF SW 1/4	UNIT	·	\$196.34	DATE PAID BALANCE	,	\$39.27	\$39.27	\$39.27	\$39.2
### GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 LAKEWOODS LOT 60, ALSO PART OF SW 1/4	UNIT	·	\$196.34	BALANCE					
### GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 LAKEWOODS LOT 60, ALSO PART OF SW 1/4	UNIT	·	\$196.34	BALANCE					
### GERALD F MONTES LORETTA S MONTES 128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 Solution	UNIT	·							
128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 50-22-03-331-015 MICHEAL K DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF TO BEG, ALSO THAT PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	1.00						1		
128 BUFFINGTON ST NOVI MI 48377-1800 LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54 50-22-03-331-015 MICHEAL K DAVIS DARLENE L DAVIS 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF TO BEG, ALSO THAT PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF					\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
NOVI MI 48377-1800 50-22-03-331-015				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
LAKEWOODS LOT 60, ALSO PART OF SW 1/4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
MICHEAL K DAVIS DESC AS BEG AT NW COR OF SD LOT 60, TH S DARLENE L DAVIS 1321 SOUTH LAKE DR 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, TH N 23-30-17 E 160 FT TO BEG, ALSO THAT PART OF LOT 61 OF S'OSUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF 50-22-03-332-012 50-22-03-332-012				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
MICHEAL K DAVIS DARLENE L DAVIS 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF 5D 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF				101712	Ψ00.21	Ψ00.21	ψου.Σ1	Ψ00.21	Ψ00.2
MICHEAL K DAVIS DARLENE L DAVIS 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF SD LOT 60, TH S BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF		\$981.70	\$981.70	DATE PAID					+
DARLENE L DAVIS 02-42-10 E 178.33 FT, TH N 66-29-43 W 78.76 FT, 1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF 25 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF	ONIT	ψ301.70	ψ301.70	DATETAID					
1321 SOUTH LAKE DR NOVI MI 48377 PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
NOVI MI 48377 PART OF LOT 61 OF SD 'SUB' WHICH LIES BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF 50-22-03-332-012				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
BETW EXTENSIONS OF ELY & WLY PROPERTY LINES THEREOF 50-22-03-332-012				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
LINES THEREOF 50-22-03-332-012				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-332-012				TOTAL	φ190.3 4	\$190.54	\$190.34	\$190.34	\$190.
** == ** **= **=	0.20	\$981.70	\$196.34	DATE PAID					
BRIAN RONEY	UNIT	φ901.70	\$190.34	DATE PAID					
SHARON RONEY	UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
125 BUFFINGTON ST LAKEWOODS LOTS 40 & 41 6/28/88 FR 001				PRINCIPAL				\$39.27	
120 2011 11101 01101				INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$0.00	\$39.2 \$0.0
NOVI MI 48377-1801									
				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
70.00.00.000.000		0004.70	0400.04	DATE DAID					
50-22-03-332-013	0.20	\$981.70	\$196.34	DATE PAID					
LAURA BALDWIN	UNIT			DALANOE	0400.04	0457.07	0447.00	070.54	000.0
404 DUFFINOTON OT 1 AVENUODE LOTO 40 9 40 0/00/00 FB 004				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
131 BUFFINGTON ST LAKEWOODS LOTS 42 & 43 6/28/88 FR 001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1801				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
E0 00 00 000 014		0004.70	0400.04	DATE DATE					+
50-22-03-332-014	0.20	\$981.70	\$196.34	DATE PAID					+
CALVIN HASHISAKA	UNIT			DALANCE	0400.04	0457.07	£447.00	A70 54	****
SUSAN HASHISAKA				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
135 BUFFINGTON ST LAKEWOODS LOTS 44 & 45 6/28/88 FR 001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1801				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
E0 00 00 000 04F		0004.70	0400.04	DATE DATE		1	1		+
50-22-03-332-015	0.20	\$981.70	\$196.34	DATE PAID					
CHRISTOPHER NYBERG	UNIT				*****	0.55.05		270.54	
144 PUEENOTON OT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
141 BUFFINGTON ST LAKEWOODS LOTS 46 & 47 6/28/88 FR 001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1801				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2

Page 51 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	1	1ST	2ND	3RD	4TH	5TH
50-22-03-332-019		0.20	\$981.70	\$196.34	DATE PAID					
JOHN HALL		UNIT								
STEPHANIE R HALL	LAKEWOODS NLY 5 FT OF LOTS 22 & 23, ALSO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
145 BUFFINGTON ST	ALL OF LOT 48, ALSO ALL OF VAC PEMBINE ADJ TO SAME 5-10-89 FROM 016 & 376-006				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1801	ADJ TO SAME 5-10-89 FROM 016 & 376-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-351-007		0.20	\$981.70	\$196.34	DATE PAID					
TRACY GALLOWAY	PART OF SW 1/4 BEG AT PT DIST N 02-20-00 E	UNIT								
	50 FT FROM SW COR 'LAKEWOODS', TH N 02-20-				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
202 BUFFINGTON ST	00 E 50 FT, TH N 87-40-00 W 150 FT, TH S 02-20-				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1801	00 W 50 FT, TH S 87-40-00 E 150 FT TO BEG 0.17				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1241 EAST LAKE DR	AMN48E				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377										
50-22-03-351-009		0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL BARTOSH	PART OF SW 1/4 BEG AT SW COR	UNIT			DALANCE	£400.04	¢457.07	£447.00	\$78.54	\$39.27
000 BUFFINGTON OT	'LAKEWOODS', TH S 02-20-00 W 50 FT, TH N 87-				BALANCE	\$196.34	\$157.07	\$117.80		
208 BUFFINGTON ST	40-00 W 150 FT, TH N 02-20-00 E 50 FT, TH S 87-				PRINCIPAL INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27	\$39.27	\$39.27 \$0.00
NOVI MI 48377-1802	40-00 E FT TO BEG 0.17 AMN48D-1				TOTAL	\$0.00	\$0.00	\$0.00 \$39.27	\$0.00 \$39.27	\$39.27
					TOTAL	\$39.21	\$39.Z1	\$39.21	\$39.27	\$39.21
50-22-03-351-015		1.00	\$981.70	\$981.70	DATE PAID					
A. NELS CARLSON		UNIT								
DOLORES CARLSON					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1365 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
50-22-03-351-016		1.00	\$981.70	\$981.70	DATE PAID			1		
BECKER AL-MUFTI		UNIT	\$981.70	\$981.70	DATE PAID					
HALA MOHAMMED		01411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1351 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
				ļ						
50-22-03-351-017		1.00	\$981.70	\$981.70	DATE PAID					
JAMES LOEFFLER		UNIT			DALANCE	£004.70	#70F 0C	# F00.00	#200 C0	6400.04
JOANNE LOEFFLER	See Assessors Office for Legal Description				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1341 SOUTH LAKE DR NOVI MI 48377-1827	See Assessors Office for Legal Description				PRINCIPAL INTEREST	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00
NOVI WI 40377-1027					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					TOTAL	\$190.34	\$190.34	\$190.34	\$190.34	\$190.34
50-22-03-351-018		1.00	\$981.70	\$981.70	DATE PAID					
GEORGE & LINDA ROURK TRUST		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
1331 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34

Page 52 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESO	OF PROPERTY	FRONTAGE	DED	OLIABOE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	5.75 5.45	1ST	2ND	3RD	4TH	5TH
50-22-03-351-023 ANDREAS KORN		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
ANDREAS KORN		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29725 LILLEY TRAIL	LILLEY POND LOT 1 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1823	EILLETT OND LOT 10-3-9911(019				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 40377-1023					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
					TOTAL	ψ00.27	ψ00.21	ψ03.21	ψ00.21	ψ03.21
50-22-03-351-024		0.20	\$981.70	\$196.34	DATE PAID					
LUIGI IAQUINTA		UNIT	***************************************							
SUSAN IAQUINTA					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29755 LILLEY TRAIL	LILLEY POND LOT 2 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-351-025		0.20	\$981.70	\$196.34	DATE PAID					
XIAOLI XIAO		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29785 LILLEY TRAIL	LILLEY POND LOT 3 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-351-026		0.20	\$981.70	\$196.34	DATE PAID					
CHARLES AZZOUZ		UNIT								
AMAL AZZOUZ					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29805 LILLEY TRAIL	LILLEY POND LOT 4 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-351-027		0.20	\$981.70	\$196.34	DATE PAID					
DAWN TRAVIS		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29835 LILLEY TRAIL	LILLEY POND LOT 5 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-351-028		0.20	\$981.70	\$196.34	DATE PAID					
CRISTA KUNKEL		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29865 LILLEY TRL	LILLEY POND LOT 6 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-351-029		0.20	\$981.70	\$196.34	DATE PAID					1
KURT BEST		UNIT								
RENEE BEST					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29895 LILLEY TRAIL	LILLEY POND LOT 7 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
		1	****	210001	D. TE D. (=					
50-22-03-351-030		0.20	\$981.70	\$196.34	DATE PAID					
LEO LIEBERMAN		UNIT				*****		0447.00	270.54	****
TANJA H LIEBERMAN	LILLEY DON'S LOT O O OO SE SIG				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
29925 LILLEY TRL	LILLEY POND LOT 8 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1849					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
		1		I			1	1	1	

Page 53 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-351-031		0.20	\$981.70	\$196.34	DATE PAID					
JAMES HIXSON		UNIT								
JILL HIXSON					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
29955 LILLEY TRL	LILLEY POND LOT 9 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1849					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-351-033		0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL PALMER		UNIT		,						
SUSAN PALMER					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1391 SOUTH LAKE DR	LILLEY POND LOT 10 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-351-034		0.20	\$981.70	\$196.34	DATE PAID					
NABIL HADO		UNIT	ψ501.70	ψ130.34	DATETAID					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1381 SOUTH LAKE DR	LILLEY POND LOT 11 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2704 WYNCLIFF DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
COMMERCE TOWNSHIP MI 48390-1861 50-22-03-351-035		0.20	\$981.70	\$196.34	DATE PAID					
THOMAS MARTIN KELLY-HERRERA		UNIT	***************************************	ļ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
NOEMI CELIS					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
29770 LILLEY TRAIL	LILLEY POND LOT 12 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1822					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-351-036		0.20	\$981.70	\$196.34	DATE PAID					
ALLEN KOONTER		UNIT	φοσ1.7ο	ψ100.04	DATE TABLE					
PATRICIA KOONTER		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
29740 LILLEY TRAIL	LILLEY POND LOT 13 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1822					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 1111 10011 1022					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
						,	, , ,	, , ,		
50-22-03-351-037 MELANIE A FISHELL		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
WELANIE ATTOMELE		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
29710 LILLEY TRAIL	LILLEY POND LOT 14 8-3-99 FR 019				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1822					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-376-007		0.20	\$981.70	\$196.34	DATE PAID					
JULL LEVY TRUST		UNIT	φ 3 01./0	φ 190.34	DATE PAID					
	LAKEWOODS LOTS 19, 20 & 21, ALSO 1/2 VAC				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
208 HENNING DR	PEMBINE ADJ TO SAME 10-04-84 FR 002 & 005				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	10-17-89 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
42630 MORGAN CREEK					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377										
50-22-03-376-008 GERALD D COOPER		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
DEBRA COOPER	LAKEWOODS LOTS 22 & 23, EXC NLY 5 FT OF	UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
155 BUFFINGTON ST	BOTH SD LOTS, ALSO ALL OF LOTS 24 & 25 5-10				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1801	89 FROM 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 VI WII -100 I	55				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
		1		I	IOIAL	ΨΟΟ.Δ1	Ψ00.21	ΨΟΟ.Ζ1	ΨΟΟ.Δ1	ψ00.2

Page 54 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-377-018 BRANDON R DAVIS		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
BRANDON R DAVIS		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1185 SOUTH LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1825	Oce Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI WII 40377-1023					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-378-008		0.20	\$981.70	\$196.34	DATE PAID					
SINGH PROPERTIES II, LLC		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
210 BUFFINGTON ST	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$157.07	\$39.27	\$78.54	\$39. \$39.
	See Assessors Office for Legal Description				INTEREST					
NOVI MI 48377-1801					TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0. \$39.
7125 ORCHARD LAKE RD STE 200 WEST BLOOMFIELD MI 48322					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-379-009		0.20	\$981.70	\$196.34	DATE PAID					
BRYAN HOFFMEYER		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
152 EUBANK ST	IDLEMERE PARK LOT 10				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1804					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-379-010		0.20	\$981.70	\$196.34	DATE PAID					<u> </u>
BRYAN HOFFMEYER		UNIT	φοσ1.70	\$100.04	BATETALD					
	IDLEMERE PARK LOT 11, ALSO 1/2 OF VAC				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	DAISY CT ADJ TO SAME 10-26-98 CORR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	DAIST CT ADJ TO SAME 10-20-96 CORK				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
152 EUBANK ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1804										
50-22-03-379-011		0.20	\$981.70	\$196.34	DATE PAID					
JOHN BUCHANAN	IDLEMERE PARK LOT 7, ALSO LOT 8 EXC THAT	UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
424 FUDANIK CT	PART BEG AT SW LOT COR, TH N 17-21-20 W									
134 EUBANK ST	36.17 FT. TH S 28				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1804	30.17 F1, 111 3 26				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-379-012		0.20	\$981.70	\$196.34	DATE PAID					
FRANCISCO ALEJAANDRO MORITA		UNIT								
VARGAS	IDLEMERE PARK LOT 9 EXC THAT PART BEG				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
142 EUBANK ST	AT NE LOT COR, TH S 17-21-20 E 47.61 FT, TH N				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1804	28-02-18 W 51.				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-379-013		0.20	\$981.70	\$196.34	DATE PAID					
MARK ASHBAUGH		UNIT	+·····							
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
116 EUBANK ST	IDLEMERE PARK LOTS 5 & 6				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1804					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-380-005		0.20	\$981.70	\$196.34	DATE PAID					1
KRISTEN UNGER		UNIT	ψοσ1.70	ψ100.0 1	DATE FAID					
	IDLEMERE PARK LOTS 34 & 35. ALSO 1/2 OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
115 EUBANK ST	VAC LILAC CT ADJ TO SAME				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1804	7.10 E.E.10 01 7.100 10 07.101E				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
		1								1

Page 55 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-380-006		0.20	\$981.70	\$196.34	DATE PAID					
DAVID SAWECKI		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
135 EUBANK ST	IDLEMERE PARK LOT 32 & W 75 FT OF LOT 33				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1805					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-380-007		0.20	\$981.70	\$196.34	DATE PAID					
KRISTOPHER MCCOY		UNIT	***************************************	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
	IDLEMERE PARK LOT 31. ALSO E 90 FT OF LOT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
920 LEMAY ST	33 & 1/2 OF VAC LILAC CT ADJ TO SAME				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1841	33 & 1/2 OF VAC LILAC CT ADJ TO SAIVIE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-381-003		0.20	\$981.70	\$196.34	DATE PAID					
KYLE HAVENHILL		UNIT	Ф901.70	\$190.34	DATE PAID					
ERIC L HAVENHILL		'			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
909 LEMAY ST	IDLEMERE PARK LOT 56				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1842					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 11 111 10017 1042					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-381-004 CHRISTOPHER POSTMA		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
LINDA POSTMA		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
905 LEMAY ST	IDLEMERE PARK LOTS 54 & 55				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1842	IDLEWERE FARK LOTS 34 & 33				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$39.
NOVI WI 40377-1042					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ39.21	ψ39.21	ψ39.21	ψ39.21	ψ09
50-22-03-381-005		0.20	\$981.70	\$196.34	DATE PAID					
DANIEL HODGES		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
903 LEMAY ST	IDLEMERE PARK LOTS 52 & 53				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1842					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-381-006		0.20	\$981.70	\$196.34	DATE PAID					
KEITH CLARK		UNIT		' ' ' '						
KRISTA L CLARK					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
225 EUBANK ST	IDLEMERE PARK LOT 60				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1807					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-381-008		0.20	\$981.70	\$196.34	DATE PAID					
KEITH A CLARK		UNIT	ψυυ 1.10		2,21,10					
KRISTA L CLARK					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
303 EUBANK ST	IDLEMERE PARK LOT 62				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1810					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
225 EUBANK ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377										
50-22-03-381-010		0.20	\$981.70	\$196.34	DATE PAID					
MATTHEW T ALLISTON		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
309 EUBANK ST	IDLEMERE PARK LOT 64				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1810					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
				I	IOIAL	Ψ00.21	ψ00.Z1	Ψ00.21	Ψ00.Z1	Ψ03.

Page 56 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-381-011		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
DANIEL HODGES		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	IDLEMERE PARK LOT 67				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
	IDELIVIERE I ARREOT OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
903 LEMAY ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1842					TOTAL	φ39.21	\$39.21	\$39.21	φ39.21	φ39.
50-22-03-381-012		0.20	\$981.70	\$196.34	DATE PAID					
MATTHEW T ALLISTON		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	IDLEMERE PARK LOTS 65 & 66				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
309 EUBANK ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377			****	210001	DATE DAID					
50-22-03-381-014 MATTHEW D KURILUK		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
COURTNEY KURILUK	IDLEMERE PARK NELY 1/2 OF LOT 58 & ALL OF	0,4,1			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
915 LEMAY ST	LOT 59 ALL DESC AS BEG AT MOST NE COR OF				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1842	LOT 59 TH S 44-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 11 1011 40077-1042	201 00 111 0 11				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					101712	Ψ00.21	φου.21	ψ00.21	ψου.27	Ψ00.
50-22-03-381-015		0.20	\$981.70	\$196.34	DATE PAID					
STACEY VIRGA		UNIT								
	IDLEMERE PARK LOT 57 & SELY 1/2 OF LOT 58				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	ALL DESC AS BEG AT PT DIST S 44-58-45 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	59.70 FT FROM MO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
142 ARVIDA WALLED LAKE MI 48390					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-381-016		0.20	\$981.70	\$196.34	DATE PAID					
KEITH CLARK		UNIT	φοσ1.70	Ψ100.04	DATE TAB					
KRISTA CLARK		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
225 EUBANK ST	IDLEMERE PARK LOTS 61 & 63 10-18-06 FR 007				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1808	& 009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						7	7	722.	7	700.
50-22-03-382-001		0.20	\$981.70	\$196.34	DATE PAID					
DAVID COOK		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	IDLEMERE PARK LOT 83, ALSO 1/2 OF VAC				PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	DAISY CT ADJ TO SAME 10-26-98 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
306 EUBANK ST					TOTAL	\$0.00	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1808					IOIAL	υθ.ΔΙ	ψυσ.Δ1	μυσ.Δ1	ψυσ.Δ1	დაშ.
50-22-03-382-002		0.20	\$981.70	\$196.34	DATE PAID					
DAVID COOK		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
306 EUBANK ST	IDLEMERE PARK LOTS 81 & 82				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1808					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-382-008		0.20	\$981.70	\$196.34	DATE PAID			1		
DAVID COOK		UNIT	Ψοσσ	*	3,2.,,,,,					
RAYMOND COOK	IDLEMERE PARK PART OF LOTS 75, 76 & 78,	5			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
312 EUBANK ST	ALSO ALL OF LOTS 79 & 80 ALL DESC AS BEG				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1808	AT SW COR OF SD L				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
		1		I				+	Ţ	+ 70

Page 57 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-382-009		0.20	\$981.70	\$196.34	DATE PAID					
ROBERT WALEGA		UNIT								
	IDLEMERE PARK PART OF LOTS 75 & 76, ALSO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
302 MAUDLIN ST	ALL OF LOT 77, ALSO PART OF LOT 78 ALL				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1819	DESC AS BEG AT SE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-383-001		0.10	\$981.70	\$98.17	DATE PAID			1		
LAWRENCE W PAUL		UNIT	ψ301.70	ψ30.17	DATETAID					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE	••••			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR # 100	CONDOMINIUM UNIT 1, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-002 TODD MIELKE		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
TODD MIELKE	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR UNIT 101	CONDOMINIUM UNIT 2, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1127 SOUTH LAKE DR 200	0-3011(370-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377					TOTAL	ψ19.05	ψ19.03	ψ19.03	ψ19.03	Ψ13.
50-22-03-383-003		0.10	\$981.70	\$98.17	DATE PAID					
ANTHONY & FENN BOBEL		UNIT								
JANICE BOBEL	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR # 102	CONDOMINIUM UNIT 3, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-004		0.10	\$981.70	\$98.17	DATE PAID					
JACQUELYN HARRISON		UNIT	φ901.70	φ90.17	DATE FAID					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR UNIT 103	CONDOMINIUM UNIT 4, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 1111 1010					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						ψ10.00	\$10.00	\$10.00	ψ10.00	ψ.σ.
50-22-03-383-005		0.10	\$981.70	\$98.17	DATE PAID					
DAVID BIRDSALL		UNIT								
KAREN D BIRDSALL	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR UNIT 104	CONDOMINIUM UNIT 5, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
40688 LENOX PARK DR NOVI MI 48377					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-006		0.10	\$981.70	\$98.17	DATE PAID			+		
BRADLE ROSS ANDERSON		UNIT	ψοσ1.70	ψου. 17	D. C. E. I. AID					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR UNIT 105	CONDOMINIUM UNIT 6, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50.00.00.000.007		0.40	¢004.70	CO0 47	DATE DAIS					
50-22-03-383-007 TODD MIELKE		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
I ODD WIELNE	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 S LAKE DR # 106	CONDOMINIUM UNIT 7. BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 1111 -1001 1 - 1010	3 33 3 3 3 3 3				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1		1	IOIAL	ψ10.00	ψ10.00	ψ15.00	ψ15.05	ψ19.

Page 58 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	ļ			INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-008		0.10	\$981.70	\$98.17	DATE PAID					
SAUVEUR M TANTARO		UNIT								
PATRICIA TANTARO	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 S LAKE DR UNIT 107	CONDOMINIUM UNIT 8, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
9027 PONTIAC LAKE RD	0 00 110 000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WHITE LAKE MI 48386					IOIAL	φ19.03	φ19.03	φ19.03	\$19.03	φ19.0
50-22-03-383-009		0.10	\$981.70	\$98.17	DATE PAID					
DIANE A MEIDELL TRUST		UNIT	ψοσ σ	400	5,1121,115					
GERALD WITKOWSKI	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 S LAKE DR UNIT 108	CONDOMINIUM UNIT 9, BLDG A L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI WII 40377-1010	0-30 110 370-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					IOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.0
50-22-03-383-010		0.10	\$981.70	\$98.17	DATE PAID					
CARL RUTKOWSKE		UNIT	φοστσ	φοσ.17						
LAURIE RUTKOWSKE	T1N, R8E, SEC 3 OAKLAND COUNTY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 SOUTH LAKE DR 109	CONDOMINIUM PLAN NO 687 SOUTH POINTE				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377	CONDOMINIUM UNIT 10, BLDG A L 11495 P 288 8				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1098 TENNESSEE AVE	6-90 FR 378-005				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
ENGLEWOOD FL 34223					IOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.0
50-22-03-383-011		0.10	\$981.70	\$98.17	DATE PAID					
MARLENE STEINBERG		UNIT	φοστσ	ψου	D/((E1/(ID)					
MARLENE GIENDERG	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 S LAKE DR UNIT 110	CONDOMINIUM UNIT 10. BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
297 WINDING BRK	0-30 110 370-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
COMMERCE TOWNSHIP MI 48390					IOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.0
50-22-03-383-012		0.10	\$981.70	\$98.17	DATE PAID					
ROSE BRANDENBURG		UNIT	ψ901.70	ψ90.17	DATETAID					
NOOL BRANDLINDONG	CONDOMINIUM PLAN NO 687 SOUTH POINTE	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 S LAKE DR UNIT 111	CONDOMINIUM UNIT 12, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
	6-90 FR 378-005				INTEREST	\$0.00	\$0.00		\$0.00	\$0.0
NOVI MI 48377-1816	0-90 11(370-003							\$0.00		
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
50-22-03-383-013		0.10	\$981.70	\$98.17	DATE PAID					
DESTINY PROPERTIES LLC		UNIT	ψ301.70	ψ30.17	DATETAID					
220	CONDOMINIUM PLAN NO 687 SOUTH POINTE	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 SOUTH LAKE DR UNIT 112	CONDOMINIUM UNIT 13, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
40688 LENOX PARK	0 00 111 010 000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377					IOIAL	ψ19.03	ψ13.03	ψ13.03	ψ19.03	ψ13.0
50-22-03-383-014		0.10	\$981.70	\$98.17	DATE PAID					
CARL TRAVIS		UNIT	Ψοσσ	\$33] =,					
-	CONDOMINIUM PLAN NO 687 SOUTH POINTE	' ''			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 S LAKE DR UNIT 113	CONDOMINIUM UNIT 14. BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 VI IVII 400/ /- 10 10	0 00				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					101712	ψ10.00	ψ10.00	ψ10.00	ψ10.00	ψ13.0
50-22-03-383-015		0.10	\$981.70	\$98.17	DATE PAID					
VICTOR ABRAMSON		UNIT	•	'						
ILENE H ABRAMSON	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1127 S LAKE DR UNIT 114	CONDOMINIUM UNIT 15, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
	II			1		+	Ţ.3.00	Ţ.J.UU	+ . 5.00	ψ.σ.ς

Page 59 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-016		0.10	\$981.70	\$98.17	DATE PAID					
JOHN CORREIA		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR UNIT 115	CONDOMINIUM UNIT 16, BLDG A L 11495 P 288 8	·			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2916 WAKEFIELD RD					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
BERKLEY MI 48075										
50-22-03-383-017		0.10	\$981.70	\$98.17	DATE PAID					
DWIGHT K PUGSLEY TRUST		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 116	CONDOMINIUM UNIT 17, BLDG A L 11495 P 288 8	1 1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1100 BRIGHTON LAKE RD					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
BRIGHTON MI 48116-6777										
50-22-03-383-018		0.10	\$981.70	\$98.17	DATE PAID					
JOAN ZANGER	CONDOMINIUM DI ANI NO COZ COLITI I DOINITE	UNIT			54144105	200.17	470.54	450.00	***	0.10
4407 00UTU LAKE DD LINIT 447	CONDOMINIUM PLAN NO 687 SOUTH POINTE CONDOMINIUM UNIT 18. BLDG A L 11495 P 288 8				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 117		1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
9395 COMMERCE RD					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
COMMERCE TOWNSHIP MI 48382		0.40	#004.70	CO0 47	DATE DAID					
50-22-03-383-019		0.10	\$981.70	\$98.17	DATE PAID					
MABEL A BOURDEAU TRUST	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 118	CONDOMINIUM UNIT 19, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1816	6-90 FR 378-005	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19.
NOVI WII 40377-1010	0-30 1 10 370-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					TOTAL	ψ19.03	ψ19.03	ψ19.03	ψ19.03	ψ13.
50-22-03-383-020		0.10	\$981.70	\$98.17	DATE PAID					
JAMES PRUZZO		UNIT	ψοσ1.70	Ψοσ.17	BATTETAND					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 S LAKE DR UNIT 119	CONDOMINIUM UNIT 20, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						7.0.00	7.5.55	7.0.00	7.5.55	7.0
50-22-03-383-021		0.10	\$981.70	\$98.17	DATE PAID					
STELLA PADYJASEK		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 S LAKE DR UNIT 120	CONDOMINIUM UNIT 21, BLDG A L 11495 P 288 8	{			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-383-022		0.10	\$981.70	\$98.17	DATE PAID					
JILL P LAWEENCE		UNIT								
440= 0 LAVE DB LINE :	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 S LAKE DR UNIT 122	CONDOMINIUM UNIT 22, BLDG A L 11495 P 288 8	1 1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
F0 00 00 000 000		0.40	#004 70	000.47	DATE DATE		1	1	1	
50-22-03-383-023		0.10	\$981.70	\$98.17	DATE PAID					
TODD JAMES MIELKE	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			DALANCE	#00.47	¢70.54	# F0.00	#20.07	610
1127 C LAKE DD LINIT 200	CONDOMINIUM PLAN NO 687 SOUTH POINTE CONDOMINIUM UNIT 23, BLDG A L 11495 P 288 8				BALANCE PRINCIPAL	\$98.17 \$19.63	\$78.54	\$58.90 \$19.63	\$39.27 \$19.63	\$19 \$19
1127 S LAKE DR UNIT 200	6-90 FR 378-005	1					\$19.63			
NOVI MI 48377-1817	0-30 FK 3/0-003				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19.
										519

Page 60 of 172 11/16/2020 6:01 PM

	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-024		0.10	\$981.70	\$98.17	DATE PAID					
THOMAS E WELLS		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 201	CONDOMINIUM UNIT 24, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
FA 00 00 000 00F		0.40	¢004.70	CO0 47	DATE DAID					
50-22-03-383-025 RICHARD A MASI TRUST		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
RICHARD A WASI TRUST	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 202	CONDOMINIUM UNIT 25, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
215 BENTLEY DR	0 00 111 010 000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NAPLES FL 34110					101742	Ψ10.00	Ψ10.00	Ψ10.00	ψ10.00	Ψισ
50-22-03-383-026		0.10	\$981.70	\$98.17	DATE PAID					
KATHLEEN WEZALIA		UNIT	*******	1						
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 203	CONDOMINIUM UNIT 26, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-383-027		0.10	\$981.70	\$98.17	DATE PAID					
DAVID G MILLER TRUST		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 204	CONDOMINIUM UNIT 27, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
				ļ						
50-22-03-383-028		0.10	\$981.70	\$98.17	DATE PAID					
MARGARET GRISCO		UNIT								
S LETZEISER & M CARROLL	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 205	CONDOMINIUM UNIT 28, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-383-029		0.10	\$981.70	\$98.17	DATE PAID					
GWENDOLYN MARTIN		UNIT	ф901.70	φ90.17	DATE PAID					
GWENDOLTN WARTIN	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 206	CONDOMINIUM UNIT 29, BLDG A L 11495 P 288 8]			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						\$.5.55	\$.5.55	\$.5.00	\$.5.55	ψ10
50-22-03-383-030		0.10	\$981.70	\$98.17	DATE PAID					
MICHELLE D WHEELER		UNIT	+····	+=3						
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR # 207	CONDOMINIUM UNIT 30, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-383-031		0.10	\$981.70	\$98.17	DATE PAID					
MARVIN WITTKOPF		UNIT								
MARIAM WITTKOPF	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 208	CONDOMINIUM UNIT 31, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
					WITEDEST		00.00	00.00	40.00	
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19

Page 61 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-032		0.10	\$981.70	\$98.17	DATE PAID					
DESTINY PROPERTIES LLC		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR # 209	CONDOMINIUM UNIT 32, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
40688 LENOX PK DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377										
50-22-03-383-033		0.10	\$981.70	\$98.17	DATE PAID					
CHARLES FALLER		UNIT								
CINDY FALLER	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 210	CONDOMINIUM UNIT 33, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-034		0.10	\$981.70	\$98.17	DATE PAID					
HERMIZ N YONO		UNIT								
MAE Y YONO	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 211	CONDOMINIUM UNIT 34, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5521 CLIFTON RD					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
CLIFTON VA 20124										
50-22-03-383-035		0.10	\$981.70	\$98.17	DATE PAID					
ROBERT PACKARD		UNIT								
CAROL PACKARD	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 212	CONDOMINIUM UNIT 35, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7435 PONTIAC TRAIL RD					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
50-22-03-383-036		0.10	\$981.70	\$98.17	DATE PAID					
CAROL M SMITH		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 213	CONDOMINIUM UNIT 36, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-037		0.10	\$981.70	\$98.17	DATE PAID					
GEORGE KIBA		UNIT								
VIRGINIA KIBA	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 214	CONDOMINIUM UNIT 37, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2650 PEBBLE LANE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
MILFORD MI 48380										
50-22-03-383-038		0.10	\$981.70	\$98.17	DATE PAID					
MARTIN FARR		UNIT								
MARY C FARR	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 215	CONDOMINIUM UNIT 38, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
								1		
50-22-03-383-039		0.10	\$981.70	\$98.17	DATE PAID					
YASUKO DUKE		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 216	CONDOMINIUM UNIT 39, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
	6-90 FR 378-005	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI MI 48377-1817					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.

Page 62 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	ļ			INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-040		0.10	\$981.70	\$98.17	DATE PAID					
DEBORAH J LEDUC		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1127 SOUTH LAKE DR UNIT 217	CONDOMINIUM UNIT 40, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-041 WILLIAM MARCUS		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
WILLIAM MARCOS	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR # 218	CONDOMINIUM UNIT 41, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 40377-1017	0-3011(370-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOTAL	φ19.03	φ19.03	\$19.03	φ19.03	\$19
50-22-03-383-042		0.10	\$981.70	\$98.17	DATE PAID					
NANCY SEDLER		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR # 219	CONDOMINIUM UNIT 42, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-043		0.10	\$981.70	\$98.17	DATE PAID			1		1
JULIE E FRYE-SECHLER		UNIT	\$981.70	\$98.17	DATE PAID					
JOLIL ET RTE-SECHEER	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 220	CONDOMINIUM UNIT 43. BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
29305 GLENARDEN ST	0-30 1 10 370-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
FARMINTON HILLS MI 48334					IOIAL	φ19.03	\$19.03	\$19.03	φ19.03	φ19.
50-22-03-383-044		0.10	\$981.70	\$98.17	DATE PAID					
WILLIAM G ROBINSON		UNIT								
PAMELA B ROBINSON	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1127 SOUTH LAKE DR UNIT 222	CONDOMINIUM UNIT 44, BLDG A L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 930364					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WIXOM MI 48393						•				
50-22-03-383-045		0.10	\$981.70	\$98.17	DATE PAID					
HOWARD KATZ		UNIT								
NANCY KATZ	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 SOUTH LAKE DR UNIT 45	CONDOMINIUM UNIT 45, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-046		0.10	\$981.70	\$98.17	DATE PAID		1	1	1	
JOHN FRANCIC		UNIT	ψυυ 1.10	\$33.17					1	
MARY GAVIN	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 SOUTH LAKE DR UNIT 46	CONDOMINIUM UNIT 46, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
			****	005 :=						
50-22-03-383-047 TERRY P VETTESE		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
SUZANNE P VETTESE	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 SOUTH LAKE DR UNIT 47	CONDOMINIUM UNIT 47, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 V1 IVII 400//-1000	3 33 1 10 370-000				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
		1		1	IOIAL	φ19.03	φ19.03	φ 19.03	φ19.03	φ 19.

Page 63 of 172 11/16/2020 631 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL]			INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-048		0.10	\$981.70	\$98.17	DATE PAID					
WAYNE WANG		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 SOUTH LAKE DR UNIT 48	CONDOMINIUM UNIT 48, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-049		0.10	\$981.70	\$98.17	DATE PAID					
DENNIS W HORAN	CONDOMINIUM DI ANI NO COZ COLITU DOINITE	UNIT			DALANOE	000.47	070.54	050.00	000.07	040
AASS COUTILL AKS DRINKS AC	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 SOUTH LAKE DR UNIT 49	CONDOMINIUM UNIT 49, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-050		0.10	\$981.70	\$98.17	DATE PAID					
LOIS NUGENT		UNIT	ψ301.70	ψ30.17	DATETAID					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 SOUTH LAKE DR UNIT 50	CONDOMINIUM UNIT 50, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-051		0.10	\$981.70	\$98.17	DATE PAID					
JACQUELYN E LINVILLE		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 SOUTH LAKE DR UNIT 51	CONDOMINIUM UNIT 51, BLDG B L 11495 P 288 8-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
12606 NW DIAMOND D					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
PORTLAND OR 97229		0.40	****	200.17	DATE DAID					
50-22-03-383-052 ROBERT F EDWARDS		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
ROBERT F EDWARDS	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 52	CONDOMINIUM UNIT 52, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI WII 46377-1650	0 00 110 000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	φ19.03	φ19.03	\$19.03	\$19.03	φ19.
50-22-03-383-053		0.10	\$981.70	\$98.17	DATE PAID					
CHRISTINE LEWIS		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 53	CONDOMINIUM UNIT 53, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
F0 00 00 200 054		0.40	¢004.70	CO0.47	DATE DAID					
50-22-03-383-054 EMMET HANNON		0.10 UNIT	\$981.70	\$98.17	DATE PAID		 			
MARILYN HANNON	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0,,,,			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 SOUTH LAKE DR UNIT 54	CONDOMINIUM UNIT 54. BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-055		0.10	\$981.70	\$98.17	DATE PAID					
CATHERINE BOHDAN	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	¢00.47	¢70.54	ØE0.00	#20.07	640
DIANA DORER	CONDOMINIUM UNIT 55, BLDG B L 11495 P 288 8				BALANCE	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90	\$39.27 \$19.63	\$19.
1155 S LAKE DR UNIT 55	6-90 FR 378-005				PRINCIPAL INTEREST		\$19.63	\$19.63		\$19.
NOVI MI 48377-1850	0-30 FK 3/0-003				TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19.
	·			1	∥ IUIAL I	D 19.03	D19.03	J 019.03	D 19.03	\$19.

Page 64 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-056		0.10	\$981.70	\$98.17	DATE PAID					
DELORES SHEEDY		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 56	CONDOMINIUM UNIT 56, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-057		0.10	\$981.70	\$98.17	DATE PAID					
BEVERLY SPIESER		UNIT	ψοσ σ	400	5711217115					
C/O MATTHEW DELEZENNE	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 57	CONDOMINIUM UNIT 57, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1142 S MAIN STREET					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
PLYMOUTH MI 48170										
50-22-03-383-058		0.10	\$981.70	\$98.17	DATE PAID					
SHARON COOK	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 58	CONDOMINIUM UNIT 58, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 VI WII 403/7-1031	0 00 110 000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					TOTAL	ψ13.00	Ψ13.00	ψ13.03	Ψ13.03	Ψ13.
50-22-03-383-059		0.10	\$981.70	\$98.17	DATE PAID					
KAREN GINGRAS		UNIT			5	400.47	470.54	450.00	***	0.10
AASS O LAKE DRAINIT SO	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 59	CONDOMINIUM UNIT 59, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-060		0.10	\$981.70	\$98.17	DATE PAID					
DISMONDY LIVING TRUST		UNIT								
ANTOINETTE BENNER	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 60	CONDOMINIUM UNIT 60, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-061		0.10	\$981.70	\$98.17	DATE PAID					
RANDY A FLAGG		UNIT	400	******						
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 61	CONDOMINIUM UNIT 61, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
50-22-03-383-062		0.10	\$981.70	\$98.17	DATE PAID					
NICHOLAS & KATHERINE COSENTINO		UNIT								
TRUST	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
1155 S LAKE DR UNIT 62	CONDOMINIUM UNIT 62, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1620 LITTLE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
HORTON MI 49249		0.40	#004.70	000.47	DATE DATE					
50-22-03-383-063 GLORIA DOWLING		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
C/O BARBARA COX	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR UNIT 63	CONDOMINIUM UNIT 63, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
955 GOLF VIEW DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
DACULA GA 30019		1								

Page 65 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000	2001	INSTALLMENTS		
AND ADDDECC	OF DDODEDTV	FDONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5T
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3RD	41H	51
50-22-03-383-064		0.10	\$981.70	\$98.17	DATE PAID					
MARSHA RADNER	CONDOMINIUM DI ANI NO 697 COLITH DOINTE	UNIT			DALANOE	CO0 47	₾70. Г.4	650.00	#20.07	\$19
AAFE OLAKE DD LINIT CA	CONDOMINIUM PLAN NO 687 SOUTH POINTE CONDOMINIUM UNIT 64, BLDG B L 11495 P 288 8				BALANCE PRINCIPAL	\$98.17	\$78.54	\$58.90	\$39.27	
1155 S LAKE DR UNIT 64 NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19 \$0
NOVI IVII 403/7-1051	0-9011(370-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19
50-22-03-383-065		0.10	\$981.70	\$98.17	DATE PAID					
JOAN PILLON		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR UNIT 65	CONDOMINIUM UNIT 65, BLDG B L 11495 P 288 8	-			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-383-066	+	0.10	\$981.70	\$98.17	DATE PAID					
DIANA L BELLEW		UNIT	φοσ1.70	φοσ.17	BATTE TAND					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR UNIT 66	CONDOMINIUM UNIT 66, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50.00.00.000.007		0.40	**********	000.47	DATE DAID					
50-22-03-383-067 JAMES BAKER		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
LESLIE BAKER	CONDOMINIUM PLAN NO 687 SOUTH POINTE	l OINII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR UNIT 67	CONDOMINIUM UNIT 67. BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
809 OLD MILFORD FARMS DR	0-3011(3/0-003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
MILFORD MI 48381					TOTAL	\$19.03	φ19.03	\$19.03	φ19.03	\$19
50-22-03-383-068		0.10	\$981.70	\$98.17	DATE PAID					
VIRGINIA LEE RUNYON TRUST		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR # 68	CONDOMINIUM UNIT 68, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
			****	200.47	DATE DAID					
50-22-03-383-069 MARIA TATARELLI		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
MANA PATAKEEN	CONDOMINIUM PLAN NO 687 SOUTH POINTE	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR UNIT 69	CONDOMINIUM UNIT 69. BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
50-22-03-383-070 PETER J ZOROYA		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
DIANE K ZOROYA	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR UNIT 70	CONDOMINIUM UNIT 70, BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19
NOVI WII 46377-1651	0 00 111 070 000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
				<u> </u>						
50-22-03-383-071		0.10	\$981.70	\$98.17	DATE PAID					
MA DE LOS ANGELES AGUILERA VEL JESSICA PINKSTON	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
1155 S LAKE DR UNIT 71	CONDOMINIUM UNIT 71. BLDG B L 11495 P 288 8				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI IVII 700//- 100 I	0 00 11(0/0 000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
					IOIAL	ψ13.00	ψ13.00	ψ13.03	ψ13.00	ψ19

Page 66 of 172 11/16/2020 631 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-072		0.10	\$981.70	\$98.17	DATE PAID					
IRA FISHER		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
1155 S LAKE DR UNIT 72	CONDOMINIUM UNIT 72, BLDG B L 11495 P 288 8	1			PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
50-22-03-401-003		1.00	\$981.70	\$981.70	DATE PAID					
MATTHEW & NATALIE KOTTMAN TR		UNIT		'''						
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOT 11				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	OF IDELINERE FARREOT IT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1850 DOGWOOD TRAIL					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390				ļ						
50-22-03-401-004		1.00	\$981.70	\$981.70	DATE PAID					
MATTHEW & NATALIE KOTTMAN TR		UNIT			DALANOE	0004.70	#70F 00	AFOO OO	4000.00	0400
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOT 12				PRINCIPAL INTEREST	\$196.34	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34	\$196.
1850 DOGWOOD TRAIL					TOTAL	\$0.00 \$196.34	\$196.34	\$196.34	\$0.00 \$196.34	\$0.0 \$196.
WALLED LAKE MI 48390					TOTAL	\$190.34	\$190.34	\$190.34	\$190.34	\$190.
50-22-03-401-006		1.00	\$981.70	\$981.70	DATE PAID					
DOUGLAS HEATH		UNIT								
ELIZABETH HEATH	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	OF IDLEMERE PARK LOTS 9 & 10 2-10-93 FR 001				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	& 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
905 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1815										
50-22-03-402-001		1.00	\$981.70	\$981.70	DATE PAID					
ANN FORD		UNIT								
KYLE FORD	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOT 13				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
04400440004					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
31106 LAGOON NOVI MI 48377					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-402-002		1.00	\$981.70	\$981.70	DATE PAID					1
ANDREW VAUGHN		UNIT	*******	*************************************						
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	OF IDLEMERE PARK LOT 14				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	OF IDELINERE FARR LOT 14				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
811 SOUTH LAKE DRIVE					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377 50-22-03-402-003		1.00	\$981.70	\$981.70	DATE PAID					-
MARSHALL L KLEIN		UNIT	φ901.70	φ901.70	DATE FAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	OF IDLEMERE PARK LOT 15				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
6960 ORCHARD LAKE RD STE 305					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WEST BLOOMFIELD MI 48322-4527										
50-22-03-403-001		1.00	\$981.70	\$981.70	DATE PAID					
ARNOLD FISHER		UNIT				****	470	A=0	****	
LORRAINE FISHER	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOT 16				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
7007 ODEEKO DEND DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7207 CREEKS BEND DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WEST BLOOMFIELD MI 48322-3525										1

Page 67 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-404-005	DADT OF OW FDO 4/4 DEC AT DT 0 00 F0 00 F	1.00	\$981.70	\$981.70	DATE PAID					
STEPHEN XANTHEAS	PART OF SW FRC 1/4 BEG AT PT S 83-53-00 E 10 FT FROM NW COR LOT 92 'IDLEMERE PARK'.	UNIT								
SOPHIA XANTHEAS	TH N 91.8 FT TO S SHORE WALLED LAKE, TH S				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	86-15-00 E 90 FT, TH S 94.5 FT, TH N 83-53-00 W				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	90 FT TO BEG EXC 35 FT R/W FOR STREET				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5965 CAMPUS DR	0.12 A MN53				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
DEARBORN HEIGHTS MI 48127-2549										
50-22-03-404-006		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT WALING		UNIT			5444405	2004 70	4707.00	4500.00	****	0100
KIMBERLY WALING	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOT 23				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
727 S LAKE DR					INTEREST TOTAL	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.0 \$196.
					TOTAL	\$190.34	\$190.34	\$196.34	\$196.34	\$190.
NOVI MI 48377-1960		4.00	\$981.70	C004 70	DATE DAID					
50-22-03-404-007 WILLIAM D KRAUS		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
BARBARA D KRAUS		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
BARBARA D KRAUS	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196. \$196.
	OF IDLEMERE PARK LOT 24				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
701 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1960					IOIAL	ψ130.3 4	ψ130.34	ψ190.54	ψ130.54	ψ130.
50-22-03-404-009		1.00	\$981.70	\$981.70	DATE PAID					
HALINA NAPIERALA		UNIT	ψ501.70	Ψ301.70	DATETAID					
HALINA NAFILNALA		1 1			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	OF IDLEMERE PARK LOT 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
133 LEON RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390						ψ.ισσ.σ.	ψ.σσ.σ.	ψ.σσ.σ.	ψ.σσ.σ.	ψ.σσ.
50-22-03-404-010		1.00	\$981.70	\$981.70	DATE PAID					
RICHARD HOENLE		UNIT	***************************************	*************************************						
RUTH HOENLE		'			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144 OF IDLEMERE PARK LOT 21				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	OF IDLEMERE PARK LOT 21				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
721 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
NOVI MI 48377-1960										
50-22-03-404-011		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT WALING		UNIT								
KIMBERLY WALING	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOTS 17 & 18 02/02/84				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	FR001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
727 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1960										
50-22-03-404-012		1.00	\$981.70	\$981.70	DATE PAID					
GREGORY KERR		UNIT								
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOT 19 02/02/84 FR001				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
39823 WOODSIDE					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NORTHVILLE MI 48168			400:	400:	B. T.					
50-22-03-404-013		1.00	\$981.70	\$981.70	DATE PAID					
KOPY LUCAS		UNIT								
	0 4 000 1 15 10				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
747 00UTU AVE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
717 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1960		1		1					1	1

Page 68 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-405-001		1.00	\$981.70	\$981.70	DATE PAID					
ZACHARY S GIELOW		UNIT								
TRESSA M BIELAK	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	OF IDLEMERE PARK LOT 25				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	OF IDEEMERE 17 WIN EOT 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
623 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1959										
50-22-03-405-008		1.00	\$981.70	\$981.70	DATE PAID					
GREGORY ISZLER		UNIT								
ELIZABETH ISZLER	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF IDLEMERE PARK LOT 26 & W 1/2 OF LOT 27				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
004.01.445.00					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
621 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48377-1959			4004.70	2100.01	DATE DAID					
50-22-03-451-004		0.20	\$981.70	\$196.34	DATE PAID					
KYLE HECHT		UNIT			BALANCE	£400.04	£457.07	£447.00	₾ 70.54	600.0
004 C LAKE DD	IDLEMERE PARK LOT 19				PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2 \$39.2
901 S LAKE DR NOVI MI 48377-1815	IDLEWERE PARK LOT 19				INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.2
915 E LAKE DR					TOTAL	\$0.00	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.2
50-22-03-451-005		0.20	\$981.70	\$196.34	DATE PAID					
DAVID LADOMER		UNIT	ψ301.70	ψ130.04	BATETAID					
DAVID LADOWER		l Olviii			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
108 MAUDLIN ST	IDLEMERE PARK LOT 20, ALSO 1/2 OF VAC				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1843	LILAC CT ADJ TO SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
10077 1040					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
						400.2	\$55.21	400.2 1	\$60.2 1	400.2
50-22-03-451-006		0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL HAYNES		UNIT	,	' ' ' '						
KELLY CARUSS	IDLEMEDE DADIKLOTO OA 0 00 ALOO A/O OE				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
112 MAUDLIN ST	IDLEMERE PARK LOTS 21 & 22, ALSO 1/2 OF VAC LILAC CT ADJ TO SAME				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1843	VAC LILAC CT ADJ TO SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-451-007		0.20	\$981.70	\$196.34	DATE PAID					
ANTHONY W FONTAN		UNIT								
ERICA J FLANIGAN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
914 LEMAY ST	IDLEMERE PARK LOT 30				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-451-009		0.20	\$981.70	\$196.34	DATE PAID					
CLEMENCE SHAYA ROSE FADEL		UNIT			DALANCE	£40C 24	£457.07	£447.00	P70 F4	\$39.2
1653 MARINER DR	IDLEMERE PARK LOTS 23 & 24, ALSO NELY 1/3				BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07	\$117.80	\$78.54 \$39.27	7.00
WALLED LAKE MI 48309	OF LOT 29				INTEREST	\$39.27	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27	\$39.2 \$0.0
WALLED LANE WII 40309					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$39.2
					IOIAL	φυθ.ΔΙ	φ39.21	φυθ.Δ1	φυθ.Δ1	
50-22-03-451-011		0.20	\$981.70	\$196.34	DATE PAID					1
GABE ATWOOD		UNIT	ψοσ1.70	ψ100.0-7	3,1121,110					
		••••			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
128 MAUDLIN ST	IDLEMERE PARK LOT 26				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1843					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
		1					, , , , , , ,	7.5.2.	7.2.2.	Ψ00.E

Page 69 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	}	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-451-012		0.20	\$981.70	\$196.34	DATE PAID					
CLEMENCE SHAYA ROSE FADEL		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
130 MAUDLIN ST	IDLEMERE PARK LOT 27				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1843					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1653 MARINER DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3658										
50-22-03-451-013		0.20	\$981.70	\$196.34	DATE PAID					
TED L MARCH		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
132 MAUDLIN ST	IDLEMERE PARK LOT 28				PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
NOVI MI 48377-1846	IDLEWERE FARR LOT 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
47297 AUTUMN PARK CT					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48374					TOTAL	ψ39.21	ψ39.21	Ψ39.21	ψ39.21	ψ33.21
50-22-03-452-008		0.20	\$981.70	\$196.34	DATE PAID					
LAWRENCE E WESSON		UNIT	ψ301.70	ψ130.04	DATETAID					
EATTLENGE E WEGGGN	IDLEMERE PARK LOTS 72, 73 & 74, ALSO 1/2 OF	01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
305 MAUDLIN ST	VAC MAUDLIN DR ADJ TO SAME 11-13-01 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1820	001 & 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
								,		
50-22-03-452-010		0.20	\$981.70	\$196.34	DATE PAID					
JEFFREY J LAURIE JR		UNIT								
REBECCA OUBECK					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
185 MAUDLIN ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1846					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-453-005		0.20	\$981.70	\$196.34	DATE PAID					
TERRI A GARIEPY		UNIT			54144105	212221	A 457 07	A		200.07
400 MALIDI INI OT	IDLEMERE PARK LOT 40				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
109 MAUDLIN ST	IDLEMERE PARK LOT 40				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1845					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27
					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.21
50-22-03-453-006		0.20	\$981.70	\$196.34	DATE PAID					
KAYLEI STEWART		UNIT	ψοσ1.10	ψ100.0-7	3,((21,(10					
		0,,,,			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
115 MAUDLIN ST	IDLEMERE PARK LOT 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-453-007		0.20	\$981.70	\$196.34	DATE PAID					
NANCY J SIMMONS		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
117 MAUDLIN ST	IDLEMERE PARK LOT 42				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27

Page 70 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-453-008		0.20	\$981.70	\$196.34	DATE PAID					
AMAR ABRO		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
119 MAUDLIN ST	IDLEMERE PARK LOT 43				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
47133 W NINE MILE ROAD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48374										
50-22-03-453-009		0.20	\$981.70	\$196.34	DATE PAID					
MAUDLIN RENTAL LLC		UNIT			DALANCE	6400.04	¢457.07	£447.00	₾70 F4	\$39.2
LARRY LEO JR 121 MAUDLIN ST	IDLEMERE PARK LOT 44				BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80	\$78.54 \$39.27	
NOVI MI 48377-1845	IDLEWERE PARK LOT 44				INTEREST	\$39.27	\$0.00	\$39.27 \$0.00	\$0.00	\$39.2 \$0.0
724 IRVIN ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
PLYMOUTH MI 48170-1168					TOTAL	\$39.27	\$39.21	\$39.27	\$39.21	\$39.4
50-22-03-453-010		0.20	\$981.70	\$196.34	DATE PAID		1			
8EN J THORSEN		UNIT	ф901.70	\$190.34	DATE PAID					
BEN J THORSEN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	IDLEMERE PARK LOT 45, ALSO 1/2 OF VAC				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
	IVYLEAF WALK ADJ TO SAME 6-30-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
759 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					101712	Ψ00.27	Ψ00.21	Ψ00.27	Ψ00.21	Ψ00.2
50-22-03-453-011		0.20	\$981.70	\$196.34	DATE PAID					
KAREN M ASCENCIO		UNIT	φοσισ	\$100.01	2711217112					
JAMES M ASCENCIO		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
07.11.120 III.71.00 Z.110.10	IDLEMERE PARK LOT 46, ALSO 1/2 OF VAC				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	IVYLEAF WALK ADJ TO SAME 6-30-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
95755 FERNWOOD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WESTLAND MI 48186						,	,	,	,	,
50-22-03-453-016		0.20	\$981.70	\$196.34	DATE PAID					
ARNOLD FISHER		UNIT								
LORRAINE FISHER	IDLEMERE PARK ALL OF BOTANY BAY & THAT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	PART OF WOODBINE LAKE LYING W OF LINE				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
	DRAWN FROM SW COR OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7207 CREEKS BEND DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WEST BLOOMFIELD MI 48322-3525										
50-22-03-453-017		0.20	\$981.70	\$196.34	DATE PAID					
CHARLIE GATT		UNIT								
SHERYL GATT					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	IDLEMERE PARK LOT 104				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
135 OWENTON ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1963			4004.70	10001	DATE DA			-		
50-22-03-453-019		0.20	\$981.70	\$196.34	DATE PAID					
NEW CHAPTER HOMES	IDLEMEDE DARK ALL THAT BART OF	UNIT			DALANCE	£400.04	0457.07	M447.00	#70 F4	400
	IDLEMERE PARK ALL THAT PART OF WOODBINE LAKE & GOLDENROD BAY LYING E				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	OF LINE DRAWN FROM SW COR LOT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
AGEOT COLITE VIEW LAND	OF LINE DRAWN FROM SW COR LOT				INTEREST	\$0.00	\$0.00 \$39.27	\$0.00	\$0.00	\$0.0
46597 SOUTH VIEW LANE PLYMOUTH MI 48170					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-453-020		0.20	\$981.70	\$196.34	DATE PAID			1		
		0.20	φ 9 01./U	\$ 190.34	DATE PAID					
TYRONE FONDA WEAVER		UNIT			BALANCE	£106.24	¢457.07	¢117.00	¢70 €4	#20 f
	IDLEMERE PARK LOTS 107 & 108				BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80 \$39.27	\$78.54 \$39.27	\$39.2 \$39.2
	IDLEWIENE FARK LUTS 10/ & 108				INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
30790 BURLINGTON					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$39.2
WESTLAND MI 48186					IOIAL	Φ39.21	φ39.21	φ39.Z1	φ39.∠1	φ39.2
WESTLAND WI 40 100				l	J		1	1	l .	1

Page 71 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-453-021		0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL J LINK		UNIT								
LEANNE M H LINK					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
210 BERNSTADT ST	IDLEMERE PARK LOTS 109 & 110				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1917					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-453-022		0.20	\$981.70	\$196.34	DATE PAID					
GLENDA A HAMILTON TRUST		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
236 BERNSTADT ST	IDLEMERE PARK LOTS 111, 112 & 113				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1917					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
15855 CENTRALIA					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
REDFORD MI 48239						,	,		,	
50-22-03-453-023		0.20	\$981.70	\$196.34	DATE PAID					
MATTHEW ZIEGLER		UNIT	Ψ0010	V.00.0 .	5,1,2,7,15					
CHRISTINA ZIEGLER		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
133 MAUDLIN ST	IDLEMERE PARK LOTS 47 & 48 5-10-93 FR 012 &				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1845	013				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 1111 403/7-1043					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					IOIAL	ψυσ.21	ψ55.21	ψ33.21	ψ33.21	ψυσ.
50-22-03-453-024		0.20	\$981.70	\$196.34	DATE PAID					
			φ901.70	\$190.34	DATE PAID					
MICHAEL HILLEY	IDI EMEDE DADIKI OTO 40, 50 0 54, ALOO 4/0 OF	UNIT			DALANOE	0400.04	0457.07	0447.00	070.54	000
RUTH SHOUPE	IDLEMERE PARK LOTS 49, 50 & 51, ALSO 1/2 OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
135 MAUDLIN ST	VAC MAUDLIN DR ADJ TO SAME DESC AS BEG AT SW COR OF LO				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1845	AT SW COR OF LO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	T1N, R8E, SEC 3									
50-22-03-454-019	IDLEMERE PARK	0.20	\$981.70	\$196.34	DATE PAID					
ROBERT O'NEILL	LOTS 94 TO 97 INCL EXC	UNIT								
KOBERT O'NEILE	S 40 FT	01411								
	MORE PARTICULARLY DESC AS				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	BEG AT NE COR OF SD LOT 94,					,	·	l '		1
114 BURNSTADT ST	TH S 03-56-42 E 80 FT.				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	TH S 86-03-18 W 160.36 FT,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 40377	TH N 03-56-42 W 95.94 FT,				INTEREST	φυ.υυ	\$0.00	φυ.υυ	φυ.υυ	φ0.
	TH S 88-15-51 E 161.16 FT				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	TO BEG									
50-22-03-454-020		0.20	\$981.70	\$196.34	DATE PAID					
	IDLEMEDE DADIC C 40 ET OF LOTO 04 TO 07		φ901.70	φ190.34	DATE FAID					
TERRY OSMUN DAPHINE SMITH	IDLEMERE PARK S 40 FT OF LOTS 94 TO 97 INCL MORE PARTICULARLY DESC AS BEG AT	UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	SE COR OF SD LOT 94, TH S 86-03-18 W 160.36									
118 BERNSTADT ST	FT. TH N 03-56-42 W 40 FT. THE N 86-03-18 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1915	160.36 FT, THE S 03-56-42 E 40 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	100.30 F1, THE 3 03-30-42 E 40 F1 TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-455-005		0.20	\$981.70	\$196.34	DATE PAID					1
50-22-03-455-005 KEVIN BATES		UNIT	φ901./0	\$ 190.34	DATE PAID					
RENEE BATES		UNII			BALANCE	£100.04	\$157.07	¢447.00	\$78.54	\$39.
	IDLEMEDE DARK LOT 422					\$196.34		\$117.80		
113 BERNSTADT ST	IDLEMERE PARK LOT 122				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1916					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-455-006	<u> </u>	0.20	\$981.70	\$196.34	DATE PAID					+
THELMA NAPIER		UNIT	Ψοσσ		3,,,2,,,,10					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
117 BERNSTADT ST	IDLEMERE PARK LOTS 120 & 121				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1916					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	II	1 1		1	1				+	

of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-456-001		0.20	\$981.70	\$196.34	DATE PAID					
AMAR ABRO		UNIT			DALANOE	0400.04	0457.07	0447.00	A70.54	000.07
203 BERNSTADT ST	IDLEMERE PARK LOT 119				BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80 \$39.27	\$78.54 \$39.27	\$39.27 \$39.27
NOVI MI 48377-1918	IDELINEILE FAIR LOT 119				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
47133 NINE MILE RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48374					TOTAL	ψ39.21	ψ33.21	ψ39.21	ψ39.21	ψ39.21
50-22-03-456-002		0.20	\$981.70	\$196.34	DATE PAID					
MARK W KRYSKA		UNIT	400							
IRINA KRYSKA					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
	IDLEMERE PARK LOTS 117 & 118				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
215 BERNSTADT ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1918										
50-22-03-456-005		0.20	\$981.70	\$196.34	DATE PAID					
ZACHARY RZOTKIEWICZ		UNIT								
	IDI EMEDE DADICI OTO AAA AAE O AAO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
233 BERNSTADT ST	IDLEMERE PARK LOTS 114, 115 & 116				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377-1918					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-03-476-003		1.00	\$981.70	\$981.70	DATE PAID			1		
JOHN THOMOPOULOS		UNIT	φ901.70	\$901.70	DATE PAID					
SHELLY THOMOPOULOS		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
SHELLY THOMOPOULUS	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
	Occ Assessors office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
425 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1957						¥.000.0	7.00.0	V .000.0	¥.000.0	7.00.0
50-22-03-476-004		1.00	\$981.70	\$981.70	DATE PAID					
GARY E ZACK		UNIT								
MAUREEN R ZACK					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
359 S LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
NOVI MI 48377-1950										
50-22-03-476-005		1.00	\$981.70	\$981.70	DATE PAID					
JOHN DUNESKE		UNIT			DALANCE.	0004.70	4705.00	# 500.00	0000.00	0400 04
DONNA DUNESKE	Con Appending Office for Local Description				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	See Assessors Office for Legal Description				PRINCIPAL INTEREST	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00	\$196.34 \$0.00
357 SOUTH LAKE DR					TOTAL	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00
NOVI MI 48377-1950					IOIAL	\$180.34	φ190.3 4	φ190.34	φ190.34	φ190.34
50-22-03-476-006		1.00	\$981.70	\$981.70	DATE PAID					
RANDY STEPHENSON		UNIT	ψ501.70	ψ301.70	DATETAID					
JANE STEPHENSON		'			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.34
	WALLED LAKE SHORES NWLY 20 FT OF LOT 30,				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
	ALL OF LOT 31 & NWLY 20 FT OF LOT 32				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3970 VAN AMBURG					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.34
BRIGHTON MI 48114-9254	II	1		1			1	1		

Page 73 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		_
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-476-007 ROBERT THOMPSON		1.50 UNIT	\$981.70	\$1,472.55	DATE PAID					
JUDY THOMPSON		ONIT			BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294.5
JOBY THOM CON	WALLED LAKE SHORES LOT 32 EXC NWLY 20				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.5
	FT & ALL OF LOTS 33 & 34				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
327 SOUTH LAKE DR					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.5
NOVI MI 48377-1950					101742	Ψ20 1.0 I	ψ204.01	Ψ204.01	Ψ204.01	Ψ201.0
50-22-03-476-008 RONALD JOHNSTON		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
RUNALD JUHNS I UN		UNII			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	WALLED LAKE SHORES LOT 35				PRINCIPAL	\$196.34	\$785.36 \$196.34	\$589.02 \$196.34		\$196.
	WALLED LAKE SHOKES LOT 35								\$196.34	
205 COLITILI AKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
325 SOUTH LAKE DR NOVI MI 48377-1950					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
50-22-03-476-009		1.00	\$981.70	\$981.70	DATE PAID					
ROBERT CZARNECKI		UNIT	***************************************	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
CHRISTINE CZARNECKI					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	WALLED LAKE SHORES LOT 36				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
323 SOUTH LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NOVI MI 48377-1950 50-22-03-476-013		1.00	\$981.70	\$981.70	DATE PAID					
FRED SCOTT III		UNIT	ψ301.70	ψ301.70	DATETAID					
DOREEN SCOTT					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	WALLED LAKE SHORES LOT 39				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
6500 OAK GROVE RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
HOWELL MI 48855						\$100.01	ψ.σσ.σ.	ψ100.01	ψ.ισσ.σ.	V.00.
50-22-03-476-017		1.00	\$981.70	\$981.70	DATE PAID					
THOMAS R PEMBROKE		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	WALLED LAKE SHORES LOT 43				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1414 BAYWOOD CIR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
BRIGHTON MI 48116-6777 50-22-03-476-022		1.00	\$981.70	\$981.70	DATE PAID					
FRED N SCOTT	WALLED LAKE SHORES LOT 40, ALSO PART OF	UNIT	φοσισ	ψοστσ	DATE I ALD					
DORREN & MEGAN SCOTT	E 1/2 OF SE FRC 1/4 BEG AT NE COR OF LOT 39				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	OF SD 'SUB', TH S 79 FT, TH S 43-20-00 E 40.40				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	FT, TH N 88 FT, TH WLY ALG SHORE OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 2230	WALLED LAKE TO BEG 2-12-96 FR 014 & 015				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
HOWELL MI 48844		4.00	#004.70	0004.70	DATE DAID					
50-22-03-476-024 WILLIAM BORDEN		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
IRENE ARPASI		5			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	WALLED LAKE SHORES LOTS 37 & 38 9-17-01				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	FR 011 & 012				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
470 CHIRRAMWOOD CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
COMMERCE TWP 48390										
50-22-03-477-005		1.00	\$981.70	\$981.70	DATE PAID					
ABRAHAM KANDEL		UNIT			BALANCE	¢004.70	¢705 26	¢500.00	¢202 60	6400
CHERYL KANDEL	Son Annonners Office for Local Description					\$981.70	\$785.36	\$589.02	\$392.68	\$196.
351 SOUTH LAKE DR NOVI MI 48377-1950	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
NUVI WL483//-1950		1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0 \$196.3
110 11 1111 1001 1 1000					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	

Page 74 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-477-006 DEAN R WALDRUP	PART OF E 1/2 OF SE 1/4 BEG AT NW COR OF	1.50 UNIT	\$981.70	\$1,472.55	DATE PAID					
MARY E WALDRUP	LOT 30 'WALLED LAKE SHORES', TH S 22-02-00				BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294.5
339 SOUTH LAKE DR	W 639 FT, TH N 45-43-00 W 200 FT, TH N 22-02-				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.5
NOVI MI 48377-1950	00 E 724 FT TO SLY SHORE WALLED LAKE, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 111 1100	SELY ALG SHORE 200 FT, TH S 22-02-00 W 85 FT TO BEG 3.10 A MN59				TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294.
50-22-03-481-007		0.20	\$981.70	\$196.34	DATE PAID					
JOANNE SITTERLET		UNIT	φοστσ	\$155.5 4						
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
317 DUANA ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377-1976					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-481-011		0.20	\$981.70	\$196.34	DATE PAID					
HENRY GRUZWALSKI		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
311 MADISON AVE CLAWSON MI 48017-1974					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.:
50-22-03-481-016		0.20	\$981.70	\$196.34	DATE PAID					
SUMMIT RESULTS, LLC		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
38421 HORTON DR FARMINGTON HILLS MI 48331-2300					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-03-483-006		0.20	\$981.70	\$196.34	DATE PAID					
BRIAN JONES		UNIT								
	DDATT OUD LOT 40				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
119 CHARLOTTE DR	PRATT SUB LOT 43				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.3
NOVI MI 48377-1920					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-03-483-007		0.20	\$981.70	\$196.34	DATE PAID					
JOEL STREET GRACE STREET		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	000
	PRATT SUB LOT 42									\$39.1 \$39.1
117 CHARLOTTE DR	PRATI SUB LOT 42				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	
NOVI MI 48377-1920					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-04-429-001		0.20	\$981.70	\$196.34	DATE PAID					
DARRIN M BOJI		UNIT			DAI ANOS	0400.04	0457.07	0447.00	070.54	000
anne i Berninia e anno i	BRISTOL CORNERS NORTH LOT 1 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30291 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-04-429-002		0.20	\$981.70	\$196.34	DATE PAID					
RICHARD DELONIS LISA MARIE DELONIS		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30291 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 2 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	426-001									
		1		1	INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI MI 48377				1	TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2

Page 75 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000	2001	INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
50-22-04-429-003	OF FROM EIGHT	0.20	\$981.70	\$196.34	DATE PAID	101	ZIND	JILD	4111	311
ALICIA STRAYHORN TRUST		UNIT	φ901.70	\$190.34	DATE FAID					
ALICIA STRATITORIN TROST		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30309 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 3 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						ψ00. <u>2</u> .	ψου. <u>Σ</u> 1	400.27	400.2 1	400 .
50-22-04-429-004		0.20	\$981.70	\$196.34	DATE PAID					
LAUKIK DESHPANDE		UNIT		,						
	DDICTOL CODNEDC NODTILL OT 4 C OF 02 FD				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30315 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 4 6-25-03 FR 426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
50-22-04-429-005		0.20	\$981.70	\$196.34	DATE PAID					
TU FAMILY TRUST		UNIT								
	BRISTOL CORNERS NORTH LOT 5 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30327 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	120 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-04-429-006		0.20	\$981.70	\$196.34	DATE PAID					
ATUL KALIA		UNIT			54144105	*****	A157.07	0447.00	ATO 54	***
GAYTRI KALIA	BRISTOL CORNERS NORTH LOT 6 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30333 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-04-429-007		0.20	\$981.70	\$196.34	DATE PAID					
KEVIN MANUAL		UNIT	φ901.70	\$190.34	DATE FAID					
KATHLEEN MANUAL		O TWIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30339 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 7 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 40377					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ39.21	ψ39.21	ψ39.21	ψ39.21	ψυσ.
50-22-04-429-008		0.20	\$981.70	\$196.34	DATE PAID					
		UNIT	• • • • • • • • • • • • • • • • • • • •	,						
EIHAB GALLOZI	PRICTOL CORNERS NORTH LOT 9 6 25 02 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30353 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 8 6-25-03 FR 426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-04-429-009		0.20	\$981.70	\$196.34	DATE PAID					
NAVEEN YERNENI		UNIT					A 1 == ==	A	ATC -:	
	BRISTOL CORNERS NORTH LOT 9 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
30375 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
50-22-04-429-010		0.20	\$981.70	\$196.34	DATE PAID					
PRIYA KULANDAIVELU		UNIT	φθ01.70	φ190.34	DATE FAID					
RAJMOH KULANDAIVELU		ONI			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
30387 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 10 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 1007 1					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
		1		I	IOIAL	ψυυ.Δ1	ψυσ.Ζ1	ΨΟ3.21	ψυσ.Δ1	ψυ9.

Page 76 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-04-429-011 RAKESH GAMPALA		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
THOUTREDDY GAMPALA	BRISTOL CORNERS NORTH LOT 11 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
44451 BRISTOL CIR	426-001 & 22-03-154-003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377	420-001 & 22-03-134-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-04-429-012		0.20	\$981.70	\$196.34	DATE PAID					
SCOT WERNETTE		UNIT			5	212221	A 4 5 7 . 0 7	0447.00	470.54	***
HITOMI WERNETTE	BRISTOL CORNERS NORTH LOT 12 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
44463 BRISTOL CIR	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-04-429-013 SINAN MONA		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
PILLAR MONA		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
44475 BRISTOL CIR	BRISTOL CORNERS NORTH LOT 13 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI MI 48377					TOTAL					
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-04-429-014 SCOTT FRANE		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
KIMBERLY FRANE		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
30400 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 30 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	426-001 & 22-03-154-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$39.2
NOVI WII 46377					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
						400.2 1	\$55.21	\$00.2 7	\$60.21	\$60.2
50-22-04-429-015 ROSS SCHMITZ		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
KARIN SCHMITZ	DDIOTOL CODNEDO NODTILLOT 04 0 05 00 ED				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
30388 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 31 6-25-03 FR 426-001 & 22-03-154-003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	420-001 & 22-03-154-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-04-429-016		0.20	\$981.70	\$196.34	DATE PAID					
HILLARD L HAMPTOM JR		UNIT				0400.04	0.153.03	2447.00	070.54	***
MARCELLA HAMPTON	BRISTOL CORNERS NORTH LOT 32 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
30376 PENNINGTON LN	426-001 & 22-03-154-003				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
50-22-04-429-017 WARREN WEBERMIN		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
ANDREA WEBERMIN		01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
30364 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 33 6-25-03 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	426-001				INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377					TOTAL	\$0.00	\$39.27	\$39.27	\$39.27	\$39.2
50-22-04-429-018		0.20	\$981.70	\$196.34	DATE PAID					
XIAOYI YANG		UNIT	φοσισ	ψ100.04						
QINGHANG LI & WENDI LI	BRISTOL CORNERS NORTH LOT 34 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
30352 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377	420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
		1		1						

Page 77 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	1	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-04-429-019		0.20	\$981.70	\$196.34	DATE PAID					
MATTHEW GOEBEL		UNIT								
TRACIE GOEBEL	BRISTOL CORNERS NORTH LOT 35 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
30340 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377	420 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-04-429-020		0.20	\$981.70	\$196.34	DATE PAID					
JAMES SNOW		UNIT								
BRENDA SNOW	BRISTOL CORNERS NORTH LOT 36 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
30328 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377	420 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-04-429-021		0.20	\$981.70	\$196.34	DATE PAID					
MARCUS EDWARDS		UNIT								
	BRISTOL CORNERS NORTH LOT 37 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
30316 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377	425 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-04-429-022		0.20	\$981.70	\$196.34	DATE PAID					
ANDY HUYHN		UNIT								
	BRISTOL CORNERS NORTH LOT 38 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
30304 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377	.25 55 .				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
50-22-04-429-023		0.20	\$981.70	\$196.34	DATE PAID					
NAMIR JIDA AL		UNIT								
NOREEN JIDA AL	BRISTOL CORNERS NORTH LOT 39 6-25-03 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
30292 PENNINGTON LN	426-001				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
NOVI MI 48377	720-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27

Page 78 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
92-17-34-328-026	OF PROPERTY	0.20			DATE PAID	151	ZIND	JRD	41П	311
MARK KIDD		UNIT	\$981.70	\$196.34	DATE PAID					
WARK RIDD		l OINII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
201 HALIFAX ST	PHILIPSKI'S WALLED LAKE SUB LOT 56 AND S				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3421	1/2 OF LOT 57				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
W/ 1222 2/11/2 WII 40000 0421					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					101712	Ψ00.Σ1	Ψ00.27	Ψ00.27	Ψ00.27	Ψ00.2
92-17-34-328-038		0.20	\$981.70	\$196.34	DATE PAID					
ALEXANDER ANDREW SZECKU		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
0 ROSEBUD	PHILIPSKI'S WALLED LAKE SUB LOT 44				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI, 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
330 ROSEBUD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390										
92-17-34-328-039		0.20	\$981.70	\$196.34	DATE PAID					
ALEXANDER ANDREW SZECKU		UNIT								
	DUNING WALLED LAKE OUR LOTO 40 0 40				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
330 ROSEBUD ST	PHILIPSKI'S WALLED LAKE SUB LOTS 42 & 43				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-328-047		0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL RZEPKA		UNIT	ψ901.70	ψ190.54	DATETAID					
JULIE A DORAN-RZEPKA		"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
247 ROSEBUD CT	PHILIPSKI'S WALLED LAKE SUB LOT 33				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3447	THE SKI O WILLES ET IKE OOD EOT OO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE IVII 40030-0441					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					101712	Ψ00.27	Ψ00.27	Ψ00.27	Ψ00.27	Ψ00.
92-17-34-328-048		0.20	\$981.70	\$196.34	DATE PAID					
STEVEN GOULET		UNIT								
	PHILIPSKI'S WALLED LAKE SUB NELY 33 FT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
235 ROSEBUD CT	LOT 34				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3447	LOT 04				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
429 WIND WAY DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE,MI 48390										
92-17-34-328-060		0.20	\$981.70	\$196.34	DATE PAID					
HOSAM HNRI		UNIT			54144105	212221	A 4 5 7 . 0 7		470.54	***
LINDA SABBAGH	PHILIPSKI'S WALLED LAKE SUB NWLY 37 FT OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
232 ROSEBUD ST	LOT 37 & ALL OF LOT 38				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390 19528 SHADYSIDE					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.0 \$39.
LIVONIA MI 48152					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-328-061		0.20	\$981.70	\$196.34	DATE PAID		1			
HOSAM HNRI		UNIT	ψ501.70	ψ150.54	DATETAID					
LINDA SABBAGH	PHILIPSKI'S WALLED LAKE SUB WLY PART OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
226 ROSEBUD ST	LOT 36 MEAS 39.2 FT ON SWLY LOT LINE &				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390	51.55 FT ON NELY LOT LINE, ALSO LOT 37 EXC				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
19528 SHADYSIDE	NWLY 37 FT				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
LIVONIA MI 48152						400.2.	\$55.2 .	400.2 .	\$55.2	\$30 .
92-17-34-328-062		0.20	\$981.70	\$196.34	DATE PAID					
LOREN BADISH		UNIT								
ANGIE ROBBINS-BADISH	PHILIPSKI'S WALLED LAKE SUB N 1/2 OF LOT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	59, ALSO ALL OF LOT 60				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	55, ALSO ALL OF LOT 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
215 HALIFAX ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3421										

Page 79 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESO	OF BRODERTY	FDONITAGE	DED	OLIABOE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-328-063		0.20	\$981.70	\$196.34	DATE PAID					
LOREN BADISH		UNIT			5	*****	******	0447.00	*== = 1	***
ANGIE ROBBINS	PHILIPSKI'S WALLED LAKE SUB N 1/2 OF LOT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
215 HALIFAX ST	57, ALL OF LOT 58, ALSO S 1/2 OF LOT 59				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3421					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-328-070		0.20	\$981.70	\$196.34	DATE PAID					
DARRYL YOUNG		UNIT			DALANOE	0400.04	0457.07	0447.00	A70 F4	000
452 HALIEAY CT	PHILIPSKI'S WALLED LAKE SUB LOTS 54 & 55				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
153 HALIFAX ST	PHILIPSKI'S WALLED LAKE SUB LOTS 54 & 55				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3419					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
8756 COLUMBIA CIR CANTON MI 48187					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-328-071		0.10	\$981.70	\$98.17	DATE PAID					
ANITA ELSA WAGNER		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
152 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 1, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-072		0.10	\$981.70	\$98.17	DATE PAID					
KEVIN TAYLOR		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
150 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 2, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
4263 REBECCA CIRCLE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
COMMERCE TWP 48390-1358										
92-17-34-328-073		0.10	\$981.70	\$98.17	DATE PAID					
VANCITY SOLUTIONS LLC		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
154 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 3, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5688 CEDAR CREST TER					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
DUBLIN, CA 94568										
92-17-34-328-074 DANA VERESH		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
DANA VERESII	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
148 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 4, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 40000	3.11. 1, 223 3.12 33.21 333 12 13 33 11 333				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						ψ10.00	\$10.00	\$10.00	ψ10.00	Ψ.σ.
92-17-34-328-075		0.10	\$981.70	\$98.17	DATE PAID					
ALVERS LLC	OAKLAND OOLINTY OONDOMINIUUS SI SAASSA	UNIT			BALANOE	000.47	070.54	050.00	#00.07	040
450 LADD	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
156 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 5, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2065 EAST WEST MAPLE ROAD STE C311 COMMERCE TWP 48390					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-076		0.10	\$981.70	\$98.17	DATE PAID		İ			
KELLY NAMEL		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
146 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 6, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1		1						

Page 80 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-328-077		0.10	\$981.70	\$98.17	DATE PAID					
KYLE BUTLER		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
158 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 7, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-078		0.10	\$981.70	\$98.17	DATE PAID					
DANIELA BOAR		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
144 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 8, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-079		0.10	\$981.70	\$98.17	DATE PAID					
RYAN CRONIN		UNIT	φοσσ	400						
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
160 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 9, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-080		0.10	\$981.70	\$98.17	DATE PAID					
BRIENNE METCALF		UNIT	,	, , , ,						
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
142 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 10, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-081		0.10	\$981.70	\$98.17	DATE PAID					
MLAG LLC		UNIT	ψ901.70	ψ90.17	DATETAID					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
162 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 11, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5713 SILVER POND					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WEST BLOOMFIELD MI 48322						,				
92-17-34-328-082		0.10	\$981.70	\$98.17	DATE PAID					
ANN SATTERWHITE	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
140 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 12, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19.
WALLED LAKE WII 40390-3333	ONT 12, BEBO A E 30721 300 12-10-0011 (003				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						•				
92-17-34-328-083 ERIC A WRIGHT		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
LNIC A WRIGHT	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
164 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 13, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
23679 LYON RIDGE DR	5 10, BEBONE 50721 555 12 10-501 11 655				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
SOUTH LYON MI 48178					IOIAL	φ 18.03	φ18.03	φ19.03	φ19.03	φ19.
92-17-34-328-084		0.10	\$981.70	\$98.17	DATE PAID					
CHRISTIAN J TIFRERE-MARTINEZ	OAKLAND COUNTY CONDOMINIUMA DI COMP	UNIT			DAI 43300	#00 1 -	070 71	050.00	000.07	***
400 ADD	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
138 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 14, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
				1	TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.

Page \$1 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDECC	OF PROPERTY	FDONTAGE	DED	CHARGE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	5.75 5.45	1ST	2ND	3RD	4TH	5T
92-17-34-328-085		0.10	\$981.70	\$98.17	DATE PAID					
SENINA PARKS	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
166 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 15, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 40000	0.11. 10, 5250 / 12 000 12 10 00 1 1 10 00				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	Ψ10.00	Ψ10.00	ψ10.00	Ψ10.00	Ψ10.
92-17-34-328-086		0.10	\$981.70	\$98.17	DATE PAID					
KRL SELF DIRECTED LLC		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
136 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390	UNIT 16, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
136 PONTIAC TRAIL					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE, MI 48390										
92-17-34-328-087		0.10	\$981.70	\$98.17	DATE PAID					
HEATHER FINCH	CALC AND COUNTY CONDOMINIUM DI AN NO	UNIT			DAI ANOS	000.47	#70.54	050.00	000.07	0.10
400 HALIEAV	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE CONDOMINIUM				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
123 HALIFAX	UNIT 17, BLDG B L 9672 P 560 12-10-86 FR 069				PRINCIPAL INTEREST	\$19.63	\$19.63 \$0.00	\$19.63	\$19.63	\$19. \$0.
WALLED LAKE MI 48390-3419	ONIT 17, BLDG B L 9072 F 300 12-10-80 FK 009				TOTAL	\$0.00 \$19.63	\$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19.
					IOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19
92-17-34-328-088		0.10	\$981.70	\$98.17	DATE PAID					
KAREN KOBINSKI		UNIT	ψ301.70	ψ30.17	DATETAID					
NAKEN KOBINGKI	OAKLAND COUNTY CONDOMINIUM PLAN NO	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
124 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 18, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	, i				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						·				
92-17-34-328-089		0.10	\$981.70	\$98.17	DATE PAID					
CANDACE M KULLING		UNIT								
CARL KULLING	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
121 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3419	UNIT 19, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		0.40	4004.70	200.17	5475 5415					
92-17-34-328-090		0.10	\$981.70	\$98.17	DATE PAID					
ALLEN GINZBURG	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
122 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$78.5 4 \$19.63	\$19.63	\$39.27 \$19.63	\$19.
WALLED LAKE MI 48390	UNIT 20, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19
5713 SILVER POND	01417 20, BEBO B E 00721 000 12 10 00 11 10 00				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WEST BLOOMFIELD MI 48322					101712	Ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	Ψισ
92-17-34-328-091		0.10	\$981.70	\$98.17	DATE PAID					1
TIFFANY RAYMORE		UNIT	*******							
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
119 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 21, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-328-092		0.10	\$981.70	\$98.17	DATE PAID					
CATHERINE M FERNANDEZ		UNIT					ļ.,			
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
120 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
	UNIT 22, BLDG B L 9672 P 560 12-10-86 FR 069	1		1	INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE MI 48390					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.

Page 82 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESS	OF DEODERTY	FRONTACE	PER	CHARCE		2020 1ST	2021	2022	2023 4TH	202 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	2ND	3RD	41H	51
92-17-34-328-093		0.10	\$981.70	\$98.17	DATE PAID					
NADINE NICHOLS	CALC AND COUNTY CONDOMINIUM DIANING	UNIT			54144105	200.17	470.54	450.00	***	
447.1141.15437	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
117 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3419	UNIT 23, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-094		0.10	\$981.70	\$98.17	DATE PAID					
STEPHANIE GOULET		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
118 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3333	UNIT 24, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-328-095		0.10	\$981.70	\$98.17	DATE PAID					
PATRIFARM LLC		UNIT	ψ301.70	Ψοσ.17	DATETAID					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
115 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	UNIT 25, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
20979 PARKWOODS DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
SOUTH LYON MI 48178		0.40	¢004.70	#00 47	DATE DAID					
92-17-34-328-096 ROBIN WALKER		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
NOBIN WALKER	OAKLAND COUNTY CONDOMINIUM PLAN NO	01111			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
116 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 26, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
W/ LEED E/ WE WII 40000 0000					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-097 DEWEY PLUMLEY		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
DEWEY PLUMLEY	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
4441.400	477 LAKESIDE TOWNHOUSE CONDOMINIUM						· · · · · · · · · · · · · · · · · · ·			-
114 LADD	UNIT 27, BLDG B L 9672 P 560 12-10-86 FR 069				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	ONIT 27, BEDG B E 90721 300 12-10-00111 009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-328-098		0.10	\$981.70	\$98.17	DATE PAID					
LORI A LONGMATE		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
412 PONTIAC TRAIL	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3355	UNIT 28, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-099		0.10	\$981.70	\$98.17	DATE PAID					
APRIL MUNAFO		UNIT	*							
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
112 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3333	UNIT 29, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-328-100		0.10	\$981.70	\$98.17	DATE PAID					1
KYLE F HOFFMEYER		UNIT	ψοσ1.70	ψου. 17	DATE FAID					
-	OAKLAND COUNTY CONDOMINIUM PLAN NO	'			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
414 PONTIAC TRAIL	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3355	UNIT 30, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1				+	7	T	T	+

Page 83 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESO	OF PROPERTY	FDONTAGE	DED	OLIABOE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	5.75 5.15	1ST	2ND	3RD	4TH	5TH
92-17-34-328-101		0.10	\$981.70	\$98.17	DATE PAID					
STEVEN G BEAVIS	CALCLAND COLINITY CONDOMINIUM DI ANI NO	UNIT			DALANOE	000.47	070.54	#50.00	000.07	040.00
CYNTHIA LOPEZ BEAVIS	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.60
110 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3333	UNIT 31, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-328-102		0.10	\$981.70	\$98.17	DATE PAID					
ANNA KOLODZIEJZAK		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
416 PONTIAC TRAIL	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390	UNIT 32, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3405 SWARTHOUT RD					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
PINCKNEY, MI 48169										
92-17-34-328-103		0.10	\$981.70	\$98.17	DATE PAID					
MARK ANTHONY SUTTER	CALCLAND COLINITY CONDOMINIUM DI ANI NO	UNIT			DALANOE	000.47	070.54	#50.00	000.07	040.6
400 1 4 5 5	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE CONDOMINIUM				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
108 LADD					PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390	UNIT 33, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1967 GREENMEADOW DR WALLED LAKE, MI 48390					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-328-104		0.20	\$981.70	\$196.34	DATE PAID					
JOSHUA DAVID		UNIT								
ALLISON GUETSCHOW	SUPERVISOR'S PLAT NO 2 LOT 60, ALSO OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
240 ROSEBUD CT	'PHILIPSKI'S WALLED LAKE SUB' PART OF LOTS				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3447	1 & 3 ALL DESC				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-34-328-105		0.20	\$981.70	\$196.34	DATE PAID					
92-17-34-328-105 HENRY MADSEN		UNIT	\$981.70	\$196.34	DATE PAID					
HENRY WADSEN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
000 BOOFBUB OT	See Assessors Office for Legal Description									
206 ROSEBUD CT	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-34-328-106		0.20	\$981.70	\$196.34	DATE PAID					
WAGONLANDER WL PROPERTY		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
220 ROSEBUD ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
736 E STATE ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
TRAVERSE CITY MI 49686-2625										
92-17-34-328-107		0.20	\$981.70	\$196.34	DATE PAID					
JON F GROH		UNIT			DALANCE	£400.04	04F7.07	£447.00	↑ 70.54	# 20.4
040 POCEDUD CT	Con Appendix Office for Level Deces' "				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
210 ROSEBUD ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-34-328-108		0.20	\$981.70	\$196.34	DATE PAID					
BILL NOBLE		UNIT								
WILLIAM BRADSHAW	PHILIPSKI'S WALLED LAKE SUB LOTS 39, 40 &				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
314 ROSEBUD ST	41 8-30-00 FR 040, 041 & 042				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390	41 0-30-00 110 040, 041 & 042				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
				1						

Page 84 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000	2001	INSTALLMENTS		
AND ADDRESS	OF DRODERTY	FRONTAGE	PER	CHARCE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3RD	41H	51
92-17-34-329-036		0.10	\$981.70	\$98.17	DATE PAID					
DAVID Y SHIN	CALCLAND COUNTY CONDOMINIUM DI ANI NO	UNIT			DALANOE	000.47	070.54	050.00	000.07	040
	OAKLAND COUNTY CONDOMINIUM PLAN NO 489 LAKE WINDS NORTH UNIT 1, BLDG A L 9828				BALANCE PRINCIPAL	\$98.17	\$78.54	\$58.90	\$39.27	\$19
211 WINDWAY DR WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19 \$0.
WALLED LAKE WII 40390	1 300 7-11-00 1 K 031 10 034 INCL				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$19
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19
92-17-34-329-037		0.10	\$981.70	\$98.17	DATE PAID					
MARILYN WEIDEL		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
221 WINDWAY DR	489 LAKE WINDS NORTH UNIT 2, BLDG A L 9828				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-329-038		0.10	\$981.70	\$98.17	DATE PAID					
LINDA HERSKOVITZ TRUST		UNIT	φοσ1.7 σ	ψου. 17	BATE I AND					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
231 WINDWAY DR	489 LAKE WINDS NORTH UNIT 3, BLDG A L 9828				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-329-039		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-329-039 NIRA DOLAN		UNIT	\$981.70	\$98.17	DATE PAID					
MICA DOLLAR	OAKLAND COUNTY CONDOMINIUM PLAN NO	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
239 WINDWAY DR	489 LAKE WINDS NORTH UNIT 4. BLDG A L 9828				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-040 MICHAEL SHONCE		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
WICHAEL SHONCE	OAKLAND COUNTY CONDOMINIUM PLAN NO	I UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
230 WINDWAY DR	489 LAKE WINDS NORTH UNIT 5, BLDG B L 9828				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390	1 300 7-11-00 110 004 1100				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19
92-17-34-329-041		0.10	\$981.70	\$98.17	DATE PAID					
CHARLES P LAPHAM	0.444.4.4.00.00.00.00.00.00.00.00.00.00.	UNIT				***	A-	A=0.77	***	
040 14/11/014/41/ DD	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
240 WINDWAY DR	489 LAKE WINDS NORTH UNIT 6, BLDG B L 9828 P 568 7-11-88 FR 031 TO 034 INCL				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390	P 508 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
P.O.BOX 939 NORTHVILLE MI 48167					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-042		0.10	\$981.70	\$98.17	DATE PAID			1		
MICHAEL DWYER		UNIT	Ψ000	\$55						
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
250 WINDWAY DR	489 LAKE WINDS NORTH UNIT 7, BLDG B L 9828				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-329-043		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-329-043 GAIL MCKINNON		UNIT	φ901./0	φ30.17	DATE PAID		+			
	OAKLAND COUNTY CONDOMINIUM PLAN NO	5			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
260 WINDWAY DR	489 LAKE WINDS NORTH UNIT 8. BLDG B L 9828				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	ψ10.00	ψ10.00	ψ10.00	ψ10.00	ψ19.

Page 85 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
	UF PROPERTY				DATE PAID	151	ZIND	JRD	41П	31
92-17-34-329-044 BRIAN BAZNER		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
BRIAN BAZNER	OAKLAND COUNTY CONDOMINIUM PLAN NO	ONII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
249 WINDWAY DR	489 LAKE WINDS NORTH UNIT 9, BLDG C L 9828				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
White B Er WE WII 40000					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						Ψ10.00	ψ.σ.σσ	V.0.00	V.0.00	\$.0.
92-17-34-329-045		0.10	\$981.70	\$98.17	DATE PAID					
YVONNE M PROVCI		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
259 WINDWAY DR	489 LAKE WINDS NORTH UNIT 10, BLDG C L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-329-046		0.10	\$981.70	\$98.17	DATE PAID					
SHARON FRASER TRUST		UNIT	φ901.70	φ90.17	DATE FAID					
	OAKLAND COUNTY CONDOMINIUM PLAN NO	0			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
269 WINDWAY DR	489 LAKE WINDS NORTH UNIT 11, BLDG C L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-329-047		0.10	\$981.70	\$98.17	DATE PAID					
MEGAN MCATEER		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
279 WINDWAY DR	489 LAKE WINDS NORTH UNIT 12, BLDG C L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-048		0.10	\$981.70	\$98.17	DATE PAID					
STACY CZAJKA		UNIT	ψοσ1.70	ψου.17	BATETAND					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
308 WINDWAY DR	489 LAKE WINDS NORTH UNIT 13, BLDG D L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-329-049		0.10	\$981.70	\$98.17	DATE PAID					
ANTHONY JOHNS	CAKLAND COUNTY CONDOMINIUMA DI ANANO	UNIT			BALANCE	#00 47	¢70.54	#E0.00	#20 07	m40
322 WINDWAY DR	OAKLAND COUNTY CONDOMINIUM PLAN NO 489 LAKE WINDS NORTH UNIT 14. BLDG D L				PRINCIPAL	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19. \$19.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE WII 40390	30201 3007-11-0011(030				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
					TOTAL	Ψ10.00	ψ13.03	ψ10.00	ψ10.00	Ψ10.
92-17-34-329-050		0.10	\$981.70	\$98.17	DATE PAID					
IRWIN CHAPMAN		UNIT	•							
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
330 WINDWAY DR	489 LAKE WINDS NORTH UNIT 15, BLDG D L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-329-051		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-329-051 SHERYL L PARDUE		UNIT	φ 9 01./U	φ96.17	DATE PAID		-			1
SILK IL L PARDUE	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
342 WINDWAY DR	489 LAKE WINDS NORTH UNIT 16, BLDG D L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	ψ10.00	ψ10.00	ψ10.00	ψ10.00	Ψ10.

Page 86 of 172 11/16/2020 631 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FDONTAGE	PER	CHARGE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	1ST	2ND	3RD	4TH	5TH
92-17-34-329-052		0.10	\$981.70	\$98.17	DATE PAID					
JAMES A YEIP	CALCLAND COUNTY CONDOMINIUM DI ANI NO	UNIT			54144105	200.17	470.54	450.00	***	0.10
000 MINDMAY DD	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
289 WINDWAY DR	489 LAKE WINDS NORTH UNIT 17, BLDG E L 9828 P 568 10-20-88 FR 035				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 508 TU-20-88 FR U35				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-053		0.10	\$981.70	\$98.17	DATE PAID					
JENNIFER MURRAY		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
299 WINDWAY DR	489 LAKE WINDS NORTH UNIT 18, BLDG E L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-054		0.10	\$981.70	\$98.17	DATE PAID					
MARCIO A DELGADO		UNIT	400							
AMANDA DELGADO	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
309 WINDWAY DR	489 LAKE WINDS NORTH UNIT 19, BLDG E L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-055		0.10	\$981.70	\$98.17	DATE PAID					
NANCY S STALNECKER		UNIT	φοσσ	400	5,1,21,1,10					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
321 WINDWAY DR	489 LAKE WINDS NORTH UNIT 20, BLDG E L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-056		0.10	\$981.70	\$98.17	DATE PAID		1	1		
92-17-34-329-036 CARL RIKER		UNIT	Ф901.70	φ90.17	DATE PAID					
<i></i>	OAKLAND COUNTY CONDOMINIUM PLAN NO	0			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
409 WINDWAY DR	489 LAKE WINDS NORTH UNIT 21, BLDG F L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
P.O. BOX 461					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
UNION LAKE, MI 48387					101712	Ψ10.00	Ψ10.00	ψ10.00	Ψ10.00	ψ10.
92-17-34-329-057		0.10	\$981.70	\$98.17	DATE PAID					
KATHLEEN DANIELSON	CALC AND COUNTY CONDOMINIUM DI ANI NO	UNIT			BALANCE	000.47	070.54	050.00	000.07	040
440 14/14/07/47/ DD	OAKLAND COUNTY CONDOMINIUM PLAN NO 489 LAKE WINDS NORTH UNIT 22. BLDG F L					\$98.17	\$78.54	\$58.90	\$39.27	\$19.
419 WINDWAY DR	9828 P 568 10-20-88 FR 035				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9020 P 300 10-20-00 FR 033				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-058		0.10	\$981.70	\$98.17	DATE PAID					
STEVEN GOULET		UNIT								
MARJORIE GOULET	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
429 WINDWAY DR	489 LAKE WINDS NORTH UNIT 23, BLDG F L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-329-059		0.10	\$981.70	\$98.17	DATE PAID			<u> </u>		
ERIC EBERWEIN		UNIT	Ψυσ 1.10	\$55.17	2,21,10					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
439 WINDWAY DR	489 LAKE WINDS NORTH UNIT 24, BLDG F L				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1								

Page 87 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000		INSTALLMENTS		
AND ADDRESS	OF DDODEDTY	FRONTAGE	PER	CHARCE		2020 1ST	2021 2ND	2022	2023 4TH	202 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3RD	4111	51
92-17-34-376-002		0.20	\$981.70	\$196.34	DATE PAID					
KOKKO REVOCABLE TRUST	JENNIN DADIK OLID LOT 22. EVO DADT TAKEN	UNIT			DALANOE	0400.04	0457.07	0447.00	A70.54	000
F77 C DONTIAC TO	JENNY PARK SUB LOT 33, EXC PART TAKEN FOR HWY & LYING WLY OF LINE DRAWN FROM				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
577 S PONTIAC TRL	SW COR LOT 32 TO POI				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3358	5W COR LOT 32 TO POI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-376-003		0.20	\$981.70	\$196.34	DATE PAID					
KOKKO REVOCABLE TRUST		UNIT								
	JENNY PARK SUB LOT 32, EXC PART TAKEN				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
577 S PONTIAC TRL	FOR HWY & LYING WLY OF LINE DRAWN FROM				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3358	SW COR LOT 32 TO POI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-376-004		0.20	\$981.70	\$196.34	DATE PAID					
SCOTT CRANKSHAW		UNIT	φοσσ	V.55.5	571.2171.5					
PATRICIA BLAIR					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
603 S PONTIAC TRL	JENNY PARK SUB LOTS 28 TO 31 INCL				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-376-005		0.20	\$981.70	\$196.34	DATE PAID					
GABRIEL SERRATO-LOPEZ		UNIT	Ф901.70	\$190.34	DATE PAID					
0/12/11/2007		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
627 S PONTIAC TRL	JENNY PARK SUB LOTS 26 & 27				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
			****		5475 5415					
92-17-34-376-006 BAILEY A OLAND		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
BAILET A OLAND		ONII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
631 S PONTIAC TRL	JENNY PARK SUB LOT 25				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3360	SERVIT FARRESON EST 25				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 46390-3360					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-376-008		0.20	\$981.70	\$196.34	DATE PAID					
MACY LEASING & REAL ESTATE LLC		UNIT				*100.01	0.457.07	0117.00	470.54	
404 O BONTIA O TRI	VIRGINIA PARK NO. 1 LOT 57, EXC NLY PART				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
481 S PONTIAC TRL	TAKEN FOR HWY M-218				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
955 HIGH HOUSE RD CARY NC 27513					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-376-009		0.20	\$981.70	\$196.34	DATE PAID					
ABBE MULHOLLAND		UNIT								
	VIRGINIA PARK NO. 1 LOT 56, EXC N PART				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
477 S PONTIAC TRL	TAKEN FOR HWY				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3356	I CINCIN I OIN IIW I				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-376-010		0.20	\$981.70	\$196.34	DATE PAID					
MATTHEW G TRUSSLER		UNIT	ψ501.70	ψ150.54	DATETAID					
	VIRGINIA PARK NO. 1 LOTS 54 & 55, EXC NLY				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
453 S PONTIAC TRL					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3356	PART TAKEN FOR HWY M-218				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
		1								

Page 88 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-376-011		0.20	\$981.70	\$196.34	DATE PAID					
MIKE LANGAN		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
435 S PONTIAC TRL	VIRGINIA PARK NO. 1 LOTS 52 & 53				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1225 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377-1440										
92-17-34-376-012		0.20	\$981.70	\$196.34	DATE PAID					
SABRI ZHULI		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
480 CONWAY ST	VIRGINIA PARK NO. 1 LOT 83				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-376-013		0.20	\$981.70	\$196.34	DATE PAID					
ANN BEYER		UNIT								
STEVEN RIGOULOT					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
470 CONWAY ST	VIRGINIA PARK NO. 1 LOT 84				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-376-014		0.20	\$981.70	\$196.34	DATE PAID					
SCOTT DERRICK NEWMAN		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
462 CONWAY ST	VIRGINIA PARK NO. 1 LOT 85				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-376-015		0.20	\$981.70	\$196.34	DATE PAID					
DAVID HAMLIN		UNIT								
SHANNON HAMLIN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
454 CONWAY ST	VIRGINIA PARK NO. 1 LOT 86				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
00.47.04.070.000		0.00	0004.70	0400.04	DATE DAID					
92-17-34-376-022 PARRIALIOLATES		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
DARRIN HOLMES JENNIFER HOLMES		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
228 OSPREY ST	JENNY PARK SUB LOT 15				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3343	JENNI FARR SUB LOT 15				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 40390-3343					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	Ф39.2 1	\$39.21	\$39.27	\$39.21	და 9.
92-17-34-376-023		0.20	\$981.70	\$196.34	DATE PAID					
KHALED DABISH		UNIT	φου 1.70	ψ130.34	DATE FAID					
NICES SASION					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
633 S PONTIAC TRL	JENNY PARK SUB LOTS 22, 23 & 24				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3360	3E1411 17441 335 E313 22, 20 4 24				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
18801 VANDERHAVEN LANE					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
LIVONIA. MI 48152					IOIAL	ΨΟΟ.Δ1	Ψ00.21	ψου.Ζ1	ΨΟΟ.Ζ1	Ψ09.
92-17-34-376-024		0.20	\$981.70	\$196.34	DATE PAID					
AUDREY BURSKEY		UNIT	ψοσ1.7ο	Ψ100.04	3,1121,110					
		0.4			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
115 DEKALB ST	JENNY PARK SUB LOT 21				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
				I	IOIAL	Ψ00.21	ψ00.Z1	Ψ00.21	Ψ00.Z1	Ψ00.

Page 89 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-376-025		0.20	\$981.70	\$196.34	DATE PAID					
CYNTHIA COLEMAN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
123 DEKALB ST	JENNY PARK SUB LOT 20				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3332	JENNT FARK SUB LOT 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$39.
WALLED LAKE WII 40390-3332					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ39.21	ψ33.21	ψ39.21	ψ39.21	ψυσ.
92-17-34-376-026		0.20	\$981.70	\$196.34	DATE PAID					
JANICE KRAFT		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
405 DEKALD OT	JENNY PARK SUB LOT 19									
125 DEKALB ST	JENNI FARK SOB LOT 19				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3332					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0. \$39.
						400.2 7	ψου.Στ	\$60.27	ψου.Σ.	400
92-17-34-376-027		0.20	\$981.70	\$196.34	DATE PAID					
XIANG LIN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
127 DEKALB ST	JENNY PARK SUB LOT 18				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3332	DENIN I ANN GOD EGT 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3332					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
						700.2	,	722.2	4 00.	7.00
92-17-34-376-029		0.20	\$981.70	\$196.34	DATE PAID					
BARBARA PATERAKIS		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
129 DEKALB ST	JENNY PARK SUB LOT 16				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3332	DENIN I ANN GOD EOT 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3332					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
					TOTAL	ψ55.27	ψ05.21	ψ03.21	ψ33.21	ΨΟΟ
92-17-34-376-030		0.20	\$981.70	\$196.34	DATE PAID					
ALISA KAUFMAN		UNIT			BALANCE	£106.24	\$157.07	¢117.00	\$78.54	\$39.
475 CONTAVAN CT	VIRGINIA PARK NO 1 W 1/2 OF BOTH LOTS 81 &					\$196.34		\$117.80		
475 CONWAY ST	82 11/21/85 FR 016 & 017				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3330					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2121 LAKESHORE DR. COMMERCE TWP 48382					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-376-034		0.20	\$981.70	\$196.34	DATE PAID					
DEREK O'BRANOVIC	\(\(\text{\partial}\)	UNIT			5	*****		0117.00	*=0.5 4	***
	VIRGINIA PARK NO 1 E 1/2 OF LOT 81 EXC S 20				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
204 OSPREY ST.	FT, ALSO E 1/2 OF LOT 82 4-21-16 FR 033				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE, MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-376-035		0.20	\$981.70	\$196.34	DATE PAID					
ANDREW MALTESE		UNIT								
	VIRGINIA PARK NO 1 LOT 80, ALSO S 20 FT OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
210 OSPREY ST.	E 1/2 OF LOT 81 4-21-16 FR 033				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE, MI 48309					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-377-001		0.20	\$981.70	\$196.34	DATE PAID					
KELLY C THOMPSON		UNIT	•							
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
711 S PONTIAC TRL	JENNY PARK SUB LOT 1				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3362					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-377-002		0.20	\$981.70	\$196.34	DATE PAID			1		
KEVIN DEPRIEST		UNIT	ψου 1.7 ο		221,10					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
106 DEKALB ST	JENNY PARK SUB LOT 2				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	II			I .	II .	l .	T. Control of the Con	1		1

of 172

						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-377-003		0.20	\$981.70	\$196.34	DATE PAID					
JEFF PALMER		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
110 DEKALB ST	JENNY PARK SUB LOT 3				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-377-004		0.20	\$981.70	\$196.34	DATE PAID					
GRIFFIN GILLIS		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
114 DEKALB ST	JENNY PARK SUB LOT 4				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-377-005		0.20	\$981.70	\$196.34	DATE PAID					
GERALD PLAS		UNIT								
	IENINA DA DIA CALIDA CATA				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
118 DEKALB ST	JENNY PARK SUB LOT 5				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
901 BENSTEIN RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-2923										
92-17-34-377-006		0.20	\$981.70	\$196.34	DATE PAID					
YVONNE JONES		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
122 DEKALB ST	JENNY PARK SUB LOT 6				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-377-007		0.20	\$981.70	\$196.34	DATE PAID					
EQUITY TRUST COMPANY FBO		UNIT								
	IENNY BARY OUR LOT T				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
126 DEKALB ST	JENNY PARK SUB LOT 7				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
486 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI, 48390										
92-17-34-377-008		0.20	\$981.70	\$196.34	DATE PAID					
EQUITY TRUST COMPANY CUSTODIAN		UNIT								
FBO RICHARD GUNTHER IRA					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
130 DEKALB ST	JENNY PARK SUB LOT 8				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
486 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390										
92-17-34-377-009		0.20	\$981.70	\$196.34	DATE PAID					
KAREN CASCADDAN		UNIT			DALANOE	0400.04	M457.07	£447.00	#70 F4	000
070 00DDEV 07	IENNIN DADICOUR LOT O				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
370 OSPREY ST	JENNY PARK SUB LOT 9				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3347					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
02 47 24 277 042		0.00	¢004.70	¢100.04	DATE DAID		1		1	1
92-17-34-377-013 TALIA SAFARO		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
IALIA SAFAKU		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
113 COALMONT ST	VIRGINIA PARK SUB LOT 4				PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27		\$78.54 \$39.27	\$39. \$39.
	VIRGINIA PARK SUB LUT 4	1 1			INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27	\$39. \$0.
								×0.00		50.0
WALLED LAKE MI 48390-3328					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.

Page 91 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000		INSTALLMENTS		
AND ADDRESS	OF DRODERTY	FRONTACE	PER	CHARCE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3RD	4111	51
92-17-34-377-014		0.20	\$981.70	\$196.34	DATE PAID					
ROK IVEZAJ		UNIT			DALANCE	£400.04	£457.07	£447.00	₾70 F4	\$39
447 COALMONT CT	VIDCINIA DADIC CUD LOT E				BALANCE PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	
117 COALMONT ST	VIRGINIA PARK SUB LOT 5					\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-377-018		0.20	\$981.70	\$196.34	DATE PAID					
GEORGE GJERGI IVEZAJ		UNIT		' ' ' '						
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
135 COALMONT ST	VIRGINIA PARK SUB LOT 9				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-377-019		0.20	\$981.70	\$196.34	DATE PAID					
DAREN L REED		UNIT	ψ901.70	φ190.54	DATETAID					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
139 COALMONT ST	VIRGINIA PARK SUB LOT 10				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-377-020		0.20	\$981.70	\$196.34	DATE PAID					
LEZA JJONAJ		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
145 COALMONT ST	VIRGINIA PARK SUB LOT 11				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3328	VIITOINIAT AITT GOD EGT TT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3320					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					101712	Ψ00.21	ψου.Σ1	ψ00.21	ψου.27	Ψοσ
92-17-34-377-021		0.20	\$981.70	\$196.34	DATE PAID					
JOANNE BROWN		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
147 COALMONT ST	VIRGINIA PARK SUB LOT 12 & 13				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-377-023		0.20	\$981.70	\$196.34	DATE PAID					
SEAN JACQUES		UNIT	φοσσ	V.55.5	571.2171.5					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
725 S PONTIAC TRL	VIRGINIA PARK SUB N 1/2 OF LOTS 1 & 2				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3362					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-377-027		0.20	\$981.70	\$196.34	DATE PAID					
92-17-34-377-027 LUIGJ DEDA		UNIT	ψ901.70	ψ150.54	DATE FAID					
	VIDCINIA DADIC CUR LOT C. ALCO LOT 7 EVO E				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
129 COALMONT ST	VIRGINIA PARK SUB LOT 6, ALSO LOT 7 EXC E 1/2 4-16-99 FR 015 & 016				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3328	1/2 4-10-99 FR U13 & U10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
02 47 24 277 020		0.20	¢004 70	\$106.24	DATE DAID		1			1
92-17-34-377-028 KEVEN D GEE		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
	VIDCINIA DADIK SUB E 1/2 OF LOT 7, ALSO ALL				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
131 COALMONT ST	VIRGINIA PARK SUB E 1/2 OF LOT 7, ALSO ALL				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3328	OF LOT 8 4-16-99 FR 016 & 017				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	II	1 1		1						

Page 92 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-377-029		0.20	\$981.70	\$196.34	DATE PAID					
CAROL HAIR		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
720 C DONTIAC TO	VIRGINIA PARK SUB S 1/2 OF LOTS 1, 2 & 3 3-17-									
739 S PONTIAC TRL	09 FR 024 & 026				PRINCIPAL INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3362					TOTAL	\$0.00	\$0.00 \$39.27	\$0.00	\$0.00 \$39.27	\$0.0 \$39.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-378-001		1.00	\$981.70	\$981.70	DATE PAID					
JONATHAN D BOBOIGE		UNIT								
	SUPERVISOR'S PLAT NO. 2 W 70.72 FT OF LOT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
222 S PONTIAC TRL	56				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3351	30				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-002		1.00	\$981.70	\$981.70	DATE PAID					
MARTIN YONO		UNIT	ψ301.70	ψ301.70	BATETAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
0 PONTIAC TRAIL	SUPERVISOR'S PLAT NO. 2 ELY 6 FT OF LOT 57				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE, MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
736 PHEASANT RUN WEST DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WIXOM, MI 48393 92-17-34-378-003		1.00	\$981.70	\$981.70	DATE PAID					
MARTIN YONO		UNIT	φ901.70	φ901.70	DATE FAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
244 S PONTIAC TRL	SUPERVISOR'S PLAT NO. 2 LOT 57 EXC ELY 6				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3351	FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
736 PHEASANT RUN WEST DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WIXOM, MI 48393					101712	ψ100.04	ψ100.04	ψ100.04	ψ100.04	ψισο
92-17-34-378-004		1.00	\$981.70	\$981.70	DATE PAID					
NEVA HELIKER		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	SUPERVISOR'S PLAT NO. 2 LOT 58				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
252 S PONTIAC TRL					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3351 92-17-34-378-007		1.00	\$981.70	\$981.70	DATE PAID					
JAMES OLEKSZY		UNIT	400	*********						
	VIRGINIA PARK NO. 1 NELY PART LOT 51, SAME				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
301 S PONTIAC TRL	MEASURING 64.85 FT ON ROAD & 55 FT ON				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3354	LAKE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-008		1.00	\$981.70	\$981.70	DATE PAID					
RUTH C LANGAN TRUSTEE		UNIT	ψ501.70	ψυσι./σ	DATETAID					
	VIRGINIA PARK NO. 1 E 7 FT LOT 49, ALL LOT				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
313 S PONTIAC TRL	50 & SWLY PART LOT 51, SAME MEASURING				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3354	54.85 FT ON ROAD & 45 FT ON LAKE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
131 OSPREY ST					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3340										
92-17-34-378-011		1.00	\$981.70	\$981.70	DATE PAID					
MARK A KOHN LESLEE A KOHN		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
LESELL A NORM	VIRGINIA PARK NO. 1 LOT 44				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	VINGINIA FANNINO. I LOT 44				INTEREST	\$196.34	\$196.34	\$196.34	\$196.34	\$196
139 OSPREY ST					TOTAL	\$0.00 \$196.34	\$196.34	\$196.34	· · · · · · · · · · · · · · · · · · ·	
WALLED LAKE MI 48390-3340					IOTAL	φ190.34	ф 190.34	φ190.34	\$196.34	\$196
VVALLED LAKE IVII 4839U-334U				I .	1		1	I	1	1

Page 93 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-378-012		1.00	\$981.70	\$981.70	DATE PAID					
MARK A KOHN		UNIT								
LESLEE A KOHN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
139 OSPREY ST	VIRGINIA PARK NO. 1 LOT 43				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
92-17-34-378-013		1.00	\$981.70	\$981.70	DATE PAID					
PETER WOODS		UNIT								
LORI WOODS					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
155 OSPREY ST	VIRGINIA PARK NO. 1 LOT 42				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-014		1.00	\$981.70	\$981.70	DATE PAID					
FRANCES B AMES		UNIT	400							
	\//panua pag:::::= :: ::				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
171 OSPREY ST	VIRGINIA PARK NO. 1 LOT 41				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
92-17-34-378-016		1.00	\$981.70	\$981.70	DATE PAID					
THOMAS GOGOE		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
201 OSPREY ST	VIRGINIA PARK NO. 1 LOT 39				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
92-17-34-378-017		1.00	\$981.70	\$981.70	DATE PAID					
MARC MASTROPAOLO		UNIT	***************************************							
JULIA MASTROPAOLO					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
209 OSPREY ST	VIRGINIA PARK NO. 1 LOT 38				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
						Ψ100.04	ψ100.04	Ψ100.04	\$100.04	\$100
92-17-34-378-018 NANCY JEAN GROSSMAN		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
NANOT SEAN GROSSMAN		O NIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
215 OSPREY ST	VIRGINIA PARK NO. 1 LOT 37				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3342	VIII CINII/ LI AUGUST LOT CI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LANE IVII 40000-0042					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
00 47 04 070 040		4.00	0004.70	0004.70	DATE DAID					
92-17-34-378-019 DAN BAUMGARTEN		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
MARY BAUMGARTEN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
221 OSPREY ST	VIRGINIA PARK NO. 1 LOT 36				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
W 1225 2 W 2 W 10000 00 12					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
92-17-34-378-020		1.00	\$981.70	\$981.70	DATE PAID					
RONALD & MICHAELLE KWASNIEWICZ TRST	PART OF SW FRC 1/4 BEG AT SW COR OF LOT	UNIT	ψοσ1.70	ψοστσ	D. C.E.I AID					
	36 OF 'VIRGINIA PARK NO. 1', TH S 12-41-00 W				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
227 OSPREY ST	80 FT, TH S 89-30-00 E 165 FT TO SHORE OF				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3342	WALLED LAKE, TH NLY ALG SD SHORE 80 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	TO SE COR OF SD LOT 36, TH N 89-30-00 W 170 FT TO BEG 0.30 A 10-12-90 CORR				TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	F1 10 DEG 0.30 A 10-12-90 CORR					,				Ţ

Page 94 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-378-021		1.00	\$981.70	\$981.70	DATE PAID					
CARL ATWATER		UNIT								
ALICIA ATWATER					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
333 OSPREY ST	JENNY PARK SUB LOT 14				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3346					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-022		1.00	\$981.70	\$981.70	DATE PAID					
JO ELLEN FOSTER		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
355 OSPREY ST	JENNY PARK SUB LOT 13				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3346					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-027		1.00	\$981.70	\$981.70	DATE PAID					
JAMES M COX		UNIT								
SUZANNE M COX	JENNY PARK SUB N 25 FT OF LOT 11, ALSO				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
363 OSPREY ST	ALL OF LOT 12				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3348	ALL OF LOT 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-028		1.00	\$981.70	\$981.70	DATE PAID					
DENNIS PATRICK O'ROURKE		UNIT		, , , , ,						
	1511111 BARK SUR LOT 42 ALOG CO 57 OF				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
371 OSPREY ST	JENNY PARK SUB LOT 10, ALSO S 20 FT OF				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3348	LOT 11				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-030		1.00	\$981.70	\$981.70	DATE PAID					
THOMAS J LANGAN		UNIT	********							
	\(\(\text{IDO}\)\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
131 OSPREY ST	VIRGINIA PARK NO 1 LOTS 45 & 46 6/22/88 FR 010				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3340	010				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
		1.50	4004 70							
92-17-34-378-031 GEORGE HAWKINS		1.50 UNIT	\$981.70	\$1,472.55	DATE PAID					
PENNY HAWKINS	VIRGINIA PARK NO 1 LOTS 47 & 48. ALSO LOT				BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294
123 OSPREY ST					PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
WALLED LAKE MI 48390-3447	49 EXC E 7.00 FT 7-19-88 FROM 009 & 029				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
92-17-34-378-032		1.00	\$981.70	\$981.70	DATE PAID					
JOSHUA DAVID		UNIT			1					
	SUPERVISOR'S PLAT NO. 2. E 1/2 OF LOT 59 7-				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
240 ROSEBUD CT	9-01 FR 005				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3447	9-U 1 FK 000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-378-033		1.00	\$981.70	\$981.70	DATE PAID					
ADAM C RABY		UNIT								
TIFFANY RABY	SUPERVISOR'S PLAT NO. 2. W1/2 OF LOT 59 7-				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	9-01 FR 005				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	9-01 FK 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
252 ROSEBUD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390		1		I						

Page 95 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-379-003		0.20	\$981.70	\$196.34	DATE PAID					
EDWARD GILBERT		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
108 COALMONT ST	VIRGINIA PARK SUB LOT 24				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-379-007		0.20	\$981.70	\$196.34	DATE PAID					+
GREGORY COLEY		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
128 COALMONT ST	VIRGINIA PARK SUB LOT 20				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-379-008		0.20	\$981.70	\$196.34	DATE PAID					+
RUSSELL A MCCLELLAND		UNIT	ψοσ σ	\$100.01	3,112.7.13					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
132 COALMONT ST	VIRGINIA PARK SUB LOT 19				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-379-009		0.20	\$981.70	\$196.34	DATE PAID					+
DONALD E MILLS		UNIT	φοστσ	Ψ100.04	DATE I AND					+
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
134 COALMONT ST	VIRGINIA PARK SUB LOT 18				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 94					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390										
92-17-34-379-010		0.20	\$981.70	\$196.34	DATE PAID					
GEORGE IVEZAJ		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
138 COALMONT ST	VIRGINIA PARK SUB LOT 17				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
22280 CURRIE RD NORTHVILLE. MI 48167					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-379-011		0.20	\$981.70	\$196.34	DATE PAID					
DAVID J LUCCHETTI		UNIT								
	\#B0\\#A BAB\# 0\\B\ = :-				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
144 COALMONT ST	VIRGINIA PARK SUB LOT 16				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-379-012		0.20	\$981.70	\$196.34	DATE PAID					
KIMBERLY D URSING		UNIT								
JULIAN C URSING					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
148 COALMONT ST	VIRGINIA PARK SUB LOT 14				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.

Page 96 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESS	OF PROPERTY	FDONTAGE	DED	OLIABOE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	5.75 5.45	1ST	2ND	3RD	4TH	5TH
92-17-34-379-013		0.20	\$981.70	\$196.34	DATE PAID					
BLAIR STILL KATIE STILL		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
150 COALMONT ST	VIRGINIA PARK SUB LOT 15				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3327	VINGINIAT ANN SOB EST 15				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
31100 S RIVER RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
HARRISON TOWNSHIP, MI 48045					101712	Ψ00.21	Ψ00.21	Ψ00.27	Ψ00.21	Ψ00.2
92-17-34-379-015		0.10	\$981.70	\$98.17	DATE PAID					
EQTY TRST CO CUSTDN FBO		UNIT	φοσισ	400	5711217115					
MARK SELLER					BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
	See Assessors Office for Legal Description				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
780 HAWKSMOORE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
CLARKSTON, MI 48348										
92-17-34-379-016		0.10	\$981.70	\$98.17	DATE PAID					
SUZANNE SALTER		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
855 S PONTIAC TRL # A101	CONDOMINIUM UNIT 1, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
10769 WATERFALL CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
SOUTH LYON MI 48178										
92-17-34-379-017		0.10	\$981.70	\$98.17	DATE PAID					
SHARON LAVERNE RAYMORE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
855 S PONTIAC TRL # A102	CONDOMINIUM UNIT 2, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
00.47.04.070.040		0.40	0004.70	000.47	DATE DAID					
92-17-34-379-018 WENDY COX		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
WENDY COX	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
855 S PONTIAC TRL # A103	CONDOMINIUM UNIT 3, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40390-3301	0.765/61111611				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					TOTAL	ψ10.00	ψ13.00	ψ10.00	ψ13.00	Ψ10.0
92-17-34-379-019		0.10	\$981.70	\$98.17	DATE PAID					
HARVEY NELSON		UNIT	Ψ001.10		2,21,415					
JANE NELSON	CONDOMINIUM PLAN NO 383 SHORELINE	"			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
855 S PONTIAC TRL # A104	CONDOMINIUM UNIT 4, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
241 WOODCREEK CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
COMMERCE TWP MI 48390										
92-17-34-379-020		0.10	\$981.70	\$98.17	DATE PAID					
FUAD PEYSAKHOV		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
855 S PONTIAC TRL # A105	CONDOMINIUM UNIT 5, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5329 SILOH CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WEST BLOOMFIELD MI 48324					ļ		1	1		
92-17-34-379-021		0.10	\$981.70	\$98.17	DATE PAID					
BRAD ARMSTRONG		UNIT						1		
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
855 S PONTIAC TRL # A106	CONDOMINIUM UNIT 6, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 700287					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
PLYMOUTH MI 48170		1		I			T.	1	1	1

Page 97 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDECC	OF PROPERTY	FRONTAGE	PER	CHARGE	ļ	2020 1ST	2021 2ND	2022	2023 4TH	2024 5TH
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3RD	41H	511
92-17-34-379-022		0.10	\$981.70	\$98.17	DATE PAID					
SUSAN HARRIS	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			DALANCE	¢00.47	€70.54	\$58.90	#20.07	\$19.
055 C DONITIAO TDI # 4407	CONDOMINIUM UNIT 7, BLDG 1 L 8715 P 620				BALANCE	\$98.17	\$78.54		\$39.27	
855 S PONTIAC TRL # A107 WALLED LAKE MI 48390-3301	07/05/84 FR 014				PRINCIPAL INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19. \$0.0
WALLED LAKE WII 40390-330 I	07/03/04 11(014				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.
92-17-34-379-023		0.10	\$981.70	\$98.17	DATE PAID					
RICHARD GIBBONS		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A201	CONDOMINIUM UNIT 8, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
8282 LINDA STREET					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WARREN, MI 48093 92-17-34-379-024		0.10	\$981.70	\$98.17	DATE PAID			l l		
AMY F ADCOCK		UNIT	ф901.7U	φ90.17	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A202	CONDOMINIUM UNIT 9, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00 47 24 270 005		0.40	#004 70	#00.47	DATE DAID					
92-17-34-379-025 JEREMY COOK		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
CEREMI GOOR	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A203	CONDOMINIUM UNIT 10. BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-026 DJURDJA MITREVSKI		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
DJONDJA WITNEVSKI	CONDOMINIUM PLAN NO 383 SHORELINE	ONIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A204	CONDOMINIUM UNIT 11, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-330 I	07765761111611				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	ψ19.05	ψ19.03	ψ19.03	ψ19.03	Ψ13.
92-17-34-379-027		0.10	\$981.70	\$98.17	DATE PAID					
JOHN HAGUE	CONDOMINIUM DI ANI NO 200 CHOES: ""	UNIT			DALANCE	#00 47	↑ 70.54	# F0.00	#20 07	0.10
855 S PONTIAC TRL # A205	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 12 BLDG 1 L 8715 P 620				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19. \$10
WALLED LAKE MI 48390-3301	07/05/84 FR 014				PRINCIPAL INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19. \$0.
1820 BIRCHWOOD CIR	07/03/04 11(014				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
WALLED LAKE MI 48390					IOIAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.
92-17-34-379-028		0.10	\$981.70	\$98.17	DATE PAID					
MARILYN WELCH		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A206	CONDOMINIUM UNIT 13, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-029		0.10	\$981.70	\$98.17	DATE PAID					
THE RUSS FAMILY TRUST		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A207	CONDOMINIUM UNIT 14 BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
432 WESTBOURNE CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
CANTON, MI 48188	II			I	1 1					

Page 98 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-379-030		0.10	\$981.70	\$98.17	DATE PAID					
GHAZWAN ISMAIL		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A301	CONDOMINIUM UNIT 15 BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
31506 GRAND RIVER AVE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
FARMINGTON, MI 48336 92-17-34-379-031		0.10	\$981.70	\$98.17	DATE PAID					
CURTIS KIME		UNIT	φοσσ	Ψσσ	5711217115					
SUE KIME	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A302	CONDOMINIUM UNIT 16, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-032		0.10	\$981.70	\$98.17	DATE PAID					
BENJAMIN NICOLAY		UNIT	ψ501.70	Ψ30.17	DATETAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A303	CONDOMINIUM UNIT 17, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-033		0.10	\$981.70	\$98.17	DATE PAID					
GARY POLSINELLI		UNIT	ψ301.70	ψ30.17	DATETAID					
DAWNE POLSINELLI	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A304	CONDOMINIUM UNIT 18. BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
14386 CYPRUS ISLAND CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
PALM BEACH GARDENS, FL 33410						Ţ.0.00	7.0.00	Ţ	7.0.00	7.4
92-17-34-379-034		0.10	\$981.70	\$98.17	DATE PAID					
RAY LAWRENCE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A305	CONDOMINIUM UNIT 19, BLDG 1 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/64 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5391 BRIDGE TRL W COMMERCE TWP MI 48382					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-035		0.10	\$981.70	\$98.17	DATE PAID					
JESSE J PEABODY		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A306	CONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.03	\$19.03	\$19.63	\$19.63	\$19.
92-17-34-379-036		0.10	\$981.70	\$98.17	DATE PAID					
CHELSEA BIJANSKY		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
855 S PONTIAC TRL # A307	CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-037		0.10	\$981.70	\$98.17	DATE PAID					
RUTH E. MILAN LIVING TRUST		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B101	CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
	07/05/84 FR 014			I	INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE MI 48390-3306	01700/04111014				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.

Page 99 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-038		0.10	\$981.70	\$98.17	DATE PAID					
PHILLIP THEAKER		UNIT								
VIRGINIA S THEAKER	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
875 S PONTIAC TRL # B102	CONDOMINIUM UNIT 23, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1941 CARLA HILLS DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WHITE LAKE MI 48383						,	, , , , , ,		,	
92-17-34-379-039		0.10	\$981.70	\$98.17	DATE PAID					
KEVIN COTTRELL		UNIT	,							
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B103	CONDOMINIUM UNIT 24, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
**** **** **** **** ***** ***** ***** ****					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						Ţ	7.0.00	***************************************	7.0.00	7.0.
92-17-34-379-040		0.10	\$981.70	\$98.17	DATE PAID					
JAMES R BABCOCK II		UNIT	***************************************	1						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B104	CONDOMINIUM UNIT 25, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
W/ LEED E/ WE WII 40000 0000					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	Ψ10.
92-17-34-379-041		0.10	\$981.70	\$98.17	DATE PAID					
BRADLEY MILLER		UNIT	ψ301.70	ψ30.17	DATETAID					
DIADLET MILLER	CONDOMINIUM PLAN NO 383 SHORELINE	ONT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B105	CONDOMINIUM UNIT 26, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE IVII 40390-3300	07/00/0411(014				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					TOTAL	ψ19.03	ψ19.00	ψ13.03	Ψ19.03	ψ13.
92-17-34-379-042		0.10	\$981.70	\$98.17	DATE PAID					
PHILLIP NAPPO		UNIT	φ901.70	φ90.17	DATE FAID					
PHILLIP NAPPO	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
975 C DONITIAC TRI # B106	CONDOMINIUM UNIT 27, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
875 S PONTIAC TRL # B106 WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40390-3300	07/03/04 1 10 014				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.
92-17-34-379-043		0.10	\$981.70	\$98.17	DATE PAID					
DANIEL THOMAS ROWE		UNIT	φ901.70	\$90.17	DATE PAID					
DANIEL THOMAS ROWE	CONDOMINIUM DI ANI NO 202 CHORELINE	UNIT			BALANCE	¢00.17	¢70 E4	¢50.00	¢20.27	¢10
875 S PONTIAC TRL # B107	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 28, BLDG 2 L 8715 P 620				PRINCIPAL	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19. \$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
VVALLED LAINE IVII 40390-3300	07/03/04 1 10 0 14				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$0.0 \$19.
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.
02 47 24 270 044		0.40	¢004.70	¢00.47	DATE DAID					-
92-17-34-379-044		0.10	\$981.70	\$98.17	DATE PAID					
JULIE A POPIELARZ	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B108	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 29. BLDG 2 L 8715 P 620				PRINCIPAL	\$98.17 \$19.63				
	07/05/84 FR 014						\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/03/04 FN 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-045	<u> </u>	0.40	¢004.70	\$98.17	DATE PAID					-
		0.10	\$981.70	\$98.17	DATE PAID					-
JAMES BECK	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			DALANCE	600.17	A70.54	# F0.00	#20 07	A10
JOANNE BECK					BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B109	CONDOMINIUM UNIT 30, BLDG 2 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2043 PALMER DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WIXOM MI 48393	II	1		I	1		1	I	1	1

Page 100 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
92-17-34-379-046	OF PROPERTY	0.10	\$981.70	\$98.17	DATE PAID	151	ZIND	JRD	41П	311
SARAH SCHWENN		UNIT	ф901.70	φ90.17	DATE PAID					
SARAH SCHWENN	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
875 S PONTIAC TRL # 201	CONDOMINIUM UNIT 31, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
W/ LEED E/ WE WII 40000 0000	• • • • • • • • • • • • • • • • • • • •				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					101712	Ψ10.00	Ψ10.00	ψ10.00	ψ10.00	Ψίοι
92-17-34-379-047		0.10	\$981.70	\$98.17	DATE PAID					
JOHN J BLAKE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B202	CONDOMINIUM UNIT 32, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-048		0.40	¢004.70	000.47	DATE DAID					
RUSS NICHOLAS		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
NOOS MONOLAS	CONDOMINIUM PLAN NO 383 SHORELINE	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B203	CONDOMINIUM UNIT 33, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE IIII 40030-0000	07700701111011				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						Ψ10.00	V.0.00	V.0.00	V10.00	ψ.σ.
92-17-34-379-049		0.10	\$981.70	\$98.17	DATE PAID					
ROBERT CAIRNS		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B204	CONDOMINIUM UNIT 34, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-050		0.10	\$981.70	\$98.17	DATE PAID					
MARK J GALARDI TRUST		UNIT	ψ501.70	ψ30.17	DATETAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B205	CONDOMINIUM UNIT 35, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-051		0.10	\$981.70	\$98.17	DATE PAID					
KENNETH DURYN	001/201/11/11/14/21/11/10 000 01/02/21/11/2	UNIT			54144105	****	470.54	450.00	***	0.10
OZE O DONITIA O TRI. II DOGO	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 36. BLDG 2 L 8715 P 620				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B206	07/05/84 FR 014				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/03/04 FR 014				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.0 \$19.0
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.
92-17-34-379-052		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL J ROSSO		UNIT		, , , ,						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # 207	CONDOMINIUM UNIT 37, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-053		0.10	\$981.70	\$98.17	DATE PAID					
MELVIN SCHROEDER		UNIT	φ901./U	φ90.17	DATE PAID					
SHARON SCHROEDER	CONDOMINIUM PLAN NO 383 SHORELINE	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B208	CONDOMINIUM UNIT 38. BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
4444 GOLF VIEW DR	135,5				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
JULI VILVE DIX				1	IOIAL	ψ10.00	ψ10.00	ψ10.00	ψ10.00	ψ13.

Page 101 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-379-054		0.10	\$981.70	\$98.17	DATE PAID					
DAVID KOGELMAN		UNIT								
DAWN KOGELMAN	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B209	CONDOMINIUM UNIT 39, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-055		0.10	\$981.70	\$98.17	DATE PAID					
JANICE L BARLOW		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B301	CONDOMINIUM UNIT 40, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00.47.04.070.050		0.40	#004.70	000.47	DATE DAID					
92-17-34-379-056 LORENE ROMINE		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
EORENE ROMME	CONDOMINIUM PLAN NO 383 SHORELINE	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B302	CONDOMINIUM UNIT 41, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
W/12225 27 W.2 WII 40000 0000					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					'	7.0.00	7.5.55	7.5.55	7.5.55	7.01
92-17-34-379-057		0.10	\$981.70	\$98.17	DATE PAID					
MICHEAL P ANDREWS		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B303	CONDOMINIUM UNIT 42, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-058		0.10	\$981.70	\$98.17	DATE PAID					
CARL GLOVER		UNIT	ф901.70	\$90.17	DATEPAID					
ALVINA GLOVER	CONDOMINIUM PLAN NO 383 SHORELINE	ONIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B304	CONDOMINIUM UNIT 43, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
P.O. BOX 824	077007041111014				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE, MI 48390					IOTAL	φ19.03	φ19.03	\$19.03	\$19.03	φ19.
92-17-34-379-059		0.10	\$981.70	\$98.17	DATE PAID					
ROBERT CONRAD		UNIT								
PATRICIA CONRAD	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B305	CONDOMINIUM UNIT 44, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
48934 WOODWAY DR.					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
PLYMOUTH MI 48170										
92-17-34-379-060		0.10	\$981.70	\$98.17	DATE PAID					
JEFFREY R EICK	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B306	CONDOMINIUM UNIT 45. BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$78.5 4 \$19.63	\$19.63	\$39.27 \$19.63	\$19. \$19.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE WII 46390-3306	07/03/04 11(014				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
					IOIAL	ψ10.00	ψ10.00	ψ10.00	ψ10.00	Ψ13.
92-17-34-379-061		0.10	\$981.70	\$98.17	DATE PAID					
MACKENZIE SMITH		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
875 S PONTIAC TRL # B307	CONDOMINIUM UNIT 46, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
	II			I						

Page 102 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-062		0.10	\$981.70	\$98.17	DATE PAID					
HARVEY NELSON		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
875 S PONTIAC TRL # B308	CONDOMINIUM UNIT 47, BLDG 2 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
241 WOODCREEK CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
COMMERCE TOWNSHIP MI 48382										
92-17-34-379-063		0.10	\$981.70	\$98.17	DATE PAID					
KATHERINE R JANAS		UNIT			5	****	470.54	250.00	***	210
075 0 DONTIA 0 TDL # D000	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
875 S PONTIAC TRL # B309	CONDOMINIUM UNIT 48, BLDG 2 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390	07/05/04 FR 014				INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					IOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
00 47 04 070 004		0.40	¢004.70	\$98.17	DATE PAID					
92-17-34-379-064 KENNETH J KARPSLIS		0.10 UNIT	\$981.70	φ90.17	DATE PAID					
RENNETH J RARFSLIS	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
895 S PONTIAC TRL # C101	CONDOMINIUM UNIT 49, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40390-3313	077007041111014				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					101712	Ψ10.00	Ψ10.00	ψ10.00	ψ10.00	ψιοι
92-17-34-379-065		0.10	\$981.70	\$98.17	DATE PAID					
RONALD & MARY ROBERTSON TRUST		UNIT	40010	400	5,1121,113					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
895 S PONTIAC TRL # C102	CONDOMINIUM UNIT 50, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
24863 WHITE PLAINS DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NOVI, MI 48374										
92-17-34-379-066		0.10	\$981.70	\$98.17	DATE PAID					
RENEE RIDING		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
895 S PONTIAC TRL # C103	CONDOMINIUM UNIT 51, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-379-067		0.10	\$981.70	\$98.17	DATE PAID					
WALTER WRONKA		UNIT								
GAYLE WRONKA	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.0
895 S PONTIAC TRL # C104	CONDOMINIUM UNIT 52, BLDG 3 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313 270 WINDING BRK	07/05/04 FK 014				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00	\$0.00	\$0.0
COMMERCE TWP, MI 48390					IOTAL	\$19.03	\$19.03	\$19.63	\$19.63	\$19.6
92-17-34-379-068		0.10	\$981.70	\$98.17	DATE PAID					
JOHN RILEY		UNIT	φ901.70	φ90.17	DATE FAID					
JOINT MEET	CONDOMINIUM PLAN NO 383 SHORELINE	0,411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
895 S PONTIAC TRL # C105	CONDOMINIUM UNIT 53. BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 356					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALHALLA MI 49458						ŢO	Ţ.3.00	7.5.00	Ţ.3.00	\$.5.
92-17-34-379-069		0.10	\$981.70	\$98.17	DATE PAID					
SUZANNE MARGARET ROBINSON		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE	' "'			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C106	CONDOMINIUM UNIT 54, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
17476 FARMCREST LANE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE, MI 48168	II	1		1	1			1		

Page 103 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-379-070		0.10	\$981.70	\$98.17	DATE PAID					
RONALD WANDZEL		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C107	CONDOMINIUM UNIT 55, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00.47.04.070.074		0.40	#004.70	000.47	DATE DAID					
92-17-34-379-071 NICHOLAS PAPADAKOS		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
PETER PAPADAKOS	CONDOMINIUM PLAN NO 383 SHORELINE	01111			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C108	CONDOMINIUM UNIT 56, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE IVII 40000-0010	07766761111611				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	ψ10.00	Ψ10.00	ψ10.00	Ψ10.00	Ψ10.
92-17-34-379-072		0.10	\$981.70	\$98.17	DATE PAID					
GERALD D VANCIL		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C109	CONDOMINIUM UNIT 57, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-073		0.10	\$981.70	\$98.17	DATE PAID					
SHANNON M LONG		UNIT	ψοσ1.70	ψου	BATE I AND					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C201	CONDOMINIUM UNIT 58, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-074 DAVID R NIESYTO		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
DAVID R NIEST TO	CONDOMINIUM PLAN NO 383 SHORELINE	ONIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C202	CONDOMINIUM UNIT 59, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40000-0010					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					TOTAL	ψ19.03	ψ19.03	ψ19.03	ψ19.03	ψ19.
92-17-34-379-075		0.10	\$981.70	\$98.17	DATE PAID					
HEATHER QUEENER		UNIT								
005 0 DONELLO TRI " 0000	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C203	CONDOMINIUM UNIT 60, BLDG 3 L 8715 P 620 07/05/84 FR 014				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/64 FR 014				INTEREST	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.03	\$19.03	\$19.63	\$19.63	\$19.
92-17-34-379-076		0.10	\$981.70	\$98.17	DATE PAID					
MELISSA A LAING		UNIT		'						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C204	CONDOMINIUM UNIT 61, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-077		0.10	\$981.70	\$98.17	DATE PAID					
PATRICK C GAWLOWSKI		UNIT	ψ901.70	ψ30.17	DATERAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C205	CONDOMINIUM UNIT 62, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.

Page 104 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-078		0.10	\$981.70	\$98.17	DATE PAID					
KELLY R OLLIGSCHLAGER		UNIT								
AIDON A OLLIGSCHLAGER	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
895 S PONTIAC TRL # C206	CONDOMINIUM UNIT 63, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-379-079		0.10	\$981.70	\$98.17	DATE PAID					
SCOTT SHUKWIT	CONDOMINIUM DI ANI NO COO CUIODEI INE	UNIT			DALANOE	000.47	070.54	050.00	000.07	040.6
005 0 DONITIAO TRI # 0007	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.0
895 S PONTIAC TRL # C207	CONDOMINIUM UNIT 64, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-080		0.10	\$981.70	\$98.17	DATE PAID					1
MARK FONTAINE		UNIT	ψ901.70	ψ90.17	DATETAID					
DIANE MCLAUGHLIN	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C208	CONDOMINIUM UNIT 65, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
White B Exist Mil 40000 00 10					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						,			, , , , ,	
92-17-34-379-081		0.10	\$981.70	\$98.17	DATE PAID					
LEE S SHERWOOD TTEE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C209	CONDOMINIUM UNIT 66, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-082		0.10	\$981.70	\$98.17	DATE PAID			l l		
OLEG N OUCHAKOV		UNIT	ф901.70	φ90.17	DATE PAID					
OLEO II OCCIDANOV	CONDOMINIUM PLAN NO 383 SHORELINE	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C301	CONDOMINIUM UNIT 67, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
W/12225 E/ WE WII 40000 0010					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					TOTAL	ψ10.00	ψ13.03	ψ13.00	ψ13.03	ψ13.
92-17-34-379-083		0.10	\$981.70	\$98.17	DATE PAID					
PARVIZ PEZESHKIAN		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C302	CONDOMINIUM UNIT 68, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
802 HIDDEN CREEK					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
SOUTH LYON MI 48178 92-17-34-379-084		0.10	\$981.70	\$98.17	DATE PAID					+
JEFFREY RUSSO		UNIT	φ901.70	φ90.17	DATEFAID					
	CONDOMINIUM PLAN NO 383 SHORELINE	"			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # 303	CONDOMINIUM UNIT 69, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
59620 STERLING DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NEW HUDSON MI 48165-9686						ψ.υ.ου	\$.5.00	\$.5.00	ψ.5.00	Ψ10.
92-17-34-379-085		0.10	\$981.70	\$98.17	DATE PAID					
MARY HARTLEY		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C304	CONDOMINIUM UNIT 70, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3095 BROCK ST					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
KEEGO HARBOR MI 48320	II	1		1						

Page 105 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-379-086		0.10	\$981.70	\$98.17	DATE PAID					
JOVON ALBER		UNIT			DAI ANOE	000.47	A70.54	050.00	000.07	040
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C305	CONDOMINIUM UNIT 71, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-087		0.10	\$981.70	\$98.17	DATE PAID					
BRADLEY ARMSTRONG		UNIT	ψ501.70	ψ50.17	BATETAID					
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C306	CONDOMINIUM UNIT 72, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLES EXITE IN 40000 0010					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-379-088		0.10	\$981.70	\$98.17	DATE PAID					
THE ARTHUR REVOCABLE LIVING TRUST	CONDOMINIUM DI ANI NO 202 CHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
005 C DONTIAC TDI # 0207	CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 73, BLDG 3 L 8715 P 620									
895 S PONTIAC TRL # C307	07/05/84 FR 014				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3313	07/05/64 PR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-379-089		0.10	\$981.70	\$98.17	DATE PAID					
AMY LASER		UNIT		1						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
895 S PONTIAC TRL # C308	CONDOMINIUM UNIT 74, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-379-090 ERIC MASCOT		0.10	\$981.70	\$98.17	DATE PAID					
ERIC MASCUI	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
895 S PONTIAC TRL # C309	CONDOMINIUM UNIT 75, BLDG 3 L 8715 P 620				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
	07/05/84 FR 014				INTEREST					\$19.
WALLED LAKE MI 48390-3313	07/03/04 11(014				TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19.
						7.0.00	7.0.00	7.0.00	7.0.00	7.0
92-17-34-379-091		0.20	\$981.70	\$196.34	DATE PAID					
FLORIN MOLDOVAN		UNIT			DAL ANIOE	0400.04	0457.07	0447.00	070.54	000
	VIRGINIA PARK SUB LOTS 25 & 26 11-5-92 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
98 COALMONT ST	001 & 002				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3325					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-34-379-093		0.20	\$981.70	\$196.34	DATE PAID					
MICHEAL WHITING		UNIT		1						
	VIRGINIA PARK SUB WLY 22 FT OF LOT 22,				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
118 COALMONT ST	ALSO ALL OF LOT 23 7-23-15 FR 004				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE, MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
			#004.70	0400.04	DATE DATE	-				
00.47.04.070.004		0.20	\$981.70	\$196.34	DATE PAID					
92-17-34-379-094 JEREMIAH COOPER		IINIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
92-17-34-379-094 JEREMIAH COOPER	VIRGINIA PARK SUB LOT 21 ALSO LOT 22 EVO	UNIT							\$39.27	\$39
JEREMIAH COOPER	VIRGINIA PARK SUB LOT 21, ALSO LOT 22 EXC WI Y 22 FT 7-23-15 FR 004 & 092	UNIT				\$30.27		\$30 77		
JEREMIAH COOPER 122 COALMONT ST	VIRGINIA PARK SUB LOT 21, ALSO LOT 22 EXC WLY 22 FT 7-23-15 FR 004 & 092	UNIT			PRINCIPAL	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	· · · · · · · · · · · · · · · · · · ·	· ·
JEREMIAH COOPER		UNIT			PRINCIPAL INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
JEREMIAH COOPER 122 COALMONT ST		UNIT			PRINCIPAL				· · · · · · · · · · · · · · · · · · ·	\$0.
JEREMIAH COOPER 122 COALMONT ST WALLED LAKE, MI 48390 92-17-34-412-001		1.00	\$981.70	\$981.70	PRINCIPAL INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
JEREMIAH COOPER 122 COALMONT ST WALLED LAKE, MI 48390			\$981.70	\$981.70	PRINCIPAL INTEREST TOTAL DATE PAID	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0. \$39
JEREMIAH COOPER 122 COALMONT ST WALLED LAKE, MI 48390 92-17-34-412-001		1.00	\$981.70	\$981.70	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$0.00 \$39.27 \$981.70	\$0.00 \$39.27 \$785.36	\$0.00 \$39.27 \$589.02	\$0.00 \$39.27 \$392.68	\$0. \$39. \$196
JEREMIAH COOPER 122 COALMONT ST WALLED LAKE, MI 48390 92-17-34-412-001	WLY 22 FT 7-23-15 FR 004 & 092	1.00	\$981.70	\$981.70	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL	\$0.00 \$39.27 \$981.70 \$196.34	\$0.00 \$39.27 \$785.36 \$196.34	\$0.00 \$39.27 \$589.02 \$196.34	\$0.00 \$39.27 \$392.68 \$196.34	\$0. \$39. \$196 \$196
JEREMIAH COOPER 122 COALMONT ST WALLED LAKE, MI 48390 92-17-34-412-001	WLY 22 FT 7-23-15 FR 004 & 092 SUPERVISOR'S PLAT NO. 2 E 61.28 FT OF	1.00	\$981.70	\$981.70	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$0.00 \$39.27 \$981.70	\$0.00 \$39.27 \$785.36	\$0.00 \$39.27 \$589.02	\$0.00 \$39.27 \$392.68	\$196 \$196 \$196 \$196 \$0.

Page 10 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-412-004		1.00	\$981.70	\$981.70	DATE PAID					
ADRAIN HILL		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	SUPERVISOR'S PLAT NO. 2 LOT 53				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
162 S PONTIAC TRL WALLED LAKE MI 48390-3349					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
92-17-34-412-005		1.00	\$981.70	\$981.70	DATE PAID					
TIMOTHY VORCE		UNIT								
MARILYN VORCE					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SUPERVISOR'S PLAT NO. 2 LOT 52				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
148 S PONTIAC TRL					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3349										
92-17-34-412-006		1.00	\$981.70	\$981.70	DATE PAID					
KEVIN LEE		UNIT								
	011DED1/(00D)0 D1 AT NO 01 0T 51				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SUPERVISOR'S PLAT NO. 2 LOT 51				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL WALLED LAKE MI 48390					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
92-17-34-412-007		1.00	\$981.70	\$981.70	DATE PAID					
KEVIN LEE		UNIT								
	SUPERVISOR'S PLAT NO. 2 LOT 50 EXC ELY				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	64.5 FT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	04.011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390										
92-17-34-412-016		3.00	\$981.70	\$2,945.10	DATE PAID					
CORNERSTONE PRODUCTIONS LLC		UNIT								
					BALANCE	\$2,945.10	\$2,356.08	\$1,767.06	\$1,178.04	\$589.
136 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 44				PRINCIPAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589.
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
715 DEER PATH TRL					TOTAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589.
WATERFORD MI 48327										
92-17-34-412-017 THE WATERFRONT OF WALLED LAKE LLC		3.00 UNIT	\$981.70	\$2,945.10	DATE PAID					
		0			BALANCE	\$2.945.10	\$2.356.08	\$1.767.06	\$1,178.04	\$589.
142 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 43				PRINCIPAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589.
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589.
								·		
92-17-34-412-027 LAWRENCE W VOCKLER		0.75 UNIT	\$981.70	\$736.28	DATE PAID					
LAWALITOL W VOCALLA		UNIT			BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
116 E WALLED LAKE DR UNIT 1	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
WALLED LAKE MI 48390-3500	BLDG A, UNIT 1 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LANE IVII 40000-0000					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
92-17-34-412-028		0.75	\$981.70	\$736.28	DATE PAID					
MICHAEL SCHMITT		UNIT	ψθ01.70	ψ130.20	DATETAID					
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.
116 E WALLED LAKE DR UNIT 2	BLDG A, UNIT 2 L 6424 P 862				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
WALLED LAKE MI 48390-3500	DLUG A, UNIT 2 L 0424 P 802				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
		1		1						

Page 107 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESS	OF PROPERTY	FRONTAGE	DED	OLIABOE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE	5.75 5.45	1ST	2ND	3RD	4TH	5TI
92-17-34-412-029		0.75	\$981.70	\$736.28	DATE PAID					
SHEFALI BHAVSAR		UNIT			54144105	*====	4500.00	A	200151	
440 E WALLED LAKE DD LINUT 0	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
116 E WALLED LAKE DR UNIT 3	BLDG A, UNIT 3 L 6424 P 862				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
WALLED LAKE MI 48390-3500					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
92-17-34-412-030		0.75	\$981.70	\$736.28	DATE PAID					
CASJ LLC		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
116 E WALLED LAKE DR UNIT 4	BLDG A, UNIT 4 L 6424 P 862				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
WALLED LAKE MI 48390-3508	BEDG A, 01111 4 E 04241 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 764					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
NOVI MI 48376										
92-17-34-412-031 RUTH A PATAKY		0.75 UNIT	\$981.70	\$736.28	DATE PAID					
ALLISON LEE		UNIT			BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
116 E WALLED LAKE DR UNIT 5	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
WALLED LAKE MI 48390-3508	BLDG A, UNIT 5 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WI 40390-3300					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
					TOTAL	\$147.20	\$147.20	\$147.20	\$147.20	\$147
92-17-34-412-032		0.75	\$981.70	\$736.28	DATE PAID					
MAURIELLE LUE		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
116 E WALLED LAKE DR UNIT 6	BLDG A, UNIT 6 L 6424 P 862				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
WALLED LAKE MI 48390-3508	525071, 51111 6 2 6 12 1 1 6 6 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
92-17-34-412-033		0.75	\$981.70	\$736.28	DATE PAID					
ROBERT W THOMAS		UNIT	φοστσ	Ψ7.00.20	DATE TAB					
					BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
106 E WALLED LAKE DR UNIT 7	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
WALLED LAKE MI 48390-3500	BLDG B, UNIT 7 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
						7	7	7	7	T 1 1 1
92-17-34-412-034		0.75	\$981.70	\$736.28	DATE PAID					
TIMOTHY WHITE		UNIT			BALANCE	₹726 QQ	\$589.02	\$441.77	\$294.51	\$147
106 E WALLED LAKE DR UNIT 8	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$736.28 \$147.26	\$589.02 \$147.26	\$441.77 \$147.26	\$294.51 \$147.26	\$147
WALLED LAKE MI 48390-3516	BLDG B, UNIT 8 L 6424 P 862				INTEREST		\$0.00	\$0.00		\$147
WALLED LAKE WI 40390-3510					TOTAL	\$0.00 \$147.26	\$147.26	\$147.26	\$0.00 \$147.26	\$147
					TOTAL	\$147.20	\$147.20	\$147.20	\$147.20	\$147
92-17-34-412-035		0.75	\$981.70	\$736.28	DATE PAID					
HENRY ADAMS		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
106 E WALLED LAKE DR UNIT 9	BLDG B, UNIT 9 L 6424 P 862				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
WALLED LAKE MI 48390-3500	5250 5, 51111 5 2 5 12 1 1 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
92-17-34-412-036		0.75	\$981.70	\$736.28	DATE PAID					+
NEMER HADDAD		UNIT	ψυσισ	ψ/ 50.20	DATETAID					
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147
106 E WALLED LAKE DR UNIT 10	BLDG B, UNIT 10 L 6424 P 862				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
WALLED LAKE MI 48390-3516	DLUG B, UNIT 10 L 0424 P 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147
				I						

Page 108 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 ² 5TH
92-17-34-412-037	OF PROPERTY	1.00	\$981.70		DATE PAID	151	ZND	JAD	41П	311
GERALD L ANDERSON JR		UNIT	\$901.70	\$981.70	DATE PAID					
GERALD L ANDERSON JR		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
127 S PONTIAC TRL	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3350	See Alberte Cilies for Legal Becomplier				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
777 EEEB EF W.E. 1111 10000 0000					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
							,	,		
92-17-34-412-038		1.50	\$981.70	\$1,472.55	DATE PAID					
FRANK CHRISTOPHER		UNIT								
					BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294
174 S PONTIAC TRL	SUPERVISOR'S PLAT NO. 2 LOTS 54 & 55				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
92-17-34-426-006 DEVIN TYLER NEU		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
TIFFANY NOELLE NEU		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
529 NORTHPORT ST	HILL CROFT SUB LOTS 5 & 6				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3551	THEE GROTT GOD EGTO G & G				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3331					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ39.21	ψ39.21	ψ39.21	ψ39.21	ψυσ.
92-17-34-426-009		0.20	\$981.70	\$196.34	DATE PAID					
ARTHUR SCHNEIDER		UNIT								
	HILL CROFT SUB W 10 FT OF LOT 10, ALSO ALL				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
435 NORTHPORT ST	OF LOTS 11 & 12				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3549	01 2013 11 & 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-426-010		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
CHRISTINE LESPERANCE		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
501 NORTHPORT ST	HILL CROFT SUB LOT 9, ALSO LOT 10 EXC W 10				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3551	FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40390-3331					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	φ39.21	φ39.21	\$39.21	φ39.21	φ39.
92-17-34-426-011		0.20	\$981.70	\$196.34	DATE PAID					
DAVID J SEMIZIAN		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
535 NORTHPORT ST	HILL CROFT SUB LOTS 3 & 4 3/6/92 FR 007				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3551					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-426-012		0.20	¢004.70	¢106.24	DATE PAID	-				
92-17-34-426-012 CASEY AMBROSE		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
CHRISTY BROWN-AMBROSE		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
OTHER TENOTINE AMBROOK	HILL CROFT SUB LOTS 1 & 2 3/6/92 FR 007				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
440 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3560						Ψ00.Z1	Ψ00.Z1	455.2 1	ψ00.Z1	ψ00.
92-17-34-426-013		0.20	\$981.70	\$196.34	DATE PAID					
DONALD J RIMATZKI		UNIT								
	LULL CROFT CURLOTC 7 8 0 0 4 04 FR 004 8				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
				1	PRINCIPAL	\$39.27	\$39.27	\$39.27	#20 O7	\$39.
515 NORTHPORT ST	HILL CROFT SUB LOTS 7 & 8 8-4-94 FR 004 & 005								\$39.27	
	005				INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$39.27 \$0.00 \$39.27	\$0.0 \$39.

Page 109 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESS	OF PROPERTY	FRONTAGE	PER	CHARCE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 ² 5TH
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	380	41H	511
92-17-34-427-003		0.20	\$981.70	\$196.34	DATE PAID					
KEITH A VARGO		UNIT			DALANCE	6400.04	¢457.07	£447.00	₾ 70.54	\$39.2
231 HILLCROFT DR	HILL CROFT SUB LOTS 13 & 14				BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80 \$39.27	\$78.54 \$39.27	\$39.2
WALLED LAKE MI 48390-3521	HILL CROFT 30B LOTS 13 & 14				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$39.
WALLED LAKE WII 40390-3521					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39
92-17-34-427-021		0.20	\$981.70	\$196.34	DATE PAID					
KEITH VARGO		UNIT								
	HILL CROFT SUB LOT 15, ALSO LOT 16 EXC S				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
217 HILLCROFT DR	10 FT, ALSO S 21 FT OF E 47 FT OF LOT 13 & E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3521	47 FT OF LOT 14 OF 'SUPERVISOR'S PLAT NO 2'				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
00.47.04.407.000		0.00	#004.70	0400.04	DATE DAID					
92-17-34-427-023 PAUL A REXIN		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
I AVE A NEAR	SUPERVISOR'S PLAT NO 2 LOT 16, ALSO PART	0,4,,			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
435 E WALLED LAKE DR	OF LOTS 17 & 18 BEG AT PT DIST S 84 FT & W				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3521	24 FT FROM NE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
VALLED LAKE IVII 40030-0021	211111012				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					101712	Ψ00.27	Ψ00.21	ψ00.27	Ψ00.21	Ψ00.
92-17-34-427-026	HILL CROFT SUB S 10 FT OF LOT 18. ALSO ALL	0.20	\$981.70	\$196.34	DATE PAID					
CODY BARAN	OF LOT 19, ALSO LOT 20 EXC S 4 FT, ALSO OF	UNIT								
	'SUPERVISOR'S PLAT NO 2' PART OF LOT 17				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
432 MARKET ST	DESC AS BEG AT NE LOT COR, TH S 84 FT, TH				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3538	W 44 FT. TH N TO NW LOT COR. TH E 44 FT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	BEG 10-30-89 FR 012 & 025				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-427-028		0.20	\$981.70	\$196.34	DATE PAID					
CARLY JO RETHERFORD		UNIT	φ901.70	ψ190.54	DATETAID					
	SUPERVISOR'S PLAT NO 2 E 30 FT OF LOT 15,	"			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
439 MARKET ST	ALSO OF 'HILL CROFT SUB', S 10 FT OF LOT 16,				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3539	ALL OF LOT 17, ALSO LOT 18 EXC S 10 FT 8-5-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	94 FR 007 & 024				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					101712	Ψ00.27	Ψ00.21	ψ00.27	Ψ00.21	Ψ00.
92-17-34-428-003		0.20	\$981.70	\$196.34	DATE PAID					
SHEILA J TEUFEL		UNIT								
	LIII LODOFT OUD LOT OO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
220 HILLCROFT DR	HILL CROFT SUB LOT 26				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3519					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-428-006		0.20	\$981.70	\$196.34	DATE PAID					
WALTER DORFSTATTER		UNIT	+···· v							
LYNN DORFSTATTER					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
200 HILLCROFT DR	HILL CROFT SUB LOT 23				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3519					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
15460 BAY HILL DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NORTHVILLE, MI 48168						·	·			
92-17-34-428-007		0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL K STREHL		UNIT			DALANCE	6100.04	¢457.07	£447.00	₾70.54	#00
420 LILL CDOFT DD	HILL CROFT SUB LOTS 21 & 22				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
130 HILLCROFT DR	HILL CRUFT SUB LUTS 21 & 22				PRINCIPAL INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27 \$0.00	\$39.
MALLED LAKE ML 40000 0540					INTEREST	50100	50.00	50.00	80.00	\$0.0
WALLED LAKE MI 48390-3518					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.

Page 110 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
92-17-34-428-010	OF PROPERTY	1.00	\$981.70	\$981.70	DATE PAID	151	ZIND	JAD	41П	эіп
MICHAEL K STREHL		UNIT	ф901.70	\$901.70	DATE PAID					
WICHAEL K STREEL		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
523 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WALLED LAKE MI 48390	2007 toodood Cilioo toi 20gai 2000 piloti				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
						Ţ.00.0.	7.00.0	V .000.0	Ţ.00.0.	7.00
92-17-34-428-011		0.20	\$981.70	\$196.34	DATE PAID					
JAMES K ARNOLD		UNIT		' ' ' '						
MICHELLE M ARNOLD					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	HILL CROFT SUB LOT 31				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
541 E WALLED LAKE DRIVE					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE, MI 48390										
92-17-34-428-025		0.20	\$981.70	\$196.34	DATE PAID					
EAST BAY VILLAGE CONDO ASSOC.		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	CLUTZ LAKEVIEW WOODLANDS LOT 18				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
40000 GRAND RIVER AVE STE 100					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48375										
92-17-34-428-029		0.20	\$981.70	\$196.34	DATE PAID					
DOROTHY MARIE VAILLIENCOURT		UNIT								
LIFE ESTATE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
121 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 20				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
			****	2100.01	DATE DAID					_
92-17-34-428-030		0.20	\$981.70	\$196.34	DATE PAID					
JONATHAN SEMIZIAN		UNIT			DALANOE	0400.04	0457.07	0447.00	670.54	000
405 L 50N DD	CLUTZ LAKEVIEW WOODLANDS LOT 21				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
125 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 21				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-428-031		0.20	\$981.70	\$196.34	DATE PAID			<u> </u>		
		UNIT	φ901.70	\$190.34	DATE PAID					
DEBORAH COX		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
129 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 22				PRINCIPAL	\$196.34	\$157.07	\$39.27	\$78.54	\$39.2
WALLED LAKE MI 48390-3523	OLO 12 LARL VIL VI VIOODLANDO LOT 22				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAINE WII TOODU-0020					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					10171	Ψ00.27	ΨΟΟ.Σ1	Ψ00.21	Ψ00.21	Ψ00.2
92-17-34-428-032		0.20	\$981.70	\$196.34	DATE PAID					
HALINA NAPIERALA		UNIT	Ψ001.10	4.55.54	2,21,110					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.:
133 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 23				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-34-428-033		0.20	\$981.70	\$196.34	DATE PAID					
HALINA NAPIERALA		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
133 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 24				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
		1								

Page 111 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-428-036		0.20	\$981.70	\$196.34	DATE PAID					
BENJAMIN D KNAPP		UNIT								
RENEE M KNAPP					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
212 HILLCROFT DR	HILL CROFT SUB LOTS 24 & 25				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3519					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-34-428-039		1.00	\$981.70	\$981.70	DATE PAID					
DIANA MAHACEK		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
515 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3563					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-428-040		0.20	\$981.70	\$196.34	DATE PAID					
ERIC RABY		UNIT	4001.70	V.00.0 .	3,1121,113					
	HILL CROFT SUB LOTS 27 TO 30 INCL 1-11-02				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
230 HILLCROFT DR	FR 001 & 002				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3520	11001 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-34-429-004		1.00	\$981.70	\$981.70	DATE PAID					
CASEY J AMBROSE		UNIT	400	*********						
CHRISTY M BROWN					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
440 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3560					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
92-17-34-429-007		1.00	\$981.70	\$981.70	DATE PAID					
WILLIAM MARCUS		UNIT	ψ301.70	ψ301.70	DATETAID					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
536 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 23 EXC W 9 FT				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3562					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
						7.0000	******	7.22.2.	*******	7.00
92-17-34-429-008 JAMES K ARNOLD		3.00 UNIT	\$981.70	\$2,945.10	DATE PAID					
MICHELLE M ARNOLD		ONIT			BALANCE	\$2.945.10	\$2.356.08	\$1.767.06	\$1,178.04	\$589
MICHELLE IN ANNOLD	SUPERVISOR'S PLAT NO. 1 LOT 22				PRINCIPAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589
	COT ENVIOUNCE TEXT NO. 1 EOT 22				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
541 E WALLED LAKE DRIVE					TOTAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589
WALLED LAKE MI 48390-3563						Ψ000.0 <u>2</u>	Ψ000.02	ψ000.0 <u>2</u>	\$555.5 <u>2</u>	4000
92-17-34-429-009		1.00	\$981.70	\$981.70	DATE PAID					
CHAD LLOYD		UNIT			DALANCE	#004.70	#705 00	#E00.00	#202.22	0400
	CLIDEDVICODIC DI AT NO. 4 LOT 04				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	SUPERVISOR'S PLAT NO. 1 LOT 21				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
1401 ALTER ROAD					INTEREST TOTAL	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.0 \$196.
MILFORD, MI 48381					IOTAL	ψ130.34	ψ130.34	ψ130.34	ψ130.34	φ190
92-17-34-429-010		1.00	\$981.70	\$981.70	DATE PAID					
KEITH VARGO		UNIT			BALANCE	¢094.70	↑ 705.26	\$590.00	#202 G9	6100
569 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 20				PRINCIPAL	\$981.70 \$196.34	\$785.36 \$196.34	\$589.02 \$196.34	\$392.68 \$196.34	\$196 \$196
WALLED LAKE DR WALLED LAKE MI 48390-3563	SUFERVISORS PLAT NO. 1 LOT 20				INTEREST		\$196.34			
WALLED LAKE MI 48390-3563 217 HILLCROFT					TOTAL	\$0.00		\$0.00	\$0.00	\$0.0
					IOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390				I.			1	I .	I .	

Page 112 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-429-011		1.00	\$981.70	\$981.70	DATE PAID					
MICHEAL PETRYCZKOWYCZ		UNIT								
500 5 1444 5 5 1 445 5 5	OLIDED VIOLEDIO DI ATALO ALLOTAO				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
566 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 19				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3562 45317 PATRICK DR					INTEREST TOTAL	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.00 \$196.34	\$0.0 \$196.
CANTON, MI 48187					TOTAL	\$190.34	\$190.34	\$190.34	\$190.34	\$190.
92-17-34-429-012		1.00	\$981.70	\$981.70	DATE PAID					
DAVID TUCKER		UNIT	ψ501.70	ψ301.70	BAILIAB					
BARBARA TUCKER		0			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SUPERVISOR'S PLAT NO. 1 LOT 18				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2025 W ALLEN RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
HOWELL MI 48843										
92-17-34-429-013		1.00	\$981.70	\$981.70	DATE PAID					
JIMMY STOITSIADES		UNIT								
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
584 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 17				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3562					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
00.47.04.400.044		0.00	0004.70	00.00	DATE DAID					
92-17-34-429-014		0.00	\$981.70	\$0.00	DATE PAID					
JIMMY STOITSIADES		UNIT			BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
584 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 17				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE MI 48390-3562	SOI ENVISORS LEAT NO. 1 EOT 17				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
43000 TWELVE OAKS CRES UNIT 6066					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI, MI 48377					TOTAL	ψ0.00	ψ0.00	ψ0.00	ψ0.00	Ψ0.0
92-17-34-429-015		1.00	\$981.70	\$981.70	DATE PAID					
ROLLIN TUTTLE		UNIT	• • • • • • • • • • • • • • • • • • • •	, , , ,						
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	SUPERVISOR'S PLAT NO. 1 LOT 15				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
11589 HILLCREST DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
KALKASKA MI 49646										
92-17-34-429-018		1.50	\$981.70	\$1,472.55	DATE PAID					
JOANNE FRANCIS	SUPERVISOR'S PLAT NO 2 PART OF LOT 31	UNIT								
400 E WALLED LAKE DO	BEG AT NW LOT COR, TH SLY 42 FT, TH ELY 3				BALANCE	\$1,472.55	\$1,178.04	\$883.53	\$589.02	\$294
426 E WALLED LAKE DR	FT, TH NLY 40 FT, TH N 71-37-50 W 6.23 FT TO				PRINCIPAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
WALLED LAKE MI 48390-3560	BEG, ALSO ALL OF LOT 32 7-7-92 CORR				INTEREST TOTAL	\$0.00 \$294.51	\$0.00 \$294.51	\$0.00 \$294.51	\$0.00 \$294.51	\$0.0 \$294
					TOTAL	\$294.51	\$294.51	\$294.51	\$294.51	\$294
92-17-34-429-021		1.00	\$981.70	\$981.70	DATE PAID					
COURTENAY KONET		UNIT	ψ301.70	φ301.70	DATETAID					
RICHARD GUNTHER					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
486 E WALLED LAKE DR	SUPERVISOR'S PLAT NO 1 LOT 24 4-12-07 FR				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3560	019 & 020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-34-430-001		1.00	\$981.70	\$981.70	DATE PAID					
EAST BAY VILLAGE CONDO ASSOC.		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 19				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	ASSESSED WITH 17-34-428-025				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
40000 ODAND DIVED AVE OF 400					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
40000 GRAND RIVER AVE STE 100					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
NOVI MI 48375		1		I		I	1	I	1	1

Page 113 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-430-002		1.00	\$981.70	\$981.70	DATE PAID					
JULIO ON THE LAKE LLC		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 16				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	ASSESSED WITH 17-34-428-037				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	AGGEGGED WITH 17-54-420-007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7834 MAPLE MILL CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WEST BLOOMFIELD MI 48323										
92-17-34-430-003		1.00	\$981.70	\$981.70	DATE PAID					
JULIO ON THE LAKE LLC		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 15				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	ASSESSED WITH 17-34-428-037				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	ASSESSED WITH 17-54-420-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7834 MAPLE MILL CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WEST BLOOMFIELD MI 48323										
92-17-34-430-004		1.00	\$981.70	\$981.70	DATE PAID					
JULIO ON THE LAKE LLC		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 12				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	ASSESSED WITH 17-34-428-037				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	ASSESSED WITH 17-34-420-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7834 MAPLE MILL CT					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WEST BLOOMFIELD MI 48323										
92-17-34-430-006		0.75	\$981.70	\$736.28	DATE PAID					
WALLED LAKE HOMESTEAD, LLC		UNIT								
,					BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.
	CLUTZ LAKEVIEW WOODLANDS LOTS 8 & 9				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
	ASSESSED WITH 17-34-431-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
WALLED LAKE MI 48390						,				
92-17-34-430-007		0.75	\$981.70	\$736.28	DATE PAID					
WALLED LAKE HOMESTEAD LLC		UNIT	,	,						
	0111771 11/51/1511/11/00 00 11/10 10 10 15				BALANCE	\$736.28	\$589.02	\$441.77	\$294.51	\$147.2
	CLUTZ LAKEVIEW WOODLANDS LOT 5				PRINCIPAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.2
	ASSESSED WITH 17-34-431-004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRAIL					TOTAL	\$147.26	\$147.26	\$147.26	\$147.26	\$147.
WALLED LAKE MI 48390-3349						*******	Ţ <u></u>	¥	***************************************	*****
92-17-34-430-008		1.00	\$981.70	\$981.70	DATE PAID					
FRED YALDO		UNIT	ψουσ	4000	5,11217115					
		0			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	CLUTZ LAKEVIEW WOODLANDS LOT 4				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	ASSESSED WITH 17-34-431-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
739 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WALLED LAKE MI 48390						4.00.0	7.00.0	V.00.0	Ţ.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
92-17-34-430-009		1.00	\$981.70	\$981.70	DATE PAID					
GERALD PLAS		UNIT	Ψοσσ	*************************************	3,2.,,,,,,					
					BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
743 E WALLED LAKE DR	CLUTZ LAKEVIEW WOODLANDS LOT 1				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WALLED LAKE MI 48390-3568	ASSESSED WITH 17-34-431-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
901 BENSTEIN RD					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-2923						\$.55.0 4	ψ	ψσσ.σ	Ç.50.01	\$100.
92-17-34-430-010		1.00	\$981.70	\$981.70	DATE PAID					
DERRICK REA		UNIT	φοσ1.70	ψοσ1.70	DATE I AID					
DETITION NEA		0,411			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
745 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 1 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
WALLED LAKE MI 48390-3568	17-35-302-022				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
TOOSU-SOU					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	II	1		1	IOIAL	ψ130.04	ψ 130.04	ψ 130.04	ψ 130.04	ψ190.3

Page 114 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-430-011		1.00	\$981.70	\$981.70	DATE PAID					
MICHELE TITUS		UNIT								
	WELFARE LAKE VIEW LOT 2 ACCESS FOR 17-				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	35-302-049 8-6-07 CORR				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	00 002 040 0 07 00141				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2024 TOURAINE LN					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
HALF MOON BAY CA 94019										
92-17-34-430-012		1.00	\$981.70	\$981.70	DATE PAID					
MICHELE TITUS		UNIT								
	WELFARE LAKE VIEW LOT 3 ACCESS FOR 17-				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	35-302-049 8-6-07 CORR				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2024 TOURAINE LN					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
HALF MOON BAY CA 94019										
92-17-34-430-013		1.00	\$981.70	\$981.70	DATE PAID					
BEN THORSEN		UNIT								
	WELFARE LAKE VIEW LOT 4 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	17-35-302-025				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
759 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3568		4.00	4004.70	2004 70	DATE DATE					
92-17-34-430-014		1.00	\$981.70	\$981.70	DATE PAID					
JAMES BOYLAN		UNIT								
MARILYN BOYLAN	WELFARE LAKE VIEW LOT 5 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.
	17-35-302-026				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
761 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390-3568										
92-17-34-431-002		0.20	\$981.70	\$196.34	DATE PAID					
WALLED LAKE HOMESTEAD, LLC		UNIT			5	212221	A 4 5 7 . 0 7	0447.00	ATO 54	***
	CLUTZ LAKEVIEW MOODLANDS LOT 00				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	CLUTZ LAKEVIEW WOODLANDS LOT 82				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
400 O DOLITIA O TDI					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390		0.00	¢004.70	£400.04	DATE DAID					
92-17-34-431-003		0.20	\$981.70	\$196.34	DATE PAID					
WALLED LAKE HOMESTEAD, LLC		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	#20.1
128 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 81				PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80 \$39.27	\$78.54 \$39.27	\$39.2 \$39.2
WALLED LAKE, MI 48390	CLUTZ LAKEVIEW WOODLANDS LOT 81				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					IOIAL	ψ39.21	ψ39.21	ψ39.21	ψ39.21	ψ03.2
92-17-34-432-001		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL WALKER		UNIT	ψου 1.70	ψου.11	DATERMID					
MIVINEE MALILIN	CONDOMINIUM PLAN NO 1452 EAST BAY	0,411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
100 E BAY DR	VILLAGE UNIT 1. BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
TITLED LANE WII TOOOD-OOZO					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					101712	ψ10.00	ψ10.00	ψ10.00	ψ10.00	ψ10.0
92-17-34-432-002	л. 	0.10	\$981.70	\$98.17	DATE PAID					1
DAVID WHANG		UNIT	Ψοσσ		=/					
	CONDOMINIUM PLAN NO 1452 EAST BAY	5			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
102 E BAY DR	VILLAGE UNIT 2, BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1805 GOLF RIDGE DR	,				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
	II			1	IOI/L	ψ10.00	ψ10.00	ψ10.00	ψ10.00	ψ10.0

Page 115 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESS	OF PROPERTY	FRONTAGE	PER	CHARCE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3RD	41H	51
92-17-34-432-003		0.10	\$981.70	\$98.17	DATE PAID					
ROBERT D OAK TRUST	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	¢00.47	₾ 70.54	\$58.90	#20.07	\$19.
OF THE ROBERT D OAK	VILLAGE UNIT 3, BLDG 1 L 26159 P 001 7-30-02				BALANCE PRINCIPAL	\$98.17	\$78.54		\$39.27	
104 E BAY DR	FR 428-022.023&024					\$19.63	\$19.63	\$19.63	\$19.63	\$19. \$0.
WALLED LAKE MI 48390-3526	FR 420-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	-
3389 E COMMERCE RD COMMERCE TOWNSHIP MI 48382					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-004		0.10	\$981.70	\$98.17	DATE PAID					
LEIGH ANN MARTIN		UNIT	ψ301.70	ψ30.17	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
106 E BAY DR	VILLAGE UNIT 4, BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-005		0.10	\$981.70	\$98.17	DATE PAID					
BRADLEY C MOSS	CONDOMINIUM DI ANIMO 4450 5 ACT 5 AV	UNIT			DALANCE	000.17	070 71	050.00	000.07	**-
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
100 5 0 1 1 0 0	VILLAGE UNIT 5, BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
108 E BAY DR	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE MI 48390-3526					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-006		0.10	\$981.70	\$98.17	DATE PAID					
MARK LAMPINEN		UNIT	ψ301.70	ψ30.17	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	"			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
110 E BAY DR	VILLAGE UNIT 6. BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-007		0.10	\$981.70	\$98.17	DATE PAID					
CHRISTOPHER OLSON		UNIT								
SANDRA OLSON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
111 SANDY LN	VILLAGE UNIT 7, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-008		0.10	\$981.70	\$98.17	DATE PAID					
PAMELA HORRALL		UNIT	φ901.70	φ96.17	DATE FAID					
.,	CONDOMINIUM PLAN NO 1452 EAST BAY	""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
107 SANDY LN	VILLAGE UNIT 8, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-009		0.10	\$981.70	\$98.17	DATE PAID					
KRISTIN HELLMAN	CONDOMINIUM PLANTAGO 4450 FACT BAY	UNIT			DALANCE	¢00.47	¢70.54	#E0.00	#20 07	m40
100 CANDY I N	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19 \$10
109 SANDY LN	VILLAGE UNIT 9, BLDG 2 L 26159 P 001 7-30-02 FR 428-020				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 420-020				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19.
					IOIAL	ψ18.03	ψ13.03	ψ13.03	ψ13.03	φ19.
92-17-34-432-010	,	0.10	\$981.70	\$98.17	DATE PAID					
NANETTE T LONG		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
103 SANDY LN	VILLAGE UNIT 10, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
				1						

Page 116 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-011		0.10	\$981.70	\$98.17	DATE PAID					
AFSOON BERENJIAN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
105 SANDY LN	VILLAGE UNIT 11, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
		0.40	2001 70	400.47	DATE DATE					
92-17-34-432-012 ABDUL AL ZUBAIDI		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
ABDUL AL ZUBAIDI	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
101 SANDY LN	VILLAGE UNIT 12, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7 LAKE HOLLINGSWORTH DR	111120 020				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
LAKELAND, FL 33803					TOTAL	ψ13.03	ψ10.00	ψ13.00	ψ13.03	Ψ13.
92-17-34-432-013		0.10	\$981.70	\$98.17	DATE PAID					
CHERYL LEVINE		UNIT		1						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
121 E BAY DR	VILLAGE UNIT 13, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5453 SE JENNINGS LANE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
STUART, FL 34997										
92-17-34-432-014		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL A SCHLUSSEL		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
123 E BAY DR	VILLAGE UNIT 14, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-015		0.10	\$981.70	\$98.17	DATE PAID					_
62-17-34-432-015 KIM SEETS		UNIT	φ901.70	φ90.17	DATE FAID					
KIWI SEE 13	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
125 E BAY DR	VILLAGE UNIT 15. BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
W LEED EN INC 1911 40000 0020					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
						ψ10.00	V.0.00	\$10.00	V.0.00	ψ.σ.
92-17-34-432-016		0.10	\$981.70	\$98.17	DATE PAID					
KRISTIN ROUBIE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
127 E BAY DR	VILLAGE UNIT 16, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00.47.04.400.047		0.40	0004.70	000.47	DATE DATE					
92-17-34-432-017		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
MAHESH CHIGURUPATI	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
129 E BAY DR	VILLAGE UNIT 17, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$98.17	\$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAINE WII 40030-3020					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						ψ.J.00	\$.5.00	Ų.3.00	ψ.σ.σσ	ψ10.
92-17-34-432-018		0.10	\$981.70	\$98.17	DATE PAID					
TIMOTHY ROGERS		UNIT	•							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
131 E BAY DR	VILLAGE UNIT 18, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
	II	1		1						1

Page 117 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-019		0.10	\$981.70	\$98.17	DATE PAID					
KATHY KATKE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
133 E BAY DR	VILLAGE UNIT 19, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1870 RIDGELINE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WOLVERINE MI 49799						,				,
92-17-34-432-020		0.10	\$981.70	\$98.17	DATE PAID					
TADEUSZ LUKAWSKI		UNIT	********							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
135 E BAY DR	VILLAGE UNIT 20, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
VV/ LEED E/ LIVE IVII 40000 0020	111111111111111111111111111111111111111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					101712	ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	ψ10.0
92-17-34-432-021		0.10	\$981.70	\$98.17	DATE PAID					
ALEKSANDAR JOVANOSKI		UNIT	ψ301.70	ψ30.17	DATETAID					
ALLINGANDAR GOVAROGRI	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
137 E BAY DR	VILLAGE UNIT 21, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAIL IVII 40090	111 420 022 d 020				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					IOIAL	ψ19.03	ψ19.03	ψ19.03	ψ19.00	ψ19.0
92-17-34-432-022		0.10	\$981.70	\$98.17	DATE PAID					
NORMAN M PARKER JR		UNIT	φ901.70	φ90.17	DATE FAID					
ELLEN S PARKER	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
	VILLAGE UNIT 22. BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL					
139 E BAY DR	FR 428-022 & 023					\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3526	FN 420-022 & 023				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.0
					IOIAL	\$19.63	\$19.63	\$19.03	\$19.03	\$19.6
92-17-34-432-023		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-432-023 WENDI BROWN		UNIT	\$981.70	\$98.17	DATE PAID					
	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNII			DALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
CHARLES BROWN	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 23, BLDG 4 L 26159 P 001 7-30-02				BALANCE					
120 SANDY LN	FR 428-020				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3528	FN 420-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
		0.40	****	200.47	5475 5415					
92-17-34-432-024		0.10	\$981.70	\$98.17	DATE PAID					
ANSELM Y YAM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
122 SANDY LN	VILLAGE UNIT 24, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
21781 N CENTER ST					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48167										
92-17-34-432-025		0.10	\$981.70	\$98.17	DATE PAID					
DONALD R PARSHAL LIFE ESTATE	001501111111111111111111111111111111111	UNIT				400 :-	A=c = :	A==	405.77	
404 041/01/14	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
124 SANDY LN	VILLAGE UNIT 25, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
00.47.04.400.000		0.40	0004.70	000.47	DATE DAIS					
92-17-34-432-026		0.10	\$981.70	\$98.17	DATE PAID					
SAMAR AZIZ	000100011011111111111111111111111111111	UNIT				**************************************	A=c = :	A=c	405	
100 041/07/11	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
126 SANDY LN	VILLAGE UNIT 26, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
		1								

Page 118 of 172 11/16/2020 G-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-027		0.10	\$981.70	\$98.17	DATE PAID					
PETAR JOVANOSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
128 SANDY LN	VILLAGE UNIT 27, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-028		0.10	\$981.70	\$98.17	DATE PAID					
SHAWN LEBRESH		UNIT	φ901.70	φ90.17	DATE FAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
130 SANDY LN	VILLAGE UNIT 28, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-029		0.10	\$981.70	\$98.17	DATE PAID					
JARAD HOSSEINI	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
132 SANDY LN	VILLAGE UNIT 29, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19.
	FR 420-020				1					
41931 WOLFE PASS NOVI MI 48377-2867					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-030		0.10	\$981.70	\$98.17	DATE PAID					
LISA M MENDEZ		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
134 SANDY LN	VILLAGE UNIT 30, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1070 LALOND AVE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WATERFORD MI 48327										
92-17-34-432-031		0.10	\$981.70	\$98.17	DATE PAID					
JASMEEN KAUR BHASIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
136 SANDY LN	VILLAGE UNIT 31, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-032		0.10	\$981.70	\$98.17	DATE PAID					
MARYBETH NOVITSKY		UNIT	***************************************	******						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
138 SANDY LN	VILLAGE UNIT 32, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-033		0.10	\$981.70	\$98.17	DATE PAID					
CAROLYN A SCHWEDT		UNIT	ψ501.70	ψ55.17	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
141 E BAY DR	VILLAGE UNIT 33, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-034		0.10	\$981.70	\$98.17	DATE PAID			<u> </u>		
92-17-34-432-034 KELLY A ADAMS		0.10 UNIT	\$981.7U	\$98.17	DATE PAID					
A ABONO	CONDOMINIUM PLAN NO 1452 EAST BAY	""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
143 E BAY DR	VILLAGE UNIT 34, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3000 0020					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1		1		Ψ.υ.υυ	ψ.σ.σσ	V.0.00	ψ.υ.υυ	ψ 10.

Page 119 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-432-035		0.10	\$981.70	\$98.17	DATE PAID					
MAURO CORNO		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
145 E BAY DR	VILLAGE UNIT 35, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1377 PINECREST CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WIXOM MI 48393										
92-17-34-432-036		0.10	\$981.70	\$98.17	DATE PAID					
MARY DAAR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
147 E BAY DR	VILLAGE UNIT 36, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-037		0.10	\$981.70	\$98.17	DATE PAID					
DARRYL STOLARCZYK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
149 E BAY DR	VILLAGE UNIT 37, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2824 PINE BLFS					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
HIGHLAND MI 48357										
92-17-34-432-038		0.10	\$981.70	\$98.17	DATE PAID					
KRISTEN ROBB		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
151 E BAY DR	VILLAGE UNIT 38, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-039		0.10	\$981.70	\$98.17	DATE PAID					
JUERGEN PENKER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
153 E BAY DR	VILLAGE UNIT 39, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
49037 WIXOM TECH DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WIXOM MI 48393										
92-17-34-432-040		0.10	\$981.70	\$98.17	DATE PAID					
JEFFREY TAYLOR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
155 E BAY DR	VILLAGE UNIT 40, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
			4004 70	400.47	DATE DAID					
92-17-34-432-041 CEORGE K BU EX		0.10	\$981.70	\$98.17	DATE PAID					
GEORGE K RILEY	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
157 F BAY DD	VILLAGE UNIT 41. BLDG 5 L 26159 P 001 7-30-02					T				
157 E BAY DR	VILLAGE UNIT 41, BLDG 5 L 26159 P 001 7-30-02 FR 428-020				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 420-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1728 PARAMOUNT ST NOVI. MI 48377					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-042	1	0.10	\$981.70	\$98.17	DATE PAID			1		+
		0.10	φ 9 01./U	\$96.17	DATE PAID					-
RANDAL R ST LAURENT	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	¢00.47	↑ 70 Г 4	#E0.00	#20 07	040
150 F BAY DD	VILLAGE UNIT 42, BLDG 5 L 26159 P 001 7-30-02				BALANCE	\$98.17 \$19.63	\$78.54	\$58.90	\$39.27	\$19. \$10
159 E BAY DR WALLED LAKE MI 48390-3526	FR 428-020				PRINCIPAL		\$19.63	\$19.63	\$19.63	\$19.
	FR 420-020	1			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0 \$19.
WALLED LAKE WII 40390-3520					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	

Page 120 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000	2001	INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
92-17-34-432-043	OF PROPERTY	0.10	\$981.70	\$98.17	DATE PAID	131	ZND	JKD	41П	311
SATHY M KRAMAR		UNIT	ф901.70	φ90.17	DATE PAID					
KATHT W KRAWAK	CONDOMINIUM PLAN NO 1452 EAST BAY	ONII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
161 E BAY DR	VILLAGE UNIT 43, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
W LEED EN INC 1011 40000 0020					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	Ψ10.00	Ψ10.00	Ψ10.00	ψ10.00	ψ10.
92-17-34-432-044		0.10	\$981.70	\$98.17	DATE PAID					
BRYAN R MASI		UNIT	,	,						
LAURIE J MASI	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
163 E BAY DR	VILLAGE UNIT 44, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-045		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL CRAIG	CONDOMINIUM BLANLING 4450 F107 B111	UNIT			 	400.47	470.54	450.00	****	
440 04NDV I N	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 45. BLDG 6 L 26159 P 001 7-30-02				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
140 SANDY LN					PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-046		0.10	\$981.70	\$98.17	DATE PAID					
GARY BENEDICT		UNIT	φοσ1.70	Ψοσ. 17	DATE TABLE					
CART BENEDIO!	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
142 SANDY LN	VILLAGE UNIT 46. BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-047		0.10	\$981.70	\$98.17	DATE PAID					
CARMEN L HERNANDEZ		UNIT								
ISOBEL HERNANDEZ	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
144 SANDY LN	VILLAGE UNIT 47, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-048		0.10	\$981.70	\$98.17	DATE PAID		1			
TR OF JEFFREY R PERNICK DATE 3/13		UNIT	ф901.70	φ90.17	DATE PAID					
IN OF JEFFRET R PERNICK DATE 3/13	CONDOMINIUM PLAN NO 1452 EAST BAY	ONII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
146 SANDY LN	VILLAGE UNIT 48. BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
411 WALNUT #9284	111420 020				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
GREEN COVE SPRINGS, FL 32043					TOTAL	ψ10.00	ψ13.00	ψ13.00	ψ10.00	Ψ10.
92-17-34-432-049		0.10	\$981.70	\$98.17	DATE PAID					
RYAN MONROE		UNIT	+····•	+-3						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
148 SANDY LN	VILLAGE UNIT 49, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2237 MANOR CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
CLEARWATER FL 33763										
92-17-34-432-050		0.10	\$981.70	\$98.17	DATE PAID	·				
LEAISA MCCARTY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
150 SANDY LN	VILLAGE UNIT 50, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
	II	1		1	1					

Page 121 of 172 11/16/2020 G-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			2001	INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARCE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3RD	41H	51
92-17-34-432-051		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
	VILLAGE UNIT 51, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						ψ10.00	ψ.10.00	V.0.00	V.0.00	ψ.σ.
92-17-34-432-052		0.10	\$981.70	\$98.17	DATE PAID					
ANDREW TATE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
154 SANDY LN	VILLAGE UNIT 52, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-053		0.10	\$981.70	\$98.17	DATE PAID					
JON ROTHENBERG		UNIT	ф901.70	φ90.17	DATE PAID					
T TO ITEMBERS	CONDOMINIUM PLAN NO 1452 EAST BAY	""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
156 SANDY LN	VILLAGE UNIT 53, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-054		0.10	\$981.70	\$98.17	DATE PAID					
MARC ALEXANDER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
158 SANDY LN	VILLAGE UNIT 54, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1405 VANSTONE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-055		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-432-055 IGOR GARCIA		UNIT	\$981.70	\$98.17	DATE PAID					
ELIZABETH MALONEY-HAHN	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
160 SANDY LN	VILLAGE UNIT 55, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
13 SALEM HOLLOW LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
SALEM, CT 06420					101742	Ψ10.00	Ψ10.00	ψ10.00	ψ10.00	Ψισ
92-17-34-432-056		0.10	\$981.70	\$98.17	DATE PAID					
ELLEN DEMRAY TRUSTEE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
162 SANDY LN	VILLAGE UNIT 56, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-057		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL WUNKEL		UNIT	ψ501.70	ψ50.17	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	"			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
160 CLUB HOUSE CIR	VILLAGE UNIT 57, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
				1						
92-17-34-432-058		0.10	\$981.70	\$98.17	DATE PAID					
MARK KAJY	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	¢00.47	¢70.54	#E0.00	#20 07	040
162 CLUB HOUSE CIR	VILLAGE UNIT 58. BLDG 7 L 26159 P 001 7-30-02				BALANCE PRINCIPAL	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19 \$19
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19
1352 AVENIDA OFELITA	117.420-020				TOTAL	\$0.00	\$0.00	\$19.63	\$0.00	\$0. \$19.
1002 AVENIDA OF LEFTA		1			IOIAL	ψ13.03	ψ13.03	ψ13.03	ψ13.03	φ19.

Page 122 of 172 11/16/2020 G-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	ļ			INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-059 ANDRE OLIVEIRA FERNANDES		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	\$98.17	\$78.54	\$58.90	¢20.07	\$19.6
CARLA DE-SA					BALANCE				\$39.27	
164 CLUB HOUSE CIR	VILLAGE UNIT 59, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-060		0.10	\$981.70	\$98.17	DATE PAID					
JULIE L RUNYON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
166 CLUB HOUSE CIR	VILLAGE UNIT 60, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
						•				
92-17-34-432-061 EVAN HALL		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
EYON HALL	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
168 CLUB HOUSE CIR	VILLAGE UNIT 61, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$98.17	\$78.5 4 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19.6
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-062		0.10	\$981.70	\$98.17	DATE PAID					
DAVID HEATHCOTE		UNIT								
SUZETTE HEATHCOTE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
170 CLUB HOUSE CIR	VILLAGE UNIT 62. BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
49744 PARKSIDE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168					1017.2	ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	Ψισι
92-17-34-432-063		0.10	\$981.70	\$98.17	DATE PAID					
AIMEE BOYETTE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
172 CLUB HOUSE CIR	VILLAGE UNIT 63, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-064		0.10	\$981.70	\$98.17	DATE PAID					
GREGORY GEIBIG		UNIT	400							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
174 CLUB HOUSE CIR	VILLAGE UNIT 64, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-065		0.10	\$981.70	\$98.17	DATE PAID					
STEPHEN SINISHTAJ		UNIT								
NOSH SINISHTAJ	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
176 CLUB HOUSE CIR	VILLAGE UNIT 65, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-066		0.10	\$981.70	\$98.17	DATE PAID					
DANIEL SLOWINS		UNIT	ψ501.70	Ψοσ.17	DATE LAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	' '			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
178 CLUB HOUSE CIR	VILLAGE UNIT 66, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
= = = =0000 0002					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
		1 1		I	.O.,	Ψ10.00	ψ10.00	ψ10.00	Ψ10.00	ψ.ιυ.υ

Page 123 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-067		0.10	\$981.70	\$98.17	DATE PAID					
HILLARY S GENRICH	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
415 BOARDWALK DR	VILLAGE UNIT 67, BLDG 8 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19.63
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3344	11(17-00-001-000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
						7 10100	7.000	7.0.00	7.0.00	7.0.00
92-17-34-432-068		0.10	\$981.70	\$98.17	DATE PAID					
WALLED LAKE HOMESTEAD LLC	001100111111111111111111111111111111111	UNIT			5	400.47	A=0.54	250.00	***	0.10.00
447 DOADDWALK DD	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 68, BLDG 8 L 26159 P 001 1-21-03				BALANCE PRINCIPAL	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63 \$19.63
417 BOARDWALK DR WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$0.00
136 S PONTIAC TRL	11(17-55-501-050				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390					TOTAL	ψ19.00	ψ19.03	ψ19.03	ψ19.03	ψ19.03
92-17-34-432-069		0.10	\$981.70	\$98.17	DATE PAID					
ELENA TATIANA VLAD		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
411 BOARDWALK DR	VILLAGE UNIT 69, BLDG 8 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
92-17-34-432-070		0.10	\$981.70	\$98.17	DATE PAID			<u> </u>		
JASON BAYLIS		UNIT	*******	1						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
413 BOARDWALK DR	VILLAGE UNIT 70, BLDG 8 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
92-17-34-432-071		0.10	\$981.70	\$98.17	DATE PAID			1		
SRIKANTH LOGANATHAN		UNIT	\$981.70	\$98.17	DATE PAID					
SKINANTI EGGANATITAN	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
410 BOARDWALK DR	VILLAGE UNIT 71, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6352 PINE FIELD DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
HILLIARD OH 43026						,			,	
92-17-34-432-072		0.10	\$981.70	\$98.17	DATE PAID					
BRIGITT GOLDMAN		UNIT								
440 DO A DDWALL DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
412 BOARDWALK DR	VILLAGE UNIT 72, BLDG 9 L 26159 P 001 1-21-03 FR 17-35-301-036				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3544	11(17-55-501-050				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63
					TOTAL	ψ19.00	ψ19.03	ψ19.03	ψ19.03	ψ19.00
92-17-34-432-073		0.10	\$981.70	\$98.17	DATE PAID					
STACY AMBROZIAK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
414 BOARDWALK DR	VILLAGE UNIT 73, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
46352 PINEHURST DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168 92-17-34-432-074		0.10	\$981.70	\$98.17	DATE PAID			<u> </u>		
92-17-34-432-074 KALIOPE CHRISTO		UNIT	φ 9 ο1./U	ф96.17	DATE PAID		 	-		
MALIOI E GIINGTO	CONDOMINIUM PLAN NO 1452 EAST BAY	ONT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
416 BOARDWALK DR	VILLAGE UNIT 74, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
28011 COPPER CREEK LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
FARMINGTON HILLS, MI 48331										

Page 124 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-432-075		0.10	\$981.70	\$98.17	DATE PAID					
PETER OCHAB		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
418 BOARDWALK DR	VILLAGE UNIT 75, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-076		0.10	\$981.70	\$98.17	DATE PAID					
KELSEY LYN GALLETT		UNIT	ф901.70	φ90.17	DATE PAID					
KEESET ETH GALLETT	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
420 BOARDWALK DR	VILLAGE UNIT 76, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WhiteEB E WE WILL TOOK OFF					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						4.0.00	7.0.00	*******	710100	7.0
92-17-34-432-077		0.10	\$981.70	\$98.17	DATE PAID					
ROBYN A WEHAB		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
422 BOARDWALK DR	VILLAGE UNIT 77, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-078		0.10	\$981.70	\$98.17	DATE PAID					
MARY ANN SZWABOWSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
424 BOARDWALK DR	VILLAGE UNIT 78, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-079		0.10	\$981.70	\$98.17	DATE PAID		1		1	
92-17-34-432-079 ADAM KLOESS		UNIT	\$981.70	\$98.17	DATE PAID					
ADAM RECESS	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
426 BOARDWALK DR	VILLAGE UNIT 79, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3344	11111 33 331 333				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
					TOTAL	Ψ10.00	ψ13.03	ψ13.03	ψ13.00	Ψ13
92-17-34-432-080		0.10	\$981.70	\$98.17	DATE PAID					
NAGA TEJA THAMMISHETTI		UNIT	*******	1						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
428 BOARDWALK DR	VILLAGE UNIT 80, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-081		0.10	\$981.70	\$98.17	DATE PAID					
JINGWEN SHI		UNIT								1
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
430 BOARDWALK DR	VILLAGE UNIT 81, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-082		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-432-082 SERGII SOLOVEI		0.10	გყ გე./0	\$98.17	DATE PAID					1
ILIEVA ANASTASIIA	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
432 BOARDWALK DR	VILLAGE UNIT 82, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED FUIL INII 40030-0044	117.17-00-001-000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
		1 1		1	IOIAL	ψ13.00	ψ13.00	ψ13.03	ψ19.00	ψ19

Page 125 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
92-17-34-432-083	UF PROPERTY	0.10	\$981.70	\$98.17	DATE PAID	151	ZIND	JAD	41П	311
CHRISTOPHER M TIERNEY		UNIT	ф901.70	φ90.17	DATE PAID					
CHRISTOPHER IN TIERNET	CONDOMINIUM PLAN NO 1452 EAST BAY	ONIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.0
434 BOARDWALK DR	VILLAGE UNIT 83, BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
Whiteeb Erite III 40000 0044					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						Ψ10.00	ψ.σ.σσ	V.0.00	ψ.σ.σσ	\$101
92-17-34-432-084		0.10	\$981.70	\$98.17	DATE PAID					
EVAN MATHIS		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
436 BOARDWALK DR	VILLAGE UNIT 84, BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3162 BLOOMFIELD SHORE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WEST BLOOMFIELD MI 48323										
92-17-34-432-085		0.10	\$981.70	\$98.17	DATE PAID					
NATHAN W BARRETT	CONDOMINIUM DI ANI NO 1452 FACT DAV	UNIT			DALANCE	COD 47	↑ 70.54	650.00	#20 07	C40
CANDIDA D BARRETT	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 85. BLDG 10 L 26159 P 001 1-21-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
438 BOARDWALK DR	03 FR 17-35-301-036				PRINCIPAL INTEREST	\$19.63	\$19.63 \$0.00	\$19.63	\$19.63	\$19 \$0.
WALLED LAKE MI 48390-3544	03 FK 17-33-301-030					\$0.00		\$0.00	\$0.00	
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-086		0.10	\$981.70	\$98.17	DATE PAID					
DEBI MATTEINI		UNIT	40010	400	2711217113					
	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
440 BOARDWALK DR	VILLAGE UNIT 86. BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-087		0.10	\$981.70	\$98.17	DATE PAID					
RICHARD SMITH		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
442 BOARDWALK DR	VILLAGE UNIT 87, BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-088		0.10	\$981.70	\$98.17	DATE PAID				1	
TONG GE		UNIT	φ901.70	φ90.17	DATE FAID					
WEIWEN CHEN	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
444 BOARDWALK DR	VILLAGE UNIT 88. BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
15508 PRESTWICK CIR N					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168						410.00	7.0.00	, ,,,,,,,	7.0.00	Ţ.,
92-17-34-432-089		0.10	\$981.70	\$98.17	DATE PAID					
CHRISTOPHER THEOBALD		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
446 BOARDWALK DR	VILLAGE UNIT 89, BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00.47.04.400.000		0.10	#001 TO	400.47	DATE SAIS				1	1
92-17-34-432-090		0.10	\$981.70	\$98.17	DATE PAID		-		-	1
NICHOLAS BUNKLEY	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	#00 47	¢70.54	#E0.00	¢20.07	m40
449 BOARDWALK DR	VILLAGE UNIT 90. BLDG 10 L 26159 P 001 1-21-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
448 BOARDWALK DR	03 FR 17-35-301-036				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FK 17-35-301-030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
178 EASTON DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
SOUTH LYON MI 48178		1 1		1				1		1

Page 126 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-091		0.10	\$981.70	\$98.17	DATE PAID					
HEATHER L HARRINGTON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
450 BOARDWALK DR	VILLAGE UNIT 91, BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
20.47.04.400.000		0.40	#004.70	000.47	DATE DAID					
92-17-34-432-092 EDINEIA B DEPAULA		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
452 BOARDWALK DR	VILLAGE UNIT 92, BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
Whiteles Entre III 40000 0044					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						ψ.ισ.σσ	\$10.00	V.0.00	\$10.00	ψ.σ.
92-17-34-432-093		0.10	\$981.70	\$98.17	DATE PAID					
CHARLES D SCOGGINS	001/201/11/11/201/11/201/201/201/201/201	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
454 BOARDWALK DR	VILLAGE UNIT 93, BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7745 CHAPEL RIDGE DR CORDOVA. TN 38016					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-094		0.10	\$981.70	\$98.17	DATE PAID					
ABRAHAM KANDEL		UNIT	********							
CHERYL KANDEL	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
456 BOARDWALK DR	VILLAGE UNIT 94. BLDG 10 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3544	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
351 SOUTH LAKE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377						Ψ.σ.σσ	ψ.σ.σσ	V.0.00	ψ.σ.σσ	ψ.σ.
92-17-34-432-095		0.10	\$981.70	\$98.17	DATE PAID					
CHINNAIYA PANDIAN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
423 OLD PINE WAY	VILLAGE UNIT 95, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-096		0.10	\$981.70	\$98.17	DATE PAID			<u> </u>		
CHRISTOPHER CHAPUT		UNIT	ψ301.70	ψ50.17	BAILIAB					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
419 OLD PINE WAY	VILLAGE UNIT 96, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
105 DUANE ST PHB					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NEW YORK NY 10007										
92-17-34-432-097 TAMARA LOUD		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
IAMANA LOOD	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
421 OLD PINE WAY	VILLAGE UNIT 97. BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
6307 N NOFFKE DR	0011 00 001 000				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$19.
CALEDONIA, MI 48316					IOIAL	ψ13.03	ψ13.03	ψ13.03	φ13.03	कृ । छ.
92-17-34-432-098		0.10	\$981.70	\$98.17	DATE PAID					
KEVIN PFEIFLE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
415 OLD PINE WAY	VILLAGE UNIT 98, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5551 PARK DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
ORCHARD LAKE, MI 48324	II			I	II I		1	1	I	1

Page 127 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			·	INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-099		0.10	\$981.70	\$98.17	DATE PAID					
EVAN MATHIS		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
417 OLD PINE WAY	VILLAGE UNIT 99, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3162 BLOOMFIELD SHORE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WEST BLOOMFIELD, MI 48323										
92-17-34-432-100		0.10	\$981.70	\$98.17	DATE PAID					
DARLINE ELREDA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
411 OLD PINE WAY	VILLAGE UNIT 100, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1410 LEED WOOD RDG					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
COMMERCE TOWNSHIP MI 48390										
92-17-34-432-101		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL ZELDES		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
413 OLD PINE WAY	VILLAGE UNIT 101, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-102		0.10	\$981.70	\$98.17	DATE PAID					
ERIKA L MUIR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
407 OLD PINE WAY	VILLAGE UNIT 102, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-103		0.10	\$981.70	\$98.17	DATE PAID					
KHALED HAMZEH	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			DALANOE	000.47	A70.54	050.00	000.07	040
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
409 OLD PINE WAY	VILLAGE UNIT 103, BLDG 11 L 26159 P 001 1-21- 03 FR 17-35-301-036				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-104		0.10	\$981.70	\$98.17	DATE PAID					
WILLIAM ACKERSON		UNIT	φ901.70	φ90.17	DATE FAID					
WILLIAM ACKERSON	CONDOMINIUM PLAN NO 1452 EAST BAY	ONIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
403 OLD PINE WAY	VILLAGE UNIT 104, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAIKE IIII 40000-0040	33 1 1 1 1 3 3 3 5 1 3 3 3				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101742	Ψ10.00	Ψ10.00	ψ10.00	ψ10.00	Ψ10.
92-17-34-432-105		0.10	\$981.70	\$98.17	DATE PAID					
CHRISTINA BRITTAIN		UNIT	ψοσ1.70	Ψου,	3,1121,110					1
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
405 OLD PINE WAY	VILLAGE UNIT 105, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						,	,	,	,	
92-17-34-432-106		0.10	\$981.70	\$98.17	DATE PAID					
VINCENT J ZAMBO		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY	'			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
401 OLD PINE WAY	VILLAGE UNIT 106, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1		1	_					

Page 128 of 172 11/16/2020 G-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000	2001	INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
	OF PROPERTY				DATE PAID	151	ZND	JRD	41П	31
92-17-34-432-107 ELLEN OPPENHEIM		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
ELLEN OFFENHEIM	CONDOMINIUM PLAN NO 1452 EAST BAY	ONIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
445 OLD PINE WAY	VILLAGE UNIT 107, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WY LEED EXILE WII 40000 0040					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						Ψ10.00	ψ.σ.σσ	V.0.00	V.0.00	ψ.σ.
92-17-34-432-108		0.10	\$981.70	\$98.17	DATE PAID					
MICHELLE S SKLAR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
447 OLD PINE WAY	VILLAGE UNIT 108, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-109		0.10	\$981.70	\$98.17	DATE PAID		1			
ALAN BOBERG		UNIT	φ901.70	φ90.17	DATE FAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	"			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
441 OLD PINE WAY	VILLAGE UNIT 109, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-110		0.10	\$981.70	\$98.17	DATE PAID					
JESSICA PERRECA		UNIT								
JACLYN PERRECA	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
443 OLD PINE WAY	VILLAGE UNIT 110, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-111		0.10	\$981.70	\$98.17	DATE PAID			1		
JESSICA NG		UNIT	φοσ1.70	Ψοσ. 17	BATETAND					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
437 OLD PINE WAY	VILLAGE UNIT 111, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-112		0.10	\$981.70	\$98.17	DATE PAID					
SUNDARA E PANDIYAN		UNIT								
SHOBANA A VINCENT	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
439 OLD PINE WAY	VILLAGE UNIT 112, BLDG 12 L 26159 P 001 1-21- 03 FR 17-35-301-036				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	US FR 17-30-301-030				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00	\$0.00 \$19.63	\$0. \$19
					TOTAL	\$19.63	\$19.03	\$19.63	\$19.03	\$19
92-17-34-432-113		0.10	\$981.70	\$98.17	DATE PAID					
JOESEPH CURTIS NETHER		UNIT	Ψοσσ	********	3,2.,,,,,,					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
433 OLD PINE WAY	VILLAGE UNIT 113, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4558 MAPLE CREEK					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WEST BLOOMFIELD MI 48322				<u> </u>						
92-17-34-432-114		0.10	\$981.70	\$98.17	DATE PAID					
RACHEL LYNN CROSS	CONDOMINIUM DI ANIMO 4450 EACT DAY	UNIT			DAI	000 17	070 71	050.00	000.07	***
405 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
435 OLD PINE WAY	VILLAGE UNIT 114, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
	03 FR 17-35-301-036	1 1		1	INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE MI 48390-3546					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.

Page 139 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESS	OF PROPERTY	FRONTAGE	PER	CHARCE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	1ST	2ND	3RD	4TH	5TH
92-17-34-432-115 CYNTHIA L PUNG		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
CYNTHIA L PUNG	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
429 OLD PINE WAY	VILLAGE UNIT 115, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLES D'INC IVII 40000					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						Ψ.σ.σσ	V.0.00	V.0.00	V.0.00	V .0.
92-17-34-432-116		0.10	\$981.70	\$98.17	DATE PAID					
SUSAN MATVEYEVA		UNIT								
NADIA MATVEYEVA	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
431 OLD PINE WAY	VILLAGE UNIT 116, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-117		0.10	\$981.70	\$98.17	DATE PAID					
SABAH M YATOOMA	CONDOMINIUM DI ANI NO 4450 5407 BAY	UNIT			DAI ANOS	000.47	070.54	450.00	000.07	040
405 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 117. BLDG 12 L 26159 P 001 1-21-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
425 OLD PINE WAY	VILLAGE UNIT 117, BLDG 12 L 26159 P 001 1-21- 03 FR 17-35-301-036				PRINCIPAL INTEREST	\$19.63	\$19.63 \$0.00	\$19.63	\$19.63	\$19. \$0.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-030					\$0.00		\$0.00	\$0.00	
27726 RUDGATE BLVD APT 3 FARMINGTON HILLS, MI 48334					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-118		0.10	\$981.70	\$98.17	DATE PAID					
JOHN XIA		UNIT	ψ901.70	ψ90.17	DATETAID					
CHIA-FEI LOU	CONDOMINIUM PLAN NO 1452 EAST BAY	l Olviii			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
427 OLD PINE WAY	VILLAGE UNIT 118. BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
Whitees is the init 40000 0040					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						Ψ.σ.σσ	Ψ.σ.σσ	V.0.00	Ψ.σ.σσ	ψ.ι
92-17-34-432-119		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
469 OLD PINE WAY	VILLAGE UNIT 119, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-120		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
474 OLD DIVIE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
471 OLD PINE WAY	VILLAGE UNIT 120, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0. \$19.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168 92-17-34-432-121		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-432-121 SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ 9 01.70	φ90.17	DATE PAID					
ON THE PROPERTY OF THE PROPERT	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
465 OLD PINE WAY	VILLAGE UNIT 121, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168						Ţ	7.5.00	Ţ.3.00	Ţ.3.00	Ţ.o.
92-17-34-432-122		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
467 OLD PINE WAY	VILLAGE UNIT 122, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168		1		I	1					

Page 130 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		-		INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-123		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
461 OLD PINE WAY	VILLAGE UNIT 123. BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168						Ţ	¥.0.00	7.0.00	Ţ	7.0
92-17-34-432-124		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοστιτο	φοσ.17	D/((L1/(ID					
CANTINADAGIT EAGT DAT VILLAGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
463 OLD PINE WAY	VILLAGE UNIT 124. BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	001111100001000				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168					TOTAL	ψ13.03	Ψ10.00	ψ13.03	ψ13.00	Ψ13.0
92-17-34-432-125		0.10	\$981.70	\$98.17	DATE PAID			1		
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ901.70	φ90.17	DATE FAID					
SANTIMADASH EAST BAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
457 OLD PINE WAY	VILLAGE UNIT 125, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19.6
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	0311(17-33-301-030				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.0
NORTHVILLE MI 48168		0.40	COD4 70	CO0 47	DATE DAID					
92-17-34-432-126		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	001/201/201/201/201/201/201/201/201/201/	UNIT			5444405	400.47	470.54	250.00	***	0101
450 OLD DIVIS WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
459 OLD PINE WAY	VILLAGE UNIT 126, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168										
92-17-34-432-127		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
453 OLD PINE WAY	VILLAGE UNIT 127, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-128		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
455 OLD PINE WAY	VILLAGE UNIT 128, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-129		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
· · · · · · · · · · · · · · · · ·	CONDOMINIUM PLAN NO 1452 EAST BAY	' '			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.0
451 OLD PINE WAY	VILLAGE UNIT 129, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168						Ψ.υ.υυ	Ψ.σ.σσ	V .0.00	V.0.00	\$10.
92-17-34-432-130		0.10	\$981.70	\$98.17	DATE PAID					1
REQUEL VARGAS		UNIT	ψ501.70	ψ50.17	DATETAID			-		
PIERRE ROJAS	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
402 OLD PINE WAY	VILLAGE UNIT 130, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
TUL OLD FINE WAT	03 FR 35-301-037				INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
MALLED LAKE ML49200 2546							DU.UU	1 201.00	יוט טע	
WALLED LAKE MI 48390-3546	03 FK 33-301-037				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6

Page 131 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	ļ			INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-432-131		0.10	\$981.70	\$98.17	DATE PAID					
DAVID VERDUYN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
404 OLD PINE WAY	VILLAGE UNIT 131, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2863 DINA DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
TROY MI 48085										
92-17-34-432-132		0.10	\$981.70	\$98.17	DATE PAID					
WANG FANG		UNIT								
ZHU JUN LIE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
406 OLD PINE WAY	VILLAGE UNIT 132, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
17610 STONEBROOK DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-133		0.10	\$981.70	\$98.17	DATE PAID					
RUTH ANN PETRES		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
408 OLD PINE WAY	VILLAGE UNIT 133, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-134		0.10	\$981.70	\$98.17	DATE PAID					
MISHO RISTOVSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
410 OLD PINE WAY	VILLAGE UNIT 134, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2714 WYNCLIFF CT					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
COMMERCE TWP MI 48390										
92-17-34-432-135		0.10	\$981.70	\$98.17	DATE PAID					
DARLENE KASTELIC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
412 OLD PINE WAY	VILLAGE UNIT 135, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		0.40	****	200.17	DATE DAID					
92-17-34-432-136		0.10	\$981.70	\$98.17	DATE PAID					
KYLE FITZPATRICK	CONDOMINIUM DI ANI NO 4450 FACT DAY	UNIT			DALANOE	000.47	070.54	050.00	000.07	040
ALENA V GOLOVECHENKO	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 136, BLDG 14 L 26159 P 001 8-13-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
414 OLD PINE WAY	03 FR 35-301-037				PRINCIPAL INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FK 33-301-037					\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-137		0.10	¢001.70	\$98.17	DATE PAID					
92-17-34-432-137 BRIAN HARRIS		0.10 UNIT	\$981.70	φ90.17	DATEPAID					
DIVINI HANNIS	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
416 OLD PINE WAY	VILLAGE UNIT 137, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3340	00111 00 001 001				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	φ19.00	ψ13.03	ψ13.00	ψ13.03	ψ19.
92-17-34-432-138		0.10	\$981.70	\$98.17	DATE PAID					
ZHENGPING ZHUANG		UNIT	******							
-	CONDOMINIUM PLAN NO 1452 EAST BAY	' '			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
418 OLD PINE WAY	VILLAGE UNIT 138, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
10411 AUBINOE FARM DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
BETHESDA MD 20914				I						7.0.

Page 132 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2000	2001	INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
92-17-34-432-139	OF PROPERTY	0.10	\$981.70	\$98.17	DATE PAID	151	ZIND	JRD	41П	31
JENNIFER CAMILLERI		UNIT	φ901.7U	φ90.17	DATE PAID					
JENNIFER CAMILLERI	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
420 OLD PINE WAY	VILLAGE UNIT 139, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
W IEEE E WILL WII 40000 0040					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						Ψ10.00	ψ.10.00	V.0.00	V.0.00	V. 0
92-17-34-432-140		0.10	\$981.70	\$98.17	DATE PAID					
TSUYOSHI KONDO		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
422 OLD PINE WAY	VILLAGE UNIT 140, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-141		0.10	\$981.70	\$98.17	DATE PAID					
MARCUS W KINCAID		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
424 OLD PINE WAY	VILLAGE UNIT 141, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
00.47.04.400.440		0.40	0004.70	000.47	DATE DAID			1		
92-17-34-432-142		0.10	\$981.70	\$98.17	DATE PAID					
SUSAN SWANSON	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			DALANIOE	000.47	070.54	050.00	000.07	040
400 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 142, BLDG 15 L 26159 P 001 8-13-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
428 OLD PINE WAY WALLED LAKE MI 48390-3546	03 FR 35-301-037				PRINCIPAL INTEREST	\$19.63 \$0.00	\$19.63	\$19.63	\$19.63	\$19. \$0.
WALLED LAKE WII 40390-3540	0311(33-301-037				TOTAL	\$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19.
					TOTAL	\$19.03	\$19.03	\$19.03	φ19.03	φ19.
92-17-34-432-143		0.10	\$981.70	\$98.17	DATE PAID					
PETER JIN KIM		UNIT	ψ901.70	ψ30.17	DATETAID					
1 E / E / C / C / C / C / C / C / C / C /	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
430 OLD PINE WAY	VILLAGE UNIT 143, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
W IEEE E WILL WII 40000 0040					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
						ψ10.00	\$10.00	V.0.00	Ψ.σ.σσ	V .0.
92-17-34-432-144		0.10	\$981.70	\$98.17	DATE PAID					
LAURA HAKE		UNIT	****	,						
KATHLEEN BOGAS	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
432 OLD PINE WAY	VILLAGE UNIT 144, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-145		0.10	\$981.70	\$98.17	DATE PAID					
MATTHEW NELSON		UNIT								
KINDSEY NELSON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
434 OLD PINE WAY	VILLAGE UNIT 145, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
			400:	1 005 :=	DATE - ::-					1
92-17-34-432-146		0.10	\$981.70	\$98.17	DATE PAID					
KEVIN BELYK	CONDOMINIUM DI ANI NO 4450 TAGE TAGE	UNIT			B	****	470.54	4====	****	
400 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
436 OLD PINE WAY	VILLAGE UNIT 146, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
23 GEORGE ST					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
METUCHEN NJ 08840		1		1				1	1	1

Page 13 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDECC	OF PROPERTY	FDONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
AND ADDRESS	OF PROPERTY	FRONTAGE		CHARGE	DATE DAID	151	ZND	3KD	41H	51
92-17-34-432-147		0.10	\$981.70	\$98.17	DATE PAID					
MQA LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANOE	000.47	070.54	\$58.90	400.07	\$19.
420 OLD DINE WAY	VILLAGE UNIT 147, BLDG 15 L 26159 P 001 8-13-				BALANCE PRINCIPAL	\$98.17	\$78.54		\$39.27	
438 OLD PINE WAY WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19.63 \$0.00	\$19 \$0.
1211 HICKORY RD	03 FK 33-301-037				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$19
HILLSDALE MI 49242					IOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19
92-17-34-432-148		0.10	\$981.70	\$98.17	DATE PAID					
THOMAS PASCARIS		UNIT	ψ901.70	ψ90.17	DATETAID					
THOMAS I ACCARGO	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
440 OLD PINE WAY	VILLAGE UNIT 148. BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4944 BIRKDALE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
COMMERCE TWP MI 48382						ψ.υ.υυ	ψ.σ.σσ	\$10.00	V.0.00	V.O.
92-17-34-432-149		0.10	\$981.70	\$98.17	DATE PAID					
DENISE COX		UNIT	***************************************	******						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
442 OLD PINE WAY	VILLAGE UNIT 149, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-150		0.10	\$981.70	\$98.17	DATE PAID					
MARY DRYER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
444 OLD PINE WAY	VILLAGE UNIT 150, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1151 W WASHINGTON BLVD UNIT 146					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
CHICAGO IL 60607										
92-17-34-432-151		0.10	\$981.70	\$98.17	DATE PAID					
RAYMOND P SAMOLIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
446 OLD PINE WAY	VILLAGE UNIT 151, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		0.40	4004.70	200.17	DATE DATE					
92-17-34-432-152		0.10	\$981.70	\$98.17	DATE PAID					
CHAD DEMERY	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
448 OLD PINE WAY	VILLAGE UNIT 152. BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$98.17	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3340	0011(00-001-001				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	ψ19.03	ψ13.03	ψ13.03	ψ19.03	ψ13.
92-17-34-432-153	-	0.10	\$981.70	\$98.17	DATE PAID		 			+
WILLIAM ROBERET JENSEN		UNIT	ψ501.70	ψ50.17	DATETAID					
GABRIELA JOSESFINA ROSALES SALINAS	CONDOMINIUM PLAN NO 1452 EAST BAY	5			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
450 OLD PINE WAY	VILLAGE UNIT 153, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
		<u> </u>			<u> </u>	<u> </u>				
92-17-34-432-154		0.10	\$981.70	\$98.17	DATE PAID					
MYROSLAV PALIY		UNIT								
OLHA PALIY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
454 OLD PINE WAY	VILLAGE UNIT 154, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1		I				1		

Page 134 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-155		0.10	\$981.70	\$98.17	DATE PAID					
NICHOLAS HAINER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
456 OLD PINE WAY	VILLAGE UNIT 155, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-156		0.10	\$981.70	\$98.17	DATE PAID		1			
ARBEN ISHMAKEJ		UNIT	ψ901.70	ψ90.17	DATETAID					
ALKETA ISHMAKEJ	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
458 OLD PINE WAY	VILLAGE UNIT 156, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		0.40	****	***************************************	D.175 D.115					
92-17-34-432-157 RAFFAELE RUGGIERO		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
NAI PALLE NOOGIENO	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
460 OLD PINE WAY	VILLAGE UNIT 157, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-158 JASON D BRASSFIELD		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
JASON D BRASSFIELD	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
462 OLD PINE WAY	VILLAGE UNIT 158. BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE IVII 40390-3340	3011(30 301 301				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						•				
92-17-34-432-159		0.10	\$981.70	\$98.17	DATE PAID					
ROBERT M MARCOTTE	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
464 OLD DINE WAY	VILLAGE UNIT 159, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
464 OLD PINE WAY	03 FR 35-301-037				INTEREST				\$19.63	\$19.
WALLED LAKE MI 48390-3546	0311(33-301-037					\$0.00	\$0.00	\$0.00		
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-160		0.10	\$981.70	\$98.17	DATE PAID					
KYLE COWDEN	001100111111111111111111111111111111111	UNIT			5	***	* =0.54	4=0.00	***	***
400 OLD DIVID WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
466 OLD PINE WAY	VILLAGE UNIT 160, BLDG 16 L 26159 P 001 8-13- 03 FR 35-301-037				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	05 FK 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-161		0.10	\$981.70	\$98.17	DATE PAID					
ZARKO K KOSTOV		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
468 OLD PINE WAY	VILLAGE UNIT 161, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-162		0.10	\$981.70	\$98.17	DATE PAID					
470 OLD PINE WAY LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
470 OLD PINE WAY	VILLAGE UNIT 162, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
41931 WOLFE PASS					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48377		1								

Page 135 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-163		0.10	\$981.70	\$98.17	DATE PAID					
ALLISON BOIKE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
472 OLD PINE WAY	VILLAGE UNIT 163, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-164		0.10	\$981.70	\$98.17	DATE PAID					
WEN DONG		UNIT	*******							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
474 OLD PINE WAY	VILLAGE UNIT 164, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
24047 ELIZABETH LANE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NOVI MI 48374								-		
92-17-34-432-165		0.10	\$981.70	\$98.17	DATE PAID					
SUSAN BECK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
476 OLD PINE WAY	VILLAGE UNIT 165, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-166		0.10	\$981.70	\$98.17	DATE PAID					
REBECCA WENGLINSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
427 VILLAGE DR	VILLAGE UNIT 166, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-167		0.10	\$981.70	\$98.17	DATE PAID					
MARIAH LUCIER-CANEJO		UNIT	ψ901.70	ψ90.17	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
423 VILLAGE DR	VILLAGE UNIT 167, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
**************************************					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	Ψ10.00	Ψ10.00	ψ10.00	Ψ10.00	Ψ10.
92-17-34-432-168		0.10	\$981.70	\$98.17	DATE PAID					
BEN WONG	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
425 VILLAGE DR	VILLAGE UNIT 168, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$98.17 \$19.63	\$78.5 4 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19. \$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5571 S PICADILLY CIR	0511(35-301-037				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
WEST BLOOMFIELD MI 48322					IOTAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.
92-17-34-432-169		0.10	\$981.70	\$98.17	DATE PAID					
KATHLEEN LORENZ		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
419 VILLAGE DR	VILLAGE UNIT 169, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-170		0.10	\$981.70	\$98.17	DATE PAID					
MEGHANN K LLOYD		UNIT	ψοσισ	ψοσ. 17	3,1121,100					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
421 VILLAGE DR	VILLAGE UNIT 170, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
	II	1		I				1		7.0.

Page 15 of 172 11/16/2020 6:31 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-171		0.10	\$981.70	\$98.17	DATE PAID					
ANTHONY KERN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
415 VILLAGE DR	VILLAGE UNIT 171, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-172		0.10	\$981.70	\$98.17	DATE PAID					
WENHUI ZHANG		UNIT	ψοστσ	ψοσ	5,1,21,1,10					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
417 VILLAGE DR	VILLAGE UNIT 172, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
48326 BINGHAMPTON DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE, MI 48168										
92-17-34-432-173		0.10	\$981.70	\$98.17	DATE PAID					
KRISTOFFER GUNDRUM	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	#00.47	↑70.54	# F0.00	¢20.07	C40
411 VILLAGE DR	VILLAGE UNIT 173. BLDG 17 L 26159 P 001 8-13-				BALANCE PRINCIPAL	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19. \$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19.
10329 BRECONSHIRE RD	0011(00-001-001				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
ELLIOT CITY, MD 21042					TOTAL	φ19.03	\$19.03	\$19.03	\$19.03	φ19.
92-17-34-432-174		0.10	\$981.70	\$98.17	DATE PAID					
QIUYUN LIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
413 VILLAGE DR	VILLAGE UNIT 174, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00 47 24 400 475		0.40	£004.70	COD 47	DATE DAID					
92-17-34-432-175 TERRY LEVERETT		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
IERRI LEVERETT	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
407 VILLAGE DR	VILLAGE UNIT 175, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40000-0000					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	Ψ10.00	ψ10.00	ψ10.00	Ψ10.00	Ψ10.
92-17-34-432-176		0.10	\$981.70	\$98.17	DATE PAID					
JENNIFER ROBERTS		UNIT								
400 VIII I A OF DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
409 VILLAGE DR	VILLAGE UNIT 176, BLDG 17 L 26159 P 001 8-13- 03 FR 35-301-037				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FK 33-301-037				INTEREST TOTAL	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00 \$19.63	\$0. \$19.
					TOTAL	\$19.03	\$19.03	\$19.03	\$19.03	φ19.
92-17-34-432-177		0.10	\$981.70	\$98.17	DATE PAID					
WALTER A VAN ROTH		UNIT	*	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
405 VILLAGE DR	VILLAGE UNIT 177, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-269		0.10	\$981.70	\$98.17	DATE PAID					
92-17-34-432-269 SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ 9 ο1./U	φ96.17	DATE PAID					
SANTIMADASH EAST DAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	ONT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
600 POINTE DR	VILLAGE UNIT 269, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168		1		1						1

Page 137 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	8	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-270		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
602 POINTE DR	VILLAGE UNIT 270, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-271		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
640 POINTE DR	VILLAGE UNIT 271, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-272		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
642 POINTE DR	VILLAGE UNIT 272, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168							·			
92-17-34-432-273		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	,	, , , ,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
636 POINTE DR	VILLAGE UNIT 273, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168							·	·		
92-17-34-432-274		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
638 POINTE DR	VILLAGE UNIT 274, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-275		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
632 POINTE DR	VILLAGE UNIT 275, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-276		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
634 POINTE DR	VILLAGE UNIT 276, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					<u> </u>					
92-17-34-432-277		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
628 POINTE DR	VILLAGE UNIT 277, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168		1		I	1					

Page 138 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-278		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
630 POINTE DR	VILLAGE UNIT 278, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-279		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
624 POINTE DR	VILLAGE UNIT 279, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-280		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
626 POINTE DR	VILLAGE UNIT 280, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-281		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
647 POINTE DR	VILLAGE UNIT 281, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-282		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
649 POINTE DR	VILLAGE UNIT 282, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						·				
92-17-34-432-283		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
651 POINTE DR	VILLAGE UNIT 283, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						·				
92-17-34-432-284		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	*******							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
653 POINTE DR	VILLAGE UNIT 284, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-285		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	*******	******						
	CONDOMINIUM PLAN NO 1452 EAST BAY	5			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
451 VILLAGE DR	VILLAGE UNIT 178, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 178 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
				1		ψυ.υυ		· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63

Page 139 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-286		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
453 VILLAGE DR	VILLAGE UNIT 179, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 179 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						,				,
92-17-34-432-287		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	,	, , , ,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
447 VILLAGE DR	VILLAGE UNIT 180, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 180 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						,			,	
92-17-34-432-288		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	***************************************	******						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
449 VILLAGE DR	VILLAGE UNIT 181, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 181 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						ψ.ισ.σσ	V.0.00	V.0.00	ψ.σ.σσ	Ψ.σ.σσ
92-17-34-432-289		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοστιτο	ψου	D/((21/())					
SANTIMADASIT EAST DAT VILLAGE EEC	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
443 VILLAGE DR	VILLAGE UNIT 182. BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 182 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	00111102111000000011111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					IOIAL	ψ13.03	ψ13.00	ψ13.00	ψ13.03	ψ13.03
92-17-34-432-290		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ901.70	φ90.17	DATEFAID					
SANT/HADASH EAST BAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	ONT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
445 VILLAGE DR	VILLAGE UNIT 183, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 183 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	0011110011100000001111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					IOIAL	φ19.03	\$19.03	\$19.03	\$19.03	φ19.03
92-17-34-432-291		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ901.70	φ90.17	DATEPAID					
SANT/HADASH EAST BAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
439 VILLAGE DR	VILLAGE UNIT 184, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 184 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	0011(10411-00-00 CON((TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					IOIAL	\$19.03	\$19.03	\$19.03	\$19.03	\$19.03
		0.40	C004 70	CO0 47	DATE DAID					
92-17-34-432-292		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANI NO 4450 5 ACT DAV	UNIT			DALANCE	COD 47	¢70.54	650.00	¢20.07	640.00
444 VIII LAGE DD	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 185. BLDG 18 L 26159 P 001 5-24-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
441 VILLAGE DR	06 FR 185 11-08-06 CORR				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	00 FR 103 11-00-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168		0.10	4001.70	400.47	DATE SAIS		1	1	1	1
92-17-34-432-293		0.10	\$981.70	\$98.17	DATE PAID		-			
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
435 VILLAGE DR	VILLAGE UNIT 186, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 186 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168	II	1		I					I	

Page 140 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-294		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
437 VILLAGE DR	VILLAGE UNIT 187, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 187 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						,	,			
92-17-34-432-295		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	********							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
431 VILLAGE DR	VILLAGE UNIT 188, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 188 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					101712	ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00
92-17-34-432-296		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ301.70	ψ30.17	DATETAID					
SANTIMADASITEAST DAT VILLAGE ELC	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
433 VILLAGE DR	VILLAGE UNIT 189, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 189 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	00 1 10 11-00-00 CONIC				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					IOIAL	φ19.03	\$19.03	\$19.03	\$19.03	\$19.03
92-17-34-432-297		0.10	¢004.70	\$98.17	DATE PAID					
			\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			DALANOE	000.47	070.54	050.00	000.07	040.00
450 VIII LAGE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
459 VILLAGE DR	VILLAGE UNIT 190, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 190 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-298		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
461 VILLAGE DR	VILLAGE UNIT 191, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 191 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-299		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
463 VILLAGE DR	VILLAGE UNIT 192, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 192 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168										
92-17-34-432-300		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
465 VILLAGE DR	VILLAGE UNIT 193, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 193 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168							·	·	· ·	
92-17-34-432-301		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	···· ·							
	CONDOMINIUM PLAN NO 1452 EAST BAY	5			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
467 VILLAGE DR	VILLAGE UNIT 194, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390-3550	06 FR 194 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
	II			1	IOIAL	Ψ10.00	Ψ10.00	ψ10.00	ψ10.00	ψ10.00

Page 141 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	ļ			INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-302		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
469 VILLAGE DR	VILLAGE UNIT 195, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 195 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-303		0.10	\$981.70	\$98.17	DATE PAID					
KAMBA ENTERPRISES LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
472 VILLAGE DR	VILLAGE UNIT 196, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 196 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
705 GLENEAGLES					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
HIGHLAND, MI 48357										
92-17-34-432-304		0.10	\$981.70	\$98.17	DATE PAID					
YONGCHAO LI		UNIT								
FEINI ZHENG	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
474 VILLAGE DR	VILLAGE UNIT 197, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 197 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
23620 OVERLOOK CIR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
BINGHAM FARMS, MI 48025		0.40	4004.70	400.47	5.75 5.45					
92-17-34-432-305		0.10	\$981.70	\$98.17	DATE PAID					
ANA REINEL HOFFMAN	000100111111111111111111111111111111111	UNIT			5	****	470.54	450.00	***	0.10
470.1 W. LAGE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
476 VILLAGE DR	VILLAGE UNIT 198, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 198 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-306		0.10	\$981.70	\$98.17	DATE PAID					
PHYLLIS A SPEARS		UNIT	φ901.70	φ90.17	DATE FAID					
TR OF THE PHYLLIS A SPEARS REV LIV	CONDOMINIUM PLAN NO 1452 EAST BAY	O TWIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
478 VILLAGE DR	VILLAGE UNIT 199, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 199 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40090-0000	0011110011100000001111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	ψ19.00	ψ19.03	ψ19.03	ψ19.03	Ψ13.
92-17-34-432-307		0.10	\$981.70	\$98.17	DATE PAID					
KENNETH EGGERT		UNIT	• • • • • • • • • • • • • • • • • • • •	, , , ,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
480 VILLAGE DR	VILLAGE UNIT 200, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 200 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-308		0.10	\$981.70	\$98.17	DATE PAID					
HELAYNE SHAW		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
482 VILLAGE DR	VILLAGE UNIT 201, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 201 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00.47.04.400.000		0.40	# 004.70	000.47	DATE DATE					
92-17-34-432-309		0.10	\$981.70	\$98.17	DATE PAID					
CHRISTINE BRENNAN	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	¢00.47	¢70.54	ØE0.00	¢20.07	640
484 VILLAGE DR	VILLAGE UNIT 202, BLDG 20 L 26159 P 001 5-24-				BALANCE	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90	\$39.27 \$19.63	\$19. \$19.
	06 FR 202 11-08-06 CORR				PRINCIPAL		\$19.63	\$19.63		\$19. \$0.
WALLED LAKE MI 48390-3550	00 1 K 202 11-00-00 CORK				INTEREST TOTAL	\$0.00	\$0.00 \$19.63	\$0.00 \$19.63	\$0.00	
	II.			I .	∥ IUIAL I	\$19.63	D19.03	D 19.03	\$19.63	\$19.

Page 142 of 172 11/16/2020 G-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-310		0.10	\$981.70	\$98.17	DATE PAID					
MATHEW HUTCHINSON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
486 VILLAGE DR	VILLAGE UNIT 203, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	06 FR 203 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5731 BINGHAM DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
COMMERCE TWP MI 48382						,	,			
92-17-34-432-311		0.10	\$981.70	\$98.17	DATE PAID					
LISA KE YUAN		UNIT	********	1						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
488 VILLAGE DR	VILLAGE UNIT 204, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	06 FR 204 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7800 CHARRINGTON DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
CANTON, MI 48187					101712	ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	ψ10.0
92-17-34-432-312		0.10	\$981.70	\$98.17	DATE PAID					1
TYLER M WEIR		UNIT	ψ301.70	ψ30.17	DATETAID					
TILEN III WEIN	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
490 VILLAGE DR	VILLAGE UNIT 205, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	06 FR 205 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAINE WII 40390-3330	0011(20011 00 00 0011()				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
					IOIAL	φ19.03	\$19.03	\$19.03	\$19.03	φ19.0
92-17-34-432-313		0.10	\$981.70	\$98.17	DATE PAID					1
			φ901.70	\$90.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANINO 4450 FACT DAV	UNIT			DALANCE	¢00.47	₾70. Г. 4	# F0.00	#20.07	C40.0
40C VIII I A OF DD	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 206. BLDG 22 L 26159 P 001 5-24-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
436 VILLAGE DR	06 FR 206,222,223 & 224 11-08-06 CORR				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	00 FR 200,222,223 & 224 11-00-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168		0.40	****	****	5475 5415					1
92-17-34-432-314		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			DALANOE	000.47	070.54	050.00	000.07	040.0
400 \ (11 4 0 5 0 0	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
438 VILLAGE DR	VILLAGE UNIT 207, BLDG 22 L 26159 P 001 5-24- 06 FR 207,222,223 & 224 11-08-06 CORR				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	00 FR 201,222,223 & 224 11-00-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168										
92-17-34-432-315		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
440 VILLAGE DR	VILLAGE UNIT 208, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	06 FR 208,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168		ļļ					1		1	1
92-17-34-432-316		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
442 VILLAGE DR	VILLAGE UNIT 209, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	06 FR 209,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168										
92-17-34-432-317		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
444 VILLAGE DR	VILLAGE UNIT 210, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3550	06 FR 210,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
NORTHVILLE MI 48168		ı I		I	1		1	1		

Page 143 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-318		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
446 VILLAGE DR	VILLAGE UNIT 211, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 211,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-319		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
440.1/11.1.4.05.55	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
448 VILLAGE DR	VILLAGE UNIT 212, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 212,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168		0.40	4004.70	400.47	DATE DAID					
92-17-34-432-320		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			DALANOE	000.47	Ø70 F.4	050.00	000.07	040
450 \	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 213. BLDG 22 L 26159 P 001 5-24-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
450 VILLAGE DR	06 FR 213,222,223 & 224 11-08-06 CORR				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 213,222,223 & 224 11-06-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN NORTHVILLE MI 48168					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-321		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ф901.70	ф90.17	DATE PAID					
SANT/HADASH EAST BAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
452 VILLAGE DR	VILLAGE UNIT 214, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 214,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	00 1 1 2 14,222,223 & 224 11-00-00 CONN				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168					IOIAL	ψ19.00	ψ19.00	ψ19.03	ψ19.03	ψ13.
92-17-34-432-322		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ301.70	Ψ30.17	BATETAID					
SANTIMADASITEAST DAT VICEAGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
454 VILLAGE DR	VILLAGE UNIT 215. BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 215,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168					101712	Ψ10.00	Ψ10.00	Ψ10.00	ψ10.00	ψ10.
92-17-34-432-323		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	40010	400	2711217112					
o	CONDOMINIUM PLAN NO 1452 EAST BAY	""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
456 VILLAGE DR	VILLAGE UNIT 216, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 216,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-324		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
458 VILLAGE DR	VILLAGE UNIT 217, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 217,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-325		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
460 VILLAGE DR	VILLAGE UNIT 218, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 218,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168		1 1		1						

Page 14 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL]			INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-326		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
462 VILLAGE DR	VILLAGE UNIT 219, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 219,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168										
92-17-34-432-327		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT		,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
464 VILLAGE DR	VILLAGE UNIT 220, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 220,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168						******	7.0.00	***************************************	7.0.00	7.00
92-17-34-432-328		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	+····	******						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
466 VILLAGE DR	VILLAGE UNIT 221, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3550	06 FR 221,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN	, , ,				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168					101712	ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	ψ10.
92-17-34-432-329		0.10	\$981.70	\$98.17	DATE PAID					
CAROL O'CONNELL		UNIT	ψ301.70	ψ30.17	DATETAID					
CARGE O CONNELL	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
514 RED OAK CT	VILLAGE UNIT 225. BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 225 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 40030-0004	3311122311333331111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	ψ13.03	ψ10.00	ψ13.00	ψ10.00	Ψ13.
92-17-34-432-330		0.10	\$981.70	\$98.17	DATE PAID					
MICHAEL SCHORIE		UNIT	ψ301.70	ψ30.17	DATETAID					
MICHAEL SONONE	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
516 RED OAK CT	VILLAGE UNIT 226, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 226 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE IVII 40030-0004					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	ψ19.03	ψ19.03	ψ19.03	ψ19.03	ψ13.
92-17-34-432-331		0.10	\$981.70	\$98.17	DATE PAID					
DAYLE HAUSERMAN		UNIT	ψ301.70	ψ30.17	DATETAID					
JEFFREY HAUSERMAN	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
518 RED OAK CT	VILLAGE UNIT 227, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 227 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 40030-0004	33111227 11 33 33 331111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					IOIAL	ψ13.03	Ψ10.00	ψ13.00	ψ10.00	Ψ10.
92-17-34-432-332		0.10	\$981.70	\$98.17	DATE PAID		+			
JAMES VANCE		UNIT	φ901.70	φ90.17	DATEFAID					
VAILO VAITOL	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
520 RED OAK CT	VILLAGE UNIT 228. BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 228 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40030-0004	0011(22011 00 00 0011(TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$0. \$19.
					IOTAL	φ 13.03	φ13.03	क् १७.७३	क् १७.०३	φ19.
92-17-34-432-333		0.10	\$981.70	\$98.17	DATE PAID					+
JONATHAN TOURNAUD		UNIT	ψ501.70	ψ50.17	DATETAID		 			1
TOTALIAN TOURNAUD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
522 RED OAK CT	VILLAGE UNIT 229, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 229 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAINE IVII 40030-0004	33111223 11-00-00 GOIGI				TOTAL	\$0.00 \$19.63	\$19.63	\$19.63	\$19.63	\$19.
									ພາສ.ບວ	J 19.

Page 145 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	ļ			INSTALLMENTS		
					ļ	2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-334		0.10	\$981.70	\$98.17	DATE PAID					
CATHERINE GEOSKY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
524 RED OAK CT	VILLAGE UNIT 230, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3554	06 FR 230 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-335		0.10	\$981.70	\$98.17	DATE PAID					
SARAH GORSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
526 RED OAK CT	VILLAGE UNIT 231, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 231 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						·	· ·	·		
92-17-34-432-336		0.10	\$981.70	\$98.17	DATE PAID					
IAN T MORTON		UNIT	,	, , , ,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
528 RED OAK CT	VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 232 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE IVII 40000-0004	00111202 11 00 00 001111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					TOTAL	ψ13.03	ψ13.00	ψ13.00	ψ13.00	Ψ10.
92-17-34-432-337		0.10	\$981.70	\$98.17	DATE PAID					
QUALITY RENTAL PROPERTIES LLC		UNIT	ψ901.70	ψ30.17	DATETAID					
QUALITY RENTAL PROPERTIES LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
E20 DED OAK OT	VILLAGE UNIT 233. BLDG 23 L 26159 P 001 5-24-									
530 RED OAK CT	06 FR 233 11-08-06 CORR				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	00 FR 233 11-00-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
425 W MAIN ST					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
BRIGHTON MI 48116		0.40	4004.70	200.47	5475 5415					
92-17-34-432-338		0.10	\$981.70	\$98.17	DATE PAID					
SUZANNE SONGER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
532 RED OAK CT	VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 234 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-339		0.10	\$981.70	\$98.17	DATE PAID					
HEATHER HOLM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
521 RED OAK CT	VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 235 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-340		0.10	\$981.70	\$98.17	DATE PAID					
MARCY BOSKEE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
523 RED OAK CT	VILLAGE UNIT 236, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 236 11-06-08 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
										1
92-17-34-432-341		0.10	\$981.70	\$98.17	DATE PAID					
HO YON KIM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
525 RED OAK CT	VILLAGE UNIT 237, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3554	06 FR 237 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
	II	1 1		I	1 1			T		

Page 146 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	<u> </u>			INSTALLMENTS		
AND ADDDESO	OF PROPERTY	FDONTAGE	DED	OLIABOE	ļ	2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-342		0.10	\$981.70	\$98.17	DATE PAID					
LEONARD RUMIJA	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			5	000.47	470.54	450.00	***	0.10
FOZ DED OAK OT	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.0
527 RED OAK CT	VILLAGE UNIT 238, BLDG 24 L 26159 P 001 5-24- 06 FR 238 11-08-06 CORR				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3554	00 FR 238 11-08-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-343		0.10	\$981.70	\$98.17	DATE PAID					
JULIE COUGHLIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
529 RED OAK CT	VILLAGE UNIT 239, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3554	06 FR 239 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 1548					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
KEY WEST FL 33041										
92-17-34-432-344 JACQUELINE CUFFEY		0.10 UNIT	\$981.70	\$98.17	DATE PAID					
JACQUELINE CUFFEY	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
531 RED OAK CT	VILLAGE UNIT 240, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$98.17	\$78.54 \$19.63	\$19.63	\$39.27 \$19.63	\$19.0
WALLED LAKE MI 48390-3554	06 FR 240 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19.0
WALLED LAKE WII 40390-3554	00 1 1 240 11-00-00 CONN									
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-345		0.10	\$981.70	\$98.17	DATE PAID					
MARK SZCZEPKOWSKI		UNIT								
ALEX SZCZEPKOWSKI	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.6
534 RIVIERA CT	VILLAGE UNIT 241, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3556	06 FR 241 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-346		0.10	\$981.70	\$98.17	DATE PAID					1
DRAGISA DJURIC		UNIT	ψ901.70	ψ90.17	DATETAID					
ANA DJURIC	CONDOMINIUM PLAN NO 1452 EAST BAY	0,4,,,			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.0
536 RIVIERA CT	VILLAGE UNIT 242, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
WALLED LAKE MI 48390-3556	06 FR 242 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
10489 MORNING LIGHT CT	33111212113333333111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
SOUTH LYON MI 48178					TOTAL	ψ19.05	ψ19.03	ψ19.03	ψ19.03	ψ13.0
92-17-34-432-347		0.10	\$981.70	\$98.17	DATE PAID					
JACOB A WALKER		UNIT				***	A=	0=0	***	
500 DIV (IEDA OT	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
538 RIVIERA CT	VILLAGE UNIT 243, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3556	06 FR 243 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
92-17-34-432-348		0.10	\$981.70	\$98.17	DATE PAID					
ELISABETH LOCKWOOD		UNIT	*******		"""					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.0
540 RIVIERA CT	VILLAGE UNIT 244, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.0
WALLED LAKE MI 48390-3556	06 FR 244 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-349	<u> </u>	0.10	\$981.70	\$98.17	DATE PAID			1		1
92-17-34-432-349 GEORGE DOULAVERIS		UNIT	φ901./U	φ96.17	DATE PAID					-
SESTOL DOULNTLING	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
542 RIVIERA CT	VILLAGE UNIT 245. BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 245 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	13.1.1.2.10.1.100.00.00.11.1				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.6
		1			IOIAL	ψ10.00	ψ10.00	ψ10.00	ψ10.00	Ψ13.0

Page 147 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-350		0.10	\$981.70	\$98.17	DATE PAID					
ANDREW CEIFETZ		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
544 RIVIERA CT	VILLAGE UNIT 246, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 246 11-06-08 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-351		0.10	\$981.70	\$98.17	DATE PAID					
BEN THORSEN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
533 RIVIERA CT	VILLAGE UNIT 247, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 247 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
759 E WALLED LAKE DR					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390										
92-17-34-432-352		0.10	\$981.70	\$98.17	DATE PAID					
NICOLE T BROOKSHIRE	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	₹70 € 4	\$58.90	\$39.27	\$19.
535 RIVIERA CT	VILLAGE UNIT 248. BLDG 26 L 26159 P 001 5-24-				PRINCIPAL		\$78.54 \$19.63	\$58.90 \$19.63	\$39.27 \$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 248 11-08-06 CORR				INTEREST	\$19.63 \$0.00	\$0.00	\$19.63	\$19.63	\$19.
WALLED LAKE WII 46390-3556	0011124011-00-00 CONIX				TOTAL					\$19
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-353		0.10	\$981.70	\$98.17	DATE PAID					
PAUL JOHNSON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
537 RIVIERA CT	VILLAGE UNIT 249, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 249 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-354		0.10	\$981.70	\$98.17	DATE PAID					
MARY WHALEN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
539 RIVIERA CT	VILLAGE UNIT 250, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 250 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
92-17-34-432-355		0.10	\$981.70	\$98.17	DATE PAID					
JENNIFER MAILLARD		UNIT	φοσσ	400						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
541 RIVIERA CT	VILLAGE UNIT 251, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
WALLED LAKE MI 48390-3556	06 FR 251 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7980 DEBORA DR BRIGHTON MI 48114					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-356	<u> </u>	0.10	\$981.70	\$98.17	DATE PAID					
JOSEPH NETHER		UNIT	ψ501.70	ψ55.17	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
543 RIVIERA CT	VILLAGE UNIT 252, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 252 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19
92-17-34-432-357		0.10	\$981.70	\$98.17	DATE PAID					
LOREN RACICOT		UNIT	ψου 1.10	\$55.17	2,21,10					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19
545 RIVIERA CT	VILLAGE UNIT 253, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 253 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		1		1						

Page 148 of 172 11/16/2020 G-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-358		0.10	\$981.70	\$98.17	DATE PAID					
MONICA CORNELIA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
547 RIVIERA CT	VILLAGE UNIT 254, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 254 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
8390 DOUTREMONT AVE					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
MONTREAL QC CANADA H3N 2M6										
92-17-34-432-359		0.10	\$981.70	\$98.17	DATE PAID					
JUDY MCLLMURRAY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
549 RIVIERA CT	VILLAGE UNIT 255, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 255 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
						,	,	,	,	
92-17-34-432-360		0.10	\$981.70	\$98.17	DATE PAID					
JEREMY D EATON		UNIT	***************************************	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
551 RIVIERA CT	VILLAGE UNIT 256, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 256 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
**************************************					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
					101712	Ψ10.00	Ψ10.00	ψ10.00	ψ10.00	ψ10.
92-17-34-432-361		0.10	\$981.70	\$98.17	DATE PAID					
ZHU LI		UNIT	ψ301.70	Ψ30.17	DATETAID					
ZIIO ZI	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
553 RIVIERA CT	VILLAGE UNIT 257. BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390-3556	06 FR 257 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
16322 WESTMINISTER DR	0011(20) 11 00 00 001((TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168					TOTAL	φ19.03	φ19.03	\$19.03	\$19.03	φ19.
92-17-34-432-362		0.10	\$981.70	\$98.17	DATE PAID					
BRYAN N STICKRADT		UNIT	ф901.70	ф90.17	DATE PAID					
BRTAN N STICKRADT	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
FFF DIVIEDA OT	VILLAGE UNIT 258, BLDG 26 L 26159 P 001 5-24-						· ·			· ·
555 RIVIERA CT	06 FR 258 11-08-06 CORR				PRINCIPAL INTEREST	\$19.63	\$19.63	\$19.63	\$19.63	\$19. \$0.
WALLED LAKE MI 48390-3556	0011(20011-00-00 CONK					\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
00 47 04 400 000		0.40	C004 70	CO0 47	DATE DAID			1		
92-17-34-432-363		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANINO 4450 FACT DAV	UNIT			DALANCE	COD 47	₾70. ₽4	ФE0.00	£20.07	£40
620 POINTE DR	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 259, BLDG 27 L 26159 P 001 5-24-				BALANCE PRINCIPAL	\$98.17 \$19.63	\$78.54 \$19.63	\$58.90	\$39.27	\$19. \$19.
	06 FR 259 11-08-06 CORR				INTEREST			\$19.63	\$19.63	-
WALLED LAKE MI 48390 7754 HIDDEN RIDGE LN	0011(20911-00-00 CONK				TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0. \$19.
NORTHVILLE MI 48168					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
		0.40	0004.70	000.47	DATE DAID					
92-17-34-432-364		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANI NO 4450 5 ACT DAV	UNIT			DALANCE	COD 47	¢70.54	650.00	#20.07	040
COO DOINTE DD	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 260. BLDG 27 L 26159 P 001 5-24-				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
622 POINTE DR	06 FR 260 11-08-06 CORR				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	00 FN 200 11-00-00 CURK				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168		0.10	4001.70	000 17	DATE SAIS		1	1		1
92-17-34-432-365		0.10	\$981.70	\$98.17	DATE PAID					-
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.
616 POINTE DR	VILLAGE UNIT 261, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
WALLED LAKE MI 48390	06 FR 261 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.
NORTHVILLE MI 48168		1		1	1		I .	1	I	1

Page 149 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-366		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
618 POINTE DR	VILLAGE UNIT 262, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 262 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						,	,			, , , , , ,
92-17-34-432-367		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	,	, , , ,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
612 POINTE DR	VILLAGE UNIT 263, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 263 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						,	,		,	
92-17-34-432-368		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	********	******						
	CONDOMINIUM PLAN NO 1452 EAST BAY	••••			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
614 POINTE DR	VILLAGE UNIT 264, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 264 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					10.7.2	ψ.υ.υυ	Ψ.σ.σσ	V.0.00	ψ10.00	V.0.00
92-17-34-432-369		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψουυ	400	5,					
OANTHADAON EACH DAT VILLAGE EEC	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
608 POINTE DR	VILLAGE UNIT 265. BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 265 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168						ψ.υ.υυ	Ψ.σ.σσ	V.0.00	ψ.σ.σσ	\$10.00
92-17-34-432-370		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψοσ1.7σ	φοσ.17	D/(1217(10					
CANTINADAGIT EACT DAT VILLAGE ELG	CONDOMINIUM PLAN NO 1452 EAST BAY	"""			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
610 POINTE DR	VILLAGE UNIT 266, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 266 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					101712	ψ10.00	Ψ10.00	Ψ10.00	ψ10.00	Ψ10.00
92-17-34-432-371		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ301.70	ψ30.17	DATETAID					
SANTINIADASTI LAST DAT VILLAGE ELC	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
604 POINTE DR	VILLAGE UNIT 267, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 267 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	0011120111100000001111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					101712	ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00	Ψ10.00
92-17-34-432-372		0.10	\$981.70	\$98.17	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ901.70	ψ30.17	DATETAID					
VARTITIADAGII EAGT BAT VILLAGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$98.17	\$78.54	\$58.90	\$39.27	\$19.63
606 POINTE DR	VILLAGE UNIT 268. BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
WALLED LAKE MI 48390	06 FR 268 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	3311123311133333331111				TOTAL	\$19.63	\$19.63	\$19.63	\$19.63	\$19.63
NORTHVILLE MI 48168					IOIAL	ψ19.03	ψ19.03	ψ19.03	ψ19.03	ψ19.03
92-17-35-301-002		0.20	\$981.70	\$196.34	DATE PAID					
LIFE ESTATE PATRICIA CULLEN		UNIT	ψ301.70	ψ150.34	DATERAID					
LII L ESTATE PATRICIA CULLEN		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
225 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 26 & 27				PRINCIPAL	\$196.34	\$157.07	\$39.27	\$78.54	\$39.27
WALLED LAKE MI 48390-3525	SLUTZ LAKEVILVV VVOODLANDS LUTS 20 & 27				INTEREST	\$39.27	\$0.00	\$39.27	\$39.27	\$39.27
2120 N PONTIAC TRL					TOTAL	\$0.00	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3161					IOIAL	φυσ.Δ1	φυσ.Δ1	φυσ.Δ1	φ39.21	φ39.21
**************************************	II	ı l		1			1	1	1	

Page 150 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-301-003		0.20	\$981.70	\$196.34	DATE PAID					
CHANDA GROSS		UNIT								
301 LEON RD					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
WALLED LAKE MI 48390-3527	CLUTZ LAKEVIEW WOODLANDS LOT 28				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-004		0.20	\$981.70	\$196.34	DATE PAID					
J T GENTRY INC		UNIT	φοστιτο	\$100.04	BATTE TAUB					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
311 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 29				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2550 E HIGHLAND RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
HIGHLAND MI 48356-2724						•				
92-17-35-301-005		0.20	\$981.70	\$196.34	DATE PAID					
CREATIVE REAL ESTATE SOLUTIONS TEAM LLC		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
321 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 30				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
42223 ANN ARBOR RD E					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
PLYMOUTH MI 48170-4364 92-17-35-301-006		0.20	\$981.70	\$196.34	DATE PAID					
CAROL LAPERRIERE		UNIT	φοστιτο	Ψ100.04	D/(1217(18					
STEPHAN LAPERRIERE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
329 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 31 & 32				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
373 HEARTWOOD CT					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WIXOM MI 48393					1017.2	ψου.Σ.	\$66.2 7	Q00.27	Ψ00.2.	400.2 .
92-17-35-301-007		0.20	\$981.70	\$196.34	DATE PAID					
ROMAN MINEVICH		UNIT								
ZOYA MINEVICH					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
415 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 33				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3529					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-008		0.20	\$981.70	\$196.34	DATE PAID					
JOYCE GROSS		UNIT	φοσισ		3711217113					
PAUL GROSS					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
427 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 34				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3529					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-009		0.20	\$981.70	\$196.34	DATE PAID					-
DEREK MCDUFFIE		UNIT	ψ501.70	ψ130.54	DATETAID					
SHAWN MCDUFFIE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
435 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 35				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3529					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-301-010		0.20	\$981.70	\$196.34	DATE PAID					
FAUSTO BAGALAY		UNIT	φ901.70	φ190.34	DATE FAID					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
501 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 36				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3531					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
				I						i

Page 151 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-301-013 SCOTT STEVEN TOTH		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
SILVIYA SPASOVA TOTH		"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
455 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 200 FT OF				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3760	LOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40030-0700					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
						Ψ00.21	ψ03.21	ψ00.21	ψ00.21	ψ00.21
92-17-35-301-014 MICHAEL DAVID WAGNER		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
WICHAEL DAVID WAGNER		ONII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
447 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS S 80 FT OF N				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
	280 FT LOT 40									
WALLED LAKE MI 48390-3760					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-021		0.20	\$981.70	\$196.34	DATE PAID					
JOYCE DANCEY		UNIT								
	CLUTZ LAKEVIEW WOODLANDS N 100 FT OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
464 SPARKS LN	LOT 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3759	20141				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-022		0.20	\$981.70	\$196.34	DATE PAID					
LYNN R LONG		UNIT		'						
	0.01771 44/514/440 0.00 41/0.00 41/0.00 57 0.5 41				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
452 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS S 100 FT OF N				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3759	200 FT LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
125 ARVIDA					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390					101712	Ψ00.21	Ψ00.21	ψου.Σ1	Ψ00.27	Ψ00.21
92-17-35-301-023		0.20	\$981.70	\$196.34	DATE PAID					
CHARLES WILSON		UNIT	********							
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
440 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS S 80 FT OF N				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3759	280 FT LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LANE IVII 40090-0709					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
					TOTAL	Φ39.2 1	φ39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-024		0.20	\$981.70	\$196.34	DATE PAID					
JEFFREY T MARCEC TRUSTEE		UNIT			DALANOE	0400.04	0457.07	0447.00	A70 F4	#00.05
400 ODA DIKO I NI	CLUTZ LAKEVIEW WOODLANDS N 83.40 FT OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
428 SPARKS LN	S 343.40 FT OF LOT 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3759					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-025		0.20	\$981.70	\$196.34	DATE PAID					
CHARLES R WALTERS		UNIT								
	CLUTZ LAKEVIEW WOODLANDS N 60 FT OF S				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
424 SPARKS LN	260 FT OF LOT 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3759	200110120141				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-301-026		0.20	\$981.70	\$196.34	DATE PAID					
RONALD SEGGIE		UNIT	•							
	CLUTZ LAKEVIEW WOODLANDS N 88 FT OF S				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
416 SPARKS LN					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3759	200 FT OF LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
	II .			1		7	T	T T T T T T T T T T T T T T T T T T T	7	+

Page 152 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-301-028		0.20	\$981.70	\$196.34	DATE PAID					
PAULA ALLEN		UNIT								
075 FON BB	CLUTZ LAKEVIEW WOODLANDS ELY 90 FT OF S				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
675 LEON RD	112 FT OF LOT 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3644 4223 KELLY CIRCLE DR					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0. \$39.
WALLED LAKE MI 48390-1319					TOTAL	φ39.2 <i>1</i>	\$39.Z <i>I</i>	\$39.27	φ39.21	გა 9.
92-17-35-301-029		0.20	\$981.70	\$196.34	DATE PAID					
MARY QUALIS REV LVNG TRST UAD JUN		UNIT	φοστσ	Ψ100.04	BATETAND					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
717 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 42				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3646					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-301-030		0.20	\$981.70	\$196.34	DATE PAID					
JAMES RICHARDS		UNIT								
	OLUTZI AKENIEM MOODI ANDOLOT 40				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1255 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 43				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3674					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-301-032		0.20	\$981.70	\$196.34	DATE PAID					
KIMBERLY K ROCHFORD		UNIT	φοστσ	Ψ100.04	BATETAND					
		"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
615 LEON RD	CLUTZ LAKEVIEW WOODLANDS S 160 FT OF				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3643	LOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-301-033		0.20	\$981.70	\$196.34	DATE PAID					
JULIE SUNDBERG		UNIT			54144105	210001	* 457.07	0447.00	470.54	***
400 004 0140 141	CLUTZ LAKEVIEW WOODLANDS S 83.40 FT OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
433 SPARKS LN	N 363.40 FT OF LOT 40				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3760					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-301-034		0.20	\$981.70	\$196.34	DATE PAID					
DONNA JEAN THOMPSON		UNIT	***************************************	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
	CLUTZ LAVEVIEW MOODLANDS N 400 ET OF S				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
419 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 100 FT OF S 260 FT OF LOT 40				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3760	200 FT OF LOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
			4004 70		DATE DA					
92-17-35-301-035 BANDOLBH C CHAMBE		0.20	\$981.70	\$196.34	DATE PAID			-		
RANDOLPH C CHAMPE		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1275 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 44 & 47				PRINCIPAL	\$196.34	\$157.07	\$39.27	\$78.54	\$39.
WALLED LAKE MI 48390-3674	SESTE ENICEVIEW WOODLANDS LOTS 44 & 47				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$39.
WALLED LAIVE IVII 40090-3014					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						+ + + + + + + + + + + + + + + + + + + 	400.2 .	\$55.2 7	400.2 .	+00
92-17-35-302-003		0.20	\$981.70	\$196.34	DATE PAID					
KAROL DRABEK	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
	80, BEG ON NLY LOT LINE DIST N 50-40-00 E 50				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
138 LEON RD	FT FROM NW LOT COR, TH S 42-35-00 E 100 FT,				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3522	TH N 50-40-00 E 50 FT, TH N 42-35-00 W 100 FT,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LANE IVII 40030-0022	TH WLY ALG NLY LOT LINE 49.99 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.

Page 15 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-302-004		0.20	\$981.70	\$196.34	DATE PAID					
MICHEAL K STREHL	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT		,						
	80, BEG ON NLY LOT LINE DIST N 50-40-00 E				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
210 LEON RD	87.92 FT & ALG CURVE TO RIGHT 37.07 FT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3524	FROM NW LOT COR, TH S 42-35-00 E 100 FT, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1015 EAST WEST MAPLE RD	N 59-45-30 E 40.41 FT, TH N 36-56-40 W 101.82				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390	FT, TH WLY ALG NLY LOT LINE 50 FT TO BEG					400.2.	400.2 1	400.2 1	ψου. <u>Σ</u> .	\$00.2
92-17-35-302-007		0.20	\$981.70	\$196.34	DATE PAID					
THE DIANE C BARRINGER LIVING TRUST	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT	ψ901.70	φ190.54	DATETAID					
THE DIANE C BARRINGER EIVING TROST	80, BEG ON NLY LOT LINE DIST S 63-56-00 W	01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	158.33 FT FROM NE LOT COR, TH S 26-04-00 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
	100 FT, TH S 63-56-00 W 50 FT, TH N 26-04-00 W				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
240 LEON DD	100 FT, TH N 63-56-00 E 50 FT TO BEG									
218 LEON RD	100 FT THIN 03-30-00 E 30 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3524										
92-17-35-302-010		0.20	\$981.70	\$196.34	DATE PAID					
MARK NOVAK	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
	74 BEG AT SW LOT COR. TH S 87-17-00 E 72.77				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	FT, TH N 26-04-00 W 69.18 FT, TH S 63-56-00 W				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	47.85 FT TH S 01-17-00 E 37.81 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
585 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390										
92-17-35-302-011	OLLITZ LAKENIEM MOODLANDO DADT OF LOT	0.20	\$981.70	\$196.34	DATE PAID					
KEVIN R PFEIFLE	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
	74 BEG AT PT ON S LOT LINE DIST S 87-17-00 E				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	72.77 FT FROM SW LOT COR, TH S 87-17-00 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	114.10 FT, TH N 26-04-00 W 123.98 FT, TH S 63-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5551 PARK DR	56-00 W 100 FT, TH S 26-04-00 E 69.18 FT TO				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
ORCHARD LAKE, MI 48324	BEG					400.2.	400.2 1	400.2 1	400.2.	Ψ00.
92-17-35-302-012		0.20	\$981.70	\$196.34	DATE PAID					
PAUL DELMOTTE		UNIT	ψ901.70	φ190.54	DATETAID					
PAUL DELINOTTE		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
FOOL FON DD	See Assessors Office for Legal Description									
520 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-302-013	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$981.70	\$196.34	DATE PAID					
GLEN NELSON	74 BEG AT NE LOT COR, TH S 05-35-00 E ALG	UNIT								
	LOT LINE 65.32 FT, TH N 87-09-00 W 142.04 FT,				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
530 LEON RD	TH N 00-29-00 E 64.29 FT TO N LOT LINE, TH				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3530	ALG SD LINE S 88-27-00 E 15 FT, TH S 87-09-00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	E 120 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-014		0.20	\$981.70	\$196.34	DATE PAID					
EQUITY TRUST CO		UNIT								
FBO RICHARD GUNTHER					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
335 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3513					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
486 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390										7.5.
92-17-35-302-015		0.20	\$981.70	\$196.34	DATE PAID					
PAUL EAGLETON	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT	ψοσ1.70	ψ100.04	DATE I AID					1
	74, BEG AT SE LOT COR, TH N 87-17-00 W ALG	1 1			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	SLY LOT LINE 165 FT, TH N 00-29-00 E 54 FT, TH				PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
STEPHANIE EAGLETON										35.59
STEPHANIE EAGLETON 331 ARVIDA ST	S 87-09-00 E 149.38 FT TO ELY LOT LINE, TH									
STEPHANIE EAGLETON					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.0 \$39.2

Page 154 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-302-016		0.20	\$981.70	\$196.34	DATE PAID					
DONNA M BLANCHA		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
315 ARVIDA ST WALLED LAKE MI 48390					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-302-017		0.20	\$981.70	\$196.34	DATE PAID					
MARK TOMES	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
DAWN TOMES	75 BEG AT NE LOT COR, TH N 87-17-00 W 150				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
327 ARVIDA ST	FT, TH S 02-53-00 W 50 FT, TH S 87-17-00 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3513	174.50 FT, TH N 23-43-00 W 55.70 FT ALG WLY				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	LINE MAPLE BLVD TO PT OF BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-018		0.20	\$981.70	\$196.34	DATE PAID					
DONNA M BLANCHA		UNIT	*******	******						
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
315 ARVIDA ST WALLED LAKE MI 48390					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-020		0.20	\$981.70	\$196.34	DATE PAID					
ROBERT L BEANE JR		UNIT	• • • • •	' ' ' ' '						
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
265 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 77				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-021		0.20	\$981.70	\$196.34	DATE PAID					
DONALD MARTIN		UNIT	400							
DEBRA MARTIN					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
215 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 78				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3511					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-031		0.20	\$981.70	\$196.34	DATE PAID					
LISA MARKOU JR		UNIT	φοστσ	\$100.04	BATTETALD					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
115 ARVIDA ST	WELFARE LAKE VIEW LOT 58				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-032		0.20	\$981.70	\$196.34	DATE PAID					
SHARON PACYNSKI		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
121 ARVIDA ST	WELFARE LAKE VIEW LOT 59				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2705 LAKERIDGE WIXOM MI 48393-1217					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-033		0.20	\$981.70	\$196.34	DATE PAID					
JAMES R CRENSHAW		UNIT	Ψ001.70		2,21,110					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
400 ADV/IDA CT	WELFARE LAKE VIEW LOT 60	1			PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
123 ARVIDA ST										
WALLED LAKE MI 48390-3507					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.0 \$39.3

Page 155 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-302-038		0.20	\$981.70	\$196.34	DATE PAID					
ROBERT J MCLLMURRAY TR		UNIT			DALANCE	£40C 24	\$157.07	£447.00	\$78.54	\$39.
135 ARVIDA ST	WELFARE LAKE VIEW LOT 64				BALANCE	\$196.34		\$117.80		
WALLED LAKE MI 48390-3507	WELFARE LAKE VIEW LOT 64				PRINCIPAL INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
PO BOX 7072					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI MI 48376					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-041		0.20	\$981.70	\$196.34	DATE PAID					
DIANE DEGRANDCHAMP		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
145 ARVIDA ST	WELFARE LAKE VIEW LOT 67				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-042		0.20	\$981.70	\$196.34	DATE PAID					
JOYCE BROUILLETTE		UNIT	ψ301.70	ψ130.54	DATETAID					
MARK HARALSON					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
149 ARVIDA ST	WELFARE LAKE VIEW LOT 68				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-043		0.20	#004.70	#40C 24	DATE PAID					
RYAN VANSTONE		UNIT	\$981.70	\$196.34	DATE PAID					
DANIELLE VANSTONE		ONT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
155 ARVIDA ST	WELFARE LAKE VIEW LOT 69				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3510	WEEFFARE BARE VIEW 201 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40000-0010					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-046 DONNA M BLANCHA		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
DONNA W BLANCHA	CLUTZ LAKEVIEW WOODLANDS LOT 76 EXC	UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	BEG AT NE LOT COR TH S 23-43-00 E 135.35 FT,				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	TH N 86-05-00 W 170.08 FT, TH N 03-55-00 E 120				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
315 ARVIDA ST	FT, TH S 86-05-00 E 107.30 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.
92-17-35-302-047		0.20	\$981.70	\$196.34	DATE PAID					
DONNA M BLANCHA-WATTLE	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
	76 BEG AT NE LOT COR, TH S 23-43-00 E 135.35				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
315 ARVIDA ST	FT, TH N 86-05-00 W 170.08 FT, TH N 03-55-00 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3513	120 FT, TH S 86-05-00 E 107.30 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-048		0.20	\$981.70	\$196.34	DATE PAID					
THE DIANE C BARRINGER LIVING TRUST	CLUTZ LAKEVIEW WOODLANDS PART OF LOT 80 BEG AT PT DIST S 63-56-00 W 208.33 FT	UNIT	•							
	FROM MOST NLY LOT COR, TH S 26-04-00 E 100				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
218 LEON RD	FT, TH S 59-45-30 W 80.82 FT, TH N 31-30-00 W				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3524	101.82 FT, TH NELY 100 FT ALG NLY LOT LINE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-051		0.20	\$981.70	\$196.34	DATE PAID					
LYNN R LONG		UNIT	*							
	WELFARE LAKE VIEW LOT 61 & SWLY 1/2 OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
125 ARVIDA ST	LOT 62, ALSO LOT 79 OF 'CLUTZ LAKEVIEW				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3507	WOODLANDS'				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
		1								

Page 15 of 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDDESO	OF PROPERTY	FDONTAGE	DED	OLIABOE		2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-302-052		0.20	\$981.70	\$196.34	DATE PAID					
LAUREN BILLIU		UNIT								
	WELFARE LAKE VIEW NELY 1/2 OF LOT 62 EXC				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
131 ARVIDA ST	6 FT X 6 FT SQUARE PARCEL OFF SELY LOT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3507	COR, ALSO ALL OF LOT 63				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-053	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$981.70	\$196.34	DATE PAID					
TED MARCH	80 BEG AT PT DIST NELY 50 FT ALG NLY LOT	UNIT	,	,						
DAWN MARCH	LINE FROM NE COR OF LOT 81, TH SWLY 50 FT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
132 LEON RD	TO SD NE COR OF LOT 81, TH SELY ALG LOT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3522	LINE TO SE COR OF LOT 81, TH NELY 50 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
47297 AUTUMN PARK CT	ALG LOT LINE, TH NWLY TO BEG 08/08/86 FR				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48374	001 & 002									
92-17-35-302-054		0.20	\$981.70	\$196.34	DATE PAID					
GREG ABBOTT		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
141 ARVIDA ST	WELFARE LAKE VIEW LOTS 65 & 66 8-1-01 FR									
	039 & 040				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-302-055		0.20	\$981.70	\$196.34	DATE PAID					
CHRIS A ANDROFF		UNIT								
HANNAH ANDROFF	WELFARE LAKE VIEW LOTS 70 & 71 8-1-01 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
185 ARVIDA ST	044 & 045				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3510	044 & 043				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-004		0.20	\$981.70	\$196.34	DATE PAID					
DANIEL CLEMINTE		UNIT	φ901.70	\$190.54	DATETAID					
27		""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1286 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3675					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
W/ 1225 E/ 112 WII 40000 0070					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	ψ55.27	ψ05.21	ψ03.21	ψ55.21	ψ00.
92-17-35-303-005		0.20	\$981.70	\$196.34	DATE PAID					
DANIEL CLEMINTE		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1278 LEON RD	CLUTZ LAKEVIEW WOODLANDS E 14 FT OF				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3675	LOTS 72 & 73				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 46390-3075					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.
92-17-35-303-006		0.20	\$981.70	\$196.34	DATE PAID					
JACK TURNER		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 71 EXC				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
310 ARVIDA ST	ELY 180 FT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3512	LLI 10011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-007		0.20	\$981.70	\$196.34	DATE PAID					1
DANIEL CLEMINTE		UNIT	ψυυ1.10	\$100.04	DATE FAID					
	CLUTZ LAKEVIEW WOODLANDS ELY 180 FT OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
1278 LEON RD	LOT 71				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3675	LOTT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
		1		I						T

Page 157 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
92-17-35-303-009	OF FROI EIGHT	0.20	\$981.70	\$196.34	DATE PAID	101	ZIND	JILD	4111	311
JASON MCCLOSKEY		UNIT	φ901.70	\$190.54	DATE FAID					
SASON INCCLOSIL!		ONT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
302 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 69				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3512	02012211121111100322113020100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
						Ψ00.2.	ψου. <u>Σ</u> 1	400.27	400.2 1	Ψ00.
92-17-35-303-010		0.20	\$981.70	\$196.34	DATE PAID					
THEODORE COULTER		UNIT		' ' ' '						
KATHLEEN COULTER					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
214 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 68				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3509					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-012		0.20	\$981.70	\$196.34	DATE PAID					
MARK LAFLUER		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
217 CHERITON ST	WELFARE LAKE VIEW LOT 73				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3622					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-303-013		0.20	\$981.70	\$196.34	DATE PAID					
PHILIP H RUNDELL		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
213 CHERITON ST	WELFARE LAKE VIEW LOT 74				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3622					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-303-018		0.20	\$981.70	\$196.34	DATE PAID					
FREDERICK CHUMACK		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
340 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3512					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-019		0.20	\$981.70	\$196.34	DATE PAID					
JENNIFER BOYLAN		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
660 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3642					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
761 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390										
92-17-35-303-021		0.20	\$981.70	\$196.34	DATE PAID					-
GABRIEL J COSTANZO		UNIT					0.457.07	0117.00	470.54	
DEBRA B COSTANZO	MELEADE LAKE VIEW LOTO TO TO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
815 BLUFFTON ST	WELFARE LAKE VIEW LOTS 77 & 78				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3614					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
00.47.05.000.000		0.00	#004.70	C400 04	DATE DAID			-		1
92-17-35-303-022	CLUTZ LAKEVIEW WOODLANDS PART OF LOTS	0.20	\$981.70	\$196.34	DATE PAID			-		1
	72 & 73 BEG AT PT ON N LI OF LOT 73 DIST	UNIT			DALANOE	£100.04	¢457.07	¢117.00	¢70.54	#00
PATRICK BORDEN		1			BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80 \$39.27	\$78.54 \$39.27	\$39.1 \$39.1
REBECCA BORDEN	WLY 130 FT FROM NE COR OF LOT 73, TH S 06-									
REBECCA BORDEN 950 LEON RD	02-00 W 110 FT, TH N 83-58-00 W 105 FT, TH N									
REBECCA BORDEN					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.0 \$39.2

Page 158 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-303-024		0.20	\$981.70	\$196.34	DATE PAID					
SCOTT LOWN	WELFARE LAKE VIEW LOT 72, ALSO PART OF	UNIT								
	LOT 109 BEG AT NELY LOT COR, TH S 00-16-00				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
315 CHERITON ST	E 100 FT, TH S 61-25-49 W 60 FT, TH N 25-19-21				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3624	W 75 FT, TH N 54-13-50 E 105 FT TO BEG 11-22-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	91 CORR				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-025		0.20	\$981.70	\$196.34	DATE PAID					
STEVEN R MURPHY	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
	70 BEG AT PT DIST S 23-43-00 E 30.00 FT FROM				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
304 ARVIDA ST	NW LOT COR, TH N 84-37-00 E 160.50 FT, TH S				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3512	05-23-00 E 85.95 FT, TH S 84-31-26 W 131.95 FT,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	TH N 23-43-00 W 90.77 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-026	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$981.70	\$196.34	DATE PAID					
OLIVA BUCHANAN TRUST	70 BEG AT NW LOT COR, TH N 84-37-00 E	UNIT								
	496.70 FT, TH S 03-03-21 W 115.17 FT TH S 84-31-				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
308 ARVIDA ST	26 W 309.86 FT, TH N 05-23-00 W 85.95 FT, TH S				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3512	84-37-00 W 160.50 FT, TH N 23-43-00 W 30.00 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
	.0 520									
92-17-35-303-028		0.20	\$981.70	\$196.34	DATE PAID					
THE DARNIELLE COTTAGE TRUST		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
320 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3512					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-029		0.20	\$981.70	\$196.34	DATE PAID					
SILVIYA TOTH		UNIT								
SPAS NIKOLOV STANKOV					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
800 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3683					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-303-030		0.20	\$981.70	\$196.34	DATE PAID					
STEVEN D STEPHAN		UNIT								
	WELFARE LAKE VIEW LOTS 75 & 76 10-02-08 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
209 CHERITON ST	014 & 015				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390	0.1.40.0				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-303-031		0.20	\$981.70	\$196.34	DATE PAID					
DANIEL P MUNRO		UNIT							A=0 - ·	
700 / FOU DD	0 4 000 1 15 10				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
730 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3645					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
730 LEON RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390		0.00	#004.70	0400.04	DATE DAIL	-	1	1		-
92-17-35-303-032		0.20	\$981.70	\$196.34	DATE PAID	<u> </u>				-
DANIEL P MUNRO		UNIT			DALANCE	6100.04	¢457.07	¢117.00	₾70 - 4	#00
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
722 I EON PD		1			PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
732 LEON RD	See Assessors Office for Legal Description	'			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE MI 48390-3645	See Assessors Office for Legal Description				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3645 730 LEON RD	See Assessors Office for Legal Description					1				
WALLED LAKE MI 48390-3645 730 LEON RD WALLED LAKE MI 48390	See Assessors Office for Legal Description	0.20	¢094.70	¢106.24				<u> </u>		
WALLED LAKE MI 48390-3645 730 LEON RD WALLED LAKE MI 48390 92-17-35-326-007	See Assessors Office for Legal Description	0.20	\$981.70	\$196.34	DATE PAID					
WALLED LAKE MI 48390-3645 730 LEON RD WALLED LAKE MI 48390 92-17-35-326-007 TRUSTEES RUTH LANGAN &		0.20 UNIT	\$981.70	\$196.34	DATE PAID	\$106.24	¢157.07	¢117.90	¢70 F4	620
WALLED LAKE MI 48390-3645 730 LEON RD WALLED LAKE MI 48390 92-17-35-326-007 TRUSTEES RUTH LANGAN & THOMAS LANGAN	CLUTZ LAKEVIEW WOODLANDS W 1/2 OF LOT		\$981.70	\$196.34	DATE PAID BALANCE	\$196.34 \$30.27	\$157.07 \$30.27	\$117.80 \$30.27	\$78.54 \$30.27	
WALLED LAKE MI 48390-3645 730 LEON RD WALLED LAKE MI 48390 92-17-35-326-007 TRUSTEES RUTH LANGAN & THOMAS LANGAN 1345 LEON RD			\$981.70	\$196.34	DATE PAID BALANCE PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3645 730 LEON RD WALLED LAKE MI 48390 92-17-35-326-007 TRUSTEES RUTH LANGAN & THOMAS LANGAN	CLUTZ LAKEVIEW WOODLANDS W 1/2 OF LOT		\$981.70	\$196.34	DATE PAID BALANCE					\$39. \$39. \$0. \$39.

rd 172 11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	2024 5TH
92-17-35-326-008	OFFROFERIT	0.20	\$981.70	\$196.34	DATE PAID	131	ZND	JND	4111	3111
SETH GARVIN		UNIT	φ901.70	ψ190.54	DATETAID					
OLIN GARVIN		01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1385 LEON RD	CLUTZ LAKEVIEW WOODLANDS E 1/2 OF LOT 49				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3673	49				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-326-009		0.20	\$981.70	\$196.34	DATE PAID			<u> </u>		
GERALD M BASSETT		UNIT	φ901.70	ψ190.34	DATETAID					
	CLUTZ LAKEVIEW WOODLANDS W 60 FT OF				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1411 LEON RD	LOT 50				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3648	201 30				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-326-010	+	0.20	\$981.70	\$196.34	DATE PAID					
CHAD DRAKE		UNIT	φοσιιτο	\$100.04	DATE TAILS					
	CLUTZ LAKEVIEW WOODLANDS LOT 50 EXC W				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1445 LEON RD	60 FT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3648	0011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-326-012		0.20	\$981.70	\$196.34	DATE PAID					
JOHN HENEHAN		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1545 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 52				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3650					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-326-013		0.20	\$981.70	\$196.34	DATE PAID					
GARY P BENEDICT		UNIT								
ANNETTE S BENEDICT					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1563 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 53				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3650					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-326-014		0.20	\$981.70	\$196.34	DATE PAID					
REBECCA E WILLIAMSON LIVING TRUST		UNIT								
	CLUTZ LAKEVIEW MOODLANDS LOT 54				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
	CLUTZ LAKEVIEW WOODLANDS LOT 54				PRINCIPAL INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
5645 ARENAC ST					TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.2
COMMERCE TWP MI 48382					IOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.2
92-17-35-326-016		0.20	\$981.70	\$196.34	DATE PAID					
CHRIS TAMER		UNIT				0.10	0.55	A		
ELIZABETH TAMER	CLUTZ LAKEVIEW WOODLANDS LOT 55 EXC S				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
435 DECKER RD	150 FT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3804					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.2
					IOIAL	ψυυ.Δ1	ψυυ.ΣΙ	ψυυ.ΣΙ	ψυσ.Δ1	ψυσ.Ζ
92-17-35-326-017		0.20	\$981.70	\$196.34	DATE PAID					
TIMOTHY K SIPES		UNIT			BALANCE	¢106.34	¢157.07	£117.00	↑70 54	#20 O
ALICE M SIPES 425 DECKER RD	CLUTZ LAKEVIEW WOODLANDS S 150 FT OF				BALANCE PRINCIPAL	\$196.34 \$39.27	\$157.07 \$39.27	\$117.80 \$39.27	\$78.54 \$39.27	\$39.2 \$39.2
WALLED LAKE MI 48390-3804	LOT 55				INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE IVII 40390-3004					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$39.2
		1		1	IOIAL	ψυσ.Δ1	ψυσ.ΔΙ	ψυσ.Δ1	φυσ.Δ1	φυσ.Ζ

Page 160 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-326-019		0.20	\$981.70	\$196.34	DATE PAID					
SCHAFER DEVELOPMENT LLC	92-17-35-326-019 CLUTZ LAKE VIEW WOODLANDS PART OF LOT	UNIT								
	48 DESC AS BEG AT PT DIST S 88-02-52 E 1289.41 FT & S 01-05-				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
	49 W 330.89 FT & S 88-26-40 E 134.96 FT & S 01-07-11 W 176.19 FT FROM W 1/4 COR, TH S 87-10-40 E 90.04 FT, TH S 01-07-11 W									
	134.46 FT, TH ALG CURVE TO RIGHT, RAD 2267 FT, CHORD									
	BEARS N 86-55-30 W 90.06 FT, DIST OF 90.06 FT, TH N 01-07-11 E									
	134.06 FT TO BEG 10-16-19 FR 005				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
34100 NORTHWESTERN HWY STE H					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
FARMINGTON HILLS MI 48334										
97-17-35-326-021	CLUTZ LAKEVIEW WOODLANDS PART OF LOT 51 DESC AS BEG	0.20	\$981.70	\$196.34	DATE PAID					
JUSTIN SABBAUGH	AT PT DIST S 88-02-52 E 1289.41 FT & S 01-05-49 W 330.89 FT & S 88-26-40 E 530.89 FT & S 01-08-42 W 175.36 FT FROM W 1/4 COR,	UNIT								
	TH S 89-34-28 E 132.11 FT, TH S 01-09-07 W 126.03 FT, TH ALG				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
	CURVE TO RIGHT, RAD 138.78 FT, CHORD BEARS S 81-59-09 W				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
	40.74 FT, DIST OF 40.89 FT, TH N 89-34-28 W 91.87 FT, TH N 01-08- 42 E 132.01 FT TO BEG 10-16-19 FR 011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
43050 12 OAKS CRESCENT DR #2022	42 E 132.01 F1 10 BEG 10-10-19 FR 011				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377		ļ								
92-17-35-327-001		0.20	\$981.70	\$196.34	DATE PAID					
JAMES GROSS		UNIT								
	011177141/51/151/140000141/0010745				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1316 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 65				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3612					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
00.47.05.007.000		0.00	0004.70	0400.04	DATE DAID					
92-17-35-327-002		0.20	\$981.70	\$196.34	DATE PAID					
FREDERICK SENCZYSZYN		UNIT			DALANOE	0400.04	0457.07	0447.00	670.54	000.0
ALYSSA SENCZYSZYN	CLUTZ LAKEVIEW WOODLANDS LOT 64				BALANCE	\$196.34	\$157.07	\$117.80 \$39.27	\$78.54	\$39.2 \$39.2
1344 LEON RD WALLED LAKE MI 48390-3612	CLUTZ LAKEVIEW WOODLANDS LOT 64				PRINCIPAL INTEREST	\$39.27 \$0.00	\$39.27 \$0.00	\$39.27	\$39.27 \$0.00	\$39.2
WALLED LAKE WII 40390-3012					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.2
92-17-35-327-003		0.20	\$981.70	\$196.34	DATE PAID					
DANIEL CLEMINTE		UNIT	φ901.70	\$190.54	DATE FAID					
DANIELA CLEMINTE		01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1370 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 63				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3612	02012 2 11211 110002 1100 201 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1278 LEON RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3675						400.2 1	400.2 1	400.2 1	400.2 1	QUU. 2
92-17-35-327-004		0.20	\$981.70	\$196.34	DATE PAID					
JOYCE L CHAPLIN LIVING TRUST		UNIT	********							
		' '			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1490 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 62				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3647					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-327-005		0.20	\$981.70	\$196.34	DATE PAID					
ADRIANA NOSTRAY FARANSO		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1510 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 61				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3649					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-327-006		0.20	\$981.70	\$196.34	DATE PAID					
1530 LEON LLC		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1530 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 60				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3649					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5645 ARENAC ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
COMMERCE TWP MI 48382		1		I		I	I	I	1	1

Page 161 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		2020	2024	INSTALLMENTS		000
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		2020 1ST	2021 2ND	2022 3RD	2023 4TH	202 5TI
	UF PROPERTY	1		1	DATE DAID	151	ZND	3RD	41H	511
92-17-35-327-008		0.20	\$981.70	\$196.34	DATE PAID					
KENNETH STUDT		UNIT			DALANOE	0400.04	0457.07	0447.00	070.54	000
VALERIE STUDT	CLUTT LAKEWEW WOODLANDS LOT ET				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
1634 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 57				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3651					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-327-010		0.20	\$981.70	\$196.34	DATE PAID					
LAKES BAPTIST CHRUCH		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
347 DECKER RD	CLUTZ LAKEVIEW WOODLANDS LOT 66				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3630					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
309 DECKER RD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390 92-17-35-327-012		0.20	\$981.70	\$196.34	DATE PAID					
PAUL SAUVE		UNIT	φ901.70	ψ190.54	DATETAID					
LISA SAUVE	01.1177.1.41/51/1/1/0.001.41/0.01.07.50.0.45.00				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
1550 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 59 9-15-03				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3649	FR 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
177 E E E E E E E E E E E E E E E E E E					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-327-013		0.20	¢004.70	¢106.24	DATE PAID					
92-17-35-327-013 BRIAN EVANS		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
RENEE EVANS		0			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
1570 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 58 9-15-03				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3649	FR 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3049					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	\$39.21	φ39.21	\$39.Z1	\$39.21	φοθ
92-17-35-327-014	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$981.70	\$196.34	DATE PAID					
MICHAEL KERNEN	56 DESC AS BEG AT NE COR OF SD LOT. THIS	UNIT								
	02-23-00 W 149.58 FT, TH N 86-55-47 W 151.56				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1676 LEON RD	FT, TH N 02-40-54 E 149.56 FT, TH S 86-56-00 E				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390	150.78 FT TO BEG 2-3-17 FR 009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	130.7011 10 BEG 2-3-1711 009				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-327-015	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$981.70	\$196.34	DATE PAID					
TIMOTHY MOORE	56 DESC AS BEG AT PT DIST S 02-23-00 W	UNIT	ψοσσ	V 100.01	5,112.7.5					
SHERRI MOORE	149.58 FT FROM NE COR OF SD LOT, TH S 02-23	1 1			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
369 DECKER RD	00 W 100 FT, TH N 86-55-53 W 152.08 FT, TH N				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390	02-40-54 E 100 FT, TH S 86-55-47 E 151.56 FT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40090	BEG 2-3-17 FR 009				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
	220201111000				TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φυθ
92-17-35-327-016	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$981.70	\$196.34	DATE PAID					
JONATHAN R SANDISON	56 DESC AS BEG AT PT DIST S 02-23-00 W 249.58 FT FROM NE COR OF SD LOT. TH S 02-23	UNIT			BALANCE	¢100.04	¢457.07	£117.00	¢70.54	000
MEGAN E SANDISON	00 W 100 FT. TH N 86-56-00 W 152.60 FT. TH N	1 l			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
357 DECKER RD					PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390	02-40-54 E 100 FT, TH S 86-55-53 E 152.08 FT TO BEG 2-3-17 FR 009				INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0 \$39
	5232-0-1711(003				IOIAL	φυθ.Δ1	φ39.21	φυθ.Ζ1	φυθ.Δ1	ф39
92-17-35-351-001		1.00	\$981.70	\$981.70	DATE PAID					
N & B PROPERTIES		UNIT								
	WELFARE LAKE VIEW LOT 6 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
765 E WALLED LAKE DR	17-35-302-027				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3566	55 552 52.				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
33202 EMMA CIR COMMERCE TWP MI 48390					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-35-351-002		1.00	\$981.70	\$981.70	DATE PAID					
SUSAN COWLING		UNIT	4001.70	\$551.75	221,10					
	WELFARE LAKE VIEW LOT 7 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
					PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	17-35-302-028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
767 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196

rd 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-351-003		1.00	\$981.70	\$981.70	DATE PAID					
BRIAN SCHWARTZ		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	WELFARE LAKE VIEW LOT 8 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
	17-35-302-029				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
23632 WESLEY DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
FARMINGTON MI 48335					TOTAL	ψ130.04	ψ130.04	ψ130.04	ψ130.54	ψ150
92-17-35-351-004		1.00	\$981.70	\$981.70	DATE PAID					
DAVID ALLAN DIEGEL REV LVNG TRST		UNIT	ψ301.70	Ψ301.70	DATETAID					
DAVID ALLAN DIEGLE REV EVNG TROT		0.4.1			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	WELFARE LAKE VIEW LOT 9 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	17-35-302-030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
777 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3568						\$100.01	ψ.00.01	ψ.σσ.σ.	\$100.01	V.00
92-17-35-351-006		1.00	\$981.70	\$981.70	DATE PAID					
RICHARD PATTERSON		UNIT	φοστσ	φοστιτο	DATE TABLE					
NOTAL PATENCON		'			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
805 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 12 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3666	17-35-352-002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
						,		,	,	
92-17-35-351-007		1.00	\$981.70	\$981.70	DATE PAID					
BRIAN CSORDAS		UNIT								
	WELFARE LAKE VIEW LOT 13 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	17-35-352-003				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
809 E WALLED LAKE DR WALLED LAKE MI 48390-3666					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-35-351-008		1.00	\$981.70	\$981.70	DATE PAID					
DENNIS KAISER		UNIT	ф901.70	\$901.70	DATE PAID					
DENNIS KAISEK		ONIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
813 WALLED LAKE DR	WELFARE LAKE VIEW LOT 14 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390	17-35-352-004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
50 ELLERS DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
CHATMAN NJ 07928						\$100.01	Ψ.00.0.	V.00.0 1	\$100.01	Ų.00
92-17-35-351-009		1.00	\$981.70	\$981.70	DATE PAID					
MICHAEL KERNEN		UNIT								
CAROL KERNEN	WELFARE LAKE VIEW LOT 15 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	17-35-352-005				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	55 552 555				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
817 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390 92-17-35-351-010		1.00	\$981.70	\$981.70	DATE PAID					
BENJAMIN T BERRY		UNIT	Ф901.70	\$901.70	DATE PAID					
DENGAMIN I DENNI		1 1			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
821 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 16 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3666	17-35-352-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-35-351-011		1.00	\$981.70	\$981.70	DATE PAID					
BRUNO B TOME		UNIT								
KELLY J TOME	WELFARE LAKE VIEW LOT 17 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	17-35-352-007				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	23 332 33.				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
825 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3666		1.00	¢004.70	¢004.70	DATE DAID					
92-17-35-351-013 KENNETH C HOLMES		1.00 UNIT	\$981.70	\$981.70	DATE PAID					
DEBORAH M BRAUNINGER		1 1			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
DEDONALI III DINAUNINGEN	WELFARE LAKE VIEW LOT 21 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	17-35-353-002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
905 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196

Page 163 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	8	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-351-014		1.00	\$981.70	\$981.70	DATE PAID					
MARGARET GRAVES		UNIT								
MICHELLE SHATZER	MELEADE LAKE VIEW LOT 00 ACCECCED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196.3
	WELFARE LAKE VIEW LOT 22 ASSESSED WITH 17-35-353-003				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.3
	17-35-353-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
909 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196.
WALLED LAKE MI 48390						·		·		
92-17-35-351-015		1.00	\$981.70	\$981.70	DATE PAID					
HARRY E BEESON		UNIT	********							
		""			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	WELFARE LAKE VIEW LOT 23 ASSESSED WITH				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	17-35-353-004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
911 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3667					TOTAL	ψ130.04	ψ130.04	ψ130.04	ψ130.04	Ψ130
92-17-35-351-016		1.00	\$981.70	\$981.70	DATE PAID					
ALLEN MCPHEE		UNIT	φ901.70	φ901.70	DATE FAID					
		UNIT			BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
CAROLE MCPHEE	WELFARE LAKE VIEW LOT 24 ASSESSED WITH									
913 E WALLED LAKE DR	17-35-353-005				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3667					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
00 47 05 054 047		1.55	0004 70	4001.70	DATE SAIS			1		_
92-17-35-351-017		1.00	\$981.70	\$981.70	DATE PAID					
KYLE HECHT		UNIT								
CHRISTIE PIPER	WELFARE LAKE VIEW LOT 25 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
915 E WALLED LAKE DR	17-35-353-006				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390-3667					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
92-17-35-351-018		1.00	\$981.70	\$981.70	DATE PAID					
MATTHEW FRANKLAND		UNIT								
	WELFARE LAKE VIEW LOT 26 ASSESSED WITH				BALANCE	\$981.70	\$785.36	\$589.02	\$392.68	\$196
	17-35-353-007				PRINCIPAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
	17 00 000 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
917 E WALLED LAKE DR					TOTAL	\$196.34	\$196.34	\$196.34	\$196.34	\$196
WALLED LAKE MI 48390										
92-17-35-351-020		3.00	\$981.70	\$2,945.10	DATE PAID					
THEODORE ANDRIS		UNIT								
	MELEADE LAKE VIEW LOT 00 ACCECCED WITH				BALANCE	\$2,945.10	\$2,356.08	\$1,767.06	\$1,178.04	\$589
	WELFARE LAKE VIEW LOT 29 ASSESSED WITH				PRINCIPAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589
	17-35-354-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
24901 NORTHWESTERN STE 411					TOTAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589
SOUTHFIELD MI 48075										
92-17-35-351-021		3.00	\$981.70	\$2,945.10	DATE PAID					
THEODORE ANDRIS		UNIT								
	<u>.</u>				BALANCE	\$2,945.10	\$2,356.08	\$1,767.06	\$1,178.04	\$589
		1			PRINCIPAL	\$589.02	\$589.02	\$589.02	\$589.02	\$589
	WELFARE LAKE VIEW LOT 30 ASSESSED WITH						\$0.00	\$0.00	\$0.00	\$0.
	WELFARE LAKE VIEW LOT 30 ASSESSED WITH 17-35-354-001				INTEREST	\$0.00	Ψ0.00		, ,,,,,	
24901 NORTHWESTERN STE 411					INTEREST TOTAL	\$0.00 \$589.02	\$589.02	\$589.02	\$589.02	\$589
24901 NORTHWESTERN STE 411 SOUTHFIELD MI 48075								\$589.02	\$589.02	\$589
	17-35-354-001	3,00	\$981.70	\$2,945.10	TOTAL			\$589.02	\$589.02	\$589
SOUTHFIELD MI 48075	17-35-354-001 T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC	3.00 UNIT	\$981.70	\$2,945.10				\$589.02	\$589.02	\$589
SOUTHFIELD MI 48075 92-17-35-351-022	17-35-354-001 T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30		\$981.70	\$2,945.10	TOTAL DATE PAID	\$589.02	\$589.02			
SOUTHFIELD MI 48075 92-17-35-351-022	17-35-354-001 T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC		\$981.70	\$2,945.10	DATE PAID BALANCE	\$589.02 \$2,945.10		\$1,767.06	\$1,178.04	\$589
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD	17-35-354-001 T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY ALG RD LINE		\$981.70	\$2,945.10	DATE PAID BALANCE PRINCIPAL	\$589.02 \$2,945.10 \$589.02	\$589.02 \$2,356.08 \$589.02	\$1,767.06 \$589.02	\$1,178.04 \$589.02	\$589 \$589
SOUTHFIELD MI 48075 92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671	T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 'WELFARE LAKEVIEW', TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF		\$981.70	\$2,945.10	DATE PAID BALANCE PRINCIPAL INTEREST	\$589.02 \$2,945.10 \$589.02 \$0.00	\$589.02 \$2,356.08 \$589.02 \$0.00	\$1,767.06 \$589.02 \$0.00	\$1,178.04 \$589.02 \$0.00	\$589 \$589 \$0.
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671 50629 AMESBURG DR	17-35-354-001 T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF WALLED LAKE, TH NWLY ALG SHORE LINE TO		\$981.70	\$2,945.10	DATE PAID BALANCE PRINCIPAL	\$589.02 \$2,945.10 \$589.02	\$589.02 \$2,356.08 \$589.02	\$1,767.06 \$589.02	\$1,178.04 \$589.02	\$589 \$589 \$0.
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671 50629 AMESBURG DR NOVI MI 48374	T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF WALLED LAKE, TH NWLY ALG SHORE LINE TO SW COR OF LOT 30, TH ELY TO BEG 0.005 A	UNIT			TOTAL DATE PAID BALANCE PRINCIPAL INTEREST TOTAL	\$589.02 \$2,945.10 \$589.02 \$0.00	\$589.02 \$2,356.08 \$589.02 \$0.00	\$1,767.06 \$589.02 \$0.00	\$1,178.04 \$589.02 \$0.00	\$589 \$589 \$0.
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671 50629 AMESBURG DR NOVI MI 48374 92-17-35-351-023	T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF WALLED LAKE, TH NWLY ALG SHORE LINE TO SW COR OF LOT 30, TH ELY TO BEG 0.005 A	UNIT	\$981.70 \$981.70	\$2,945.10 \$981.70	DATE PAID BALANCE PRINCIPAL INTEREST	\$589.02 \$2,945.10 \$589.02 \$0.00	\$589.02 \$2,356.08 \$589.02 \$0.00	\$1,767.06 \$589.02 \$0.00	\$1,178.04 \$589.02 \$0.00	\$589 \$589 \$0.
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671 50629 AMESBURG DR NOVI MI 48374	T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF WALLED LAKE, TH NWLY ALG SHORE LINE TO SW COR OF LOT 30, TH ELY TO BEG 0.005 A T2N, R8E, SEC 35 PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY	UNIT			DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID	\$589.02 \$2,945.10 \$589.02 \$0.00 \$589.02	\$589.02 \$2,356.08 \$589.02 \$0.00 \$589.02	\$1,767.06 \$589.02 \$0.00 \$589.02	\$1,178.04 \$589.02 \$0.00 \$589.02	\$589 \$589 \$0.1 \$589
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671 50629 AMESBURG DR NOVI MI 48374 92-17-35-351-023	T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 'WELFARE LAKEVIEW', TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF WALLED LAKE, TH NWLY ALG SHORE LINE TO SW COR OF LOT 30, TH ELY TO BEG 0.005 A T2N, R8E, SEC 35 PART OF SW 1/4 BEG AT SE COR OF LOT 30 'WELFARE LAKEVIEW', TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE TO	UNIT			DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$589.02 \$2,945.10 \$589.02 \$0.00 \$589.02 \$981.70	\$589.02 \$2,356.08 \$589.02 \$0.00 \$589.02 \$785.36	\$1,767.06 \$589.02 \$0.00 \$589.02 \$589.02	\$1,178.04 \$589.02 \$0.00 \$589.02 \$392.68	\$589 \$589 \$0.0 \$589
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671 50629 AMESBURG DR NOVI MI 48374 92-17-35-351-023	T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF WALLED LAKE, TH NWLY ALG SHORE LINE TO SW COR OF LOT 30, TH ELY TO BEG 0.005 A T2N, R8E, SEC 35 PART OF SW 1/4 BEG AT SE COR OF LOT 30 "WELFARE LAKEVIEW", TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE TO SHORE LINE OF WALLED LAKE, TH NWLY	1.00 UNIT			DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL	\$589.02 \$2,945.10 \$589.02 \$0.00 \$589.02 \$981.70 \$196.34	\$589.02 \$2,356.08 \$589.02 \$0.00 \$589.02 \$785.36 \$196.34	\$1,767.06 \$589.02 \$0.00 \$589.02 \$589.02 \$196.34	\$1,178.04 \$589.02 \$0.00 \$589.02 \$392.68 \$196.34	\$589 \$589 \$0.0 \$589 \$196 \$196
92-17-35-351-022 42820 14 MILE ROAD LLC 42820 W 14 MILE RD WALLED LAKE MI 48390-3671 50629 AMESBURG DR NOVI MI 48374 92-17-35-351-023	T2N, R8E, SEC 35 N 10.30 FT OF PARCEL DESC AS PART OF SW 1/4 BEG AT SE COR OF LOT 30 'WELFARE LAKEVIEW', TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE SHORE LINE OF WALLED LAKE, TH NWLY ALG SHORE LINE TO SW COR OF LOT 30, TH ELY TO BEG 0.005 A T2N, R8E, SEC 35 PART OF SW 1/4 BEG AT SE COR OF LOT 30 'WELFARE LAKEVIEW', TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE TO	1.00 UNIT			DATE PAID BALANCE PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$589.02 \$2,945.10 \$589.02 \$0.00 \$589.02 \$981.70	\$589.02 \$2,356.08 \$589.02 \$0.00 \$589.02 \$785.36	\$1,767.06 \$589.02 \$0.00 \$589.02 \$589.02	\$1,178.04 \$589.02 \$0.00 \$589.02 \$392.68	\$589. \$589. \$0.0 \$589. \$196. \$196. \$196.

Page 164 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-352-001		0.20	\$981.70	\$196.34	DATE PAID					
DONALD BUDZYNSKI		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
801 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 48				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
	WELFARE LAKE VIEW LOT 46				INTEREST					
WALLED LAKE MI 48390-3666						\$0.00	\$0.00 \$39.27	\$0.00	\$0.00 \$39.27	\$0. \$39.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-352-008		0.20	\$981.70	\$196.34	DATE PAID					
KEVIN EBERSTEIN		UNIT								
	MELEADE LAKE MEM LOT 44				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
829 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 41				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3601					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0. \$39.
					TOTAL	\$39.27	\$39.27	\$39.27	φ39.21	Ф 39.
92-17-35-352-009		0.20	\$981.70	\$196.34	DATE PAID					
FREDERICK SAMSON		UNIT								
440 A D) ((D. 4. O.T.	WELFARE LAKE VIEW W 1/2 OF LOT 89 ALSO				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
116 ARVIDA ST	ALL OF LOT 90				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-352-010		0.20	\$981.70	\$196.34	DATE PAID					
KATY MCNERNEY		UNIT								
	WELFARE LAKE VIEW LOTS 87 & 88 ALSO E 1/2				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
122 ARVIDA ST	OF LOT 89				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3506	52				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
31006 BEACHWALK #1204					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
NOVI MI 48377 92-17-35-352-011		0.20	\$981.70	\$196.34	DATE PAID					
LAURA A CIPIELEWSKI		UNIT	φοσισ	Ψ100.04	BATTE TAILS					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
128 ARVIDA ST	WELFARE LAKE VIEW LOT 86				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-352-016		0.20	\$981.70	\$196.34	DATE PAID					
JOHN KING BURNETT III		UNIT	ф901.7U	\$190.34	DATE PAID					
KATHLEEN ANN BURNETT					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
144 ARVIDA ST	WELFARE LAKE VIEW LOT 81				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
			**************************************	2400.04	5475 5415					
92-17-35-352-017 THERESA DAAR		0.20 UNIT	\$981.70	\$196.34	DATE PAID	-				
BOB DAAR					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
148 ARVIDA ST	WELFARE LAKE VIEW LOT 80				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3506	11227112 2112 11211 231 33				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
				1						
92-17-35-352-018		0.20	\$981.70	\$196.34	DATE PAID					
CHAD DUFF		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
814 BLUFFTON ST	WELFARE LAKE VIEW LOT 79				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3613	THE PARE VIEW EOT 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
										,
92-17-35-352-019		0.20	\$981.70	\$196.34	DATE PAID	<u> </u>				
CARL GONCZY		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
119 WELFARE BLVD	WELFARE LAKE VIEW LOT 91				PRINCIPAL	\$196.34	\$157.07	\$39.27	\$78.54	\$39.
WALLED LAKE MI 48390-3670	WELLAND LAND VIEW LOT 31				INTEREST	\$39.27	\$0.00	\$39.27	\$0.00	\$39. \$0.
VV D. I. C. U. I. AD.C. IVII. 40.39U=307U		1								\$39.
**************************************					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	

11/16/2020 6:01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	202
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-352-021		0.20	\$981.70	\$196.34	DATE PAID					
GORDON HAMILTON		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
123 WELFARE BLVD	WELFARE LAKE VIEW LOT 93				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3670	WEELFARE ENGL VIEW EOT 60				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
16101 ROARING BROOK DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
HERSHEY MI 49369					IOIAL	ψ39.21	ψ33.21	ψ39.21	ψυθ.Ζ1	ψυσ
		0.00	¢004.70	£400.04	DATE DAID					
92-17-35-352-022 LAUREN A DICKIE		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
LAUNEN A DIONIE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
127 WELFARE BLVD	WELFARE LAKE VIEW LOT 94				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40000-0070					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-352-023 KHAMPAUN CHANTHAVONG		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
KIIAMFAON CHANTHAVONG		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
133 WELFARE BLVD	WELFARE LAKE VIEW LOT 95				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
White B Er We Will 40000 0070					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
			***		DATE					
92-17-35-352-024 JAMES C JOHNSON		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
JAMES C JOHNSON		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
135 WELFARE BLVD	WELFARE LAKE VIEW LOT 96				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40000-0070					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						·				
92-17-35-352-030 MARILYN BOYLAN		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
WARILIN BOTLAN		ONIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
153 WELFARE BLVD	WELFARE LAKE VIEW LOT 102				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3670	WEEL AIRE LAIRE VIEW LOT 102				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
761 E WALLED LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390					IOIAL	ψ39.21	ψ33.21	ψ39.21	ψ39.21	ψυσ
92-17-35-352-031		0.20	\$981.70	\$196.34	DATE PAID					
RICHARD DYER		UNIT			DAI ANOE	0400.04	0457.07	0447.00	A70.54	000
400 ADVIDA OT	\MELEADE AKE \/!E\M/ OTC 04 9 05				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
130 ARVIDA ST	WELFARE LAKE VIEW LOTS 84 & 85				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-352-032		0.20	\$981.70	\$196.34	DATE PAID					
CARL GONCZY		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
	WELFARE LAKE VIEW WLY 1/2 OF LOT 92				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
119 WELFARE BLVD WALLED LAKE MI 48390-3670					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
92-17-35-352-033		0.20	\$981.70	\$196.34	DATE PAID					
GORDON HAMILTON		UNIT	•							
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
123 WELFARE BLVD	WELFARE LAKE VIEW ELY 1/2 OF LOT 92				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
16101 ROARING BROOK DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
HERSHEY MI 49369		0.20	¢004.70	£106.24	DATE DAID					1
92-17-35-352-034 RUTH A FISHER		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
		""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39
143 WELFARE BLVD	WELFARE LAKE VIEW LOT 98 EXC WLY 3.0 FT				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.

Page 166 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-352-035 RICHARD NAGEL		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
DIANE CRONE	WELFARE LAKE VIEW LOT 97, ALSO WLY 3.0 FT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
139 WELFARE BLVD	OF LOT 98				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3670	OF LOT 96				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-352-036		0.20	\$981.70	\$196.34	DATE PAID					
REBECCA GINTHER		UNIT								
	WELFARE LAKE VIEW LOTS 100 & 101 10/02/86				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
149 WELFARE BLVD	FR 028 & 029				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3670	11020 0 020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
640 GLEN IRIS DR NE APT 405					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
ATLANTA GA 30308										
92-17-35-352-037 ADAM VIRGA		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
ADAM VINGA		"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
142 ARVIDA ST	WELFARE LAKE VIEW LOTS 82 & 83 9-25-08 FR				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3506	014 & 015				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3300					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.21
92-17-35-353-001		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
JASON EASTER		UNII			DALANCE	£400.04	¢457.07	£447.00	₾70 F4	\$39.27
903 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 40				BALANCE PRINCIPAL	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
	WELFARE LAKE VIEW LOT 40					\$39.27	\$39.27	\$39.27	\$39.27	
WALLED LAKE MI 48390-3667					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-008		0.20	\$981.70	\$196.34	DATE PAID					
GEORGE LEICHTWEIS		UNIT								
	WELEA DE LA MENTENTA OT 00				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
923 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 33				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3667					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-009		0.20	\$981.70	\$196.34	DATE PAID					
ANDREW KEENE		UNIT								
440 MELEADE BLVB	MELEADE LAKE MEM LOT 440				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
118 WELFARE BLVD	WELFARE LAKE VIEW LOT 119				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-010		0.20	\$981.70	\$196.34	DATE PAID					
EARL W WISE		UNIT								
LINDSEY R WISE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
120 WELFARE BLVD	WELFARE LAKE VIEW LOT 118				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-011		0.20	\$981.70	\$196.34	DATE PAID					
ROBERT E YOUNG		UNIT				^ 100.01	0.155.05	0447.00	470.54	005
KIM M YOUNG	MELEADE LAKE VIEW LOT 115				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
122 WELFARE BLVD	WELFARE LAKE VIEW LOT 117				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
14/41 ED 41/E 41 40/55 5555					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE MI 48390-3669					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27

Page 167 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-353-012 JOHN V THOMOPOULOS		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
SOUNT VITTOMOT GOLOG					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
126 WELFARE BLVD	WELFARE LAKE VIEW LOT 116				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669	77227 112 2 112 71217 20 7 7 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 0091					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-					101712	Ψ00.21	Ψ00.27	Ψ00.27	φου.Σ1	Ψ00.27
92-17-35-353-013		0.20	\$981.70	\$196.34	DATE PAID					
BARRY RIDENOUR		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
130 WELFARE BLVD	WELFARE LAKE VIEW LOT 115				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-014		0.20	\$981.70	\$196.34	DATE PAID					
JENNIFER MEHS		UNIT			DALANCE	£40C 04	£457.07	£447.00	₾70.F4	#20.07
MARILYN BOYLAN	WELFARE LAKE VIEW LOT 114				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
134 WELFARE BLVD	WELFARE LAKE VIEW LOT 114				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
761 E WALLED LAKE DR WALLED LAKE MI 48390					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-015		0.20	\$981.70	\$196.34	DATE PAID					
KEVIN TENAGLIA		UNIT	ψοσ σ	V.00.0	2711217112					
SHARON SOLOMON					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
138 WELFARE BLVD	WELFARE LAKE VIEW LOT 113				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-016		0.20	\$981.70	\$196.34	DATE PAID					
JOHN DASH		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
142 WELFARE BLVD	WELFARE LAKE VIEW LOT 112				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-018		0.20	\$981.70	\$196.34	DATE PAID					
JOSEPH T LINCK		UNIT	ψ901.70	ψ190.54	DATETAID					
		""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
150 WELFARE BLVD	WELFARE LAKE VIEW LOT 110				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-019		0.20	\$981.70	\$196.34	DATE PAID					
IAN B DORAN		UNIT			DALANCE	£40C 04	¢457.07	C447.00	¢70.54	#20 07
RACHEAL M DORAN	WELFARE LAKE VIEW LOT 120				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
119 LEEDS ST	WELFARE LAKE VIEW LOT 120				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-353-020	1	0.20	\$981.70	\$196.34	DATE PAID		İ		1	
CHARLES C RAY JR		UNIT	•							
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
121 LEEDS ST	WELFARE LAKE VIEW LOT 121				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
262 HAVANA					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
COMMERCE MI 48382		1 1		I	1					

Page 168 of 172 11/16/2020 G-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		INSTALLMENTS					
AND ADDDESS	OF PROPERTY	FDONITAGE	DED	OLIABOE		2020	2021	2022	2023	2024	
AND ADDRESS	OF PROPERTY	FRONTAGE	PER PER	CHARGE	DATE DAID	1ST	2ND	3RD	4TH	5TH	
92-17-35-353-021 KEITH W WAGNER		0.20 UNIT	\$981.70	\$196.34	DATE PAID						
KEITH W WAGNER		UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2	
127 LEEDS ST	WELFARE LAKE VIEW LOT 122				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
WALLED LAKE MI 48390-3640	WEEL AIRE LAIRE VIEW EOT 122				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
WALLED LAKE WII 40000-0040					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
					101712	Ψ00.27	Ψ00.21	Ψ00.27	Ψ00.27	Ψ00.2	
92-17-35-353-022		0.20	\$981.70	\$196.34	DATE PAID						
KEITH W WAGNER		UNIT									
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2	
127 LEEDS ST	WELFARE LAKE VIEW LOT 123				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
92-17-35-353-028	TOU DOE OF OF WELFARE LAVE WELVER DADT	0.20	\$981.70	\$196.34	DATE PAID						
LINDA HOGAN WILSON	T2N, R8E, SEC 35 WELFARE LAKE VIEW PART	UNIT			DALANCE	£400.04	04F7.07	£447.00	↑70.54	000	
046 BLUETTON ST	OF LOTS 126 & 127 BEG AT NE COR OF LOT 127, TH S 67-34-00 W 133.00 FT, TH S 22-27-24 E				BALANCE	\$196.34 \$39.27	\$157.07	\$117.80	\$78.54	\$39.2	
916 BLUFFTON ST WALLED LAKE MI 48390-3617	72.00 FT, TH E 95.43 FT, TH N 117.30 FT TO BEG				PRINCIPAL INTEREST		\$39.27 \$0.00	\$39.27	\$39.27	\$39.2 \$0.0	
WALLED LAKE IVII 48390-3017	72.00 F1, THE 95.45 F1, THIN T17.50 F1 TO BEG				TOTAL	\$0.00 \$39.27	\$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$39.2	
					TOTAL	\$39.27	φ39.Z1	\$39.27	\$39.21	Ф 39.4	
92-17-35-353-029		0.20	\$981.70	\$196.34	DATE PAID						
JAMES C LATTA	WELFARE LAKE VIEW LOTS 126 & 127 EXC BEG	UNIT	ψ301.70	ψ130.04	BATETAID						
VAINES & EATTA	AT NE COR OF LOT 127, TH S 117.30 FT ALG E	01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2	
141 LEEDS ST	LOT LI. TH W 95.43 FT TO PT ALG WLY LINE OF				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
WALLED LAKE MI 48390-3640	LOT 126, TH N 22-27-24 W 72 FT TO NW COR OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
White B Brite Mil 40000 0040	LOT 126, TH N 67-34-00 E 133 FT TO BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
						700.2	777	777	¥*****	7000	
92-17-35-353-030		0.20	\$981.70	\$196.34	DATE PAID						
BILL TONE		UNIT									
TERRAL TONE	WELFARE LAKE VIEW LOTS 124 & 125 5-3-11 FR				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2	
135 LEEDS ST	023 & 024				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
WALLED LAKE MI 48390-3640	020 a 024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.	
92-17-35-354-003		0.20	\$981.70	\$196.34	DATE PAID						
YONO REAL ESTATE DEVELOPMENT		UNIT			54144105	*****	A157.07	0447.00	470.54	***	
	MELEADE LAKE MEM LOT 405				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2	
	WELFARE LAKE VIEW LOT 135				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
7191 MUERDALE					INTEREST TOTAL	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.00 \$39.27	\$0.0 \$39.2	
WEST BLOOMFIELD MI 48322					TOTAL	φ39.2 <i>1</i>	\$39.21	\$39.27	\$39.21	Ф 39.	
92-17-35-354-004		0.20	\$981.70	\$196.34	DATE PAID						
YONO REAL ESTATE DEVELOPMENT		UNIT	ψ301.70	ψ150.34	DATE FAID			+		1	
. C C NEAL LOTATE DEVELOT MENT		""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2	
	WELFARE LAKE VIEW LOT 134				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
7191 MUERDALE					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
WEST BLOOMFIELD MI 48322											
92-17-35-354-005		0.20	\$981.70	\$196.34	DATE PAID						
EVAN RISKIN		UNIT									
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.	
120 LEEDS ST	WELFARE LAKE VIEW LOT 133				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2	
	II	1		I			1			1	

Page 169 of 172

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			3			
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-354-006		0.20	\$981.70	\$196.34	DATE PAID					
DONNA SEXTON		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
124 LEEDS ST	WELFARE LAKE VIEW LOT 132				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
92-17-35-354-007		0.20	\$981.70	\$196.34	DATE PAID					
DONNA SEXTON		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
124 LEEDS ST	WELFARE LAKE VIEW LOT 131				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-354-008		0.20	\$981.70	\$196.34	DATE PAID					
SHELLY THOMOPOULOS		UNIT	ψ901.70	φ190.54	DATETAID					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
128 LEEDS ST	WELFARE LAKE VIEW LOT 130				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
425 SOUTH LAKE DR					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
NOVI MI 48377		0.00	*********	# 400.04	DATE DAID					1
92-17-35-354-009 RICHARD NAGEL		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
DIANE CRONE		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
132 LEEDS ST	WELFARE LAKE VIEW LOT 129				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3639	WELFARE LAKE VIEW LOT 129				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
139 WELFARE BLVD					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390					TOTAL	\$39.27	\$39.21	\$39.27	\$39.Z1	\$39.2
92-17-35-354-010		0.20	\$981.70	\$196.34	DATE PAID					1
GERALDINE BRODERICK		UNIT	Ψοστ.το	Ψ100.04	BATETAND					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
136 LEEDS ST	WELFARE LAKE VIEW LOT 128				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
777 EEEE E WE IIII 10000 0000					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
						400.2 7	ψ00.E7	\$60.27	ψου.Ε7	ψου
92-17-35-354-011		0.20	\$981.70	\$196.34	DATE PAID					-
CLAUDIA TAAMNEH		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
42920 W 14 MILE RD	WELFARE LAKE VIEW LOT 136				PRINCIPAL	\$196.34	\$157.07	\$39.27	\$78.54	\$39.2
WALLED LAKE MI 48390	WELLIANE LAKE VIEW LOT 130				INTEREST	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
5245 PONTIAC TRAIL					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.0
WEST BLOOMFIELD MI 48323					TOTAL	φ39.21	φ39.21	φ39.21	φ39.21	φ39.
92-17-35-354-013		0.20	\$981.70	\$196.34	DATE PAID		1			
YONO REAL ESTATE DEVELOPMENT		UNIT								
	WELFARE LAKE VIEW LOTS 31 & 32 2-28-85				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
1035 E WALLED LAKE DR	FROM 001 & 002				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WALLED LAKE MI 48390	1 1.CWI 001 & 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7191 MUERDALE					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2
WEST BLOOMFIELD MI 48322										
92-17-35-354-014 STEVE DOMANA		0.20	\$981.70	\$196.34	DATE PAID					-
STEVE ROMAYA	WELFARE LAKE VIEW LOTS 137 & 147 8-2-16 FR	UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
42880 14 MILE RD	012 & 355-016				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390	012 0 000-010				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	II	1		1	INILITESI	ψ0.00		ψυ.υυ		
24935 CHELSEA XING					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.2

Page 170 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-355-001 DEGRANDCHAMP FMLY TRUST		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
DATED 7-1	WELFARE LAKE VIEW LOT 103 & W 1/2 OF LOT				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
831 BLUFFTON ST	104				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3616	104				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-355-002 DEBRA BAIN		0.20	\$981.70	\$196.34	DATE PAID					
DEBRA BAIN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.2
040 CHEDITON CT	WELFARE LAKE VIEW E 1/2 OF LOT 104 & ALL									
210 CHERITON ST	OF LOT 105				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3621					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-355-007 PETER CAROLAN		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
PETER CAROLAN		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
835 BLUFFTON ST	WELFARE LAKE VIEW LOT 146				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3616	WEEL AILE LAILE VIEW LOT 140				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40390-3010					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					TOTAL	φ39.Z <i>I</i>	φ39.2 <i>1</i>	\$39.21	Ф 39.21	\$39.
92-17-35-355-008 JOHN MARCHESI		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
CATHERINE MARCHESI		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
833 BLUFFTON ST	WELFARE LAKE VIEW LOT 145				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3616	WELFARE LAKE VIEW LOT 145				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE MI 48390-3616					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						ψ00.21	ψ03.21	ψ00.21	ψ00.21	Ψ00.
92-17-35-355-009 ELIZABETH CUMMINGS		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
911 BLUFFTON ST		01411			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
WALLED LAKE MI 48390-3618	WELFARE LAKE VIEW LOT 144				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE WII 40030-0010					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
						φ39.21	φ39.21	φ39.21	φ39.21	φυθ.
92-17-35-355-010 PHYLLIS TRUSSLER		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
	WELFARE LAKE VIEW LOT 143				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1063 S DOWLING ST					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WESTLAND MI 48186-4040 92-17-35-355-011		0.20	\$981.70	\$196.34	DATE PAID					
JENNIFER MEHS		UNIT								
ANDREAS MEHS					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
919 BLUFFTON ST	WELFARE LAKE VIEW LOT 142				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3618					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
92-17-35-355-012		0.20	\$981.70	\$196.34	DATE PAID					
DOUG MERITHEW		UNIT			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.
925 BLUFFTON ST	WELFARE LAKE VIEW LOT 141				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
WALLED LAKE MI 48390-3618	WELLTANE LANCE VIEW LOT 141				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
*** *** ELED EARE WII +0030-00 10					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.
		1		1	IOIAL	ψυυ.Δ1	ψυσ.Δ1	ψυυ.Δ1	ψυσ.Δ1	ψυ9.

Page 171 of 172 11/16/2020 6-01 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2020	2021	2022	2023	2024
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-355-013		0.20	\$981.70	\$196.34	DATE PAID					
NICHOLAS J PEATEE		UNIT								
ELIZABETH M PEATEE					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
957 BLUFFTON ST	WELFARE LAKE VIEW LOT 140				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3618					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-355-014		0.20	\$981.70	\$196.34	DATE PAID					
DAVID AGUILAR		UNIT								
					BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1005 BLUFFTON ST	WELFARE LAKE VIEW LOT 139				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3620					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
595 KENT LN					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WHITE LAKE MI 48386										
92-17-35-355-015 SHARON BEUTEL		0.20 UNIT	\$981.70	\$196.34	DATE PAID					
SHARON BEUTEL		I UNII			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
1015 BLUFFTON ST	WELFARE LAKE VIEW LOT 138				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3620	WEEL AIRE EARE VIEW EOT 100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LANE IVII 40000-0020					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-355-017		0.20	\$981.70	\$196.34	DATE PAID					
SHERRY JORIS	WELFARE LAKE VIEW LOT 109 EXC BEG AT	UNIT	ψ301.70	ψ130.04	DATETAID					
SHERIKI SONIS	MOST NLY LOT COR. TH S 00-16-00 E 100 FT.	"""			BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
314 CHERITON ST	TH S 61-25-45 W 60 FT, TH N 25-10-21 W 75 FT,				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3623	TH N 54-13-50 E 105 FT ALG NLY LOT LINE TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	BEG				TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
92-17-35-355-018		0.20	\$981.70	\$196.34	DATE PAID					
DWAYNE RIDENOUR		UNIT								
	WELFARE LAKE VIEW LOTS 106, 107 & 108 11-				BALANCE	\$196.34	\$157.07	\$117.80	\$78.54	\$39.27
294 CHERITON ST	25-91 FR 003, 004 & 005				PRINCIPAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27
WALLED LAKE MI 48390-3621	20 01111 000, 004 0 000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$39.27	\$39.27	\$39.27	\$39.27	\$39.27

Page 172 of 172